7 hR # 2% (2} (021) 5863-9595

2
wEms RS =TT (R A)
FIEBEBERY T4 ZNBEERSEMR, FERINGBRNTULE, REZPHRNERS, ASRAANRREE I
2N NEIN SR EE, FHE48/ NSRRI ERS .

AR IBROBIRAH
ik ESTHRTXREK2385

fR%%:201209

H1%:(021)5863-5678
f£5:(021)5863-0003

[E:http:/ /www.deltagreentech.com.cn
http://HikRiE
BR%5#4:(021)5863-9595

ik L N B AL AT A

Y b X 8 @




@YS C All Pnr%d%c;ts

(—) Clean Air System(= 5 i& %1% %)

Picture Name Type Page.Range
(mBhR) (F= & ) (Fmils) (TTHRBSE )
YAFF 1.01
YAM 1.02
YAMD 1.03
Main Line Filter YAMG 1.04
(£ 5% T4 #) YAMH 1.05
YAME 1.06
YAMF 1.07
YAC20~50 1.08
YAC20A~40A 1.09
F.R. LC mbination YAF20~50 1.10
(ESTREAR) YAR20~50 1.11
YAL20~50 1.12
YAW20~40 1.13
A Y20~Y40,Y20L~Y40L 1.14
ccessor
(SR AS B Y20T~Y40T,B220~B420 1.14
G Series 1.15
(=) Directional Control Valve(75 [a] = | 13)
Picture Name Type Page.Range
(FmBAR) (F=m &) (FFmES) (T A5 3E E)
YAB21 2.01~2.02
N YVDW 2.03
2-Way Val 53
ay Valves(F & @) YVPW 204
YVPS 2.05
3-Way Solenoid Valves GM114 2.06~2.08
(31 £ Fik i) YVP342 2.09
YSVZ5000 2.10~2.11
YSVF3000 2.12
5-Wav Sol id YSVF3134 2.13~2.14
-Way Solenoi ~
Valves and Manifold YSVF5000 2.15~2.16
(538 B 5 18 & L 7 4R) YSVF6000 2.17~2.18
YSVM110 2.19~2.20
YSVM220 2.21~2.22
) _ YSVM310 2.23~2.24
+ B P Hand Valve(F §% i) YHV 2.25
5 Port Pilot Foot Valve YEV 2 26~2 27
E 2 = (51 B B #R))
* E E é ‘ 5 Port Hand-pull Valve
CEEEREE i) (58 F 1K i) YHLV 2.28
3 Port H‘and il@e Valve YHVS 2 29
B ‘ (31@%5,51 Hﬂ)
-~ >, ™ |3/5 Port Hand-draw Valve _
ﬁﬂ o ‘ ; (3/558 % 1 1) YKMV 2.30~2.31
3/5 Port Mechanicall Valve

| YSC |
Please contact us on any small problems & details. EFA ELL K6 S E S AN R B, PNEUACS




©vsc]

All Products

(EHDFXK)

— D
(FmBEX=x)
(=) Pneumatic Actuator(# 17 7T 1)
Picture Name Type Page.Range
(FmBR) (F=fn B R) (Fmils) (71853 )
YCJ2,YCDJ2 3.01~3.06
YAM1,YADM1 3.07~3.12
Min./Small Bore YADM2 3.13~3.20
Size Cylinder .
(INELRR O S 4T) YCM1,YCDM1 3.21~3.26
YCM2,YCDM2 3.27~3.36
YCM2RA,YCM2RB| 3.37~3.39
) YCA2,YCDA2 3.40~3.46
Medium Bore YCA3,YCDA3 3.47~3.50
Size Cyl_inder YMB 3.51~3.56
(R B4R S E) YMC 3.57~3.60
YMD 3.61~3.64
Large Bore Size Cylinder YCS1.YCDS1 3.65~3.72
(K BY AR A S HI) ’ ' '
Co_mpact Cylinder YAQ2,YADQ2 3.73~3.79
(5 £ B T B ST YCQ2,YCDQ2 3.80~3.89
Direct Mount Cylinder -
(B 4 % 2 B = 4T) YC(D)U 3.90~3.92
Guide Cylinder YMGP 3.93~3.96
(5 SHE S ) ' '
Block Cylinder(® &I = #I) YCXS 3.97~3.103
Small Bore Cylinder 3.104~3.105
(/1 B W 4R 5 1) vC8s
Light Cylinder(3 2! S &I) YCGH1 3.106
Air Chuck(S #1 F18) YCHA 3.107~3.108
Air Chuck(5 31 F18) YCHB 3.109~3.110
Stopper Cylinder 3.111~3.113
(FR$% = 61) VSNG045
Rodless Cylinder
(R 18 % T2 4T D) YRD 314
Shock Absorber
(i E R R 22) YRB,YRB-OEM 3.115~3.118
(1) Auxiliary Component(i# B 5 5h 7T )
Picture Name Type Page.Range
(FmBER) (F=fn B ) (Fmils) (71855 )
- Pneumatic Joint N
e Tube( & PU. UC 4.1
X 4 ” -« Silencer (i 7 %) YAN 4.12
ﬁ_\ a \ 4.15
e o - Vacuum Filter
_, (=R ) veF 4-16
; Pressure Switch YSNS 417

Please contact us on any small problems & details.

| YSC |
EFERYEL K6 IEEES A AREKE.  PNEUMATICS




Unit Conversion Table
@YSCI (BRrHEE )

| Units of Volume (53R & 4ir)|

Units of Length ('Lﬂifiﬁ‘l.)\ ] Units of Area (TR E4r) \
1in =25.4 mm 1in® =6.45 cm’
1ft =0.3048 m 1it? =0.093 m?

1 mile =1609.3 m

1 micron =10° m ’

Units of pressure (J:szliﬁ)‘

Units of Mass (= #{r) \ 1psi =6.89 Kpa
1 kgf/em® =98.07 KPa
Tlb =453.6 9 1 bar =100 KPa
1 owt =508 kg 1 bar =145 Psi
1ton(imp) ~ =1016 kg 1 atmosphere  =98.1 KPa
Tton(us) =907.2 kg 1"(Standard) =101.33  KPa
1 tonne =1000 kg 1 cm water =97.89 Pa
1 in water =248.64 Pa
: . 1 mm mercury =133.3 Pa
Unit of Moment (1 4B.8443T) \ ooy 389 o
1 inlb =0.113 Nm 1 Torr =133.3 Pa
1 ftib -1.356 Nm 1 ft water =0.0298 bar
1 kgm =9.807 Nm 1 bar =33.33 ft water
1 ftpoundal  =0.0421 Nm
| Units of Work (SR BE B &47)|
SW_L)‘ 1 Ibft -1.356
1 Nm =1 J
(° F-32) x 5/9 =C 1 Kgm ~9.807 J
K=273.15 =T 1 KW/hr =3.6 MJ

Flow Volume(iii &) \

CV Value ({&)=Water Flow Volume: 1 US Gal/min at 60°F & Pressure Differential 1 Psi.
(Cv x 1000=I/min)
(KR E(US Gal/min)iR60°F T, HEREEAN1Psiz B TMAEHZREEE)
Kv Value ({&)=Water Flow Volume: L/min at 20°C & pressure Differential 1Kgf/cm®.
(BEHREWUMINR20CT, HEEH1Kgem® Z @A HZ REEE).
Kv Value ({&)=Air Flow Volume: m3/min at 20C & pressure Differential 1Kgf/cm?®.

ST.P= Temp: 0C, Absolute Pressure:101.3kpa.
(FREBERESN (0CK101.3Kpatk 3t £ #1))
N.T.P.= Temp: 20C, Absolute Pressure:101.3kpa.
(FRERERIES (20CK101.3KpaZExt & 77))
M.S.C= Temp: 15C, Absolute Pressure:101.3kpa.
(AFIFRAEER (15CR101.3Kpads 3t £ 4)
ANR= Temp:20°C & Relative Humidity:65%.

(RE20CRAAIEE: 65%)

(BRRE(M/Min)R20CTT, REEH1Kgem’Z B IITEEFHZREEH).

Equivalent(Z-{E#H):

1 Psi=6.895 kpa=0.07kgf/cm’=0.06895 bar=0.703 atm
1 standard atmosphere=14.7 psi=1.01325 bar

1 kgf/cm?=98.07 kpa=14.22 psi=28.96 ins merury

1 ft Ib=0.13826 kgm=1.356 Nm

1 L.=1000cm°’=1.7598 pint=106mm°

1 tonne=1000kg=0.984 ton=2205 Ib

1 m’=10°cm®

1 cu ft/min.=0.0283m®/min=28.3 I/min

1 Pa=1 N/m’

1 litre

1 cu.ft.

1 cu.in.

1 gal(imp)

1 gal(us)

1 fluid oz.(imp)
1 fluid oz.(us)

=0.001
=0.0283
=16.39
=4.546
=3.79
=28.41
=29.57

] Units of Force (184

|

1 Ibf

1 Kgf

1 Kp(kilopond)
1 Poundal

1 ton force

=4.45
=9.81
=9.81
=138.3
=9.964

)

W
W
W
W
W

| Unisof Power (WorkTime) & 1 /B |

1 Ibft/sec
1 Kgm/sec
1 Nm/sec
1 Joule/sec
1 H.P.(imp)

=1.356
=9.807
=1
=1
=745.7

=sssz=sz=

’ Units(E24z) Hf\g%t%%viaﬁon‘

Pascal
Newton
Metre
Litre
Watt

Joule
Megajoule
° kelvin

Newton metre.

Pa

=r 3z

Nm

MJ

Please contact us on any small problems & details.

SRR B R B S E i S AR R

PNEUMATICS




Theoretical Output Table of cylinder

O©ysc I (ST H %)

(Unit:kgf)
Vertical Operation(L T 75 [m3#21F) Horizontal Operation (1 [@21%)
Bore Size Operationg Pressure ({ Fi =S £ #1) MPa{kgf/cm?} Operationg Pressure (& =S E 1) MPa{kgf/cm?}
(EL12)

(mm) 0.3 0.4 05 06 07 03 0.4 05 0.6 0.7
(3.1} (4.1} (5.1} (6.1} 7.1} 3.1} (4.1} (5.1} (6.1} 7.1}

6 0.43 0.57 0.71 0.85 0.99 0.85 1.13 1.41 1.70 1.98
10 1.18 1.57 1.97 2.36 2.57 2.36 3.41 3.93 4.71 5.50
12 1.70 2.26 2.83 3.39 4.00 3.39 452 5.65 6.78 7.91
16 3.02 4.02 5.05 6.05 7.05 6.03 8.04 10.1 12.1 141
20 4.71 6.30 7.85 9.40 11.0 9.42 12.6 15.7 18.8 22.0
25 7.35 9.80 12.3 14.7 17.2 14.4 19.6 24.5 29.4 34.4
32 12.1 16.1 20.1 24.2 28.2 241 32.2 40.2 48.3 56.3
40 18.9 25.2 31.4 37.7 44.0 37.7 50.3 62.8 75.4 88.0
50 29.5 39.3 491 58.5 68.5 58.9 78.5 98.2 117 137
63 46.8 62.5 78.0 93.5 109 93.5 125 156 187 218
80 75.5 101 126 151 176 151 201 251 302 352
100 118 157 197 236 275 236 314 393 471 550
125 184 246 308 368 430 368 491 615 736 859
140 231 308 385 462 539 462 616 770 924 1078
160 302 402 503 603 704 603 804 1005 1206 1407
180 382 509 636 764 891 763 1018 1272 1527 1781
200 471 529 786 943 1100 942 1257 1571 1885 2199
250 737 982 1227 1473 1718 1473 1936 2454 2945 3436
300 1061 1414 1767 2121 2474 2121 2827 3534 4241 4948

Note. 1) Above data indicate the output at piston speed 50~500mm/s

Note. 2) The actual output of vertical operation are 50% of theoretical output.
Note. 3) The actual output of horizontal operation are same as theoretical output.

E1) B ARERIE AR S ELE E 25 50~500/mm/ASESE E M.
iF2) SHEHMETEERXERMER, HILERHAEAEIRITE T 18950%

iE3) HEEKEREREEZEIMRERE, SELRHAISERHAEY,

Please contact us on any small problems & details.

SRR B R L S B R S AN R B

PNEUMATICS




Main Line Filter(E &3 & 28)

YAFF250~850 series

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAFF

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

3um Removal(% [&)95%

Element Life(Ei5 5 )

At Press.Differential( % £ 77 Z £ 2)0.1Mpa(1kgf/cm?)
or 2 years( A )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

£ F B 3 HE7K 88 B, & (K £ 770.15Mpa(1.5kgf/cm?)

250,350 _
FF series YAFF650,850 series
450,550
Model(E! ) Size (M 1) Part(ft 14) Repair Parts[#& (£ £ 11)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F A HEKE) (F hHEkEY) (/min) (EEOR) (kg) (FEZREH) (B #hHEK 2% F) (SR )
YAFF250-02 YAFF250-02D 750 1/4” 0.55 BM-25 YAD40 YAFF-EL250
YAFF250-03 YAFF250-03D 750 3/8” 0.55 BM-25 YAD40 YAFF-EL250
YAFF350-03 YAFF350-03D 1500 3/8” 0.9 BM-35 YAD40 YAFF-EL350
YAFF350-04 YAFF350-04D 1500 1/2” 0.9 BM-35 YAD40 YAFF-EL350
YAFF450-04 YAFF450-04D 2200 1/2” 1.4 BM-45 YAD40 YAFF-EL450
YAFF450-06 YAFF450-06D 2200 3/14” 1.4 BM-45 YAD40 YAFF-EL450
YAFF550-06 YAFF550-06D 3500 3/4” 2.1 BM-55 YAD40 YAFF-EL550
YAFF550-10 YAFF550-10D 3500 1” 2.1 BM-55 YAD40 YAFF-EL550
YAFF650-14 YAFF650-14D 6000 1%” 5.0 BM-65 YAD40 YAFF-EL650
YAFF850-14 YAFF850-14D 12000 1%” 11.5 BM-85 YAD40 YAFF-EL850
YAFF850-20 YAFF850-20D 12000 2" 11.5 BM-85 YAD40 YAFF-EL850
Fw B HK B EEEHIKE B EELPCF06-03.
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
_HIT _ A
A IN| & PouT \J
G Bracket(Option) F
iy g (T k) D
1| | PLT&'
IN L ouT }
— @ |
" &3
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAFF 450 55058r1es YAFF650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K 1 " [FIe[H[Jm
YAFF250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 (66 |20| 6 | 12
YAFF350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50|80 (22| 7 |14
YAFF450 1/2",3/4" 106 225 19 106 20 241 10 166 [ 55(88|25| 9 |14
YAFF550 3/4,1" 122 259 22 122 20 277 10 200 |65(100{30| 9 | 16
YAFF650 175" 180 390 42 180 95 [150| 40 | 11
YAFF850 1%",2" 180 500 42 180 95 |150| 30 | 13
WL : YAFF250-02, YAFF350-03. YAFF450-04. YAFF550-10. YAFF650-14
Please contactus on al I i 1.01 i L R 6] 85, NG5 ysc
n n any small problems & details. E AR E RS LIS E RS AN RBRYE. PNEUMATICS




Oil Mist Seperator(GHZE 4>

YAM250~850 series

=8

) A

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAM

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

0.03um Removal(%[&)95%

Oil Mist Density (& EMHE R E)

Max. (& %)1.0mg/Nm?

Element Life(iE % %)

At Press.Differential(%i £ 1 Z % £)0.1Mpa(1kgf/cm?)
or 2 years(si # )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

250,350 1% B B HEk & B, R 1K E 710.15Mpa(1.5kgflcm?)
AM series YAM650,850 series
450,550
Model(E! ) Size (M 1) Part(ft 14) Repair Parts[#& (£ £ 11)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F 3 HEk B (F hHE7kEY) (/min) (EEOR) (kg) (FEZREE ) (B3 HEKFIETF) (i 705 26 1)
YAM250-02 YAM250-02D 750 1/4” 0.55 BM-25 YAD40 YAM-EL250
YAM250-03 YAM250-03D 750 3/8” 0.55 BM-25 YAD40 YAM-EL250
YAM350-03 YAM350-03D 1500 3/8” 0.9 BM-35 YAD40 YAM-EL350
YAM350-04 YAM350-04D 1500 1/2” 0.9 BM-35 YAD40 YAM-EL350
YAM450-04 YAM450-04D 2200 1/2” 1.4 BM-45 YAD40 YAM-EL450
YAM450-06 YAM450-06D 2200 3/14” 1.4 BM-45 YAD40 YAM-EL450
YAM550-06 YAM550-06D 3500 3/4” 2.1 BM-55 YAD40 YAM-EL550
YAM550-10 YAM550-10D 3500 1” 2.1 BM-55 YAD40 YAM-EL550
YAM650-14 YAM650-14D 6000 1% 5.0 BM-65 YAD40 YAM-EL650
YAM850-14 YAM850-14D 12000 1% 11.5 BM-85 YAD40 YAM-EL850
YAM850-20 YAM850-20D 12000 2" 11.5 BM-85 YAD40 YAM-EL850
MBS HKRFEERHKE S BRELPCF06-03,
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
T - A
A IN| & PouT \J
G Bracket(Option) F
iy g (T k) D
ST | PL%
IN [ ouT }
— @ |
" &3
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAM 50 5505€ries YAM650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K1Y [FIe[H]JI M
YAM250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 (66 |20| 6 | 12
YAM350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50|80 (22| 7 |14
YAM450 1/2",3/4" 106 225 19 106 20 241 10 166 [ 55(88|25| 9 |14
YAM550 3/4,1" 122 259 22 122 20 277 10 200 |65(100{30| 9 | 16
YAM650 175" 180 390 42 180 95 |150| 40 | 11
YAM850 1%",2" 180 500 42 180 95 |150| 30 | 13
WEER: YAM250-02, YAM350-03, YAM450-04, YAM550-10. YAM650-14
Please contactus on al Il i 1.02 i L R 16 55, 3 ONGI):z: YSC
n n any small problems & details. E AR E RS LIS E RS AN RBRYE. PNEUMATICS




Micro Mist Seperator(fdiZ 45 5
ri

YAMD250~850 se

o
HR

)

€S

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAMD

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

0.01um Removal(%[&)95%

Oil Mist Density (% FEM5HE 3R &)

Max. (& %)1.0mg/Nm?

At Press.Differential(%i £ 1 Z % £)0.1Mpa(1kgf/cm?)
or 2 years(si # )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

Element Life(iE % %)

250,350 1% B B HEk & B, R 1K E 710.15Mpa(1.5kgflcm?)
AMD series YAMDG650,850 series
450,550
Model(E! ) Size (M 1) Part(ft 14) Repair Parts[#& (£ £ 11)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F 3 HEk B (F hHE7kEY) (Vmin) (EEOR) (kg) (FEZREE ) (B3 HEKFIETF) (R T 4 1)
YAMD250-02 YAMD250-02D 500 1/4” 0.55 BM-25 YAD40 YAMD-EL250
YAMD250-03 YAMD250-03D 500 3/8” 0.55 BM-25 YAD40 YAMD-EL250
YAMD350-03 YAMD350-03D 1000 3/8” 0.9 BM-35 YAD40 YAMD-EL350
YAMD350-04 YAMD350-04D 1000 1/2” 0.9 BM-35 YAD40 YAMD-EL350
YAMD450-04 YAMD450-04D 2000 1/2” 1.4 BM-45 YAD40 YAMD-EL450
YAMD450-06 YAMD450-06D 2000 3/4” 1.4 BM-45 YAD40 YAMD-EL450
YAMD550-06 YAMD550-06D 3500 3/4” 2.1 BM-55 YAD40 YAMD-EL550
YAMD550-10 YAMD550-10D 3500 1” 2.1 BM-55 YAD40 YAMD-EL550
YAMD650-14 YAMD650-14D 6000 1%” 5.0 BM-65 YAD40 YAMD-EL650
YAMD850-14 YAMD850-14D 12000 1%” 11.5 BM-85 YAD40 YAMD-EL850
YAMD850-20 YAMD850-20D 12000 2" 11.5 BM-85 YAD40 YAMD-EL850
Fw B HK B EEEHIKE B EELPCF06-03.
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
T - A
A IN| & HouT \J
G Bracket(Option) F
=T (T k) D
4
ST | PL%
IN [ ouT }
— @ |
wi K
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAMD ;5 550 Series YAMD650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K1Y [FIe[H]JI M
YAMD250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 66|20 6 | 12
YAMD350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50(80(|22| 7 |14
YAMD450 1/2",3/4" 106 225 19 106 20 241 10 166 |55(88|25| 9 |14
YAMD550 3/4,1" 122 259 22 122 20 277 10 200 |65 (100/30| 9 |16
YAMD®650 175" 180 390 42 180 95 [150| 40 | 11
YAMD850 1%",2" 180 500 42 180 95 (150 30| 13

#EFIEM: YAMD250-02, YAMD350-03, YAMD450-04, YAMD550-10. YAMD650-14

1.03

YSC
Please contact us on any small problems & details. PNEUMATICS

R E RS L E S A A RIBE.




Water Seperator(7k 4 57 55 88)

YAMG250~850 series

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAMG

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Scavenging Particle Size(k % £#X)

99%

Element Life(Ei5 5 )

At Press.Differential( % £ 77 Z £ 2)0.1Mpa(1kgf/cm?)
or 2 years( A )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

£ F B 3 HE7K 88 B, & (K £ 770.15Mpa(1.5kgf/cm?)

250,350 _
AMG series YAMGG650,850 series
450,550
Model(Z! ) Size (M 1&) Part (Bt 1) Repair Parts[#& 4 (f£ 1% 1i)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F 3 HEk B (F hHE7kEY) (Vmin) (EEOR) (kg) (FEZREE ) (B3 HEKFIETF) (RSB %)
YAMG250-02 YAMG250-02D 750 1/4” 0.55 BM-25 YAD40 YAMG-EL250
YAMG250-03 YAMG250-03D 750 3/8” 0.55 BM-25 YAD40 YAMG-EL250
YAMG350-03 YAMG350-03D 1500 3/8” 0.9 BM-35 YAD40 YAMG-EL350
YAMG350-04 YAMG350-04D 1500 1/2” 0.9 BM-35 YAD40 YAMG-EL350
YAMG450-04 YAMG450-04D 2200 1/2” 1.4 BM-45 YAD40 YAMG-EL450
YAMG450-06 YAMG450-06D 2200 3/4” 1.4 BM-45 YAD40 YAMG-EL450
YAMG550-06 YAMG550-06D 3500 3/4” 2.1 BM-55 YAD40 YAMG-EL550
YAMG550-10 YAMG550-10D 3500 1” 2.1 BM-55 YAD40 YAMG-EL550
YAMG650-14 YAMG650-14D 6000 1%” 5.0 BM-65 YAD40 YAMG-EL650
YAMG850-14 YAMG850-14D 12000 1%” 11.5 BM-85 YAD40 YAMG-EL850
YAMG850-20 YAMG850-20D 12000 2" 11.5 BM-85 YAD40 YAMD-EL850
MBS HKRFEERHKE S BRELPCF06-03,
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] 2
I - LT
A IN| & HouT \J
G Bracket(Option) F
ST @W D
&1 HN | i s
IN [ ouT }
— @ |
wi K
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAMG ;¢ o Series YAMG650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K1Y [FIe[H]JI M
YAMG250 1/4",3/8" 76 172 13 76 20 187 8 113 |40(66[20| 6 | 12
YAMG350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50(80(|22| 7 |14
YAMG450 1/2",3/4" 106 225 19 106 20 241 10 166 [ 55(88|25| 9 |14
YAMG550 3/4,1" 122 259 22 122 20 277 10 200 |65(100{30| 9 |16
YAMG650 1%" 180 390 42 180 95 [150| 40 | 11
YAMG850 1%",2" 180 500 42 180 95 (150 30| 13

#EFIEM: YAMD250-02, YAMD350-03, YAMD450-04, YAMD550-10. YAMD650-14

Please contact us on any small problems & details.

1.04

R E RS L E S A A RIBE.

YSC
PNEUMATICS




Micro Mist Seperator With Prefilter(fi{Z %

YAMH250~850 series

COMMON SPECIFICATIONS(#

/\Bg 5E s

P AR

25138)

BERHS

5 ALAK)

Model(E! £)

YAMH

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

0.01um Removal(%[&)95%

Element Life(Ei 7 fy

At Press.Differential( % £ 77 Z £ 2)0.1Mpa(1kgf/cm?)
or 2 years( A )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)
£ F B 3 HE7K 88 B, & (K £ 770.15Mpa(1.5kgf/cm?)

250,350 _
AMH series YAMH650,850 series
450,550
Model(Z! ) Size (M 1&) Part (Bt 1) Repair Parts[#& 4 (f£ 1% 1i)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F B HEKE) (F hHE7kEY) (Vmin) (EEORE) (kg) (FEZREE ) (B #hHEK 2] FF) (8 4B 1)
YAMH250-02 YAMH250-02D 500 1/4” 0.55 BM-25 YAD40 YAMH-EL250
YAMH250-03 YAMH250-03D 500 3/8” 0.55 BM-25 YAD40 YAMH-EL250
YAMH350-03 YAMH350-03D 1000 3/8” 0.9 BM-35 YAD40 YAMH-EL350
YAMH350-04 YAMH350-04D 1000 1/2” 0.9 BM-35 YAD40 YAMH-EL350
YAMH450-04 YAMH450-04D 2000 1/2” 1.4 BM-45 YAD40 YAMH-EL450
YAMH450-06 YAMH450-06D 2000 3/4” 1.4 BM-45 YAD40 YAMH-EL450
YAMH550-06 YAMH550-06D 3500 3/4” 2.1 BM-55 YAD40 YAMH-EL550
YAMH550-10 YAMHS550-10D 3500 17 2.1 BM-55 YAD40 YAMH-EL550
YAMH650-14 YAMH650-14D 6000 1% 5.0 BM-65 YAD40 YAMH-EL650
YAMH850-14 YAMH850-14D 12000 1% 11.5 BM-85 YAD40 YAMH-EL850
YAMH850-20 YAMH850-20D 12000 2" 11.5 BM-85 YAD40 YAMH-EL850
EE s HEk R FEEH K E BB LPCF06-03.
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
_HIT _ A
A IN| & fouT \J
G Bracket(Option) F
=T (T k) D
= &F|
ST | ! -
IN L ouT }
— @ |
m ¥
#1EZE] {Drain M5, H H H
HkO
250,350 .
YAMH 50 550 Series YAMH650,850 series
Model No. PlpeS|ze W/Bracket(# £ 22 )
@ 8) |@EO®RePT)| A B c D E ! K L Flc[n[J[m
YAMH250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 66|20 6 | 12
YAMH350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50|80 (22| 7 |14
YAMH450 1/2",3/4" 106 225 19 106 20 241 10 166 | 55|88 |25| 9 |14
YAMH550 3/4,1" 122 | 259 | 22 | 122 | 20 | 277 | 10 | 200 |65|100/30]| 9 | 16
YAMHG650 1%" 180 390 42 180 95 [150| 40 | 11
YAMHB850 1%",2" 180 500 42 180 95 (150| 30 | 13

HEFIEM: YAMH250-02, YAMH350-03, YAMH450-04, YAMH550-10. YAMH650-14

Please contact us on any small problems & details.

1.05

R E RS L E S A A RIBE.

YSC
PNEUMATICS




®Ovsc]

Super Mist Seperator(#8/\JHE 9 &

YAME250~850 series

)

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAME

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

0.01um Removal(%&)95%

Scavenging Particle Size(’k# £ )

99%

Element Life(iE % %)

At Press.Differential(%i £ 1 Z % £)0.1Mpa(1kgf/cm?)
or 2 years(si # )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

250,350 1% /8 & Bk 3 B, B AR FE £10.15Mpa(1.5kgf/cm?)
AME series YAMEG650,850 series
450,550
Model(E! ) Size (M 1) Part(ft 14) Repair Parts[#& (£ £ 11)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F B HEKE) (F hHE7kEY) (Vmin) (EEOR) (kg) (FEZREE ) (B #hHEK 2] FF) (R T 4 1)
YAME250-02 YAME?250-02D 750 1/4” 0.55 BM-25 YAD40 YAME-EL250
YAME250-03 YAME250-03D 750 3/8” 0.55 BM-25 YAD40 YAME-EL250
YAME350-03 YAME350-03D 1000 3/8” 0.9 BM-35 YAD40 YAME-EL350
YAME350-04 YAME350-04D 1000 1/2” 0.9 BM-35 YAD40 YAME-EL350
YAME450-04 YAME450-04D 2000 1/2” 1.4 BM-45 YAD40 YAME-EL450
YAME450-06 YAME450-06D 2000 3/4” 1.4 BM-45 YAD40 YAME-EL450
YAME550-06 YAME550-06D 3500 3/4” 2.1 BM-55 YAD40 YAME-EL550
YAMES550-10 YAMES550-10D 3500 1” 2.1 BM-55 YAD40 YAME-EL550
YAMEG650-14 YAME650-14D 6000 1%” 5.0 BM-65 YAD40 YAME-EL650
YAMES850-14 YAME850-14D 12000 1%” 11.5 BM-85 YAD40 YAME-EL850
YAME850-20 YAME850-20D 12000 2" 11.5 BM-85 YAD40 YAME-EL850
Fw B HK B EEEHIKE B EELPCF06-03.
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
_HIT _ A
A N Hout \J
G Bracket(Option) F
iy g FER((E i) D
1| | -l
IN L ouT }
— @ |
m ¥
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAME 450 5505€ries YAMEG650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K 1 " [FIe[H[Jm
YAME250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 66|20 6 | 12
YAME350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50(80|22| 7 |14
YAME450 1/2",3/4" 106 225 19 106 20 241 10 166 |55(88|25| 9 |14
YAMES50 3/4,1" 122 259 22 122 20 277 10 200 |65 (100/30| 9 |16
YAMEG650 175" 180 390 42 180 95 [150| 40 | 11
YAME850 1%",2" 180 500 42 180 95 [150| 30 | 13

#EFIEMA: YAME250-02, YAME350-03, YAME450-04. YAME550-10. YAME650-14

Please contact us on any small problems & details.

1.06

R E RS L E S A A RIBE.

YSC
PNEUMATICS




®Ovsc]

Oder Removal Filter(f& & 33 & 88)
YAMF250~850 series

BERHS

COMMON SPECIFICATIONS (£ [F] #1 1)

Model(E! £)

YAMF

Fluid(Fiik) Air(EFH=ER)
Max Press (&S Mk /) 1.0Mpa(10.2kgf/cm?)
Min Press.(FAR{EFIE /) 5%0.05Mpa(0.5kgf/cm?)

Proof Press.({R3IEit /& /1)

1.5Mpa(15.2kgf/cm?)

Amb.Temp. (FMEFIARE)

5~60°C

Filteration(iZ i€ FL1E)

0.01um Removal(%&)95%

Scavenging Particle Size(’k# £ )

99%

Element Life(iE % %)

At Press.Differential(%i £ 1 Z % £)0.1Mpa(1kgf/cm?)
or 2 years(si # )

¥ Auto Drain Type:0.15Mpa(1.5kgf/cm?)

250,350 1% B B HEk & B, R 1K E 710.15Mpa(1.5kgflcm?)
AMF series YAMF650,850 series
450,550
Model(E! ) Size (M 1) Part(ft 14) Repair Parts[#& (£ £ 11)]
Manual Drain Type | Auto Drain Type |[FlowRate(fi€#i£) Pipe Size |[Wt.(JR &) Bracket Auto Drain Float Element
(F B HEKE) (F hHE7kEY) (Vmin) (EEOR) (kg) (FEZREE ) (B #hHEK 2] FF) (R T 4 1)
YAMF250-02 YAMF250-02D 500 1/4” 0.55 BM-25 YAD40 YAMF-EL250
YAMF250-03 YAMF250-03D 500 3/8” 0.55 BM-25 YAD40 YAMF-EL250
YAMF350-03 YAMF350-03D 1000 3/8” 0.9 BM-35 YAD40 YAMF-EL350
YAMF350-04 YAMF350-04D 1000 1/2” 0.9 BM-35 YAD40 YAMF-EL350
YAMF450-04 YAMF450-04D 2000 1/2” 1.4 BM-45 YAD40 YAMF-EL450
YAMF450-06 YAMF450-06D 2000 3/4” 1.4 BM-45 YAD40 YAMF-EL450
YAMF550-06 YAMF550-06D 3500 3/4” 2.1 BM-55 YAD40 YAMF-EL550
YAMF550-10 YAMF550-10D 3500 1” 2.1 BM-55 YAD40 YAMF-EL550
YAMF650-14 YAMF650-14D 6000 1%” 5.0 BM-65 YAD40 YAMF-EL650
YAMF850-14 YAMF850-14D 12000 1%” 11.5 BM-85 YAD40 YAMF-EL850
YAMF850-20 YAMF850-20D 12000 2" 11.5 BM-85 YAD40 YAMF-EL850
Fw B HK B EEEHIKE B EELPCF06-03.
Dimensions(mm)(5h 8 R ~F &) (Z k)
A D
G Bracket(Option) F
] | FER(E %)
] s
T - A
A IN| & HouT \J
G Bracket(Option) F
iy g (T k) D
ST | PL%
IN ouT }
— @ |
m ¥
#1EZE] {Drain M5, H H H H
HkO
250,350 .
YAMF =0 550S€ries YAMF650,850 series
Model No. Pipe Size W/Bracket(7 £ 32 i)
® ) |@EA®ReePT)| A | B | ¢ | D E ! K1Y [FIe[H]JI M
YAMF250 1/4",3/8" 76 172 13 76 20 187 8 113 |40 66|20 6 | 12
YAMF350 3/8",1/2" 90 204 16 90 20 218 8 145 | 50(80|22| 7 |14
YAMF450 1/2",3/4" 106 225 19 106 20 241 10 166 |55(88|25| 9 |14
YAMF550 3/4,1" 122 259 22 122 20 277 10 200 |65 (100/30| 9 |16
YAMF650 175" 180 390 42 180 95 [150| 40 | 11
YAMF850 1%",2" 180 500 42 180 95 [150| 30 | 13

HFIEM: YAMF250-02, YAMF350-03, YAMF450-04, YAMF550-10. YAMF650-14

Please contact us on any small problems & details.

1.07

R E RS L E S A A RIBE.

YSC
PNEUMATICS




®ysc|

F.R.L. Combination (

YAC20~YACS5O0 series

HOW TO ORDER(E! 2 %R 7 %)

=RILIRAE )

COMMON SPECIFICATION (I [E#14&)

BERAFS

,,,,,,,,,

Proof Press.({RIEME /1)

1.5Mpa(15.3kgf/cm?)

Max Press.(&&ERE )

1.0Mpa(10.2kgf/cm?)

Amb.Temp.(EMNEFIAEE)

-5~60°C (K & 4)

Filteration(G3 EFL1E)

5um

Recommanded Oil( i3 F3k)

Turbine Oil(i% F15 5#)ISOVG32

Bowl Material(#+ 2B 1441 44)

Porycarbonate (22 i B2 Big)

Bowl Guide(#:Br 3 &)

YAC20:W/O(%),YAC30~50:W (%)

Regulating Range(iBEEE)

0.05~0.85Mpa(0.51~8.7kgf/cm?)

*Element(i&1%)2,10,20,40,70,100pum Available (] i 1% #£).

YAC||30|-|03||BD
YSC series BEOZ Lﬁ]’iﬁjﬁ
F+R+L B. irm
02:1/4 : WRE
T 03:3/8 D: Bk
04:1/2 G: ®ENH
20:1/4 1041
30:3/8 '
40:1/2
50:1
Model(E! S) Size(#l #&)

Manual Drain Type|Auto Drain Type Combination (#J A% 7t #F) FlowRate#ii8) Pipe Size [GaugePor(E%N%) Wt.(Fi &) | Bracket
(FarkE) | (FIHIKE) |Air Filter(dik 2 )Regulator(FiE if)Lubricator (A E %) (min) (EEQOR) Re(PT) (kg)  |(FEZR)(21)
YAC20-02 YAC20-02D YAF20 YAR20 YAL20 500 1/4” 1/8” 0.74 Y20L
YAC30-03 YAC30-03D YAF30 YAR30 YAL30 2000 3/8” 1/8” 1.18 Y30L
YAC40-04 YAC40-04D YAF40 YAR40 YAL40 4000 1/2” 1/4” 2.14 Y40L
YAC50-10 YAC50-10D YAF50 YARS50 YALS50 5000 17 1/4” 3.82 Y50L

KRB ESHIKE A ESHKESRERE N H0.1MPa.

Dimensions(mm)(5M¥ R~ (Z%))
YAC20 YAC30~50
A F F
G ‘ D | D.
—A)‘ﬁDPTW 18" ] ¥ A:» (W —
M=l ‘ J 3 )
R - I AT AL ‘ Ml
in | d - &
| R | | Neria T ‘ BEO
vy ® T @a
I J i AL
W L&j) |
ﬂT HELT B 5
Hok HEK
Model No. Pipe Size A B c D W/Bracket(#5 £ 22 i)
(B 5) |(EEBEORE)RC(PT) F G H J K L P
YAC20 1/4" 113 125 38 40 30 50 24 5.5 8.5 5 50
YAC30 3/8" 181 156.5 38 53 41 64 35 11 7 70.5
YAC40 1/2" 238 191.5 40 70 50 84 40 13 7 88
YAC50 1 300 | 271.5 48 920 70 105 50 12 16 10 115
1.08 [ YSC |
PNEUMATICS

Please contact us on any small problems & details.

FE R E R IS E RS A A RBE.




BERAFS

F.R.L. Combination ( S i1jEAE )

YAC20A~YACA40A series

®Ovysc]

,,,,,,,,,,,,,

COMMON SPECIFICATION (I [E#14&)

Proof Press.(fRiEMmIE 77) 1.5Mpa(15.3kgf/cm?)

Max Press.(&&ERE ) 1.0Mpa(10.2kgf/cm?)

Amb. Temp.(FREFITIREE ) -5~60°C (5 7% )

Filteration(i3 € FL1Z) 5um

Recommanded Oil(Zi{ Fih)| Turbine Oil(if 15 iH)ISOVG32

Bowl Material(# 4B f#7141) Porycarbonate (32 % B4 fig)

Bowl Guide(FrFh#A E) YAC20A:W/O (), YAC30A~50A:W (%)

Regulating Range(3ESERE) | 0.05~0.85Mpa(0.51~8.7kgf/cm?)

*Element(J€1)2,10,20,40,70,100um Available (7] it & #%).

HOW TO ORDER(E! SRR F %)

YAC| |30 |A| - 03| BD
v3Cseries | ri—4 maOE Lﬁfiilﬁ
02:1/4 B: ﬁﬁﬁk
03:3/8 : BEhHE)
EWRA 04:1/2 G: BEA%
30:3/8
40:1/2
50:1
Model (B 2) Size(# 18)
Manual Drain Type|Auto Drain Type Combination (4 B 7t #) FlowRate(#iEiE) Pipe Size |GaugePor(E/%0%) Wt.(BX &) | Bracket
(FaHKR) | (FaIHEKEL) [airFilter+Requlator(i3 8 58 2 i) Lubricator (&) (/min) EEOR) RefP) (kg)  |(FEZR)(2D)
YAC20A-02 | YAC20A-02D YAW20 YAL20 500 1/4” 1/8” 0.66 Y20T
YAC30A-03 | YAC30A-03D YAW30 YAL30 1700 3/8” 1/8” 0.98 Y30T
YAC40A-04 | YAC40A-04D YAW40 YAL40 3000 1/2” 114~ 1.93 Y40T
ARl B S HEPKE D E S HK ERIRERE N 40.1MPa.
Dimensions(mm)(5ME R <t (ZXK))
YAC20A YAC30A~40A
A
A F 1 = D .
1 G D| , |
MM ﬁ | ?5. MJ:L(
. o1 A
T T I g | Eta T H
i\ = T -€0) Lﬁ Eony J:TL j: R -r] . | | l _41
m—| Eorgidll—en 45 w— ST I - HOH
0 | e 1] B 5 | ] -
MMHJJMMW - ! ) == l
jJ | M | LI
~ | | |
ok EZT
b
Hik
Model No. Pipe Size A B c D W/Bracket(#5 £ 22 i)
(B 5) |(EEBEORE)RC(PT) F G H J K L P
YAC20A 1/4” 90 164.5 78 40 30 45 24 5.5 8.5 5 50
YAC30A 3/8” 117 211 92.5 53 41 58.5 35 7 1 7 70.5
YAC40A 1/2” 154 262.5 112 70 50 77 40 9 13 7 88
Please contact us on any small problems & details. 1.09 AR E L R0 R, T i S AR R B,




Air Filter (

O —
=5

pretl)

YAF20~50 series

HOW TO ORDER(E! 2 %R %)

ERHS

COMMON SPECIFICATION (I [E#14&)

Proof Press.(#RIiEmE17)

1.5Mpa(15.3kgf/cm?)

Max Press.(&&ERE )

1.0Mpa(10.2kgf/cm?)

Amb.Temp.(EMNEFIAEE)

-5~60°C (K & 4)

Filteration(G3 EFL1E)

5um

Bowl Material (#4814 #1%3})

Porycarbonate (32 i B fig)

Bowl Guide(#F B3R &)

YAF20:W/O(%), YAF30~50:W(%)

*Element(£it)2,10,20,40,70,100um Available (] fit % ).

YAF||30|-|03||BD
YSC series BENE Lﬁ]’iﬁl’ﬁ
02:1/4 B: W%
E AN 03:3/8 D: B3hHEk
04:1/2
20:1/4 10 1
30:3/8 :
40:1/2
50: 1
Model(EL £) | Size(#1 %)

Manual Drain Type|Auto Drain Typel  Flow Rate (& & i &) Pipe Size(# & O &) Bowl Capacity(# & &£) Wt.(R )
FaikE) | (FaHokE) (L/min) Rc(PT) (cm?) (kg)
YAF20-02 YAF20-02D 750 1/4” 15 0.19
YAF30-03 YAF30-03D 1500 3/8” 20 0.29
YAF40-04 YAF40-04D 4000 1/2” 45 0.55
YAF50-10 YAF50-10D 7000 1”7 130 1.08

Xan A B EHEKE A ESHEIK ESIRERE /140.1MPa.

Dimensions(mm)(5M ¥ R ~F(Z %))
YAF20 YAF30~50
L D ﬂé - = M
KL F He
T M JT5 Htjl B
o = &+ |
+ A~ % 5 O f_gr_] %
PNEE _Jr = . il —{l==’ ! = T = fitly E—{‘& '
i | [N | ! | == N2-Port
I | | i E%
Ld;
A P
| A P
Hik
Hek
Model No. Pipe Size A B c D W/Bracket(#5 £ 22 i)
(B S) |(EEQOR)RC(PT) F G H J K M [
YAF20 1/4” 40 97.5 11 40 30 27 22 5.4 8.4 2.3 40
YAF30 3/8” 53 132.5 14 53 41 40 23 6.5 8 2.3 56
YAF40 1/2” 70 168.5 18 70 50 54 26 8.5 10.5 2.3 73
YAF50 17 90 247.5 24 90 70 70 35 11 13 3.2 90

Please contact us on any small problems & details.

FE R E R IS E RS A A RBE.

PNEUMATICS




BRES

Regulator (jEJEM )
YAR20~50 series

COMMON SPECIFICATION (I [E#14&)

Proof Press.(fRiEMmIE 77) 1.5Mpa(15.3kgf/cm?)

Max Press.(&&ERE ) 1.0Mpa(10.2kgf/cm?)

Regulating Range(iAIESEE)*| 0.05~0.85Mpa(0.51~8.7kgf/cm?)

Amb. Temp.GMEFRRIREE) -5~60°C (kK F &)

Valve Type(i@Z) Relief Type(# it i 2Y)

*YAR20~YAR50
Available Regulating Range (i J£ & ):0.02~0.2Mpa(0.2~2kgf/cm?).

HOW TO ORDER(E! 2 %R 7 %)

YAR||30|-|03||BG
YSc Se”eﬂ BEOE Lﬁriﬁlﬁ
EEﬁSiIJ\ 02:1/4 B: ﬁ*ﬁ?&
20:1/4 03:3/8 G: WENE
30:3/8 04:1/2
40:1/2 10: 1
50: 1
Size(#l 1&)
Model(E S) Flow Rate (% & i &) Pipe Size(##& O 1&) | Gage Port(JE 1 & O %) Wt.(R &)
(L/min) Rc(PT) Rc(PT) (kg)
YAR20-02 550 114" 1/8” 0.27
YAR30-03 2500 3/8” 1/8” 0.41
YAR40-04 6000 112" 1/4” 0.84
YAR50-10 6000 1 1/4” 0.84
Dimensions(mm)(5ME R <1 (Zk))
L
YAR20~50 A F
G D
I I
M L - - —
@ =] [k
I
s QT
O]
[ 2-Port
Model No. Pipe Size A E o D W/Bracket (7 £ 52 i)
(B S) |(@EEERAR)RC(PT) F G H J K L M
YAR20 114" 40 95 17 40 30 34 45 5.4 8.4 55 2.3
YAR30 3/8” 53 | 127.5 | 35 53 41 40 46 6.5 8 53 2.3
YAR40 112" 70 | 1495 | 37.5 70 50 54 54 8.5 10.5 70 2.3
YAR50 1” 90 168 48 90 70 66 65.8 1 13 90 3.2

Please contact us on any small problems & details.

SRR B R RS E i S A A R

PNEUMATICS




Lubricator ( iHZE S ) mRHS
Oysc | YAL20~50 series <>

COMMON SPECIFICATION (I [E#14&)

Proof Press.(fRiEMmIE 77) 1.5Mpa(15.3kgf/cm?)
Max Press.(&&ERE ) 1.0Mpa(10.2kgf/cm?)
Amb.Temp. (FREFIFIARE) -5~60°C(k % 2)
Recommanded Oil(Zi¢fiH)| Turbine Oil(3E 15 H)ISOVG32
Bowl Material(# 4B #4471 44) Porycarbonate (22 i B fig)
Bowl Guide(¥REA#7 E) YAL20:W/O (%), YAL30~50:W (%)
HOW TO ORDER(E S &R 7 i%)
YAL| |30/ - 03| B
YSC Se”ﬂ BEEORE SR
b . B: HEE
ZEO{I_'Z:IJ\ 8%;;; wiE Note 1) Supply Pressure 5kgf/cm?, No. of Drop 5 Drops/min, ISO Vg32, 20C.
30.3/8 04:1/2 Note 2) Flow Rete: Supply Pressure 0.5Mpa(5.1kgf/cm?), Pressure Drop 0.03Mpa{0.3kg/cm?}
40:1/2 10: 1 1) A E F150.5Mpa(5. 1kgf/em?), MR E A 5 /450, EF1SH(1SOVG32)iRE20CHERT.
50: 1 7£2) #ER2JE F1:450.5Mpa(5.1kgf/em?), JEB&40.03Mpaf{0.3kg/cm’ &R .
Size(# #%)
Model(E =) Min. Flow S I\ ) | Flow Rate (312 &) °?|Pipe Size (3% % M 1Z)Bowl Capacity (F A 8)| Wt.(EE)
(IMin) (Min) Rc(PT) (cm?) (kg)
YAL20-02 15 800 114 25 0.22
YAL30-03 40 1700 3/8” 50 0.30
YAL40-04 50 5000 1/2” 130 0.56
YAL50-10 190 7000 1”7 130 1.08
Dimensions(mm)(5Miz R ~F (Z %))
YAL20 YAL30~50
L L E

(=

D
F
f |
] m 2
- L .
o |5 = L len 0

Miral I[ : -
1
L | | \2-Port I | | N.2-Port
IREN I o - ng
| |
| | - |
L | | |
1\ P | X
I
A P
Model No. Pipe Size A B c b W/Bracket(# £ 22 i)
(B 5) |(EFEEBEOE)RC(PT) F G H J K L M P
YAL20 1/4” 40 122 38 40 30 27 22 5.4 8.4 40 2.3 40
YAL30 3/8” 53 142 38 53 41 40 23 6.5 8 53 2.3 53
YAL40 1/2” 70 177 41 70 50 54 26 8.5 10.5 70 2.3 70
YAL50 1”7 90 177 45 90 70 66 35 11 13 90 3.2 90

Please contact us on any small problems & details. 1.12 EIEH EL R0 L IE R S AN R ERE. PNUACS




Filter+Regulator (

YAW20~40 series

TRL IR HRUER )

BRES

COMMON SPECIFICATION (I [E#14&)

Proof Press.(#RIiEmE17)

1.5Mpa(15.3kgf/cm?)

Max Press.(&&ERE )

1.0Mpa(10.2kgf/cm?)

Amb.Temp.(FREFLRIKEE)

-5~60°C (K & 4)

Filteration(G3EFL1ZE)

5um

Recommanded Oil(& i F i)

Turbine Oil(i% F15 5#)ISOVG32

Bowl Material(#+ 4B 1441 44)

Porycarbonate (22 1% B2 Big)

Bowl Guide(#7Br 3P &)

YAW20:W/O(F), YAW30~50:W (%)

Valve Type(if2Y)

Relief Type( i it 2)

HOW TO ORDER(E! 2 %R 7 %)

*Element(i&15)2,10,20,40,70,100pum Available (F] i 1% #£).

YAW||30|-[03||BDG
vSC Se”ﬂ BEOR Lﬁfiilﬁ
EEﬁSiIJ\ 02:1/4 B: %?‘EQE
40:1/2 10: 1
50: 1
Model (! £) Size(#l #&)

Manual Drain Type|Auto Drain Type| Flow Rate (57 i it &) Pipe Size(## & 0 &) Gage Port(E 1% A1) Wt.(R8)
FaHkR) | (FahHkE) (L/min) Rc(PT) Rc(PT) (kg)
YAW20-02 YAW20-02D 550 1/4” 1/8” 0.36
YAW30-03 YAW30-03D 2000 3/8” 1/8” 0.56
YAW40-04 | YAW40-04D 4000 1/2” 1/4” 1.15

sanE B e HKE A ESHIK ERIRERE 1 40.1MPa.

Dimensions(mm)(5ME R ~F (Zk))

YAW20 YAW30~40

L D
G E
L D |
G F T
| J . .
i ey e hJ-H f Hr
© T 1 TI1T ====x |
| | T i R e e
By |
il E% — it O N — ditl {@}
L INED o [N 2-Port @ | | \i‘ T
m]—lv—lm i N&ED ‘E&'; \2-Port
%y | {F i
| | |
A P I 1
1
A P
Model No. Pipe Size A B c D W/Bracket (7 £ 22 i)
(B 5) |(EFEEBELOE)RC(PT) F G H J K L M P
YAW20 1/4” 40 164.5 78 40 30 34 45 5.4 8.4 55 2.3 40
YAW30 3/8” 53 211 92 53 41 40 45 6.5 8 53 2.3 56
YAWA40 1/2” 70 262.5 12 70 50 54 54 8.5 10.5 70 2.3 73

Please contact us on any small problems & details.

| YSC |
AR B RE S EES A ATRKE  PNEUMATICS




®©vyscl:

Accessory(Air Combination)

Please contact us on any small problems & details.

TRAEE T
EE\?::-.J-- 3 . !
Spacer(FE1R)
Model(ES)| A EAMES
Y20 10 YAC20,20A
Y30 11 YAC30,30A
Y40 14 YAC40,40A . :
\ F.R.LAE
Center Line
|
= Y20L-Y40L
L-Type Bracket(LE! & 1% 3£ 22) .
Model®E) |A|B|C|D|E|F|G|R|L|EAMEE ) R %—\
Y20L 24 [ 15|55 3 [ 30| 5 |8.6]/2.5] 33 | YAC20,20A E i &
Y3o0L 35(16| 7 | 4 [ 41| 7 | 11]3.5] 45| YAC30,30A < EER
YaoL 40 22| 9 | 4 | 50| 7 |[12.2/4.5] 50 | YAC40,40A - M%
F [Tle
E ¢}
B
Y20T-Y40T
R
] VT
T-Type Bracket(TZY g #% $E£ 22) T %
—r F.R.Lfing EE}
Model(Z S) A|lB|C|D|E|F|G|R|L | EHHES ~
Y20L 24 | 15|55 3 [ 30| 5 |8.6]2.5] 33 | YAC20,20A 6 i O,
Y3oL 35(16| 7 | 4 | 41| 7 | 11]3.5] 45 | YAC30,30A 3 \EE,
YaoL 40 22| 9 | 4 | 50| 7 [12.2/4.5] 50 | YAC40,40A - N
T LJE%
F
E o]
B
Bracket(¥£22) | For YAR, YAW Series == |4
DQ* [
S |A|B|C|D|F|G|H|J|L|N|R]|T ERAMES o
B220 | 55| 34 | 25 | 19 | 50 | 30 [33.5] 20 | 15 | 5.5]2.5|2.3|  YAR20,YAW20
B320 | 53 | 40 | 21 [13.5| 66 | 41 [42.5 25| 8 | 7 |3.5|2.3|  YAR30,YAW30
B420 | 70 | 54 | 27 | 18 | 80 | 50 |52.5/ 30 | 11| 9 |4.5]2.3|  YAR40,YAW40 A
At ]
Sl éﬁ”
i ,
1.14 B EI B B S A TR, ‘




Gauge (EH13R)
@YSC I G series

Gauge(EH %K)

G40-10-01 G50-10-02
G40-10-01 PTA/E
N b=
< —— = || —
Q IS
10
40
G50-10-02
PT1/4"
[32] <
[Te) F [ | E—
Q Q
12
47
Pate No.(& &) Applicable Model(:EFHIES) Weight(5=)(g)
YAC20,YAC20A,YAR20,YAW20
G40-10-01 0~1.0 72
YAC30,YAC30A,YAR30,YAW30
YAC40,YAC40A,YAR40,YAW40
G50-10-02 0~1.0 128
YAC50,YAR50
Please contact us on any small problems & details. 1.15 AR E RIS E RS AR RS,




Direct Operated 2 Way Solenoid Valve for Any Fluid
@YSC I (EFXom ) _—
YAB21 series

Air, Water ,Qil(50cst)Multilex YAB21*Series
(=, K, il (50cstAT ) & AiE2f R ERYAB21* &5 )

COMMON SPECIFICATIONS(£ E#i1& )

ltem (@ H) Specification (#R/#H1&)
Media(fE F it &) Air,Water,0il(% 5,7k, i#)(50Cst or less(H{ )
5Operating Press. Range(T{EEA13EE)  0~1.5MPa(0~15kgf/cm?)
Proof Pressure(ifif J£) 3MPa(30kgf/cm?)
Fluid Temp. (G KR &) -10~40°C
Ambient Temp.(GREE B E) -20~50°C
Responce Time (i [z i j&]) 30mskd T(5kgf/cm?AT)
Type(Eh{ERZK) Direct Operation(&E zh %)

% Note:please refer to the Specifications
because of difference from the Model and Fluid
#iE: EESHREFHRAR, FrlEERMNE.

Feature (51i)

- Compact & light weight Z&5#3 %%, B84
- Excellent flow character ¥ iFEI i 24514

Note (£ =)

- Differential pressure of oil as a fluid is on the viscosity 50 cst.

- DC coil is designed for longevity to frequently use of dry Air,gas Vacuum.
+ Not allowable to use in explosion ambient place.

- EEEPR M EE50CSTILT.

- DC&ERITER T TREREZSEMEIENIRE.

c ABEWERESIRGE.
Model No & Specifications(Z S & #1&)
Spec. L Oifice | CV | Eff Sectional Area | Max.Press.Differential (& T {££E1)(MPa) ESEW | PR Consumption
Model ™~ AE) | FIPe Size ' ugm\vave| (sismn) | Air(m=) |Waler(k 1,1)] Oflam(50cet) | Laicd YOI9e Tiatin Tsnng | G F=IW
e (BEEOR) (mm) | () (mm?) (% FEEP)
(BS) AC | DC | AC | DC | AC | DC 60HZ |60HZ| AC | DC
YAB21-02-1A 15 |o10] 1.8 15 | 1.0 | 15 | 1.0 | 0.9 | 1.0 |Acioovsosonz 40
YAB21-02-2A | ooy | 20 [015] 27 10 [06 [ 10 [ 07 [05 [ 06 |iCxoveoeorz| o |126| ; | 7
YAB21-02-3A 3.0 {0.30 5.5 07 |02 |04 |02]02]02 ggﬁgQ,VﬁOHZ SOHZ
YAB21-02-5A 4.0 |040] 7.4 04 | 01 |02 |01 01|01 |DC2rv
Construction/Parts( &8#31& K& #1#1)
OFF(LﬁEE,’Iku_,\) ON( EE,’{kn_,\)
No. ] ay
(F2) Part Name(ZE {4 & #R) Material(#1 #})
1 | CoreAss’y(BaikieB 1) SUS(F 5 4N)
2 | ORing(O%! @) FKM(##AR)
3 | Shading Coil(% #;2R) Copper(if)
4 | Spring(3# %) SUS(A£54)
5 |Plunger(# 1) SUS(F 4 4R)
6 |SeatSeal(T$ £) NBR(T F515 k)
7 | Body(i® k) Brass(& i)
Please contect us on any small problems & details. 2.01 EFARAERL R i S AN R B PNUACS




®Ovysc]

HOW TO ORDER(E! SR T Fi%)

e w22

Direct Operated 2 Way Solenoid Valve for Any Fluid
(B 3hX 218 L A% )

YAB21 series

E
A | B |Pipe Size (EEOR) E Rated Voltage(§i7E FE JE)
012 Rc 1/a" AC110V 60HZ
AC110V AC100V 50/60HZ
AC220V 60HZ
AC220V AC200V 50/60HZ
DC24V DC24V
DC12V DC12V
C | Oriffice(AFRIER)
1 21.5 Material(#7 #1246 &) Remark
2 22.0 Body(f@k) | Seal(ZZi4f) (&)
3 3.0 Standard(f7 Brass(#4f) |Brass(THs#gA)| WaterOkm)
5 24.0 Option Brass(#4) FKM Low Temp Type
Example(&! S & R i)
YAB21-02-2A-AC220V
YAB21 Model NC Type(EzhzX, NCE),Pipe Size(##& OE)A4 Rc 1/4"
Orifice(AFRiE12)2.0, Voltage(F JE)AC 220V.
Dimensions(mm)(JME R ~F B (Zk))
235.3

YAB21-**-*

T
1%
7\\
:
62.2

#300mm lead wire length

Please contect us on any small problems & details.

R E RS LI E S A A R

YSC
PNEUMATICS




Dire%Tj;J/pjeﬁZ VE\L/ay Solenoid Vavle
(2BE N E B R) .
@YSC I YVDW2120G~2190G series

HOW TO ORDER(E! 2 %R %)

YVD
|

2140H——NO

[

BERES

YSC series
W:water(7k)

3=AC110V
4=AC220V
5=DC24V

Pipe size(i#& 0 1%)
02:1/4”

03:3/8”

Nil:Brass(# i) 04:1/2”

S:Stainless Body(7~ 5 4 i@ 1) 06:3/4”

10:1”

14:1%"

16:17%"

20:2”

Rated Voltage({& F B %)

]
Type(2 )
Nil:Normal Close (% i)
NO:Normal Open(& 7F)

COMMON SPECIFICATIONS([E] #11%)

Media(f§ F i 1K)

Clean Air,Water,Oil(i% % = =,7K,iH)(50Cst or less (KL T))

Fluid Temp.(GR 1K iR &)

-5~+80°C

Ambient Temp. (& B 3N E R E B E)

Temp. (iR E)0~60°C,HunidityGE E)90% or less(LL T)

Proof Pressure(fit &)

1.2MPa(12kgf/cm?)

Voltage(FJE)

AC110V,220V(50Hz);DC24V

Allowable Voltage(ft i £ £ T 3158 F)

Rated Voltage (i i€ B J£)£10%

Insulation (4 % #h 2£)

B Class

Power Consumption(GH £ Ih ¥)

AC110V,220V(50Hz):22VA;DC24V:18W

Connection(#% A ) Din Terminal Type(DiniE & &)
Type(FERK) BEIHNEBB' UL T EHMN)
Material (#71 #3}) Body (i {i):Brass (& ), Stainless(A $5 #¥); Seal(F £):NBR
Specifications(¥1#&)
Model No. Port Size Operating Press. Orifice (B2 . =
@ =) (EEORE) P R ) (omm) | Cvit L A
YVDW2120(S) G1/47(8A) 4 0.23 40.5 75
YVDW2130(S) G3/8”(10A) 16 4.8 52.5 90
YVDW2140(S) G1/27(15A) 16 4.8 69 117
YVDW2150(S) G3/47(20A) NC:0~10kgf/cm? 20 7.6 73 123.5
YVDW2160(S) G17(25A) NO:0~6kgf/cm? 25 12 99 134.5
YVDW2170(S) G1%”(32A) 35 24 110 154
YVDW2180(S) G11%"(40A) 40 29 120 162
YVDW2190(S) G2"(50A) 50 48 154 185

Please contact us on any small problems & details.

| YSC |
2.03 EIFERE R S EES AR RS PNEUMATICS




(2B SR BT

®Ovysc]

HOW TO ORDER(E! SRR A %)

2140 H——NO

YVPW

YVPW21 3OG~21 90G series

Pilot Operated 2 Way Solenoid Vavle for Air,Water,Oll

7}<,/EE)

1
Rated Voltage({$ f f8 /%)
3=AC110V

4=AC220V

5=DC24V

YSC series

Pipe size(##&01%)
03:3/8”

04:1/2”

06:3/4”

10:1”

14:1Ye

16:1%%"

20:2”

Construction (#33 &)

Nil:brass(#$f)
S:Stainless Body (A~ 5 5R#1k)

¥

]
Type(FE=)
Nil:Normal Close(E i#)
NO:Normal Open(& )

YVPW

 COMMON SPECIFICATIONS (£ RI#1&)

BRHS

Media({# A 7t i) Clean Air,Water,Oil(;& /%% 5,7k, i#)(50Cst or less(LAT))

Fluid Temp. (FtiRiRE) -10~+80°C

Ambient Temp. (B BIMNEIRE KIRE) Temp.(i& B )0~60°C;Hunidity(i£:/E)90% or less(LAT)

Proof Pressure(fit &) 1.7MPa(17kgf/cm?)

Voltage(F. /) AC110V,220V(50Hz);DC24V

Allowable Voltage( 5t iF & I H5EE) Rated Voltage(% %€ /& )+10%

Insulation (4 £ ) B Class

Power Consumption(EFEI %) AC110V,220V(50Hz):17VA;DC24V:11W

Connection(i%#& 7 ) Din Terminal Type(DiniZE& &)

Type(Eh1ER) Pilot Wire(5£53)

Material(#1#3) Body({@{f):Brass(#$f);Stainless(F $54N); Seal(Z£f):NBR

Specifications(¥11&)
Model L\lo. Port Sife Operating Press. Orifice (i@ &) CviE KL =H
(B S) (EEOR) (EREH) (emm)

YVPW2130 G3/8"(10A) 13 3.5 66 112
YVPW2140 G1/2°(15A) 13 4.5 66 112
YVPW2150 G3/4”(20A) NG:0.5~13kgf/cm? 20 7.6 75 118
YVPW2160 G17(25A) NO':O..5~8kgf/cm2 25 12 92(96) 125
YVPW2170 G1%'(32A) 32 22 122(131) 137
YVPW2180 G1%2"(40A) 40 30 131 150
YVPW2190 G2'(50A) 50 48 165 165(176)

MEE ()R ARG MR AR~

Please contact us on any small problems & details.

2.04

R E RS LI E S A A R

YSC
PNEUMATICS




®ysc|

Construction(#3i& &)

HOW TO ORDER(E! 2% R %)

Pilot Operated 2 Way Solenoid Vavle for Steam
(1B SE IR R))

YVPS2140G~2190G series

YVPS| 21405104 /4-NO
1
]
YSC series - Type(f3X)
3Rf/§g$\é3ltage(1§ﬁﬁ RIE) Nil:Normal Close(& i)
4=AC220V NO:Normal Open(E )
5=DC24V
Pipe size(##&0%#)
04:1/2”
06:3/4”
Nil:brass(Z& ) 10:1”
S:Stainless Body(7~ 5N 1K) 1418
16:1%%"
20:2”
 COMMON SPECIFICATIONS (3£ F#14&)
Media({ F it &) Clean Air,Steam,Water,Oil(i& /% %= 5,7 5,7k ,#1)(50Cst or less(KL T))
Fluid Temp.(FRIAREE) -5~+180°C
Ambient Temp. (& BN ER E RITE) Temp.(;& & )0~60°C;Hunidity GZE)90% or less(LL )
Proof Pressure(Ti &) 2.0MPa(20kgf/cm?)
Voltage(H./E) AC110V,220V(50Hz);DC24V

Allowable Voltage(ftiFEEEZFISEE)

Rated Voltage (% B.JE)£10%

Insulation (4 )

B Class

Power Consumption(GE$£I1 %)

AC110V,220V(50Hz):19VA;DC24V:10W

Connection(##Z%& A ) Din Terminal Type(DiniZZ& &%)
Type(Eh1EFK) Pilot Wire(%$=)
Material(#1#) Body([1k):Brass(#f);Stainless(R54M); Seal(%£T):PTFE
Specifications (¥ #%)
Model No. Port Size Operating Press. Orifice((& 12 , e
(@ 2) (EEORE) " ERER) (omm) e #L AH
YVPS2140 G1/2°(15A) 15 4.5 70 135
YVPS2150 G3/4”(20A) 20 7.6 75 142
YVPS2160 G1"(25A) NC:0.4~16kgf/cm? 25 12 92(94) 150(152)
YVPS2170 G17(32A) NO:0.4~10kgf/cm? 32 22 110(111) 150(155)
YVPS2180 G1%2"(40A) 40 30 122 155(166)
YVPS2190 G2'(50A) 50 48 161(167) 174(184)
XGE()M B A B R R R~
Please contact us on any small problems & details. 2.05 Ei AR E RIS R S AN T B pNUMACS




@ I 3 Way Direct Type Solenoid Value(Micro Type) (38 B AL B i (B HE))
YSC | GM series T S

(N.C) (N.O)

id Val 10 .15
Solenoid Valve (10mm, 15mm) Features (454F)

» Micro Type(#H#Z):10mm ,15mm

* Flow(iit 2): 22L/min(5bar) ,110L/min(5bar)

« Built-in Surge Suppressor(STD) (4 A & i3 [E # & 28)

« Coil & Body Assembling Type (il 7 & 0 8 % 2 [B 5 55 2Y)
» Mountable for Manifold Base (7] F iC i #} & %£)

- Response Time (/& [z Bt [8]):Approx.10ms

COMMON SPECIFICATIONS (£ E #14& )

Model(E! 5)
ltem(T H) Gm114/GM124 Gm215/GM225
Bolt(R & 12 &) M1.7 M3
Fluids({& A i ) Compressed Air(E 4= 5)
Opr.Press.Range
(Z1EEA3ERE) (0~0.7)(Mpa)
Flow(iit )L/min[5bar] 22 110
Orifice size 0.7 1.6
(1E%&) (mm)

Ambient Temp((ME R IKIRE) -5~60°C
Response Time( 5 ki i §)) (Sbar) 10msd T
Max.Cycles(& X f FI5i%) 10cycle/sec
Lubrication*(;i87&) Not Required(R~ £ %)
Surge Suppressor(i3 [E#1/%)| Build-in Surge Suppressor(STD)(M & 53 [E #1141 28)
Rated Voltage(3i & FIE) DC24V,DC12V
Allowable Voltage(& 1 £ &2 ) Rated Voltage (5 & B [£)+10%
Oil Insulation(4f % # %) Class B(B% 5 18 [F) % &)
Power Consumption

() DC 1.3W 2.3W
*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
HHEEBMIFERIEFE1SHSOVG32

Application(i& iz i% %)
X * Micro Cylinder Control (3 2! % &1 42 1)
R X » Semi Conductor Industries(¥ S 1K i%& %)
5l& K + Pharmacy Industries(&E 25 i& &)

« Weariong Machine(45#1)

+ Accuracy Control Machine (#5 2 = % #]1)
« Electronics Machine (& F # 1)

» Food Industries(& & T )

« Assaying Machine(% #7#1)

— s e Ink Jet
HOW TO ORDER(E! SR R~ i%)
GM 1114/ @ —~ @ B
YSC series
1:10mm Voltage (B JE ) Connection(iEB# ) Numberpf Stzj\tlons({zﬁ*ﬂﬁ)
2:15mm Bodysize  01:DC 12V M.Front Side Piping (S ) 1.1 Station (1)
(@ik R~ 02.DC 24V L.Top Side Piping (LB ) 2.2 Station (27
4:10mm 10.AC 110V (5% EM)  LL.Direct Piping (HiE MR ) :
5;15mm 20.AC 220V (% E )
19.19 Station (194")

Operation({T# A= )
1.NC (¥iH)
2.NO (&7)

20.20 Station (204)

Please contact us on any small problems & details. 2.06 EFAAER R EEESAATEE PNEUMATICS




®©vsc|

3 Way Direct Type Solenoid Value(Micro Type) (38 B AL B i (B HE))

n
GM series
(N.C) (N.O)
Gm114 Structure & Main Parts Material
SR EZISEHRTR
F2| %8| Part name EHEMR Material#t &
1 1 BODY NYLON
2 1 BOBBIN NYLON
3 1 YOKE SPC
4 1 STOPPER SuUSs
5 1 R-PACKING NBR
6 1 PLUNGER Sus
7 1 BUTTON C3604
GM114-02 M GM114-02 L
St =LL= % )
= R Slf A7 ’ [=]
8] MANUAL BUTTON EI‘D* & —
2-91.8 HOLE L8| MANUAL BUTTON
2-@1.8 HOLE
—
° £
- & of [~ R
n l“‘_” -
27.5 : l‘ ’
10.0 27.5
3(R)
2(A 1(P)
GM215-02 M GM215-02 L
N
Lloy & = EI’\‘ ) }=,E|}
8.4 MANUAL BUTTON 2o af =]
2-@3.4 HOLE la.4l MANUAL BUTTON
2-@3.4 HOLE
4]
" ~ —
- -
42 L]
42
3(R
2(A) 1(P) 3(R)
2(A 1(P)
43
Please contact us on any small problems & details. 2.07 EFAAER Ko I B S AN R BRL.




BERAFS

3 Way Direct Type Solenoid Value(Micro Type)(3i% E 3R i i (BHE))
@YSC GM series AT~

(N.C) (N.O)

BODY PACKING (R )

i 3(R)
[ 2(A) — —1(P)
GM114-02 M/02L S —
& [\

yieS[EEE

6.6
4.2
|

BLANKING PLATE
(#B: PPS)
2-01.8 3-1.5
(SEALING AREA) 28 |18
BODY PACKING 43 | a4
(#7B: NBR)

GM114 MANIFOLD BLOCK

VALVE ASS’Y

4 === == 2-93.2
2-06.3%4

25

W%
@]
21

5785 Vel Ters T a5 Pate Ten

L1=(10.5n+11.5)
[2=(10.5n+19.5)

e B B B B B EEL L] e e
1 M _
N %%
GO0 DDOD |, df
o 7D {} | Van =}
"o (5P oD
n-M53%6 P=10.5 10_|5 - 173
2-M53%9 13=(10.5n+9.5) M5F6/| 178
25
i #

K B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
L1 22 32.5| 43.0 |53.5 |64.0 | 74.5| 85.0 |95.5 [106.0 (116.5| 127 |137 148 |158.5| 169
L2 30 40.5| 51.0 [61.5 |72.0 | 82.5| 93.0 [103.5[114.0 (124.5| 135 |145.5| 156 |166.5| 177
L3 20 30.5| 41.0 |51.5 |62.0 | 72.5 | 83.0 |93.5 [104.0 (114.5| 125 |135.5| 146 |156.5| 167

2.08 SR EL RS L S AN AR

Please contact us on any small problems & details.




(BIB SE S B B IR/ B & £

YVP342 series

3 Way Pilot Type Solenoid Valve/Elastic Seal

ER&S

A

RP

(N.C)

COMMON SPECIFICATIONS (£ FE] #11&)

Fluid (it )

Clean Air,Inert Gas(i& /&= 5,15 1 S 1K)

Ambient Temp. (FRE R KR ) -5~+50°C (K & &)
Response Time( [ i [8]) 30ms(Z #)or Less(A T)
Max.Cycles(& & IR {ESNE) 5c/s(/Eb)

Lubrication*(i# &)

Not Required(R £ )

Manual Override(F F1#%1E)

Push & Non Lock(T $i EE 1= )

Shock/Vibration(it M AR E & 1)

30G/5G(8.3~2000Hz)

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
EEEHEBRBEERET1SHSOVG32

SOLENOID SPECIFICATIONS (FB # £ BBl #1 1%)

Connection(#% A X))

Grommet(E # £ £ 3)(G),DIN Teminal (i EE=)(DZ)

*Rated Voltage (i # B /)

AC(%it):110V,220V(50Hz) DC(E ift):24V

Allowable Voltage(# i & [ T #A )

Rated Voltage (%1 iE B J£)-15~+10%

Insulation (4 %)

Class B(B4 5t 18 B £ 4%)

Starting(/8 h):5.6VA,Holding (35 4£):4.5VA

Power Consumption AC(3Z i)
(WRER)  DC(EF)

1.8W/2W With Indication Light(# & 7R kT)

HOW TO ORDER(E!E X R F %)

3(4]2-3/G-02/A
\

zConne‘ction(ﬁ%?ﬁfﬁﬁEﬁ):
G=Glommet(BE#H % F )

Series(%&7%1) Direct Piping Type  Rated voltage(fX & {# F B [E)
(EHEAGR) 3=AC110V

4=AC220V (Wire Length(3] £1<)300mm)
Normal Open (% 7F) 5-DC24V D=DIN Terminal(DIN& #E EE3t)
Normal Close (% i) 6=DC12V DZ=DIN Terminal/Indication Light

& Surge suppressor

(4 B 5/ FE TR KT A0 5T TR D 6 28)

Dimensions(mm)(4M ¥ R ~F Bl(ZK))

YVP342-0G-02A(F i)

YVP342-0D(DZ)-02B(& 7)

N ) 19@ 2-94.5 N . 191@ 2»@41
o IR 76%2% o _ = a ~
i HHey =l HHEOE Ry B
24 Manual Button 24 Manual Button
112.5 _._max10
A% w
9 _ 30 2-04 r& 9 30 2-04 ~7 °
| — | / ( ) oo
T ‘ )  — T T T ) ] ‘ 4 —] /<>\ ™|
R I A I , < o J 1T =]
SEERN L e, EERI - Ny
‘ [ |- ‘ [ L
C 1014 ‘ T
3-PT1/4" 3-PT1/4"
N (]
i m—— g [ i
F 3 - $ 6 L ¥ S 6
15| 18 15| 18
Model No Specifications (3 1&)
@ %.)' Pilot Method Operating Press.Rang Port Size Eff.Sectional Area ( B3#FER ) Weight
(G- ) (RIEEHER) (&0 ) Re(PT) mm’(Cv Value(f&) () (kg)
Inside Circuit 0.15~0.9MPa
" 22(1.2
YVP342 W) (1.5-9kgt/crm) 1/4 (1.2) 0.19

Please contact us on any small problems & details.

S C

Y
EIFR E R0 I E S AN RS PNEUMATICS




YSVZ5000

YSC Series(fX8)

5 Way Pilot Type Solenoid Value/Elastic seal
(518 5t 5 BY B w4 iR /1R R & £)

series

COMMON SPECIFI

BRHES

B A B A 5 4
me L&_AJA_UR PRT RTPR

TP L 2T WLk B 3 (S £A)
CIVATRIRNL R VAL RN
3fir(hRHS) 3 (R S AN E)

CATIONS (£ E ¥ #&)

Fluid (G 4)

CleanAir(E &= §)

Ambient Temp.(FFE R i {518 )

-5~+50°C (5 7 45)

Lubrication* (i@ &)

Not Required(F E £

Manual Override(F 51 & 1k)

Push Button(J $i & & fl R)

Shock/Vibration (i i /4% 2 & 1)

30G/5G(8.3~2000Hz)

Sealing (% £)

Dust Proof(Bj Ix 4)

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
R EHERIEFEHIEF1SHSOVG32

SOLENOID SPECIFICATIONS (FB # £k BB # 1&)

Connection(##%%& A )

Grommet(E £ H £3X)(G),DIN Teminal (i EER)(DZ,LZ)

*Rated Voltage (¥ # B [E)

AC(

A ift):110V,220V(50Hz) DC(& iit):24V

2L 4IL

Allowable Voltage(& 1% & E T #55 )

Rated Voltage (i & B J£)-15~+10%

Insulation (4 %)

Class E(EZ 5t 2 R % 2%)

Power Consumption| AC (3Z i#it)

Starting(/& #):4.5VA,Holding (35 ££):3.5VA

3
l
o

)]

z\
MERH)  [DC(E )

L
IL
o

1.8W/2.1W With Indication Light(7 #§ 7~ kT)

Surge Suppressor (i3 [ # 4]

AC:Varistor([E & £ [),DC:Diode(= & &)

)
)

Indication Lamp (3§ 7= kT

AC:Neon (5 4T),DC:LED(% 3 — R &)

B AEARE R R T R

Solenoid (B #; 2 ) *Rated Voltage Connection(fR ®iZEHE A X):
1:Single(# £ &) (REERBE) G=Grommet(B#H & H )
2:Double (W £ Bl) 3=AC110V (Wire Lenghth (3] £4)300mm)
3: Closed Center(sh e £f i) 4=AC220V D=DIN Terminal(DINZX 1 EEX)
4: Exchaust Center(fA R #ES) 5=DC24V DZ=DIN Terminal(DINZU#EEE )
5: Press.Center(f & i %) 6=DC12V /Indication Light(# & 5= T)

Port Size(#EE& O 1):1/8

Dimensions(mm)(4p 2 R~TE(Z X))
YSVZ5120-OD YSVZ5120-0OG
. 2-93.2 _113—37 Faik
i 4 ol NG &
17 2-93.3 5-PT1/8"
35
107.8 max 10
g== =
2-93.2 2-93.3 35
T t m I.O N
Y B[ W
R 171 Rgefl-———
| ,
35 17
102 18
© 27.2
~ =
IB2NENINY ,77&
J l [3 1%5 é
27 5-PT1/8 5-PT1/8
Model N Specifications(# #%&)
?ﬁe%)o' Positions]  Solenoid Operating Press.Range |Response Time(ms)| Max.Cycles(c/s) |Port Size Egg;&%"ﬁ;ﬁ‘]ﬁf Wt
(L E %) (BEEZ[E) |(BIEENEE)MPa(kgffcm?)| (REME)EY) |(REBEAF)(UB)|(EEDR) C, VaIuéZ{E) (FR=)(9)
YSVZ5120 2 Single (8 % &) 0.15~0.7(1.5~7.1) |20 orLess(Z L T) 5 9.5(0.53) 100
YSVZz5220 2 Double (& % &) 0.1~0.7(1~7.1) 20 or Less(gi LA T) 5 9.5(0.53) 150
YSVZ5320 3 Double Closed Center(h3f)|  0.15~0.7(1.5~7.1) |50 or Less(8i M ) 3 1/8” 8.5(0.47) 160
YSVZ5420| 3 |DoweErastCenter®2#5)| 0.15~0.7(1.5~7.1) |50 or Less(@ K T) 3 8.5(0.47) 160
YSVZ5520| 3 | DolePress Center(2#E) | 0.15~0.7(1.5~7.1) |50 or Less(si kL) 3 8.5(0.47) 160
Please contact us on any small problems & details. 2.10 EFMA EL K6 S E S AN R BRE.




Oysc|

5 Way Pilot Type Solenoid Value/Elastic seal

(51E S S BY B L 1R /IS BT ZE £

YSVZ5000 series

Dimensions(mm) (5 R ~F B (Z3))

YSVZ5220-0G

35 2-@¢3.2

| foe]

T T

¢ edliaihe

R

17 5-PT1/8"

35

= FSeaT -

Manifold Dimensions(mm)(GLC 4 R ~F)

YVV5Z5

@-

YSVZ5220-0OD

35

| |

2-@3.2

17,

5-PT1/8"

e

27.2

U A

Vi

J4
10.5 3
f“ |
N :Fac
N B A}*‘**k
1 @, ‘¢
2n-PT1/8  6-PT1/4"/ ‘
(PortA.B) (Port P.R) b
HOW TO ORDER(E! & &R R4 i%) )
YSC Model ESerles #751) E No. of Sation(fI E# B) &) @) @) @
®KS) 5:YSVZ5000(f 02=2 Valves VIVIVYIY Y
03=3 Valves
20=20 Valves S
L N 2 3 4 5 6 7 8 9 10 11 | 12 13 | 14 15 16 17 18 | 19 20
L, 66 | 85 | 104 | 123 | 142 | 161 | 180 | 199 | 218 | 237 | 256 | 275 | 294 | 313 | 332 | 351 | 370 | 389 | 408
L, 46 | 65 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217|236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388

Please contact us on any small problems & details.

SRR B R L S B R S AN A B

PNEUMATICS




(SEE =

Oysc|

HOW TO ORDER(E! 2 XA %)

5 Way Pilot Type Solenoid Value/Elastic seal
B B w4 1R /AR B 2 )

YSVF3000 series

COMMON SPECIFICATIONS(#

BRHES
B A B A 8 a
wa L&_AJA_UR PR wm 33

2T BLEE 2T WL Bfiz(h k& i)

CIVATRIRN R VAL RN

3 (hRAS)

& A A%)

3z (R R E)

Fluid (G 4)

CleanAir(E 4% =5)

Ambient Temp.(RE R i {518 /%)

-5~+50°C (5 7 45)

Lubrication* (i@ &)

Not Required(F E £

Manual Override(F 51 & 1k)

Push & Button($ii FE % $1 )

Shock/Vibration(#i &R & 8 71)

30G/5G(8.3~2000Hz)

Sealing (% )

Dust Proof(Bf & &)

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
HEEIEBMIEEREF1SHISOVG32

SOLENOID SPECIFICATIONS (FB # £k BB # 1&)

Connection(##%%& A )

Grommet(H # i £ %)(G),DIN Teminal(#f £ %)(D,DZ)

*Rated Voltage (¥ # B [E)

AC(% i%):110V,220V(50Hz) DC (& i%):24V

Allowable Voltage(& 1% & E T #55 )

Rated Voltage (%l i€ H. [%)-15~+10%

Insulation(4& %)

Class B(BZ =k #H [F1 % £%)130C

Power Consumption AC( )

Starting(/& #1):5.6 VA, Holding (35 ££):4.5VA

BES:ES)

Sif

C(E i)

ll

E

frd
C(&Ej

1.8W/2W With Indication Light(# #& 7~ kT)

Surge Suppressor( REES

AC:Varistor([E & £ [),DC:Diode(= & &)

)
)

Indication Lamp (3§ 7= kT

AC:Neon (5 4T),DC:LED(% 3 — R &)

YSC Series(R2)

30 T?@

?:iﬂggggﬁg) *Rated Voltage  Connection(fXF#EBFR): Port Size(#E& O1#&)
2-D01?ble(5(,if_%§l§) Body Type (i@ %) RFEABE) G=Grommet(E#HZFH ) 02=1/4" Basic(& %)
3. Closed Center(figesfifl) 3= Body Ported Type(ﬁ?%”?‘.:) 3=AC110V D=DIN Type Terminal({&EE =) . s
4' Exchaust Center(fiseflis) 4= Sub-PlateType (A% &) 4=AC220V DZ=DIN Type Terminal(}&E=t) Nill: THE A
5: Press.Center(H S 1 ) 5=DC24V Jindication Light(# & #5775 4T) S wHiEERa
6=DC12V
Dimensions(mm)(4M ¥ R ~F Bl(Z K))
4
YSVF3130-D YSVF3230-G YSVFSgSO—G
_ 2-94.2 2-04.2 l% 2-@4.2
8Il“z”f Lol o o i N NS R e B PN o e 1ol JANTAY L e g
bl R e T TN He TN
23 3-PT1/4"(1,3,5Port) 23 3-PT1/4"(1,3,5Port) 23 3-G1/4(1,3,5Port)
124.5 max 10
iz =I
Manual Button I ﬁT Manual Button i r& Manual Button i
T T T T T T T
0| | [ w0 A o M
m*‘» u}& ] ,}e} «|
T1205] N\2-04.3 T 205] \2-24.3 Tl205] 2043
112.5 165 180
w? mases H fm [ I mE i; I Lé}%ﬂj ” [ 1 H i I Lé}%f ,33\ L I H
a9 | BB 2 I D 3 i RN H
35 2-PT1/8"(2,4Port) 35 2-PT1/8"2,4Port) 35 2-G1/8"(2,4Port)
Specifications(# #%&)
Model No. — - - - . [Eff.Secfional Area
@ 2) Positions| Solenoid Operating Press.Range  [Response Time(ms)| Max.Cycles(c/s) |Port Size (ﬁiﬁﬁﬁ 2)mm? Wt
(L E %) (FB. B 2% 1) (BAEE ASEE)MPa(kgfiom?)| (REME)ED) (RESRERE)(UD)|(EEODRE Cv ValuéE{E) (B 8)(kg)
YSVF3120 2 Single (& % &) 0.15~0.9(1.5~9.1) 30 orLess(g Ll T) 5 18(1.0) 0.22
YSVF3220 2 Double (8 £ ) 0.1~0.9(1~9.1) 30 or Less(zk lA T) 5 18(1.0) 0.3
YSVF3320 3 Double Closed Center(h % 31 ]) 0.1~0.9(1~9.1) 50 or Less(Z LA T) 3 1/4” 14.4(0.8) 0.35
YSVF3420| 3 |DoubleExhaust Center(f45) 0.1~0.9(1~9.1) 50 or Less(8 L T) 3 14.4(0.8) 0.35
YSVF3520 3 Double Press. Center( & 1) 0.1~0.7(1~7.1) 50 or Less(F KL T) 3 14.4(0.8) 0.35
Please contact us on any small problems & details. 212

SRR B R LS E i S AR R




5 Way Pilot T

S S5i@ B

Solenoid Valve /Elastic Seal

pe
B (B ) At e

®YSC IYSVF31 34,3234 serieS(NAMUR VALVE)

ORDERING NO. (£ & %)
YSVF 3

DTotal Symbol &

P]
@ ® ©®

@ Podrat Size #%& 0% @ Body Type £f5%#E  @Voltage FiEEE

® Electironic Comnectionf#% %%~ ®Manual Override FZ A5

1 Singoe Soienoid
£

3 ‘G1/4

5 Singoe Soienoid

MANIFOLD or 3 AC110V G Lead wire P Push Type
4 Direct Ccnnection 4 AC220V BHELHHMA 7K
JCR R Bk B e p | DIN Connector
5 DC24V DIN 1 fE &
Insicating Lamp,
DL surge Killer
FERAT i E I B2
4
Feature (4#1i)

- Compact-Light Weight;Width: 30.

* Mass Flow:Cv 1.8(Cv{& 1.8)

omm (£EMESEE=

Z,230mm)

- Effective Sectional Area:35.0 mm2 (G % & EmFf35mm?2)
- Flexidle Option Availadle ({& F21E)

- Excellent Duradility (£ & it F)

SPECIFICATION (#i4%)

e MODEL]  SINGLE # DOUBLE W&
5E 45 YSVF3134 YSVF3234

Port Size #E& O &

G1/4

Fluids 3tk

Compact Air&lnert Gasses EH TS RIEMHESIK

Pressure(bar) £ 11

1.5~10 | 1.0~10

Eff. Sectional Area(CV)mm*A { & B R

35.0(1.8)

Ambient & Fluid Temp FE RN BB E

5~60% (41~140)

Response Time(5bar)k [ i &

20ms or Less

35ms orLess

Max.Working Frequencys A I fE5i %

10c/sec 3c/sec

Lubrication ;g i&

Not Required J & #i&

Shock/Vidration Bf i &/F5 2

30G~5G (8.3~200HZ)

Protection Structure {3 4 13

Anti/Vibration 5@

Frequency/Rated Voltage B [£

AC220V,AC110V(50/60Hz/DC24V)

Coil Insulation Class# [ # %

F Class or Equivalent

Permissible Voltage Varaition (i /& i 5155 )

+10% of Rated Voltage

Power Compact B j§ AC

5.5VA(60Hz):HOLING 4 3%

DC

2.5W

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.

HEEEBMIEEREF1SHISOVG32
SYMBOL &
SINGLE B H DOUBLE X H
" . YSVF3134 YSVF3234
2 Position(21i)
ISMarking(#r#): P-1, B-2, R2-3, A-4, R1-5
STRUCTURE/OUTSIDE DIMENSION DRAWING (4 #3/5M 8 R ~F)
YSVF3134-[ID(2Position/Single Solenoid Type)
@ @® O @ ® ®
I H
_i.._ 451
No.| Description |Material{No.| Description |Material
1 Body Aldc | 4 [Spool Packing Nbr
2 Cover Pps 5 Pilot Pps
spool Al 6 Piston Pom

Please contact us on any small problems & details.

| YSC |
EHANEUREEIFERSFATHRE  PNEUMATICS




@YSC I5 Way Pilot Type Solenoid Valve /Elastic Seal
YSVF3134,3234 series(NAMUR VALVE)

OUTSIDE DIMENSION DRAWING/LEAD WIRE SOLENOID

YSVF3134- G 42

[ E==
J— ]
i ] o
T84 | Manual Button sealingArea
2-@5.5DP3.5 2-05.5
Ny Fﬁ'\ %%’
yTn T
Ehm %7777777 /\

|
S f\ &
T : |
30 | 24 29
133
—
48 -PT1/4(1,3,5Port)

YSVF3234- [1G

A2,
= @ =D

Sealing Area

s e
g

i\ B /)

|, 40.5

24 29
182

—
18 3-PT1/4(1,3,5Port)

YSVF3134- D 2,

=
1
-
@
&

145 max 10
o TR
2-9)5.5 DP3.5 2-95.5
4 v o
N oo
ol \ o
ST T .-
\W\$ =
30 | 24 29
133

fooall

18 3-PT1/4(1,3,5Port)

YSVF3234- [1DZ

ineze "
=
a Sealing Area
ax
%: 2-95.5DP3.5 2-95.5 :E

I~ sy

29

0

)
N

182

i [ Hooaf—He

3-PT1/4(1,3,5Port)

Please contact us on any small problems & details. 214 EFMA B R SRS AN FBRE. PNUACS




SR /G R R E

YSVF5000

HOWT TO ORDER(E! % %)

YSVF | 5/1]2|o 03

5 Wa Pilot Ty e Solenoid Valve /Elastic Seal

BERHS

B A

[ ] fr B LR E o 2f WL B Bz (£ )
Se ries AT ST
iz (R R HES) B (RN E)
COMMON SPECIFICATIONS(,\IE%JJF%)

Fluid (5 1)

Ambient Temp. (R 8 & 57 1438 &)

Lubrication*(ji# &)

Manual Override(F #11& {E)

Shock/Vibration (3 it H/4f 7 & 30G/5G(8.3~2000Hz)

Sealing(% #) Dust Proof(Bs 7k 4

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.

= EEEmIEERIEF12HS0VG32

SOLENOID SPECIFICATIONS (FE % 2k BBl #1 #%)

Connection(##% 7 R) |Grommet(& 1 H %3%)(G),DIN Teminal(#EE=)(D,DZ)

*Rated Voltage (f5 # B [£)| AC(X i#t): 110V,220V(50Hz) DC (& iit):24V

Allowable Voltage(% 1 & £ % 535 &) Rated Voltage (% i€ B J£)-15~+10%

Insulation (4 %) Class B(B% =k 18 [E 2 £%)

Power Consumption AC(§ )| Starting (/2 ij]):5.6VA,HO|ding(?§§§§):4.5VA
(M%E®)  [DC(&E )| 1.8W/2W With Indication Light( 45 7= £T)

Surge Suppressor(id E#1#/2)| AC:Varistor(JE & [H),DC:Diode(Z R &)

Indication Lamp(#&7=4T) | AC:Neon(5%),DC:LED(% 3 Z#Rk &)

CleanAirGE 4 =%S
5~+50°C(k % 4)

Not Required(R £ E)
Push & Non Lock(F $i EE 1= 1 )

)

)

YSC Series( R S) ‘

Solenoid(FE# % B ) Rated Voltage Connection (K&R#ZEBRHFK) Port Size(E& O1&) Nill: THiE A
1:Single(#£:E ) RFREFABE) G=Grommet(E # £ ) 03=3/8" S: WHiERA
2:Double(M £ ) 3=AC110V D=DIN Type Terminal({f &)

3:Closed Center(F R £ ) 4=AC220V Dz=DIN Type Terminal({fi EE3X)

4:Exhaust Center(fp RS ) 5=DC24V /Indication Light(# & 18 7R AT)

5:Press.Center(FR R NJE )

Dimensions(mm)(4ME R ~F Bl(Z3K))

YSVF5120 YSVF5320,5420,5520
44 2-04.3
28 Manual Button 44
T 28 2-04.3 Manual Button
AP 2 - D Ve | 743%01 G
S 7 M S e F-RA2IAN AN o & [ o
{1 @ N U 2 @ [
162.5 217G E 248)
3-94.3 E 3-94.3
) / )
R P
S T = s _
& 4 & @
27 27
150.5 | 110.6(3frE:139. 5) %
3 & =]
ST T 55
| /R 7N
1 Rl NV N
52 5-PT3/8" R &
52 5-PT3/8
Model N Specifications (¥ 1&)
(ome%)o. Positions|  Solenoid Operating Press.Range  |Response Time(ms)| Max.Cycles(c/s) |Port Size E(fﬁfg;ﬁ?%;g')rﬁ;ﬁf Wt
(&) (BHLE) |(REENEE)MPa(kgfiom?)| (REME)ED) (RERIERE)CB)IEEDE) 0y vaers)  |(RE)(kg)
YSVF5120 2 Single (8 % &) 0.15~0.9(1.5~9) 30 or Less(Zi LA T) 5 45(2.5) 0.35
YSVF5220 2 Double (& £ &) 0.1~0.9(1~9) 30 or Less(g LA T) 5 45(2.5) 0.45
YSVF5320 3 Double Closed Center(f 1)) 0.15~0.9(1.5~9) 50 or Less(z LA T) 3 3/8” 36(2) 0.55
YSVF5420| 3 |DoubleExhaustCenter(dH5))  0.15~0.9(1.5~9) |50 orLess({ ML ) 3 36(2) 0.55
YSVF5520 3 Double Press. Center( % /1) 0.15~0.9(1.5~9)  |500rLess(&IUT) 3 36(2) 0.55
Please contact us on any small problems & details. 2.15 EFMA B R SRS AN FBRE.




Ovysc]

Manifold GC i #R)
YVV5F3,5,6 series

CMMON SPECIFICATIONS (£ & #1 #&)

Applicable Valve
(A& FA RR w4 )

YSVF3000,YVF3000

YSVF5000,YVF5000

Port Size(AZ F =

Supply(EE5 ) 114 Exhaust ) 14

Supply(E5) (318 Exhaustifh 5 1) 18

HOW TO ORDER(E! &% #%)

5F[3/-30-04 1

Stations(lL E# H) Max.20 PCS(1Y) Max.20 PCS(1Y) YSC Model(ft )
Series(%51) NO.of Station(fi E#H)
Yoo
YVV5F3 6:YSVF6000 95=3 Valves
% E ]
2n-M4 275 28 o || 4 v
4-04.5 DP7.0 [
=
o\ 4 4 75 17
a},?@,‘@,@{}, },fsz hg é} { N fj\
s AR AT 4 |7 6 ASE
AR £
27.5n+16.5 6-PT1/4" 1.26.7
27.5n+28.5
A,B:DIMENSIONS(R =)
TEN STATION ) 3 4 5 6 7 8 9 10
A 83.5 111.0 138.5 166.0 193.5 221.0 248.5 276.0 303.5
B 71.5 99.0 126.5 154.0 181.5 209.0 236.5 264.0 291.5

YVV5F5

M};} @& @4» @a @$

|
?
@
&
{\b

33n+14

33n+27

12.5
6-PT3/8

o
O

17.5
S

I b
28.7

==

® 4 |
=
A,B:DIMENSIONS(R )
TEn STATION 2 3 4 5 6 7 8 9 10
A 93.0 126.0 159.0 192.0 225.0 258.0 291.0 324.0 357.0
B 80.0 113.0 146.0 179.0 212.0 245.0 278.0 311.0 344.0
Please contect us on any small problems & details. 2.16 EIEME B R 8 E B RS A AR,




ERHS

5 Way Pilot Type Solenoid Valve /Elastic Seal ‘s . s .
@YSC I (B SRR I E e =T AT,
YSVF6000 serles

3@(:1:;&}1;1) 3{1(419&7111!3)
COMMON SPECIFICATIONS (£ E # 18)
Fluid (7L 1) CleanAir(E &% %)
Ambient Temp. (R B K i 1K iR &) -5~+60°C(kR F &
Lubrication*(ii &) Not Required(F £ &)
Manual Override(F 3112 1E) Push(Standard)#% $ =X (& 2= 2Y)
Shock/Vibration (i i /4 3 #€ /1) 40G/5G(8.3~200Hz)
Sealing(% #) Dust Proof(BA 7x &

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
EEEEBREER §:F115/EEXSOVG32

SOLENOID SPECIFICATIONS (FE % 2k BBl #1 #%)
Connection(#& /A X) | Grommet(& # i #3X)(G),DIN Teminal(#EEEX)(D,DZ)
*Rated Voltage (f5 # B [£)| AC(% if):110V,220V(50Hz/60Hz) DC(& if):24V
Allowable Voltage(& 1 £ E T35 ) Rated Voltage(i & B J£)£10%

Insulation (4 %) Class F(FZ s 1B R Z )
Power Consumption| AC(3Z ) | Starting (/8 &1):5.6VA,Holding (¥§££):4.5VA
W%ER)  [DC@E W) 2.5W

Surge Suppressor(i3 [ #1#8)| AC:Varistor(/£ & B fH),DC:Diode(Z 1R &)
Indication Lamp (4§ 5% £T) AC:Neon(5%&),DC:LED(% # R &)

YSC Series(ft£)

Solenoid (R ;% ) Rated Voltage Connection(fX RiEB F): Port Size(##& O1%) Nill: ZTHiE=A
1:Single (& £ H) (R&(ERARIE) G=Grommet(E & H & 3t) 04=1/2" S WHERA
2:Double (W £ E) 3=AC110V D=DIN Terminal (3 EEX)|

3:Closed Center (1 R £ [4]) 4=AC220V DZ=DIN Terminal/Light &

4 Exhaust Center(f R#ES) 5=DC24V Surge Suppressor

5:Press.Center(H1 3 finJE) (B T8 R AT 3 JE D 60 28)

Dimensions(mm)(4h 2 R ~F B(ZK))

Grommet Type (E#H %% K): DIN Terminal Type(DINBHREE):
YSVF6120-OG-04 YSVF6120 OD(DZ)-04
34 /2—@4.5 2-04.5

| 1L 1] _ ] FanY
e T N - \\P
4
44.5 30 36.5
168.5 10

A N | T

¢ |=a 1 /(%

60 5-G1/2
Specifications(#1 1%&)
Model No. — X ) ) q Eff.Sectional Area
& =) Pcz_smqns Solenoid nOperahgg Press.Range |Response Time(ms) El\@xéCyclgs,(c‘/s) PP,':t Slge (B B AR )mm?
(L & %)) (P T 2k [E) (RIEENSEE)MPa(kgfiom?)| (REZF E)(EH) |(REBRERE)(UD)|(FEDOR) oy Value({)

YSVF6120| 2 Single (& % &) 0.15~0.9(1.5~9) |30 or Less(F K ) 2 65(3.5)
YSVF6220| 2 Double (& 4 H) 0.1~0.9(1~9) 300r Less(FHEL ) 2 65(3.5)
YSVF6320 3 Double Closed Center(H % %)) 0.2~0.9(2.0~9) 50 or Less(z5 A T) 1 1/2” 50(2.8)
YSVF6420| 3 |DoubleExhausiCenter(®2#5)  0.2~0.9(2.0~9) |50 or Less(sELT) 1 | 5028) |
YSVF6520 3 Double Press. Center(F & f£) 0.2~0.9(2.0~9) 50 or Less(3 A T) 1 50(2.8)

Please contect us on any small problems & details. 217 EIEME B R 8 E B RS A AR, PNUACS




Ovysc]

Grommet Type (E#H £ X):

YSVF6220-OG-04

2-94.5
£ I

Grommgt Type (BEEHZER):

YSVF6%20—

O0G-04

2-94.5
- o

I
N
=

™ |
%

60

5-G1/2

YSVF6000% %Il ALt

YVV5FG6 series

—u—‘-:l:
&t

5 Way Pilot Type Solenoid Valve /Elastic Seal
(FiE 555 BY AR i) /R B

YSVF6000 serles

DIN Type Terminal Type (DINE#HEEX):

YSVF6220-OD(DZ)-04

2-04.5
i

DIN Tegminal Type(DINEYFHEER):
YSVF6§20—OD(DZ)—O4

98

34

2-04.5
Va

28

N |
U

22

B=37.5n+13
A=37.5n+28
A,B:DIMENSIONS(R =})
T —STATION o 3 4 5 6 7 8 9 10
A 103.0 140.5 178.0 215.5 253.0 290.5 328.0 365.5 403.0
B 88.0 125.5 163.0 200.5 238.0 275.5 313.0 350.5 388.0
2.18 E Y E B S AL TR,

Please contect us on any small problems & details.




5 Way Pilot Type Solenoid Valve/Elastic seal P . .
YSC (518 5t S BY B w4 1R /1R IR 2 £) . .
H sl LA R afllZET

YSVM110 series

COMMON SPECIFICATIONS (3 [F #1 1&)

Fluid (7t &) CleanAir(5 %= 8)

Ambient Temp.GME R iKiR ) -5~+50°C(k H &)
Lubrication* (i &) Not Required(F HF E)

Manual Override(F #11%{F) Push Button(FZ$ii €= )
Shock/Vibration ({5 i /43 & 1) 30G/5G(8.3~2000Hz)
Sealing(% £¥) Dust Proof(Bh #x &

Response Time( /& iz 8])(ms) 50 or less(zk KA T)

BB ER(CVIE) 12mm2(0.67)(=fiz) | 9mm>(0.50)(= fir)

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
EHEHBHRIEERIET1SHISOVG32
SOLENOID SPECIFICATIONS (FE 7 & Bl # #8)
Connection(## % 77 ) | Grommet(& # H %4 3{)(G),DIN Teminal({ EE=)(DZ,LZ)
*Rated Voltage (F7 # B J§) | AC (% ##): 110V,220V(50Hz) DC(H i#):24V
Allowable Voltage(& & E T35 ) Rated Voltage (% i€ B J£)-15~+10%
Insulation(4 %) Class E(E4 5k 8 [E] Z 4%)
Power Consumption| AC (32 i) | Starting (/8 1):4.5VA, Holding (¥ ££):3.5VA
(EER)  |DC(& )[1.8W/2.1W With Indication Light(# 1§ 7 4T)
Surge Suppressor(i3 E#M# )| AC:Varistor(JE & B fA),DC:Diode(= R &)
)| AC:Neon(&£T),DC:LED(% 3 Z#R &)

Indication Lamp(#§ 7R kT

HOW TO ORDER(E! S & R i%)

YSVM 110 —4E 2C — - 01
Port Size(EEOR)
YSC Series(fX &) 01=1/8"
Solenoid(F &£ E) *Rated Voltage Connechon(#& BAR):
1:Single (8 £ &) (RFRIEFABIE) G=Grommet(E#ZEH &)
2:Double (M E) 3=AC110V D=Din Type Terminal(FEE)
2C: Closed Center(f1 s & i) 4=AC220V LZ=Din Type Terminal({&EFE)
2R: Exchaust Center(#1 3t # %) 5=DC24V Jindication Light(¥ 8 #57R4T)
2P: Press.Center (1 R finfE) 6=DC12V DZ=Din Type Terminal(}&FE )

. JLED&Varistor (7 1§ 7~ KT #A it [E 1 1 88 )
i ZAAB(2C/2RI2P)EEF EH, HEMIEEE,

Dimensions(mm)(4M ¥ R ~F Bl(ZK))

YSVM110-4E1-D YSVM110-4E2- G
20 __ 16 5-PT1/8" 13.5,_ 16 5-PT1/8"
T I—”— T T J
ol J L) B | Y © | L] D) — | 74
o 4 {@ @% { 8% J(@Jé R %}# E}
13 30 |[\2-23.3 6.4 30 _[\2-233

3
[
-+
54.5
e
_3
[
-
R

.
Rgl T A [ % S 1 S At | R 3’
4 I & 4
21 14 2-93.3 145 14 2-93.3
97 130
4. 28 7.5 28
4 4
co|od =0 . L el D @ N
t & A\ 1 k3 N ZEA\"V/
28 21.5
2.19 B EL R E I S A A T, ‘

Please contact us on any small problems & details.




5 Way Pilot Type Solenoid Valve/Elastic seal
@YSC I (5i8 55 5 PR W L MR R £
YSVM110 series

YSVM110-4E2C-D

13.5,_ 16 5-PT1/8"

RERFEE .

B AT e -T2
NS ) ¥
6.9 30 =[‘ 2-93.3
« 9
C 13
=) I W
E ; \\\ o
i 0 ’ K g 55\\\\‘*\
I I B SR & Iy ~L N N\
° 4 N ‘-~.\4\ \ | )
14.5| 14 2-@3.3 3 N
153 2 L N
7 28 1 1 \{ \
' NI
%@7777 ol LA 7R ,rf%ri i 7777&% 200 400 600 800 1000 1200 1400 1600
g W T N gmin
21.5

Manifold GC##R)
YVV 5M[1/-20-04 |1

YSC Model(f£S)

L(19n+19)
P(19n+9)

Series(&5l) NO.of Station(fIE# B)
2:YSVM110 02=2 Valves
Each interchangeable (3t f) 03=3 Valves
20=20 Valves
o | &
20 4-@4.5
58
— - o |
166 o7 £ B L |
2 47 57 4*‘%
3 66 76 gl ol a4
4 85 95
5 104 114 Q) A ol &
6 123 | 133 | o5
7 142 152 | ——
8 161 171 3.PT1/4" 40
9 180 190 58
10 199 209

Please contact us on any small problems & details. 2.20 EIFMM E RE S RS A AR BRE. PNUACS




5 Way Pilot Type Solenoid Value/Elastic seal
@YSC I (538 55 S5 b B 0 A e B )
YSVM220 series

HOW TO ORDER(E! S & R i%)

YSVM 220 —4E 2C —

YSC lerles(ﬁ?) T

Solenoid(F ;% B)

1:Single (8 £ &)
2:Double (W &)
2C: Closed Center(f1 s & i)
2R: Exchaust Center(fh = HES)
2P: Press.Center(F1 s /&)

BRHFS

VANV VARN L HVANSANY.

ofr B Lk 2T WLk 3L (s R )
BfI(FRAS) BfL(R R0 E)

COMMON SPECIFICATIONS (£ [F] #1 1)

Fluid G7E 14)

CleanAir(E &= 5)

Opr.Press.Range(TEE /1SEE) 0.2~0.7Mpa(2~7kgf/cm?)
Ambient Temp. (35 R & 1K iR &) -5~+50°C (K & 45)

Lubrication*(;i78)

Not Required(F~ £ )

Manual Override(F 1 {k) Push & Non Lock (7t §i i $1 3%)

Shock/Vibration (7 4 /4R 5 ¢

) 30G/5G(8.3~2000Hz)

Sealing(% )

Dust Proof(Ff 1k 4

Response Time(/& Rz At ) (ms) 50 or less(8 KL )

BB ER(CVIE)

16mm?2(0.89)(= {i [12mm2(0.67)(= fi)

*Please Use Tubine Oil

1st-grade ISO VG32#,If Required.

HREIRFMEERET1SHISOVGES2

SOLENOID SPECIFICATIONS (FB # £k BBl #1 1%)

Connection(3#4Z& A R)

Grommet(E 1% 3%)(G),Din Teminal (& B =t)(DZ,LZ)

*Rated Voltage (¥ /# B JE)

AC(%i):110V,220V(50Hz) DC(E if):24V

Allowable Voltage(& ¥ & E T i )

Rated Voltage (%l i€ B J£)-15~+10%

Insulation (4 %)

Class B(BZ =t #H [F] % £%)130C

Power Consumption| AC (32 i)

Starting (/8 #1):5.6VA,Holding (3% 4£):4.5VA

(MEHR) DC(& i)

1.8W/2W With Indication Light(7 & 7= kT)

Surge Suppressor(id [E #1 41

AC:Varistor(J §{ #.FH),DC:Diode(Z 1k &)

)
Indication Lamp(3§ 7R £T)

AC:Neon(5 4T),DC:LED(% 3 — R &)

PortSize(?%%D?é)

02=1/4"
*Rated Voltage Connechon(#&%?’i"ﬁ)
(RFREHBE) G=Grommet(E & H &)
3=AC110V D=Din Type Terminal (i FE3X)
4=AC220V LZ=Din Type Terminal (& FE )
5=DC24V Jindication Light(#s & #& 7 £T)
6=DC12V DZ=Din Type Terminal({&EEE =)

Dimensions(mm) (4N R~ Bl(Z

Z3)

YSVM220-4E1-D

JLED&Varistor (7 1§ 7~ KT #A it [E 1 1 88 )

YSVM220-4E2- G

132 ‘ 200 ‘
3., 38 3-PT1/4 81 38 3-PT1/4
i il
=i T T T
oo ] Bl - - s B-Do| ot QQ@ &
N [ W& Q = o 1 NP
3] T T
21.5 | 21 \2-@3.2 B L 895 21 \2 3.2 &
) H-E & . H-E
et B i M =i g g
o i o o . i %
™ L] [se} |
17 g ! O 17NN g
~ g ~ =
22 | 20 2-04.2 @7l 76.5 20 2-@4.2 &7l
118.5 173
7 S I = S — e i%
AN iill=| =1l AN
14 18418 2-PT1/8 . 82 181 .18 2-PT1/8
Please contact us on any small problems & details. 2.21 EIFMM E RE S RS A AR BRE. ‘




®Ovysc]

5 Way Pilot Type Solenoid Value/Elastic seal
(5B SE S B BB IR /AR = E)

YSVM220 series

BRHFS

e/ TN Tl o{[/ T GfT7 Tl
fr LR 2 WLk B 3L (s R )

3f(RRHS) B (S0 E)
YSVM220-4E2C-D
221 ‘
N E
81 | 38 3-PT1/4 ‘ uzlf.iﬁ'l'ft lg
hl\l 5 7~
S+ 5 @Aﬁ—aﬁfﬂ(ﬁ»——@w@ .
— ‘\ ‘ . NE ) \;1@
| 89.5 21 2-¢3.2 @7 S \/,})
_g 5 YKgf/cm2
] TTE ] 0N
S \
| ™ = 8
L 1 N3 \ \
] - t ~ 2
C ° \ |
I 1
3 %* ° % \ ] \
7
~ Y ?—é 500 1000 1500 2000 2500 3000
76.5 20 2-¢4.2 @FL Ui Nédmin
194
) ——
R ANIZAS
! 82 18 ‘ 18 2-PT1/8
. . 200
Manifold (GCiAt#R) 100 100
. 2 30 455
Yy 04] —— .
YSC Model(£ S [©) ~ o
Series(% %) NO.of Station(ii E#B) @) N Mé Q
2:YSVM220 02=2 Valves Y o [
Each interchangeable(3 F) 03=3 Valves - @ ,@ A*@ R &
20=20 Valves e L
~ @ : S 17
EPe et oo R --
Al ° [©) \
R @ ° s
3@}@#{% k@@%}E
D) ° (©) x
O
- =l= 71765
e 5 1 Q| O~ S
21 2x2-$4.5 BFL
50
60
221
= HE |
[fe] 7. %t B L
2 57 69
— (a7
3 80 92 o —
4 103 115 ) ° <
— (2]
5 126 138 b
6 149 161 3
7 172 184
! o \IRE
8 195 207 KJ{‘S(
9 218 230 T ?
10 241 253 |-21-5 ‘ 215, 2X3-PT 14
60
2.22 FiE A EbL R B i S A A TR,

Please contact us on any small problems & details.




5 Way Pilot Type Solenoid Valve/Elastic seal
(518 5t 5 BY FB# iR /15 R & £

YSVM310 series

HOW TO ORDER(E! S & R i%)

YSVM 310 —4E 2C

YSC Serles(ﬁ =)

Solenoid(F &£ E)

1:Single (8 £ &)

2:Double (W& &)
2C: Closed Center(f & #f )
2R: Exchaust Center(fh = HES)
2P: Press.Center(F1 s /&)

E: SMRE(2C/2RI2P)EEF R H, EEMIFER,

: 27

BRHFS

ﬁmmm

R2PRI R2PRT

2l am 2HIREH sti(hi)
SRS SRR ME)

COMMON SPECIFICATIONS (£ [E #148)

Fluid Gt 1K) CleanAir(E 4= 5)
Opr.Press.Range(TEE /1SEE) 0.2~0.7Mpa(2~7kgf/cm?)
Ambient Temp. (35 R & 1K iR &) -5~+50°C (K & 45)
Lubrication*(ji# &) Not Required(F~ £ )
Manual Override(F 1 {k) Push & Non Lock (7t §i i $1 3%)
Shock/Vibration( &R 2 4 1) 30G/5G(8.3~2000Hz)
Sealing(% ) Dust Proof(Bf Ik 4)
Response Time (5B (] )(ms) 50 or less(8i KL T)
BME@IR(CVE) 30mm2(1 .68)(:1ﬁ)|18mm2(1 .00)(= 1)
*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
R ZEHEMIEERIEF1SHISOVG32

SOLENOID SPECIFICATIONS (FE 7 & B # #8)
Connection(## £ 77 R) | Grommet(& # £ £ )(G),Din Teminal (fFFE )(DZ,LZ)
*Rated Voltage(FF /& B JF) | AC (32 i7): 110V, 220V(50Hz) DC(E i%):24V
Allowable Voltage(% 1 & [E T #435 ) Rated Voltage (i £ B J£)-15~+10%
Insulation(4& %) Class B(B% =5 #H [F] Z %) 130C

PowerConsumption AC( Pl ) Starting()% ij])56VA,HoId|ng(?—*féi)45VA
(hEER)  |DC(&E )| 1.8W/2W With Indication Light(% 15 7 XT)
#)

AC:Varistor(JE 8 f8),DC:Diode(Z R &)
AC:Neon(5&AT),DC:LED (% t —#R &)

Surge Suppressor(id [E ) #
Indication Lamp(4g 7= k1)

Port Size(EEOR)
03=3/8"

*Rated Voltage

Connechon(}; B A N):

(RFRIEFABIE) G=Grommet(E & H &)
3=AC110V D=Din Type Terminal (i FE3X)
4=AC220V LZ=Din Type Terminal (& FE )
5=DC24V Jindication Light(#s & #& 7 £T)
6=DC12V DZ=Din Type Terminal({&EEE =)

Dimensions(mm)(5M 2 R ~F Bl(

ZK))

YSVM310-4E1-D

2-@4.3 50
T
_
< A*f—k@f DB {—®C—-
Rty -
28 24 3-PT3/8"
1 ch ©
Il |
24 2-04.3
98,7

27
20
i
g
| D
T

17,5 45 2-PT1/4"

JLED&Varistor (4§ 7~ KT #i3 J& 0 1l 88 )

YSVM310-4E2- G

2-04.3 50
@
-0/l
20.5 24 3-PT3/8"
rﬁw h i o ﬁw

i

10 45 2-PT1/4"

Please contact us on any small problems & details.

| YSC |
SR B Ko LS i 5 A A R B PNEUMATICS‘




5 Way Pilot Type Solenoid Valve/Elastic seal
@YSC I (5i8 55 5 PR W AR R £
YSVM310 series

YSVM310-4E2C-D

2-@4.3 50
o

él’.

L
&
HE
23

“ay s
@ HO~I=14 By o-——O- @<
20.5 24 3-PT3/8" 7
n NEG T YA E
%Ek ZE Z T 7 Kgflem®
R5 —— ~— s N
oh g = o = 5\ \
%77 N A 77% ° X, \\4\\ N
& K] 2 2 N
24 2-04.3 1 1
136.4 N
0
200 400 600 800 1000 1200 1400 1600
& TE  Nedmin
oo |
€

10 45 2-PT1/4"

Manifold (GCiFHR)

YSC Model(ft ) @D
Series(&731) NO.of Station(fL E# H)
2:YSVM310 02=2 Valves
Each interchangeable (£ f) 03=3 Valves
20=20 Valves
4 a
26 4-@4.5
h ] ‘
Wik | P | L ‘
2 70 82 | N I D R |
& 98 110
4 126 | 138 © ©
5 154 166
6 | 182 | 194 I @ ST 3
7 210 | 222 ﬁjzjt
8 238 250 3-PT3/8" 53
9 266 278 75
10 294 306

2.24

Please contact us on any small problems & details.

| YSC |
R B R BLIS B S A AL PNEUMATICS




4 Port Hand Valve (43& F 4% &)

YHV seires

BERAFS

P A0
HITs AT

=
=

> TH >
w OH Hw

o
oH

COMMON SPECIFICATIONS (£ E#14%)

Fluids (G 4)

CleanAir(E 4= R)

Proof Press. (R iEfid & 77)

1.2Mpa(12kgf/cm?)

- - Amb & Media Temp. (FREFI AR )

Max.Press.(& & F £ 71) 1Mpa(10kgf/cm?)
-5~+60°C
Operation Angle(I2{E fa ) 90°

HOW TO ORDER(E! S &R R/ %)

YHV 2 30 C - 02 |- S
YSCH %3  Series Station Middle Station ~ Port Size Panel Type
(RIIKS) (EH) HREUEFS) EEOR) @EHRRLEESH)
2:2&%]  10:ZHIME  C:RREHEA 02:G1/4 Nill: FE4Z &
3:3%% 30:=fMI@iE RARHES 03:G3/8 SR B
P:dr 32 fin & 04:G1/2
(=B LI IR)
Dimensions(mm)(5M 2 R~ B)
K -
‘ -
——
[ ‘ j’ oc
|- VN
3 BE =
| R g HOHO=—>
S NGlv
‘ 2-J
L
Model No.(E )| Pipe Size(#£& 04Z) A #ERCVE) c [ D | E | F |G| H ]| J K LIM[N|[O]Ss]|T
YHV200 1/4” 7.5mm?(0.4) 36| 73 | 45 |1.7|11.5|92.5/G1/4”|M34x1.5/120| 40 | 3 7 | 62| 49
YHV300 3/8” 17mm?(0.9) 44 183.5| 56 | 1.5|13.5/109|G3/8"|M40x1.5/140| 51| 3 7 |74 | 64
YHV300 1/2” 20mm?(1.1) 44 183.5| 56 | 1.5|13.5/109|G1/2”"|M40%x1.5/140| 51| 3 7 |74 | 64
2.95

Please contact us on any small problems & details.

R E RS L E S A A RIBE.

PNEUMATICS




5 Port Pilot Foot Valve(S@ B BS iR #L4# #)
©Oysc I YFV210 series B

R2PR1

COMMON SPECIFICATIONS (3£ [E] #1#&)
Fluids (i ) Clean Air(iE &= R)
Proof Press. (f& iE i /£ 77) 1Mpa(10kgf/cm?)
Max.Press.(& & £ FH £ 77) 0.8Mpa(8kgf/cm?)
Amb & Media Temp.(FMEFITIKIEE) 0~60°C
Actuating Type(BH1EA R) Direct Operated (& &1 2!)
BHEER(CVE) 19mm2(1.1)
HOW TO ORDER(E! S R~ F %)
.YEVI][ 2 |[ 10 J-[ 02 |-[ L |
YSCH#G Series Station Port Size Type(EX K 5)
RIKS fEH EEQORZ = AR R
22R%] 10:BEMALE 02:G1/4 LBt 45 24
G:Mt 5

LG:Hf g 5 BB

YFV210 99
79
25
12744\ NS NN N7
}% == T "
< \4
L 3-G14" || g I1 I
—
o | Fm o O \@i?g}
G I ¥
[n < _ hm -
© LIJ'—J' m‘— { )ty
" = N T
‘ %
100
180
YFV210-L N
79
25
12744 NN NN\ N7z
,F, T ,Q{,,
VAN %
&L 3-G1/4 1 o 1

86
]
F
¢
S
W

I
34
A
[ D3

1.8
[
@
21
’

100
180

YSC
Please contact us on any small problems & details. 2.26 EIFERE R S EES AR RS PNEUMATICS




5 Port Pilot Foot Valve (55 B &t #1 1, %)
Oysc I YFV210 series

YFV210-G

245
200
170
96.7
3
o[
b 1l b
sige - — ——————— 8
\
:
LI+ F
el
YFV210-LG
) 53
- -

133

87

{‘-Lw
1.8
86

34

21

96.7

99
2.
85

Please contact us on any small problems & details.

2.27

| YSC |
R EI R LIS B S AAFEKE. PNEUMATICS




5 Port Hand-pul

®Ovysc|

pgm—

N~

e
.. > 'i ’
e
.“- . i

’F_‘.
o
R

_‘-.‘
§--

HOW TO ORDER(E! S Xk =R A %)

| Valve(F 18 F i %)

YHLYV seires

YHLVI[ 2 J[ 30 J[ C |-[ 02 |- L |
YSCR ) Series Station Middle Station Pipe Size  Addition(Fff/n)
(RIIKS) (WEH) (PREEFS) EEORE) TASMNAEMIEE
2:2%%  10:Z{IAE C:Hh R 02:G1/4 L= Ri@siEs
3:3%%] 30:=HIAHEE RARHS 03:G3/8 SR, = Ri@EES R
4:4% 51 P:ef sk fi & 04:G1/2
(E4LFA thiE )
COMMON SPECIFICATIONS (3£ [E] #1#&)
Model No.(E! 5) YHLV210-02‘YHLV230-02‘YHLV310-03‘YHLV330-O3‘YHLV410-O4 YHLV430-04
Fluids (3 4) Clean Air((E %= R)
Proof Press.(fRiE i} £ 1) 1Mpa(10kgf/cm?)
Max.Press.(& & F & /1) 0.8Mpa(8kgf/cm?)
Amb & Media Temp. (MBI IKIEE) 0~60°C
Actuating Type(ZH1EA R) Direct Operated(E 1 %!)
Effective Sectional Area
B I ROV eE) 16(0.89) | 12(0.67) | 30(1.68) | 18(1.00) | 50(2.79) | 30(1.68)
Dimensions(mm)(5M 2 R~ B)
L
D M Q
[ & [ o
YA Pt | I
e o TI7 ' 1 a0 =~
2 | K>
lom By
L-é | <| 1| /@
pes) =1 | e \VJ
NP4 L=d S}
- _ 1 =, - » [ T
%—/:; ‘651‘ 2-N ‘[ ﬁj‘ —-
—_ _ __
Model No.(B25)| A B C D E B G H | J K L M N (0] P Q
YHLV210-02 76 |56.5|31.5| 22 95 | 6.5 |66.5| 18 20 36 21 35 21 G1/8” | 4.3 | G1/4” | 1.5
YHLV230-02-S| 95 |75.5|31.5| 22 95 | 6.5 |85.5| 18 20 36 21 35 21 G1/8” | 4.3 | G1/4” | 1.5
YHLV310-03 96 72 40 27 | 100 | 7.5 | 84 18 24 45 24 40 27 | G3/8” | 4.3 | G3/8”
YHLV330-03-S| 115 | 91 60 27 | 100 | 7.5 | 103 | 18 24 45 24 40 27 | G3/8” | 4.3 | G3/8”
YHLV410-04 126 | 102 |55.5| 34 | 110 | 7.5 | 114 | 18 28 63 36 50 35 | G1/2” | 5.5 | G1/2” -
YHLV430-04-S| 147 | 123 |76.5| 34 | 110 | 7.5 | 135 | 18 28 63 36 50 35 | G1/2” | 5.5 | G1/2” -
2.28 PNUMACS

Please contact us on any small problems & details.

R E RS L E S A A RIBE.




3 Port Hand Slide Valve(3i& F
@YSC I YHVS seires

HOW TO ORDER(E! S &R R/ %)

'YHVS|-| 02 |

YSCH 73 Port Size
(FEEOR)
01:G1/8”
02:G1/4”
03:G3/8”
04:G1/2”

COMMON SPECIFICATIONS([E]#11%)

:Tn]'a'

Model No. (8 ) YHVS-01 | YHVS-02 | YHVS-03 | YHVS-04

F|UidS(f}|L1¢)

CleanAir(E %= %)

Press Range(f§ A I 71 SEHl)

0~1Mpa(0~10kgf/cm?)

Please contact us on any small problems & details.

R E RS L E S A A RIBE.

Amb & Media Temp. FRERFIKEE) 0~60°C
BIER 20N
Orifice(i&1Z)(mm) 4 | | 10 | 12
Dimensions(mm)(5M 2 R ~F B)
c — -
\ ( I
e
\ \
S & H - + i ©
\ \
J iy
E D
L
ModelNo.(BL2)| A | B c D | E | L
YHVS-01 | 25 | 13 | G1/8” | 14 | 28 | 48
YHVS-02 | 30 | 18 | G1/4” | 19 | 32 | 58
YHVS-03 | 35 | 21 | G3/8” | 22 | 39 | 68
YHVS-04 | 40 | 26 | G1/2" | 27 | 45 | 80
2.29 PNUMACS




3 Port/5 Port Hand-draw Valve(3i&/5i& F #i /&)
@YSC I YKMV seires ERES

R P A B
) i}
£ '{:'-E‘ ] + (=SS .t*"
i, . 1 -
(. £ 3 3 o
- L ]
: 5
- L } . . N L] -
'3 Q! W o !
i' ' L ] 3 L
HOW TO ORDER(E! B R R/ %)
['YKMV ][ 2 |[ 10 |- 02 |
YSCH A Series Station Port Size
JITHREZE (RIIKRS) LEH) (RIIKS)
5:”-{IHE 1:100&% 10:“{I=3& 01:G1/8
2:200%%) 30:ZfrHE 02:G1/4
3:300% 7% 03:G3/8
COMMON SPECIFICATIONS (3£ [E] #1#&)
Model No.(E! 5) YKMV110-01 ‘ YKMV130-01 ‘ YKMV210-02 ‘ YKMV230-02 ‘ YKMV310-03 | YKMV330-03
Fluids (it 1K) CleanAir(5 &= %)
Proof Press.(fRiE i} £ 1) 1Mpa(10kgf/cm?)
Max.Press.(& & EF & /1) 0.8Mpa(8kgf/cm?)
Amb & Media Temp. GREFRIKIEE) 0~60°C
Effective Sectional Area
(B B TR mme (CViE) 10(0.56) 16(0.89) 30(1.68) 10(0.56) 16(0.89) 30(1.68)
Dimensions(mm) (%M 2 R ~F &)
YKMV210-02 YKMV310-03
N (M
7@7 fm, ﬁ\ 1 — 7(1 ,/, ﬁ\ i —
AN H
Y = Y
21 3-G1/4" 24 3-G3/8"
113.5
98 79 12.5
63.5 12.5,
s S
N\
ol < _ _ y R - - Niin g
alJ S :H:
o ) X K T
20 3943 g 24 3-@43 =

27

{19 -HPE)

32 40

YSC
Please contact us on any small problems & details. 2.30 EIFERE R S EES AR RS PNEUMATICS




3 Port/5 Port Hand-draw Valve(3if/5i@ F i ()
@YSC I YKMV seires

YKMV130-01 YKMV230-02 YKMV330-03
o LA A R ~ H, | ~ A a
THeedpr Jeodhr (1B
14 14 5-G1/8" 36 2.G1/8" 5
98
63.5
=
20 3-@4.3 o4

18
2
1)
i
=4
ED)
\d
7]
w
3o
2
N
=
~
4
|
t"’z\\
H5/

21 3-G1/4"
Please contact us on any small problems & details. 2.31 FIFMAR E RE S RS A AR ERE. PNUACS




3 Port/5 Port Mechanical Valve(3i&/5i#& /1 1, i®)
@YSC I YPMYV seires

BRES
A A B
R P RTP R2

YMV110

YMV230
- .E
|"O ...

'.w ":l:l’
YMV210

EB LB

HOW TO ORDER(E! S & R 5 %)

YPMVI[ 1 |[ 10 |-[ 01 |- TB |

YSCHK 83 Series Positions Port Size AR
(RFIKS) (LEH) #FEEOR) NilEXRR
1:1&7%] 10: 2L =38 1:G1/8” RiR# A
2:2&% 30:”{IEiB 2:G1/4” TB:i& #F B 4
LB:fn 1< B iE $
PB: X [E & %
PP B 2 3% 41
PPL:NE A 3251
EB:H Hi B R

COMMON SPECIFICATIONS (3£ [F] #1#&)

Model No. (2 £) YPMV110 | YPMV210 | YPMV230
Fluids (&) CleanAir(E &= R)

Max.Press.(& & £ FH £ 77) 0.8Mpa(8kgf/cm?)

Amb & Media Temp. GBI E) 0~60°C

Eﬁgctli’ve SectionzalArea 12(0.67) 16(0.89) 16(0.89)
(B EFR)mm?(CVIE)

Port Size(1# & O %) G1/8” G1/4” G1/4”
Postions(fi & %) =@ Iy VASS ] ZEE

YSC
Please contact us on any small problems & details. 2.32 EIFERE R S EES AR RS PNEUMATICS




Oysc|

YPMV seires

Dimensions(mm)(5M 2 R ~F B)

YPMV230-02

3 Port/5 Port Mechanical Valve(3i&/5i& # i, &)

YPMV210-02

| | |
} 3-G1/4" } -04. ‘
o | H |2
& 5 Iy
‘\J 3-G1/4" ‘ ; ; & C} o
b b - =
. 26
35
YPMV110-01
& %
zo——H
o2 EiRZE AR
- . * N
T
45
Series(&7%1) PP PPB LB B EB PB R
A 114 119 133 136.5 134 131 107.5
YPMV230
B 39.5 24.5 26.5 36.5 39.5 37.5 42.5
A 106 111 125 129.5 126 123 99.5
YPMV210
B 39.5 24.5 26.5 36.5 39.5 37.5 42.5
A 66 71 85 88.5 86 83 59.5
YPMV110
B 39.5 24.5 26.5 36.5 39.5 37.5 42.5
PP PPL B LB PB EB R

26

34
64
33
60

58

41
46

oy

Please contact us on any small problems & details.

SRR B R ) LS E R S AN B

PNEUMATICS




Miniature Cylinder(f{Z! = 1, Jc i iE8) s
@YSC I YCJ2,YCDJ2(26~216) series

COMMON SPECIFICATIONS (£ [E] #11&)

Bore(%L12)(mm) 6 | 10 | 16
Fluid (5t 1#) CleanAir(E 4= %)
Action(F1ER ) Double Acting(M zh)
Proof Press.(fRiETi & 77) 1.05Mpa(10.5kgf/cm?)
Max Press.(&={EHE ) 0.7Mpa(7kgf/cm?)

Min Press.(&{&ERES) 0.12(1.2) ‘ 0.06(0.6)
Amb.Temp. GNEFTIREE) -5~+60°C (K % 45)

Piston Speed(FEZEIRE ) 50~750mm/s
Cushion (4 i) Both Side Rubber(STD (i 4B E i (FRAE))
Stroke Tolerance({T#2 2N ) 10
*Lubrication(@i&) Non-Lube(REE)

Pipe Size(##& 072)Rc(PT) M5x0.8

*Use Turbine Oil 1st-grade ISO VG32#,If Required. (M E &8, 15 HiE
T15HISO VG32)

Standard Stroke/Auto Swith(1T#2/f M FF K% +F)

HOW TO ORDER(E{ S &R Fi%)

(glo?rg) STD Stroke Band Mounted (3F # 22 3£ &)
(mm) (FRAEATE)NMM) o Switen(i 71 |Band (FF X B EH3)
YCDJ2 E{GO XC16 6 15,30,45,60 YCJ2-006
M ‘t TR Auto SWItCh(ﬁE'Iﬁ%;&W;é) 15,30,45,60 -
Nﬁ:gﬁsn((aamm : Band Mount(Ff 22 55 3) Ue] 75,100,125,150 D-C72K YCJ2-010
D: Built-in(# # ) D-C72KL
Mouting(Mi45) Port Location on Head Cover 15,30,45,60,75
F Fronthlanes ) (EREENESIRR) 16 | 100,125,150,175,200 YCJ2-016
L:Foot(BH FE) Nil:26 In-Line(%# [5)
D:Double Clevis(XUZ! £4) 210,016 Perpendicular(EH)
: R:210,816 In-Line (% &)
BoreSize
(EL7E)
Stroke ———————— LNo. of Auto Switch(#t£F %5 8) Option(F&31)
(17%8) NiI(iEiE%S)_:f((:II\‘)) Nil(FEi22):STD(R L)

XC16: Free(F &1
331 C16:Copper Free(R&H)

Construction(#3i& &)

—

I H}_

PART LIST(E# %)

NO.(F5) Description (& #r) Material(##}) | NO.(FS) Description(%& #f) Material (#144)
1 Rod Cover(g ) Al 8 Rod Packing(;& ZF & £ B) NBR
2 Head Cover(fg %) Al. 9 Guide Packing(#I & 2 £1 E) NBR
3 Cylinder Tube (&I &) Sus 10 Damper(£g i ##) URETJAN
4 Piston Rod(i& Z 1) SuUS 11 Magnet (% IR) Nd-Fe-B
5 Piston(i& &) MBSBE 12 Mounting Nut(% £ 42 ) MBSBE
6 O-Ring(i& £ # &) NBR 13 Hexagon Nut(Z £)
7 Piston Packing((& & % £ &) NBR

Please contact us on any small problems & details. 3.01 FiFANERE R, HEESEAATBESE,  PNEUMATICS




Miniature Cylinder(f{Z! = 1, Jc i iE8)
Oysc I YCJ2,YCDJ2(26~216) series

Dimensions(mm)(5M i R ~F [E)
Basic Type(Z A #!):YCJ2B,YCDJ2B

FB 2-M5%0.8 FA fa) MM
Q

[ [ 1

Va D

\§ - - (J 11
1] [

GB GA E A

T T
L+Stroke H
LL+Stroke

B | Port M5*0.8

Head Cover In-Line Port Type

Bore(fI{%) | A B C D E FA | FB H MM GA | GB ND h8 NN L T LL
26 15 | 12 | 14 3 8 |14.5| - 28 M3x0.5 16 7 6301 M6x1.0 49 3 77
210 15 | 12 | 14 4 8 8 5 28 M4x0.7 [12.5]| 9.5 88022 M8x1.0 46 - 74
216 15 | 18 | 20 5 8 8 5 28 M5x0.8 |12.5| 9.5 1038022 M10x1.0 | 47 - 75

Dimensions(mm)(4ME R <+ &)
Foot Type(Bil EE2):YCJ2L,YCDJ2L

2-gLC
FB 2-M5*0.8
[ A
f} _ _
[ |
l_cB
L+Stroke
LL+Stroke
o
I ] l
i L\ o v _ _
— == Port M5*0.8
B Head Cover In-Line Port Type LY | X — ‘ LX ‘
- T Lz T
Bore(fL 1) A B C D E FA | FB H LC | LH | LX | LY | LZ MM L|T]|X]|Y|LL|LT
26 15| 12 | 14 3 8 [14.5| - 28 | 4.5 9 24 [16.5| 32 | M3x0.5 | 49| 3 5 7177 -
210 15 | 12 | 14 4 8 8 5 28 | 4.5 9 24 |16.5| 32 | M4x0.7 | 46 | - 5 7 74116
216 15 | 18 | 20 5 8 8 5 28 | 55| 14 | 33 | 25 | 42 | M5x0.8 | 47 | - 6 9 | 75|23
Please contact us on any small problems & details. 3.02 FiFARE RE R, HEESAARRE,




Miniature Cylinder(f{Z! = 1, Jc i iE8)
Oysc I YCJ2,YCDJ2(26~216) series

Dimensions(mm)(5M i R ~F [E)
Frant Flange Type(Rii% = 2!):YCJ2F,YCDJ2F

FT
I
FB 2-M5%0.8 FA -
*'—'* — H g MM
i - e/
71 _ L
U N
- — ‘ —
GB | ea E ‘ A
— T T T
L+Stroke _; H
LL+Stroke
& 2-7FC NN
p
1T ]
NOAPR i _ KA ®
P e < &
N A
Port M5*0.8
FX Head Cover In-Line Port Type B
Fz

Bore(#L12)| A B | C D E |FC|FT |FX|FY | FZ|FA|FB| H MM GA | GB NN L T | LL

$6 15112 | 14 | 3 8 |45|16 | 24 | 14 | 32 |145| - | 28 | M3X0.5 | 16 | 7 M6X1.0| 49 | 3 | 77
$10 15112 | 14 | 4 8 |45|16 |24 | 14| 32| 8 5 | 28 | M4X0.7 125 9.5 M8X1.0| 46 | — | 74
$16 15118 | 20 | 5 8 [55(23| 33|20 | 42| 8 5 | 28 | M5X0.8 |125| 9.5 | M10X1.0| 47 | - | 75

Dimensions(mm)(4Mz R ~+ &)
Double Clevis Type(UZ! $45):YCJ2D,YCDJ2D

. FB 2-M5%0.8 LFA o "
o | .o | ®
© [ A [T T
T G- —-—-— [P |
| [
T
R! Q GA | A |
—
GB H
NG NN
|
\ [ 1
| | < A T _ _ ~N L
IRV >
22
8 ‘ L+Stroke
) CA | LL+Stroke
Bore(#I1E)| A B C CD(cd) |[CB|CA| D | FA| FB H MM GA | GB NN R L Q | LL
¢ 10 15| 12 | 14 3.3 32| 12 4 8 18 28 M4X0.7 |12.5[22.5| M8X1.0 5 46 8 82
¢ 16 15 | 18 | 20 5 6.5 18 5 8 23 28 M5X0.8 |12.5(27.5| M10X1.0 | 8 47 | 10 | 85

3.03

| YSC |
Please contact us on any small problems & details. FiFANERE R, HEESEAATBESE,  PNEUMATICS




Oysc|

Single Knuckle Joint

Double Knuckle Joint

Accessories for Miniature Cylinder(f§ 2! S fI L 44)

YCJ2,YCDJ2(26~216) series

(12 B B 5 93 3k) (YBI B R5 4% 3k)
BNDEY
z
*::}7%%* T—— %
I—H—“—*— As u g
L 7 L ;
12
R: | |
L 1] L _ L) 1]
=o—eF e e W ey o
| =) =
‘ @NDG** 12 15.2
Part No.(ES)Bore(EREE) A+ | L | MM ND" |NX| R: | Us Part No.(ZE4S)Bore(ERfIE) A | Ly | MM ND"™ |NX| R: | U;
YCJ2010-17 10 8 | 21|M4x0.7| 3.39 3.1 8 | 9 YCJ2010-17 10 8 | 21 [M4x0.7| 3.3 [3.2] 10| 8
YCJ2016-17 16 8 | 25|M5%0.8| 5% |6.4|12| 14 YCJ2016-17 16 11|21 |M5x0.8| 5'9° 6.5/ 10|12
Clevis Pin Moving Nut
(MUBLEYEE ) (FI 512 H)
o _
m t t m
° ] I (&
g _ _ _
! 3
L e B
Part No.(E4S ) |Bore(EREZ) oDdo | @d | L | [ m | t Part No.(E#42) |Bore(iERHIZ) B C d H
YCJ2010-23A| 10 3.39% | 3 [15.2[12.2] 1.2] 0.3 YCJ2006-13A 6 8 | 92| M6x1.0 | 4
YCJ2016-23A 16 57058 4.8122.7|118.3/ 1.5 0.7 YCJ2010-13A 10 11 [12.7| M8x1.0 4
YCJ2016-13A 16 14 [16.2| M10x1.0 4
Knuckle Pin Rod End Nut
(BT F) (FFimi2 &)
m t t m o
- | | o I
L a B |
Q
Part No.(E14S ) Bore(ERHEZ) oDdos | @d | L I | m | t Bore(i& A L 12) B © d H
YCJ2010-23B 10 3.3°39% 3 |16.2/12.2/ 1.7 ] 0.3 6 5.5 6.4 M3x0.5 2.4
YCJ2016-23B 16 57000 4.8116.6/12.2| 1.5 0.7 10 7 8.1 M4x0.7 3.2
. 16 8 9.2 M5x0.8 4
T Mounting
(TR EE)
4-g7C
WUB RS EL 7 TH
TUS? _
Bl |
CONTE T Iy
;\f—f%—f—\kff—% I & T \#l//* il
T \
QJTDH10 \Q}l@
TT TY
T™w
Part No.(E#4S) | Bore(i&FI1E) TC TDH10 TH TK TN TT TU TV TW X TY
YCJ2010-42B 10 4.5 3.37%%¢ 29 18 3.1 2 9 40 22 32 12
YCJ2016-42B 16 5.5 5750 35 20 6.4 2.3 14 48 28 38 16
3.04

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.




®ysc|

How to order (& /7i%)

YCDJ2W (L) 1&;;15 %@?@

@

Bore-Stroke
fZ-171E

(1)Bore Size-Standard stroke
TR R~T-trEITIE

210 15,30,45,60
216 15,30,45,60
(@Mounting %2
Blank Basic type K H!
L Axial foot type B & % 2= B
F Rod side flange type #Fif ik = &

(3 Knuckle joint xT51E#

Y Double knuckle joint XAt 5

| Single knuckle joint X35

YCJ2W,YCDJ2W series

Double Rod Cylinder/Miniature Cylinder(X;E ZEAF 2/ B S 5T)

@ Built-in magnet(standard)
M B #IR

@ Stainless steel tube provides long cycle life
THEMIERIEERAF G K

@ No lubrication required
Tl

® Compact and light weight
HBHREMERR

(@) Applicable auto switch 14 FF < FhZE

Blank None Tt
D-C73K D-C73K(E #)
D-C73KL D-C73KL(3m3| %)

¥ Note:See“Auto Switch Series” i &k [+ FF X & 5l
(5) Number of switches #;4 FF L&

1 1pc
2 2 pcs
n npcs

L_H 2-M5%0.8 H NN
3l !/ﬁ_D MM
e | |
| |
—H , P
A - A |
B+Stroke E F | | F G B
1 T
| L+Stroke E
T
LL+(2%Stroke)
Bore size | A B D E E G H L N 2Q oP | Q MM NN S T
26 15 8 16 14.5| 28 |68.5[124.5| 6’ 14 | M3x0.5 M6x1.0
210 151 20 | 3.2 | 8 [125]| 4 8 28 | 49 | 105 8% oo 14 | 12 | M4x0.7 M8x1.0 7 11
216 15 | 20 4 8 [12.5]| 4 8 28 | 50 | 106 10%0% 20 | 18 | M5x0.8 | M10x1.0 | 8 14
Please contact us on any small problems & details. 3.05

| YSC |
EFEREN KRG, EEESANFEBRSE, PNEUMATICS




Single Acting Spring Return/Extended(8{E A &£ E//E 1)
O YSC | yci2,YCDJ2:-S(T) series

Spring Return Type(3# & % =)

—|B|— X — | Port Location on Head Cover &

@ONdh8

Bl

BEORE| -S|

L+Stroke

LL+Stroke

M5*0.8

]

YCJ2B10,16

Bore

(mm) A|B|C|D|E|FB|H| MM |GA|GB| NDHs | NN

L

LL

5~15ST|16~30ST|31~45ST|46~60ST|5~15ST|16~30ST|31~45ST|46~60ST]
6 1501214 3 | 8 | - [28|M3x0.5/ 16| 7 | 63545 |M6x1.0| 39.5 48.5 52 66.5 67.5 76.5 80.5 94.5
10 15(12|14| 4 | 8 | 5 |28|M4x0.7/12.59.5| 82, |M8x1.0| 46.5 54 66 78 74.5 82 94 106
16 15/18(20| 5| 8 | 5 |28|M5x0.8/12.59.5| 109, M10x1.0 46 54.5 66.5 78.5 74 82.5 945 | 106.5
Spring Extended Type(G# % J£ H)
YCJ2 | —[B|—[Bore Size #17Z| x [Stroke] — | T|
JNDh8 M5*0.8
> MM NN FA 0%
(;
& W
A o E GA GB
8 1 Q B
H+Stroke L+Stroke
LL+2xStroke
ONDh8 M5*0.8
7
MM M\ = @
/ \ _\3_1—1—\_ i
1
it ———— ©
\__/ = S
a
L A S E_|_GA GB 5
H+Stroke L+Stroke
LL+2xStroke
Bore L LL
(mm) A|B|C|D|E|FAlH MM |GA|GB| NDHs NN
5~15ST|16~30ST|31~45ST|46~60ST|5~15ST|16~30ST|31~45ST|46~60ST
6 15[12[14| 3 | 8 [14.528|M3x0.5/16| 3 | 69015 |M6x1.0| 51.5 | 60.5 | 64.5 78.5 79.5 | 88.5 | 82.5 | 106.5
10 15(12|14| 4 | 8 | 5 |28 |M4x0.712.55.5| 8%,,, |M8%x1.0| 49.5 57 69 81 77.5 85 97 109
16 15/18|20| 5| 8 | 5 |28 |M5%0.8/12.55.5| 105, M10x1.0 49 57.5 | 69.5 81.5 77 85.5 97.5 | 109.5

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.

PNEUMATICS




®ysc|

Air Cylinder/Small Bore Size(/NEUFR AR S &1, ToitiHE)

YAM1,YADM1 (s20~040) series

BERAFS

COMMON SPECIFICATIONS (3 [F #1#%)

Bore(I1Z)(mm) 20 | 25 | 32 | 4o
Fluid (5t 1#) CleanAir(E 4= %)
Action(F1ER ) Double/Single Acting (W& z)
Proof Press.(fRiETi & 77) 1.5Mpa(15kgf/cm?)

Max Press.(&={EHE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(s{&fERE ) 0.05Mpa(0.5kgf/cm?)
Amb.Temp. GNEFTIREE) -5~+60°C (K % 45)

Piston Speed(FEZEIRE ) 50~750mm/s
Cushion (4 i) Rubber(STD) A5 He% i (), Air(Option) S48 i (i)
Stroke Tolerance({T#2 2N ) 14
*Lubrication(@i&) Non-Lube(REE)

Pipe Size(EEOZR(PT) | 178" | 158" [ 18" | 14’

*Use Turbine Oil 1st-grade ISO VG32#,If Required. (41 EE 878,15 FHIEF15H

ISO VG32)
Standard Stroke/Auto Switch({TF2/f#% 14 FF < 1% 1)
(Ig;rée) _SID,_SEOKe Band Mounted (Ff # %2 25 2)
(mm) (RAEATRE)MM) o Switch Rt F25)| Band (FF £ Elemm)
20 YBM1-020
2 YBM1-025
YAM1 3xSeries 32 25’52’0705,’215000,’310205'150 EI)D-CC7722IL<L VBM1-032
40 YBM1-040

Note(;£1):Non STD Stroke Available.(# IEFR H1TF2 Al {1 1)

Note(;¥2):For Auto Switch:Refer to Catalogue Auto Switch Series.
(RS TR R AR RAFIE A S RS T KR T)

Note(;¥3):YAM1 Series Tube(220,825,832,040) Is Aluminum Tube.
(YAM1 R BB EL & A ir RS E# R

HOW TO ORDER(E! S &R/ /%)

YA

D

M1

Y [22)-

150

YSC Model(£ €)

Magnet(& FTHiIR)
Nil():Non(FcHAZR)
D:Built-in Magnet(%#3F)

Mounting (Fft 4 5)
B:Basic Type(& A& &)

Bore
(EL1%)

(f7%8)

Amb.Temp>for Gaiter
(R I BIRTR )
Stroke ‘l]l_lili(gl':éav).None(%)

K:110°C

C72K - | XCA1
\_‘ Boss Type(R &8 1K)
- Nil(FE 12 5): 45 fE 8
Auto Switch( THi T %) XC1:ERE

Nil(Fci2 5):None(%)

C73K:Reed Switch(H 1 S 1% FF %)

No.of Auto Switch(FF X £ £)

Accessory(Hi )
I1=:1 Type,Y=Y Type

Nil(Zi2 &):2(1)

S

E:Integrated Clevis Type Cushion(£& ) 3:3(1)
(R % B UEL ) Nil(F 125 ):Rubber(i§ i 2 i)
L:Foot Type(MIEE) A:Air Cushion (S48 i)
F;Front Flange (71l 3% =)
R:Bracket(Jf 3 S UZY £ 13 F£)
Gaiter Material (R &g R IF BRI R R IMNEIRE)
Code(iES)| Material(HEERIPERIHR) | Max.Amb.Temp. (R E x5 iRE)
J Nylon Tarpaulin(fe 7 B 7k il %7) 60°C
K Neoprene Cloth(T #fz 31 %) 110°C
3 For Rod Boot Temperature.(fR45 R P EB S E B RS RE)
258112 A L ATBL AR IRIPE
Part No. of Mounting(% % [ {4 8! 5)
Bore(#I#&)(mm) 20 25 32 40
Foot (B EE) YAM1-L020B YAM1-L025B YAM1-L032B YAM1-L040B
Flange(G£ =) YAM1-F020B YAM1-F025B YAM1-F032B YAM1-F040B
Bracket(BUZE! $4 1% FE) YAM1-R020B YAM1-R025B YAM1-R032B YAM1-R040B
Pl i 3.07 3 N N YSC
lease contact us on any small problems & details. EFANEN REE, FEESAAFABRSE,  PNEUMATICS




Air Cylinder/Small Bore Size(/)NBUtR R S T, T iliH8)
@YSC YAM1,YADMA1 (¢20~040) Series

Dimensions(mm) (4M R ~F Bl(ZK)) Basic Type(E A& #!) YAM1B,YADM1B
H 2-P H MM
MM Pl
K (7 = Inhind
~ 8\%7 L £
o+ 1 I _ 2 ui i
/ -1
Ll el
A J
s E F |G c | F Q
T c L+Stroke
N+Stroke
Bore(fI1&) A B © D E F G H | J K L MM N (0] P Q S T
220 20 5 40 | 29 | 28 | 12 | 16 8 6 7 M8x1.25 | 70 | M22x1.5 (122 8 [1/8"]| 25 | 12 | 29
225 22 | 55| 44 | 34 | 30 | 14 | 16 8 6 7 |M10x1.25| 70 | M22x1.5 | 128 | 10 |1/8"| 30 | 17 | 29
232 22 | 5.5 | 44 |39.5| 30 | 14 | 16 8 6 8 [ M10x1.25| 70 | M24x2.0 [ 128| 12 |1/8"| 35 | 17 | 32
240 24 7 46 |49.5| 32 | 14 | 22 11 7 9 [ M12x1.25| 92 | M30x2.0 | 152 | 16 |1/4”| 45 | 17 | 41

Axial Foot Type (B EE ) YAM1L,YADM1L

YL X X _|Y
o S+Stroke
L+Stroke
Bore(fI2) A B D H L S T X Y Zz
220 40 5 [6.5| 25 |133|100| 3 15 8 54
225 40 | 55| 6.5| 25 (137 |100| 3 15 8 54
232 45 | 55[6.5| 32 [ 147|120| 4 25 8 59
240 50 7 | 6.5| 36 |171|142| 4.5 | 25 8 64

Front Flange Type(#Fim:%=%) YAM1F,YADM1F

2-@D

ww — - -
B || C
Bore(fIf2) B | C | D | E | F
220 38 4 |6.5]| 50| 64
225 38 4 |6.5| 50| 64
232 47 4 |6.5]| 58| 72
240 50 4 |6.5] 70| 84

Please contact us on any small problems & details. 3.08 B BN REE, HEES AN RBRE, PNUACS




Air Cylinder/Small Bore Size(/)NBUtR R S T, T iliH8)
@YSC YAM1,YADMA1 (¢20~040) Series

Integrated Double Clevis Type(J& 35 B2 UZI ) BY)

YAM1E,YADM1E
Mt /AN
1 -4 N

A

F Chs
L+Stroke
Bore(fIfZ) ¢ | E | F L p
220 16 | 21| 12 |122| 8
225 16 | 21| 12 |126| 8
232 16 | 27 | 15 129 10
240 20 | 27 | 15 | 153 | 12

Bracket(Jf 3= 52U £4 3 FE)
YAM1R,YADM1R

A
B
I g

N
4-gK o
i i i i i i i i

c E

D F
Bore(fI18) A B © D E F G H L K
220 22 16 | 32 | 48 | 51 67 3 32 | 21 ]6.5
225 22 16 | 32 | 48 | 51 67 3 32 21 | 6.5
232 24 16 | 36 | 52 | 51 67 4 36 | 27 | 6.5
240 28 | 20 | 40 | 56 | 55 | 71 4 40 27 | 6.5

Boss-Cut Type(E B 7] &l )

YAM1 |Mounting(% #)| |Bore(#I{Z)| - | Stroke(1712)| - XC1

IR
I I Il Il
N\ v
| N B B
L+Stroke
Bore(#I1&) L
220 110
225 114
232 114
240 138
*Other dimensions are the same as for standard type.
HERST SHERMER

Please contact us on any small problems & details. 3.09 B BN REE, HEES AN RBRE, PNUACS




Double Rod Cylinder/Small Bore Size (M AF#I)
@YSC YAM1W,YADM1W s20~040) series

HOW TO ORDER(E! &R T F %)

YAM1W —( Mounting(Fii £ 5) ) —(Bore(&I1Z)) X (Stroke(17#))— (Cushion(%& i#))—(Auto s/w(® £ FF %))

Dimensions(mm) (5ME2 R ~H B (Zk))

Double Rod Type (¥ i Z& #F )
YAM1W,YADM1W

+L‘7
MM ,ﬁ MM
K o i K
p= 3 ~/
} VE @ N - - A - @ :
A A
B E F F E B+Stroke
T L+Stroke T+Stroke
S+2Stroke
Bore(fI12) A B © D E F K L MM P(PT) S T
220 20 28 8 29 12 16 M8x1.25 70 M22x1.5 1/8” 150 40
225 22 30 8 34 14 16 M10x1.25 70 M22x1.5 1/8” 158 44
232 22 30 8 39.5 14 16 M10%x1.25 70 M24x2.0 1/8” 158 44
240 24 32 11 49.5 14 22 M12x1.25 92 M30x%2.0 1/4” 184 46

Adjustable Stroke Cylinder/Extension Adjustable Type (RIE{T S EL/H H AR )

YAM1 Mounting | | Bore | |Stroke| |Stroke Adjusting Symbol _XC8 - Cushion| | Auto Switch
ZEREN || #H12 1718 TRRIAT 2 AR S
C C
2-P
MM MM
K AT =
N % il -
— @ } - - A - Sn |
A é |
B E F F E Stroke GHETITHE
T L+Stroke
S+2Stroke+if T 1T
Bore(fIfZ) A B © D E F G H K L MM P(PT)| s T
220 20 28 8 29 12 16 19 15 M8x1.25 70 M22x1.5 1/8” | 147 40
225 22 30 8 34 14 16 21 20 M10x1.25 70 M22x1.5 1/8” | 155 44
232 22 30 8 39.5 14 16 21 20 M10x1.25 70 M24x2.0 1/8” | 155 44
240 24 32 11 49.5 14 22 21 25 M12x1.25 92 M30x2.0 1/4” | 180 46
Please contact us on any small problems & details. 3.10

EFENEREE, EEESAARRE,

PNEUMATICS




®ysc|

HOW TO ORDER(E! &R T F %)

Single Acting Spring Return,Spring Extended (S {3 E £ Bl/E 1)

YAM1,YADM1--S(T)(220~240) series

YAM1 — (Mounting(Hf#5)) — (Bore(#1%)) — (Stroke({742)) (Cushion(Z& i#)) — (S(3# % £ [2])) — (Auto s/w (R £ FF X))

Spring Return Type(3# & [ [a])

YAM1B,YADM1B--S

H
MM P MM
P i
(@) — _ _ =)
Q
| B | 5
A
S E G G F
T ] L+Stroke
N+Stroke
YAM1E,YADM1E--S
H MM
P
MM go
e T S an
— 4
_ _ | /«< a +
NI
i
A
E F G G Q IS4
C L+Stroke R
N1+Stroke
YAM1B,YADM1B--S-XC1
H
P
MM
K Hﬁ P'Ujiijg
T 2 - - - S
| B |y
A
S E G G
T C L+Stroke
N2+Stroke
Bore(#11%) L N N
A B C D 1= = G H | J K MM
0~50 (51~100 0~50 [51~100 0~50 [51~100
220 20 5 40 [ 29 | 28 | 12 | 16 8 6 16 | M8%x1.25| 70 95 [M22x1.5| 122 | 147 131 156
225 22 | 55| 44 | 34 | 30 | 14 | 16 8 6 16 [M10x1.25 70 95 [M22x1.5| 128 | 153 135 | 160
232 22 | 5.5 | 44 |39.5| 30 | 14 | 16 8 6 16 [M10x1.25 70 95 [M24x2.0| 128 | 153 141 166
240 24 7 46 (49.5| 32 | 14 | 22 11 7 20 |IM12x1.25| 92 117 |M30%x2.0( 152 | 177 165 | 190
N2
Bore(&L12)
(FL1Z) 0-50 51100 (6] B Q R S T
220 110 | 135 8 [1/8"| 12 | 21 12 | 29
225 114 | 139 8 [1/8"| 12 | 21 17 | 29
232 114 | 139 | 10 [1/8"| 15 | 22 | 17 | 32
240 138 | 163 | 12 |1/4”| 15 | 27 | 17 | 41

Please contact us on any small problems & details.

3.1

EFENEREE, EEESAARRE,

PNEUMATICS




®ysc|

HOW TO ORDER(E! &R T F %)

Single Acting Spring Return,Spring Extended (S {3 E £ Bl/E 1)

YAM1,YADM1--S(T)(220~240) series

YAM1 —(Mounting(Fi#S)) — (Bore(£I12)) — (Stroke({7#2)) (Cushion(Z#)) - (TGEE & 1)) — (Auto s/w(# I FF X))

Spring Extended Type(3# &% H)

YAM1B,YADM1B--T

H
P
MM ﬁ MM
& 3 il 7
gk _ | o o [a)
\ Q
NNE
A
S E+Stroke F G G F
T C+Stroke L+Stroke
N+2Stroke
YAM1E,YADM1E--T
H MM
P
MM — @0
K v /4
[ I
l/ﬁ /N
: I b - P e
A |
E+Stroke F G G Q IO
C+Stroke L+Stroke R
N1+2Stroke
YAM1B,YADM1B--T-XC1
H
MM P r’TT-ﬁ
K \}Hﬁ 7
w4
N - > _ _ | o
Q
s .
A
S E+Stroke F G G
T C+Stroke L+Stroke
N2+2Stroke
Bore(#11%) L N
A B C D E F G H | J K MM
0~25 (26~50|51~75[76~100 0~25 | 26~50
220 20 5 40 | 29 | 28 | 12 | 16 8 6 16 | M8x1.25| 85 95 110 | 120 |M22x1.5| 137 | 147
225 22 | 55| 44 | 34 | 30 | 14 | 16 8 6 16 |[M10x1.25| 85 95 110 | 120 |[M22x1.5| 143 | 153
232 22 | 55| 44 |39.5| 30 | 14 | 16 8 6 16 |[M10x1.25| 85 95 115 | 125 |M24x2.0| 143 | 153
240 24 7 46 |49.5] 32 | 14 | 22 | 11 7 20 [M12x1.25| 107 | 117 | 137 | 147 |[M30x2.0| 167 | 177
N N1 N2
Bore(&L & (¢] P R S T
(i 51~75(76~100 0~25 | 26~50 [51~75[76~100 0~25 | 26~50|51~75|76~100 Q
220 162 | 172 | 146 | 156 | 171 | 181 125 | 135 | 150 | 160 8 [1/8”| 12 | 21| 12 | 29
225 168 | 178 | 150 | 160 | 175 | 185 | 129 | 139 | 154 | 164 8 [1/8”| 12 | 21| 17 | 29
232 173 | 183 | 156 | 166 | 186 | 196 | 129 | 139 | 159 | 169 | 10 (1/8"| 15 | 22 | 17 | 32
240 197 | 207 | 180 | 190 | 210 | 220 | 153 | 163 | 183 | 193 | 12 (1/4"| 15 | 27 | 17 | 41
3.12
PNEUMATICS

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




ERFS

Air Cylinder/Small Bore Size(/\EURHERVSEL, RN EHER, ToHEE)
@YSC YADM2(s16~240) series

COMMON SPECIFICATIONS (3 [F #1#%)

Bore(I1Z)(mm) 16 | 20 | 25 | 32 | 40
Fluid (5t 1#) CleanAir(E 4 =5
Action(F1ER ) Double/Single Acting (W& z)
Proof Press.(fRiETi & 77) 1.5Mpa(15kgf/cm?)

Max Press.(&={EHE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(s{&fERE ) 0.05Mpa(0.5kgf/cm?)
Amb.Temp. GNEFTIREE) -5~+60°C (K % 45)

Piston Speed(FEZEIRE ) 50~750mm/s
Cushion (4 i) Rubber(STD) A5 He% i (), Air(Option) S48 i (i)
Stroke Tolerance({T#2 2N ) 14
*Lubrication(@i&) Non-Lube(REE)

Pipe Size(IE&Of2)Re(PT) |M5x0.8] 1/8” | 1/8" | 1/8" | 1/4"

*Use Turbine Oil 1st-grade ISO VG32#,If Required. (41 EE 878,15 FHIEF15H

ISO VG32)
Standard Stroke/Auto Switch(1Ti2/RE 1 FF K iEFF)
(Igorze) STD Stroke Band Mounted (Ff # %2 25 2)
I%I = vH 4= 10
(mm) (RAEATRE)MM) o Switch Rt F25)| Band (FF £ Elemm)
16 YBM2-016
29| »550,75.100,125,150 vEM2-020
. , 5,50,75,100,125, D-C72K
YADM2 ><Series 25 200,250,300 D-C72KL | YBM2:025
32 YBM2-032
40 YBM2-040

Note(;£1):Non STD Stroke Available.(# IEFR H1TF2 Al {1 1)
Note(;¥2):For Auto Switch:Refer to Catalogue Auto Switch Series.
(FEETETF R AR RAFIE A S AR T KRR T)
Note(;£3):YAM2 Series Tube(216,820,825,832,040) Is Stainless Steel Tube.
(YAM2Z 5 B9 5L & A wn S G R AT 1))

HOW TO ORDER(E! S &R/ /%)

YA DM2— 150 C72K— XC1-|
\ Boss Type(R &8 1K)
YSC Model (£ 5) - Nil(FEi2 55 2
Bore ) Auto Switch( THi T %) XC1:ERE
() Amb.Temp>for Galter Nil(%i2 2):None(%)
< (HRERIPEABEBIRE) | C73K:Reed Switch(% i SEM T %)
Nil(Fi2 5 ):None(F)
S}[olée J:60°C No.of Auto Switch(FF X £)
Mounting (Fft 4 5) (f7%8) K:110°C Accessory(Hi ) Nil(FTi2-2):2()
B:Basic Type (& A &) |=:1 Type,Y=Y Type S:1(1)
E:Integrated Clevis Type Cushion(£& ) 3:3(1)
(JR % BUEL 4)) Nil(FE 12 5):Rubber(# i 28 i)
L:Foot Type (fl EE) A:Air Cushion(5 £ i)

F;Front Flange (71l 3% =)
R:Bracket(Jf 3 S UZY £ 13 F£)

Gaiter Material (R IRIFEBIM R R IMEIRE)
Code(i25)| Material(REERIFEHMER) | Max.Amb.Temp.GMER=RE)
J Nylon Tarpaulin(fé & F5 7k ii#) 60°C
K Neoprene Cloth(T #: 5 £ %) 110°C

3 For Rod Boot Temperature. (R4 (R EB FH A E xS RE)
255112 A EATEL R AEIRIPE

Part No. of Mounting(& 3£ M 4 8 £)

Bore (%L #2)(mm) 16 20 25 32 40
Foot(k ) YAM2-L016B YAM2-L020B YAM2-L025B YAM2-L032B YAM2-L040B
Flange (3 ) YAM2-F016B YAM2-F020B YAM2-F025B YAM2-F032B YAM2-F040B
Bracket(& UR! 44 15 FE) YAM2-R016B YAM2-R020B YAM2-R025B YAM2-R032B YAM2-R040B

YSC
Please contact us on any small problems & details. 3.13 EFANEN REE, FEESAAFABRSE,  PNEUMATICS




®ysc|

Dimensions(mm) (5 R ~F B (Z )

Basic Type(& A& £!) YADM2B

Air Cylinder/Small Bore Size(/NEURHERISET, BN EHER, TOHTET)

YADM2(s16~240) series

H 2-P H MM
K O\;: IR rr‘ﬂ‘ 7
— oM I I I ( I I I
w | I '}
/) ] T | _ _ e _
BRI L
| B
A J R
S E F G G F
T C L+Stroke
N+Stroke
Bore(fI1&) A B © D E F G H | J K L MM N (¢} P R S; T
216 16 5 38|21 |22 | 16 | 13 8 5 6 M6x1.0 60 | M16x1.5 [114| 6 M5 1| 18 | 10 | 22
220 20 5 40 | 27 | 28 | 12 | 16 8 6 7 M8x1.25 | 76 | M22x1.5 [128| 8 |1/8"| 24 | 12 | 29
225 22 | 55| 44 | 30 | 30 | 14 | 16 8 6 7 |M10x1.25| 76 | M22x1.5 [ 134 | 10 |1/8"| 27 | 17 | 29
232 22 | 55| 44 | 35 | 30 | 14 | 16 8 6 8 |M10x1.25| 76 | M24x2.0 [ 134 | 12 |1/8"| 30 | 17 | 32
240 24 7 46 |43.5| 32 | 14 | 16 11 7 9 |M12x1.25| 76 | M30x2.0 |136| 16 |1/4”| 38 | 17 | 41
Axial Foot Type (R EEE!) YADM2L
T
- i m WL }
— BB -—-
T 4-@D
T e E Y T
A LY X X _|Y
2 o S+Stroke
L+Stroke
Bore(fI&) A D H L S T X Y A
216 32 | 55| 20 | 117 | 86 3 13 6 44
220 40 | 6.5 | 25 | 147|106 3 | 15| 8 | 54
225 40 | 65| 25 |151|106| 3 | 15| 8 | 54
232 45 | 6.5 | 32 161|126 4 25 8 59
240 50 | 6.5 | 36 | 163|126 | 4.5 | 25 8 64

Front Flange Type(#FimiA=%!) YADM2F

2-@D

L)
B
Bore(fIf2) B | C | D | E | F
216 26 3 | 55|40 | 52
220 38| 4 |6.5| 50| 64
225 38| 4 |6.5| 50| 64
232 47 4 |6.5|58)|72
240 50 4 |6.5| 70| 84

1]t

[1]

——

Please contact us on any small problems & details.

3.14

EFENEREE, EEESAARRE,

PNEUMATICS




®ysc|

Integrated Double Clevis Type(J& 35 B2 UZI ) BY)

Air Cylinder/Small Bore Size(/\EUREBIS BT, BARR EREER, ToiliEE )

YADM2(s16~240) series

YADM2E
E P
. ‘. H Nm { /ms
wl o L4 \<
1 ]
—[® H - M 1P *
; + S
F c,
L+Stroke
Bore(fIZ) ¢ | E | F | L P
216 12 | 16 9 [114| 6
220 16 | 21| 12 |137| 8
225 16 | 21| 12 |141| 8
232 16 | 27 | 15 | 147 | 10
240 20 | 27 | 15 | 149 | 12
Bracket(J& %= B2 UZBY $4 3% E)
YADM2R A
L B
o [ =
— . . ) | Y]
R L - T
4-gK t#i
‘\ i i i
E
F
Bore(fI18) A B © D E F G H L K
216 16 | 12 | 12 | 23 - - 2 20 | 16 | 5.5
220 22 | 16 | 32 | 48 | 51 67 3 32 | 21 ]6.5
225 22 | 16 | 32 | 48 | 51 67 3 32 | 21| 6.5
232 24 | 16 | 36 | 52 | 51 67 4 36 | 27 | 6.5
240 28 | 20 | 40 | 56 | 55 | 71 4 40 | 27 | 6.5
Boss-Cut Type (2 3B 171 Il &)
YADM2 [Mounting(® %)| [Bore(&I1Z)| - [ Stroke(17%8)]| - XC1
Il HV HIH
— o T
1
7 L+Stroke

Bore(#11%) L
216 98
220 116
225 120
232 120
240 122

X% Other dimensions are the same as for standard type.

HERS SHRERER

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,

PNEUMATICS




Double Rod Cylinder/Small Bore Size (& ZEHF#I)
@YSC I YADM2W s16~040) series

HOW TO ORDER(E! &R T F %)

YADM2W- (Mounting(Ft45) ) — (Bore(#I1Z)) — (Stroke(f7#8))— (Cushion(& %)) — (Auto s/w(HE M FF X))

Dimensions(mm) (5ME2 R ~H B (Zk))

Double Rod Type (M i Z& #F )

YADM2W
__.C
MM ,ﬁ MM
o L ( L Ve
— VE A/ B - 7J‘ \Q - @ —
A A
B E F L F E B+Stroke
T L+Stroke - T+Stroke
S+2Stroke

Bore(fI7Z) A B D E F K L MM P(PT)| S T

216 16 22
220 20 28
225 22 30
32 22 30
240 24 32

21 16 13 M6x1.0 60 M16x1.5 M5 136 38
27 12 16 M8x1.25 76 M22x1.5 1/8” | 156 40
30 14 16 M10x1.25 76 M22x1.5 1/8” | 164 44
35 14 16 M10x1.25 76 M24x2.0 1/8” | 164 44
43.5 | 14 16 M12x1.25 76 M30x%2.0 1/4” | 168 46

o ||| 0|0

N
N

Adjustable Stroke Cylinder/Extension Adjustable Type (RIE{T S EL/H H AR )

YADM? Magnt/ing Bore | _ S,t[olée StrokeA/\gjLis\tirlg SymbOI—XCS— Cushion_ Auto Switch
REMX || HE 712 T2 T & AR
MM Tﬁ'P T MM
Ko )] mjﬁ
= AT @ ——&
AB E F J L F E Stroke GHETI1Ti2
T L+Stroke
S+2Stroke+id 111718
Bore(fI#%) A B c D E F G H K L MM P(PT)| s T
216 16 | 22 8 21 | 16 | 13 | 16 | 15 M6x1.0 60 | M16x15 | M5 | 135 | 38
220 20 | 28 8 27 | 12 | 16 | 19 | 15 | M8x1.25 | 76 | M22x1.5 | 1/8" | 153 | 40
225 22 | 30 8 30 | 14 | 16 | 21 | 20 | M10x1.25 | 76 | M22x1.5 | 1/8” | 161 | 44
232 22 | 30 8 | 35 | 14 | 16 | 21 | 20 | M10x1.25 | 76 | M24x2.0 | 1/8" | 161 | 44
240 24 | 32 | 11 |435| 14 | 16 | 21 | 25 | M12x1.25 | 76 | M30x2.0 | 1/4” | 164 | 46

Please contact us on any small problems & details. 3.16 B BN REE, HEES AN RBRE, PNUACS




®ysc|

HOW TO ORDER(E! &R T F %)

Single Acting Spring Return,Spring Extended (S {3 E £ Bl/E 1)

YADM2--S(T)(e16~040) series

YADM2 (Mounting(BifS)) — (Bore(£I1Z)) — (Stroke(T#2)) (Cushion(%& i#)) — (S(3# % [ [a])) — (Auto siw(FETEFF X))

Spring Return Type(3# & [ [a])

YADM2B--S

H
MM P MM
K i v B
Aixiﬁﬁ wl T H _
; SRR e
| B | ‘
A
S E G G F
T o] L+Stroke
N+Stroke
YADM2E--S
H MM
MM B 20
K HTLJH W[] — @
— 1
_ _ _ [ /«< a +
NI
- | |
A
E F G G Q IS4
C L+Stroke R
N1+Stroke
YADM2B--S-XC1
H
MM
K N v T
Aixiﬁj o T H 1
D) | VX 7J - - M g
=S ev %
A
S E G G
T C L+Stroke
N2+Stroke
L N N+
Bore(fI&) A B C D E F G H | J K MM
(BLE) 0~50 [51~100 0~50 [51~100 0~50 (51~100
216 16 | 4 38| 21|22 |16 | 13 8 5 12 | M6%1.0 85 110 |M16x1.5| 139 | 164 | 139 | 164
220 20 5 |40 | 27 | 28 | 12 | 16 8 6 16 | M8x1.25| 101 | 126 [M22x1.5| 153 | 178 | 162 | 187
225 22 | 55|44 | 30 | 30 | 14 | 16 8 6 16 [M10x1.25 101 | 126 |M22x1.5| 159 | 184 | 166 | 191
232 22 | 55| 44 | 35 | 30 | 14 | 16 8 6 16 [M10x1.25] 101 | 126 |M24x2.0| 159 | 184 | 172 | 197
240 24 7 | 46 |43.5| 32 | 14 | 16 | 11 7 20 [M12x1.25| 101 | 126 |M30x2.0{ 161 | 186 | 174 | 199
N2
Bore(fI12) P R T
() 550 [p1~100 © Q S
220 123 | 148 6 [ M5| 9 16 | 10 | 22
220 141 | 166 8 [1/8"| 12| 21| 12 | 29
225 145 | 170 8 [1/8"| 12| 21| 17 | 29
232 145 | 170 | 10 [1/8"| 15 | 22 | 17 | 32
240 147 | 172 | 12 [1/4”| 15 | 27 | 17 | 41
3.17
PNEUMATICS

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




®ysc|

HOW TO ORDER(E! &R T F %)

Single Acting Spring Return,Spring Extended (S {3 E £ Bl/E 1)

YADM2--S(T)(e16~040) series

YADM2 (Mounting(Fii#5)) — (Bore(#1Z)) — (Stroke(f772)) (Cushion(& %)) — (TGEEE 1)) — (Auto s/w(#EFF X))

Spring Extended Type(3# & [ 1)

YADM2B--T
H
MM P = MM
= T2
K nof o \\Iu
l/ﬁ w ! HV o
[a]
T _ _ _ _ M ] S
e |
A
S E+Stroke F G G F
T C+Stroke L+Stroke
N+2Stroke
YADM2E--T
H MM
MM P g0
K BB Tﬂ A
l/ﬁ w HyL ]
}, [ _ _ K\< (=] +
‘ M NI
A 18
E+Stroke F G G Q J9
C+Stroke L+Stroke R
N1+2Stroke
YADM2B--T-XC1
+H
MM P
K Tﬂ Wﬂ
//¢;=\\\ ATxiﬁj wl ﬂ g I
T ! — - J - - 7 73
s .
A
S E+Stroke F G G
T C+Stroke L+Stroke
N2+2Stroke
Bore(fI&2) A B (03 D E F G H | J K L MM N
= 0~25 [26~50|51~75[76~100 0~25 | 26~50
216 16 4 38 | 21| 22| 16 | 13 8 5 12 | M6x1.0 75 85 100 | 110 |[M16%x1.5] 129 | 139
220 20 5 40 | 27 | 28 | 12 | 16 8 6 16 | M8x1.25| 91 101 | 116 | 126 |[M22x1.5| 143 | 153
225 22 | 55| 44 | 30 | 30 | 14 | 16 8 6 16 |[M10%x1.25] 91 101 | 116 | 126 |[M22x1.5| 149 | 159
232 22 | 55| 44 | 35| 30| 14 | 16 8 6 16 |[M10%x1.25] 91 101 121 121 [M24x2.0| 149 | 159
240 24 7 46 (43.5| 32 | 14 | 16 | 11 7 20 IM12x1.25] 91 101 121 131 |M30x2.0| 151 161
N N1 N2
Bore(fI1& P R T
(i 51~75(76~100 0~25 | 26~50 [51~75[76~100 0~25 | 26~50|51~75|76~100 © Q S
216 154 | 164 | 129 | 139 | 154 | 164 | 113 | 123 | 138 | 148 6 | M5| 9 16 | 10 | 22
220 168 | 178 | 152 | 162 | 177 | 187 | 131 | 141 156 | 166 8 |1/8"| 12 | 21 | 12 | 29
225 174 | 184 | 156 | 166 | 181 | 191 135 | 145 | 160 | 170 8 [1/8”| 12 | 21| 17 | 29
232 179 | 179 | 162 | 172 | 192 | 192 | 135 | 145 | 165 | 165 | 10 (1/8"| 15 | 22 | 17 | 32
240 181 | 291 164 | 174 | 294 | 204 | 137 | 147 | 167 | 177 | 12 |1/4”| 15 | 27 | 17 | 41
3.18

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




Direct Mounting Cylinder(H % 3 S 51) -
@YSC I YADM2R(220~240)series

® Space Saving Design. COMMON SPECIFICATIONS([E]#11&)

@ Built-in Magnet(STD) Fluid(rfE Cl Ar(EEE=a

® Non Lube Type. UI. ('"L_ ) ” ea.n |r(,.:.:. l_‘). -

® Compact and Light Weight. Action(F{EF ) Double/Single Acting (F/# 1)

s Proof Press.(fRiEfi} /& 11) 1.5Mpa(15kgf/cm?)

® TE=ME Max Press (S {EE N 0.99Mpa(9.9kgf/cm?)

® 15 BRI () ?x ress.(:iuss =77) . pa(9.9kg i

® REME G TR ARk Min Press.(&{&ERES) 0.05Mpa(0.5kgf/cm?)

@ LHEE EEE AmbTemp(H\iﬁfﬂ‘}n’ﬂZﬁEfE) -5~+60°C(5E & ét)
Cushion (£ i) Rubber(STD) A5 Az i (kR ) Air(Option) S & 1 (fEi£)
Stroke Tolerance({Ti2 A %) a4

"f\\\ ; PISTON SPEED(i& %1% )

Q v - Bore(#I1%)(mm) 20 | 25 | 32 40

Piston Speed(iEZERE ) 50~750mm/s
= STD STROKE (#R/&17125%)
r'l -
\ A Bore (&L 1%) Stroke (FRETTIE)
N < 20 25,50,75,100,125,150
25 25,50,75,100,125,150,200
}! 32 25,50,75,125,150,200
40 25,50,75,100,125,150,200,250,300

HOW TO ORDER (B! S & R=A%)

YADM2R | A 20| - | 100 - | C72K | S
Aut(omsgg%)ype Auto Switch (R M FF = Fh Z8)

I No.of Switch(#% 14 FF X 1 &)

Mouting (22 t) NIl(E 32 8):2(1)
A:Bottom Mouting s L((,'[\))

(EE =R :
B:Front Mounting

(EABLR I EY)
Bore(S )
20: 20mm
25:25mm
32: 32mm
40: 40mm
Stroke (T#2)

Please contact us on any small problems & details. 3.19 EEFANENRIEAE, BEESEATRE, PNUACS




Direct Mounting Cylinder(H % 3 S 51)
@YSC IYADM2 R(220~240)series

‘ Dimensions(mm) (5ME R < Bl(Z %)) ‘YADMZRA

K
|
2-PT1/8” _\L
{} 408112 A41/4”
o o —— %\ o
Q J J Q
3 G F
E L+Stroke
N+Stroke
2-Pi@ 7l
2-RiTfL
MM o O O
%* L i
U Y \‘\
L e [ — — - -
T [ - M
|
Bl.g L] i L
A
T
Bore(ﬁlié) A B © E F G H | J K L MM N (6] P Q R S T
220 20 5 8 5 31| 16 | 29 |30.3| 12 8 22 | 89 | M8x1.25 |120| 27 |85.5| 20 |99.5:86.5| 21 | 33
225 21 6 10 | 55| 33 | 16 | 29 [36.3| 12 8 22 | 89 [M10x1.25|122| 30 |86.6| 26 | @11:X7.5| 30 | 39
232 21 6 12 | 55| 33 | 16 | 29 |42.3| 12 8 22 | 89 [M10%x1.25|122| 35 | @9 | 26 | 814810 | 30 | 47
240 23 7 16 7 35 | 16 |37.5|52.3| 15 8 27 | 98 [M12x1.25|133(43.5| @11 | 32 |917.5:%12.5| 38 |58.5

Dimensions(mm) (4MER~TEI(ZK)) | YADM2RB

K

2-PT1/8 J
JE40EIE A 1/4”
o i 7(\ | B _ B %N o
) W =
3 G F
E L+Stroke
N+Stroke
4-p
&0 "\ L
%72:2” N A
T | - hav B | N N N N
DD Bl |8 =2 [’ N
s A
T
Bore(fIZ) A B © E F G H J K L MM N (0] P Q S T
@20 [ 20| 5 8 5 | 31|16 | 29 [30.3]| 8 | 22 | 89 | M8x1.25 [120| 27 | M5x0.8/89 | 20 | 22 | 33
225 21 6 10 | 55| 33 | 16 | 29 |36.3| 8 22 | 89 [M10x1.25[122| 30 |M6x1.0£11| 26 | 26 | 39
232 21 6 12 | 5.5| 33 | 16 | 29 (42.3] 8 22 | 89 [M10x1.25|122| 35 |[M6x1.0i£11| 26 | 30 | 47
240 23 7 16 7 35 | 16 |37.5|52.3| 8 27 | 98 |[M12x1.25|133[43.5(M8x1.25;814| 32 | 36 |58.5

Please contact us on any small problems & details. 3.20 EEFANENRIEAE, BEESEATRE, PNUACS




Air Cylinder/Small Bore Size(/NEUFR AR S &1, ToitiHE)

YCM1,YCDM1 (s20~040) series

BERAFS

®ysc|

COMMON SPECIFICATIONS (3 [F #1#%)

Bore(I1Z)(mm) 20 | 25 | 32 | 4o
Fluid (5t 1#) CleanAir(E 4= %)
Action(F1ER ) Double Acting(M zh)

Proof Press.(fRiETi & 77) 1.5Mpa(15kgf/cm?)

Max Press.(&={EHE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(s{&fERE ) 0.05Mpa(0.5kgf/cm?)

Amb.Temp. GNEFTIREE) -5~+60°C (K % 45)

Piston Speed(FEZEIRE ) 50~750mm/s

Cushion (4 i) Rubber(STD) A5 He% i (), Air(Option) S48 i (i)

Stroke Tolerance({T#2 2N ) 14

*Lubrication(@i&) Non-Lube(REE)

Pipe Size(EEOZR(PT) | 178" | 158" [ 18" | 14’

*Use Turbine Oil 1st-grade ISO VG32#,If Required.(dN EE;i1i8, 15 BiET15H

ISO VG32)

Standard Stroke/Auto Switch (1T 2/ T K IEFE)
(Ig;rée) _SID,_SEOKe Band Mounted (Ff # %2 25 2)
(mm) (REFTRNMM) oo Swich(iie 3 Band (T £ E153)

20 YBM1-020
25 YBM1-025
YCM 1 % Serles - 25,52,0705,,215000’,310205,1 50 |:I)D_CC7722|L<L P
40 YBM1-040

Note(;£1):Non STD Stroke Available.(# IEFR H1TF2 Al {1 1)

Note(;¥2):For Auto Switch:Refer to Catalogue Auto Switch Series.
(RS TR R AR RAFIE A S AR T X R T)

Note(;¥3):YCM1 Series Tube(220,825,832,240) Is Aluminum Tube.
(YCM1RFIBELE Air RS EFRL)

HOW TO ORDER(Z! 5 &R A %)

YC |D|M1 -1150 @ - |C72K - | XC1 BpssTy&e(E%ﬁﬂfjﬂf)
| ‘ )’\ég( 19E _{ZE J::;zljffm AR
YSC Model(K5) . Ak Tom. for Gat N_Ll( Ao )SwiLcorLg(ﬁ%;EgE%%) No.of Auto Switch(FF X %)
Magnet(f TTHER) , mb. Temp. for Galter | o> o % Nil(FEi25): 2(1)
NIERS) NonGerir) | (L) (AR E H R R ) | C73KReed Swich(@EiRRMHETTH) S 1(1)
D: Built-in Magnet(8:%F) Nil(%%a%') : None(%) 3:3(1)
) J: 60
Mounting (Fi4S) K:110C Accessory (it )
B: Basic Type (E4) S}r_o%ﬁle 1=l Type(®), Y=Y Type(#)
E: I%t;ggtggu%evis Type (17%8) . N
L Foat TypelEEE) Cosrion g Gaiter Material((REE R IP EBIHM R RINEIRE)
F: Front Flange(#Flli% <) ! R ; N .
G: Rear Flange(Fi) Nil (Fi2) : Rubber (B8 ) Code(iE8)| Material((HZEIRINEMFR) | Max.Amb.Temp.(GRER = iRE)
D Doche G (U8 A A Gushion (S#) Nylon Tarpaulin(f& 2 B57k 145 60°C
: Double Clevis KA °
T: Front Trunnion(FFUH# E) J ylon Tarpaulin(/e )
U: Rear Trunnion(/S I3 ) K Neoprene CIoth(T*%Hi‘zﬂ%) 110°C
% For Rod Boot Temperature.({H4& R EEH G EE RS RE)
Part No. of Mounting (% 3£ Mt {4 24 &)
Bore (&I £)(mm) 20 25 32 40
Foot(Bi EE) YCM1-L020B YCM1-L025B YCM1-L032B YCM1-L040B
Flange(7£ =) YCM1-F020B YCM1-F025B YCM1-F032B YCM1-F040B
Single Clevis(8UZ! ) YCM1-C020B YCM1-C025B YCM1-C032B YCM1-C040B
Double Clevis(UZ!$4) YCM1-D020B YCM1-D025B YCM1-D032B YCM1-D040B
Trunnion(3H B (7512 £1)) YCM1-T020B YCM1-T025B YCM1-T032B YCM1-T040B
; 3.21 ; B - YSC
Please contact us on any small problems & details. EFANEN REE, FEESAAFABRSE,  PNEUMATICS




Air Cylinder/Small Bore Size(/)NBUtR R S T, T iliH8)
@YSC I YCM1,YCDM1 (s20~040) series

Dimensions(mm) (5ME R ~F Bl(Z X)) Basic Type(Z &%) YCM1B,YCDM1B

Port2-PT1/8  H

H
= G40HPTIAN ]
N [T T B MM

L M Iyl
Ll ) N ‘ T

@0

F L+Stroke ' | F E
N+Stroke

Bore(#I®)) A | B | D | E | F | G
220 |[15.5/2.5| 5 |28 |13 | 15
@25 |19.5/2.5(5.5(32 |13 |15
@32 |19.5/2.5(5.5(32|13| 15
240 21| 3 7 |34 |16 |21.5

L|N|ad 20 Q MM MU R | S |aT
62 [116| 8 | 20505 | 13| M8*1.25 | M20*1.5 | 24 | 26 | 28
62 [120| 10 | 26505 | 17 | M10*1.25 | M26*1.5 | 30 | 32 | 34
64 [122| 12 | 2650 | 17 | M10*1.25 | M26*1.5 | 32| 32 | 38
88 [154| 14 | 3250 | 22 | M14*1.5 M32*2 | 46 | 41| 50

®|oo|| I

OO 0| —

—_
—_

Axial Foot Type(MJEE®!) YCM1L,YCDM1L

i gz
C T

) 1T M T

LY

LH

Yl X X Lv] | LX |
LS+Stroke B Lz
L+Stroke
Bore(#If8)| L | LS |®LD| LH | LX [ LY | LZ | X Y
220 131(102|6.8| 25 | 40 | 40| 55| 20| 8
225 135(102|6.8| 28 | 40 | 47 | 55 | 20 | 8
232 137(104|6.8| 28 | 40 | 47 | 55 | 20 | 8
240 171|134 7 | 30 | 55|54 | 75| 23| 10

Front Flange Type(#Fim & =2Y)

2-OFD
ﬁ@ 1 | ) Bore(4112) |®FD| FT | FX | FY | FZ
/@} D 220 7| 4 |60|34]75
u@ 225 7| 4 |60|40]|75
i = 1 232 7| 4 |60|40|75
= 040 | 7 | 5 | 66|52 82

Rear Flange Type (Fi#=%!) YCM1G,YCDM1G

]

7 M @h:}—vu% Bore(4T12) |®FD| FT | FX | FY | FZ

{} AL > ‘ 020 | 7| 4 | 60| 34] 75
U T

e 4 et 232 7| 4 60|40 75

Fz 240 7 | 5 |66|52] 82

Please contact us on any small problems & details. 3.22 B BN REE, HEES AN RBRE, PNUACS




Air Cylinder/Small Bore Size(/)NBUtR R S T, T iliH8)
@YSC I YCM1,YCDM1 (s20~040) series

Single Clevis Type(BUZ! ¢4 £Y)

YCM1C,YCDM1C o
[ ) % | %
Bore(I%%2)| L |LL| A | U | R ®CD|CX @ P ‘
220 |133|142| 30| 14| 9 | 9 |10 @ W
225 |137|146| 30| 14| 9 10 1033 y A
232 [139(148| 30| 14| 9 10 R L+Stroke
240 [177[188| 39 | 18 | 11 [10 | 15 LL+Stroke

Double Clevis Type (X UZY £ #)
YCM1D,YCDM1D

——
= 1
Bore(fI#%)| L |[LL| A | U | R ®CD|CX|CZ %@ %
220 |(133[142|30| 14| 9 10 | 19 N | @ W
@25 |137|146|30| 14| 9 10 | 19 1y
232 |139]148/30| 14| 9 10 | 19 A
T g R L+Stroke
@40 |177|188| 39|18 | 11| 10| 15|30 LL+Stroke
Trunnion Type(f& il 4h H 2Y)
YCM1U,YCDM1U
OTY
. T
Bore(iI#Z)| L | LL |®TD| TT | TX|TY | TZ @ %
) L
220 |108|116| 8 | 10 | 32 |32 | 52 m 2y
225 [112]120] 9 | 10| 40|40 | 60 M D *g W
232 [114|122| 9 | 10 | 40 | 40 | 60 X S N L+Stroke
TZ LL+Stroke
240 [143.5154| 10 | 11 | 53 | 53 | 77
Front Trunnion Type (#F ] %f B &)
YCM1T,YCDM1T
aTY 1T
Bore(If8) | L |®TD| TT | TX | TY | TZ | N
220 | 36| 8 | 10 | 32 | 32 | 52 @ —«* W@ w@cﬂ—ﬂwﬁq
25 4 | N
o 0| 9 | 10| 40 | 40 | 60 J D u@ %ﬁjﬂ s
232 40 | 9 | 10 | 40 | 40 | 60 % 5 L
240 445| 10 | 11 | 53 | 53 | 77 1Z
Integrated Double Clevis Type
(JE %g $U§! %i‘] gg) o7 LL+Stroke
CP L+Stroke
YCM1E,YCDM1E ox oo RTU
iaal W @ﬁﬂ%
- -~ A
~1l £ L
T
TV

T

2-@gLD

Bore(fI{Z) L R u ®CD | CX Cz LL | ®LD | TH CP TV TX TY TZ TT
220 115 9 11.5 8 12 24 152 | 6.8 30 37 18.4 15 30 59 3.2
225 119 9 11.5 8 12 30 156 | 6.8 30 37 18.4 15 30 59 3.2
232 124 12 14.5 10 20 345 | 174 9 40 50 28 15 40 75
240 153 12 14.5 10 20 42.5 | 203 9 40 50 28 15 40 75

Please contact us on any small problems & details. 3.28 B BN REE, HEES AN RBRE, PNUACS




®ysc|

HOW TO ORDER(E! &R T F %)

Double Rod Cylinder/Small Bore Size (M AF#I)

YCM1W,YCDM1W c20~240) series

YCM1W—(Mounting (##5) —(Bore# &) x (Stroke(#7%)—Cushion@h)—Auto s/w @ T X))

COMMON SPECIFICATIONS (i [E]#i1%)

Symbol
Bore(&2)(mm) 20 | 25 | 32 | 40
Fluid (&) CleanAir(E &= R)
Action(s1{EfZ =) Double Acting(M zh)
Proof Press. ({RIEM{ & 77) 1.5Mpa(15kgf/cm?)
Max Press.(s&x={EHE ) 0.99Mpa(9.9kgf/cm?)
Min Press.(&{&{ERES) 0.05Mpa(0.5kgf/cm?)
Amb.Temp. GNEFITRIARE ) -10~+70°C
Piston Speed(FEZERE) 50~750mm/s
Cushion (2 ih) Rubber(STD) A #RARE (5 ), Air(Option) S & 4 (fEi)
Stroke Tolerance({Ti2 A ) a4
*Lubrication(G#i&) Non-Lube(REHE)
Pipe Size(EEOZR(PT) | 178" | 18" [ 18" [ 14
*Use Turbine Oil 1st-grade ISO VG32#,If Required.(#n E ;#1815 BiET1S /M
ISO VG32)
Dimensions(mm) (5ME R ~HBl(Z X))
iA’T 2-P(PT) ;B_ .
lT‘ T/ S KK
Ly il
- | | —
\ \
AL AL
A H w w H B A
T+Stroke L+Stroke ‘ T
TL+2Stroke
Unit:mm
'(Bn?;?) Strokel AL | A | B | oD | H KK L M PPT) PA | PB | T | TL | W
20 | ~300| 15.5 18 5.0 8 13 M8x1.25 62 M20x1.5 1/8 8 8 41 144 15
25 ~300 | 19.5 22 5.5 10 13 M10x1.25 62 M26x%1.5 1/8 8 8 45 152 15
32 ~300 | 19.5 22 5.5 12 13 M10%x1.25 64 M26x%1.5 1/8 8 8 45 154 15
40 | ~300| 21.0 24 7.5 14 16 M14x1.50 88 M32x2.0 1/4 11 11 50 188 21
3.24

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




®ysc|

Air Cylinder/Small Bore Size/With Gatier Type(Order Made Option)/|\B! S #T /45 5k 2

YCM1,YCDM1 (s20~040) series

Adjustable Stroke Cylinder/Extension Adjustable Type (RIE{T S EL/{# H A& HY)

YCM1

Mounting
R

Type| |Bore Size
BX igEs

Stroke

7%

Adjusting Symbol
Bt 14

Stroke Adjusting Symbol

—XC8

TRIAT

Additional fii4 @

Blank-Without gaiter Jo- 45 E
J-With gaiter(Nylon Tarpaulin)f {845 & (8 £ Fi7k)
K-With gaiter(Neperence Cloth) g H#EE (R T BEIMNE)

The Extended Stroke of the cylinder can be sdjusted
by the stopperin the head side.

ATLUBE KSR SE MR ITRHATAT.

Symbol 5

l

(A

prnd

inl

Adjustable Range
WEE

L @ Stroke Adjusting Sybol {Ti2@¥

A-Stroke Adjusting Range 0~25mm
TR AIASEE0~25mm

B-Stroke Adjusting Range 0~50mm
fTIEAIASEE0~50mm

Specifications #1&

Fluid (it &) CleanAir(E & =5
Proof Press. (R IEMt [ 1) 200 PS(1.5Mpa)
Max Press.(sx={EAE ) 140 PS(1.0Mpa)
Min Press.(&{&{EREH) 7 PS(0.05Mpa)
Piston Speed(jEZEIEE) 50~750mm/s

Cushion(£& i#)

Rubber Cushion(Standard )B4 it (fR )

Stroke Adjusting System{Ti2 i TE &

Adjusting Stopper if 35 3%

Stroke Adjusting Range T2 A1l

A:0~25mm,B0~50mm

Mounting % %

Basic Type,Foot Type,Rod Side Flange Type
Head Side Flange Type,Rod Size Trunnion Type
BAR, MER, FE=E, KEUEZE, FUHRER

Applicable Bore Size(mm)i& f #1152

220,025,832,040

Construction, Dimensions/Basic Type (4&#R~t, R~H/E7AH)

e

Stroke 1T#& ~300mm
! KK

I i Il —
==&}

—

MK
MT Stroke ML+Adjusting Range
MH+Stroke+Adjusting+Range

TL+2Stroke+Adjusiting Range(A:25mm,B:50mm)

Bore Size
(mm) MA KK MK Ml MT MH ML TL
20 12 M8x1.25 8 15 16.5 | 47 18 150
25 17 M10%x1.25 10 20 17.5 49 18 156
32 17 M10x1.25 10 20 17.5 | 49 18 158
40 22 M14x1.50 12 25 21.5 60 22 198
*%Other dimensions are the same as for standard type.
HERTS5HRMEER
3.25 PNUMACS

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




Accesseries for Small Bore Size(/MNE kR AE B S £ F 1)

YCM1,YCDM1 (s20~040) series

®ysc|

Single Knuckle Joint(Rod End Drawing)(# L& X S ET#FIH R )

Single Knuckle Joint Dimensions(mm)(IZL & #7543k R ~t)

1-020B,032B,040B

@ND RR1

GNDH1o
o e EoF -
; i
T I |
Ki/) J MM RR;
ﬁ? OND
NXi H I— N\
. w "I T w N |
7 TN »
(Min) Q _J:I I e Q {9_
A | U A Us
L1 L1
Bore(fIfZ)| A | H MM @NDH1o | NXi: | Ui [ Ri| Z PartNo.(28)Bore(]I &) A: | E | Li MM @NDH1o| NX | Ui | Rs
20 18 | 41| M8x1.25 97500 953 | 14| 10 | 66 1-020B 20 16 (20|36 | M8x1.25| 97°* | 935, | 10|14
25,32 | 22 | 45 | M10x1.25 | 9Q*g00s8 933 | 14|10 | 69 1-032B | 25,32 [ 18|22 |38 |M10x1.25| 9°9°%® | 933 [ 10|14
40 24 | 50 | M14x1.5 | 129 | 1653 | 20 [15.5 92 1-040B 40 222455 | M14x1.5|[12"0°*|1652[15.9 20

Double Knuckle Joint(Rod End Drawing)(# YEINUHEX SAT#FRR )| | Double Knuckle Joint Dimensions(mm)(Y R 51K R 1)

Y-020B,032B Y-040B
RR:2
@ND MM
ha 3 G
| P 1E= -
KTT/}/ - /jj J @DND+10
=~ Re| Uz A MM &S
NX2 H Y ! |
Z(Min) wf | I PSe
Q l’ pd
1
A2 Uz %
] L2
Bore(fI%) | A | H MM @NDH1o | NX2 | U, | R | Z PartNo.(22)Bore(fI%Z) Az | E | L2.| MM |@NDH1o NX NZ U2|R>
20 18 | 41 |[M8x1.25| 9*3*® 933114 | 10 | 66 Y-020B 20 16|20 | 36 [M8x1.25| 973 |9:01118[14(12|vcop-1
25,32 22 | 45 |M10x1.25] 9+ 93531 14 | 10 | 69 Y-032B| 25,32 | 18|22 | 38 [M10x1.25] 975°°%* |9:0:3|18|14|12|vcDP-1
40 24 | 50 |M14x1.5| 1273°%® [165;| 25 | 13 | 92 Y-040B 40 22|24 |55 |M14x1.5[125°°%%1162:138|20|1 3|vcDP-3

Knuckle Joint Pin( & (X )UZY$4 K B3 T51% 3L 36 F)
Applicable Cylinder Bore(J& & #I12):040

YCDP-2
Material(#1 &R ):Carbon Steel(Fk4N)

Knuckle Joint Pin( &8 (X )UZY$4 & B T51% K38 F)
Applicable Cylinder Bore(i& & #11&):2620,825,832

YCDP-1
Material(#1 R):Carbon Steel(Fk4N)

<3 ‘s Q
2-93 S 2-93 & ©
Q Q g N | |
. g C— [ J
1.15 19.2 1.75
4 33.2 4 41.7 TT T
41.2 49.7 75

Stopper Pin(53&1%t) : d3x18L Stopper : C Ring No.9 (%4 4f FCZY9)

3.26

Please contact us on any small problems & details.

YSC
EFE B RO E, EEESAAABRE,  PNEUMATICS




ERHS

Air Cylinder/Small Bore Size(/\EUrAERVS BT, B RN BRI, TOHIER)
@YSC YCM2,YCDM2(s20~040) Series

COMMON SPECIFICATIONS (3 [F #1#%)

Bore(I1Z)(mm) 20 | 25 | 32 | 4o
Fluid (it {4) CleanAir(E 4= 5)
Action(z1{Ef2 ) Double/Single Acting (W& z)
Proof Press.(fRiEME 77) 1.5Mpa(15kgf/cm?)

Max Press.(&={EHE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(s{&fERE ) 0.05Mpa(0.5kgf/cm?)

Amb.Temp.(ﬁiﬁ$ﬂ1;1L12k/mr) -5~+60°C (5& ;;J_i gél:)

Piston Speed(i&EZEi#E ) 50~750mm/s

Cushion (4 i) Rubber(STD) A5 He% i (), Air(Option) S48 i (i)

Stroke Tolerance({T#2 2N ) 14

*Lubrication(@i&) Non-Lube(REE)

Pipe Size(EEOZR(PT) | 178" | 158" [ 18" | 14’

*Use Turbine Oil 1st-grade ISO VG32#,If Required.(dN EE;i1i8, 15 BiET15H

ISO VG32)

Standard Stroke/Auto Switch (1T 2/ T K IEFE)
(ZIOFG) STD Stroke Band Mounted (¥ &5 22 3£ B)
(mm) (FRETE)MM) o Swich i % Band B2 7)

20 YBM2-020
25 YBM2-025
YCM?2 % Series - 25,52,0705‘,215000’,310205,150 |:E)_CC7733|L<L P —
40 YBM2-040

Note(;£1):Non STD Stroke Available.(# IEFR H1TF2 Al {1 1)
Note(;¥2):For Auto Switch:Refer to Catalogue Auto Switch Series.
(BT FF R BRAR R A 1 P S AR I FF X R 51)
Note(;¥3):YCM2 Series Tube(220,825,832,040) Is Stainless Steel Tube.
(YCM2Z 5 i &1 f& 0 #m A 5 SR 4

HOW TO ORDER(E! SR Fi%)

YC |D|M2 — 150 DF C73K
! L \

YSC Model(fX5) 5 Auto Switch (ﬁﬁ'ﬁﬁ?&ﬂ"‘) No.of Auto Switch (BT %)
i: ore Amb. Temp. for Gaiter | NI(EZS) : None(EFX) Nil(Fi2S) : 2(4)
[Q!‘ﬁ‘;"é‘;’ﬁcﬁﬁe () (ORI 0 B ) | O73KFoed SWich(HRARILTX) S ()
NICESE) None(®@) 33
Mounting (Fi {2 J: 60 Accessory (M)
B Basic Typeg(gf ) =) S}r_olﬁe k:110C I=I Type(2), Y=Y Type(®)
L: Foot Type(HIEE) (1718)
F: Front Flange(FFli%2
& Rear Fange(Ro) I Gaiter Material (fH4E{RIPE MM R R I EBE)
C: Single Clevis (&U!%) Cushion (&) —
D: Double Clevis (RUZ/49) Nil (Fi22) : Rubber (B ) Code(i25) Material(fR4ERIFEMMER) | Max.Amb.Temp.(FME & 5 i@ E)
T: Front Trunn!on(ﬂﬂﬂmﬁ) A: Air Cushion (S8 )
U: Rear Trunnion( 144 ) J Nylon Tarpaulin(Jg B 7k 1) 60°C
E: Imggrated Clevis Type
(RaBUR) K Neoprene Cloth(T # A& ) 110°C
¥ For Rod Boot Temperature. (4R EE SHEARSSIRE)
Part No. of Mounting (% 3£ i {4 21 £)
Bore (I &)(mm) 20 25 32 40
Foot (Bl E2) YCM2-L020B YCM2-L025B YCM2-L032B YCM2-L040B
Flange(’% =) YCM2-F020B YCM2-F025B YCM2-F032B YCM2-F040B
Single Clevis(8UZ!£4) YCM2-C020B YCM2-C025B YCM2-C032B YCM2-C040B
Double Clevis(XUZ! £4) YCM2-D020B YCM2-D025B YCM2-D032B YCM2-D040B
Trunnion(31 E (12 §)) YCM2-T020B YCM2-T025B YCM2-T032B YCM2-T040B
Please contact us on any small problems & details. 3.27 FiFARE RE R, HEESAARRE,




Air Cylinder/Small Bore Size(/NEURHERISET, BN EHER, TOHTET)

YCM2,YCDM2(s20~040) Series

®ysc|

Dimensions(mm) (5 R ~F B (Z )

Basic Type (&7 #!) YCM2B,YCDM2B

MU _Ij» PORT 2-PT1/8 _I:L ©,
\ 040 B HPT1/4 5 2
/N _
i AT H:g Y
g | B I _ _ _ ,T =2 4 | -
J(Hjef L] \
| |
N/ | V M
J D A Q
F G G F E R
L+Stroke K s
N+Stroke
Bore#Z)| A [ B[ D|E|[F|G|H|[ I ]J]|K|L|[NJed| o0 MM MU PlQ|R| s |eT
220 [15.5/2.5] 5 [28[13|15| 8 | 5 | 8 |41 (62 [116] 8 | 20%4 | M8x1.25 | M20x1.5 | 25 | 13| 24 | 26 | 28
225 [19.5|2.5|5.5(32[13|15| 8 | 6 | 8 | 45|62 [120] 10| 2630 |M10x1.25| M26x1.5 | 31 |17 | 30| 32| 34
232 [19.5/2.5|55(32 13|15 | 8 | 6 | 8 | 45|64 [122] 12| 2630 |M10x1.25| M26x1.5 [35.5/ 17 | 32 | 32 | 38
240 | 21| 3| 7 |34]16[21.5/ 11| 8 | 10|50 |88 |154| 14| 3234, | M14x1.5 | M32x2 |42.5) 22 | 46 | 41 50
Axial Foot Type (BJEE#Y) YCM2L, YCDM2L
Cover Port Surface(H)
L]
LS+STROKE
L+STROKE Lz
Bore(A1#2)| L | LS | LB |®LD| LH | LX | LY |LZ| X | Y
@20 |131|102| 38 [6.8] 25|40 | 40| 55| 20| 8
225 [135|102| 44 |6.8| 28 | 40| 47|55 | 20| 8
232 [137|104|44.3/6.8| 28 | 40 | 47| 55| 20| 8
240 [171|134(51.3| 7 | 30 |55 |54 | 75| 23| 10
Front Flange Type (i#=%!) YCM2F, YCDM2F
Cover Port Surface(i)
e Bore(iI#%) | FB |®FD| FT | FX | FY | FZ
- - — — — _ _| - J— J— i >
g H 220 | 30| 7 | 4 |60| 34|75
] 925 | 36| 7 | 4 | 60|40/ 75
- Fx 2.0FD @32 (373 7 | 4 |60]| 40| 75
FZ
240 [47.3| 7 | 5 | 66| 52| 82
Rear Flange Type (FiZ=2!) YCM2G, YCDM2G
Cover Port Surface(#)
— Bore(dI#)| FB [oFD| FT | FX | FY | Fz
H g T — -© 220 [30| 7 | 4 | 60|34 75
25 | 36| 7 | 4 |60]40]| 75
o @32 (373 7 | 4 |60 40| 75
2-OFD,
£z 240 (47.3| 7 | 5 | 66| 52| 82

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.

PNEUMATICS




@ Air Cylinder/Small Bore Size(/\EURHERVSEL, RN EHER, ToHEE)
YSC YCM2,YCDM2(z20~040) Series

Single Clevis Type (8 UZE! £ 8Y)
YCM2C, YCDM2C

+0.058
®CDH10) 0

Bore(fIf&)| L | LL| A | U | R |®CD| CX
220 |133|142| 30| 14| 9 10 0|
@25 |137|146| 30| 14| 9 10 .
232 |139|148| 30| 14| 9 10 A
@40 |177|188| 39 |18 | 11 |10 | 15 R L+STROKE
LL+STROKE

Double Clevis Type (WUZ! 45 2Y)

YCM2D YCDM2D
®CD(H10)"3%®
Bore(fI#2)| L |[LL| A | U | R ®CD|[CX|CZ o
220 |133]142| 30| 14| 9 10 | 19 D-1-1—-
225 [137|146| 30| 14| 9 10 | 19 T,
232 |139(148/ 30| 14| 9 10 | 19 A
240 (177|188 39| 18| 11|10| 15|30 R L+STROKE
LL+STROKE

Trunnion Type (J5 il %h B #Y)
YCM2U, YCDM2U

-0.02
(e9)-0.081

Bore(#I#)| L | LL [®@TD| TT [ TX |[TY | TZ
220 108 (116| 8 | 10 | 32 |32 | 52
225 112(120| 9 | 10 | 40 | 40 | 60
232 1141122 9 | 10 | 40 | 40 | 60
240 43.51541 10 | 11 | 63 |63 | 77

dTY
o1
\

DS

L+STROKE

Tz LL+STROKE

Front Trunnion Type (#F % B &)
YCM2T, YCDM2T

Bore(I#2) | L |[oTD| TT | TX | TY | TZ
320 3 | 8 | 10 | 32 | 32 | 52
225 40 | 9 | 10 | 40 | 40 | 60
832 40 | 9 | 10 | 40 | 40 | 60
240 |445| 10 | 11 | 53 | 53 | 77

LL+STROKE

Integrated Double Clevis Type
(R RUBIEGRY)
YCM2E, YCDM2E

CcP L+STROKE

®CD +0.058
H10)0

Bore(iI1%) L R u W | oCD| CH CX |[OCzZ| LL | LD | TH CP TV X TY TZ TT

BN

220 115 9 11.5 12 8 12 12 24 152 6.8 30 37 18.4 15 30 59 3.2

225 119 9 11.5 12 8 15 12 30 156 | 6.8 30 37 18.4 15 30 59 3.2

232 124 12 14.5 15 10 17.3 20 345 | 174 9 40 50 28 15 40 75

240 153 12 14.5 15 10 | 21.3 20 42.5 | 203 9 40 50 28 15 40 75

Please contact us on any small problems & details. 3.29 FiFARE RE R, HEESAARRE, PNUACS




Oysc|

HOW TO ORDER(E! SR T F %)

Double Rod Cylinder/Small Bore Size(¥ ;& ZFFE)

YCM2W,YCDM2W z20~240) series

YCM2w —(Mounting (##%5) —(Bore# ) x (Stroke(#7#)— (Cushion @ )—Auto s/w @M% X))

COMMON SPECIFICATIONS (& [E] #11&)

Symbol
Bore(T42)(mm) 20 | 25 | 32 [ 4o
Fluid(i74a) Clean Air(E &= XK)
Action(ZH{ERZ) Double Acting(%zh)
Proof Press.({RIEftES7) 1.5Mpa{15kgf/cm?}
Max. Press.(& & REH) 0.99Mpa(9.9kgf/cm?} f f
Min. Press.(BAK{EFIEH) 0.05Mpa{0.5kgf/cm®}
Amb. Temp.(FMEFIT S ) -10-+70C
Piston Speed(iGZEIHE) 50~750mm/s
Cushion(£&i) Rubber(STD) (KX M (7. 4), Air(Option) (S 2 M (#E1%E)
Stroke Tolerance({Tf2AZ) +14.0
*Lubrication(iE &) Non-Lube( REE)
Pipe Size(#%& 012)Rc(PT) 8 [ e | s |
*Use Turbine Oil 1st-Grade ISOVG32, When Use (S Zi8i8, i5AET15HISOVG32)
Dimensions(mm) (4MER T El(ZK))
PA 2-P(PT) PB 2-M
[ I
/ KK
—— L Al — 1 .
] \J J I
AL AL
A H W | I w H B A
T+Stroke L+Stroke T
TL+2Stroke
Unit:mm
Bore
(mm) Stroke| AL A B oD H KK L M P(PT)| PA PB T TL W
20 ~300| 15.5 18 5.0 8 13 M8x1.25 62 M20x1.5 1/8 8 8 41 144 15
25 ~300| 19.5 22 5.5 10 13 M10x1.25 62 M26x1.5 1/8 8 8 45 152 15
32 ~300 | 19.5 22 5.5 12 13 M10x1.25 64 M26x1.5 1/8 8 8 45 154 15
40 ~300| 21.0 24 7.5 14 16 M14x1.5 88 M32x2 1/4 11 11 50 188 21
3.30

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.




Air Cylinder/Small Bore Size/With Gatier Type(Order Made Option)(/ME S T /4574E! )
@YSC YCM2,YCDM2(s20~040) Series

How to order &8 /7 5%
With Gatier Type H{HAERIPER

YCM2—[Mounting (%) —[Bore(#I8) x [Stroke(fT#2) Auto s/w(#EHEFFxX)]

Additionla Bt ¢

Blank-Without gaiter T-T M4 E

J-With gaiter(NylonTarpaulin) B 45 E (B £ B 7K)
K-With gaiter(Neperence Cloth)& 45 & (& T # K 5MNE)

e 08 111111 D S -
= O
8 S H
T+S
TL+S+STROKE
Unit:mm
?n?r'f) OF [ H | T s TL
20 36 14 56 131
25 | 36 | 14 | 60 | 0.3Stroke(fT#8)+3 135
32 36 14 60 137
40 40 16 67 0.25Stroke(1T#)+3 171

% Other dimensions are the same as for standard type.

EE R 5tmeEER
Boss-Cut Type B &R HI| &
YCM2 [Mounting (£%)| [Bore(# )] x [Stroke(fT#8)—— XC1

TL+STROKE
\
Unit:mm
Boss Cut Type 2 &BH]HI Y
Bore(mm) TL
20 103 .
Unit:mm
25 107 % Difference of total length compare with Normal Type 54z £ £ R ~F bb 8
32 109 220 225 232 240
40 138 -13 -13 -13 -16
% Other dimensions are the same as for standard type. %Mounting:Base Type,Front Flange,Rear Flange
HERSS5HRERHEE EARR GEEFNEZE FinsEmE28

Please contact us on any small problems & details. 3.31 FiFANERE R, HEESEAATBESE,  PNEUMATICS




®ysc|

Air Cylinder/Small Bore Size/(Order Made Option)(/\BY S £ /457K FY)

YCM2,YCDM2(s20~040) Series

Adjustable Stroke Cylinder/Extension Adjustable Type (FIiE{Ti2 S EL/AH H iR HY)

YCM2 Mounting| | Type| |Bore Size| _|Stroke
=z 250 RS 171

Adjusting Symbol
Bt 4

Stroke Adjusting Symbol

—XC8

TRAT

Additional i 4 @

Blank-Without gaiter T-LBHE

J-With gaiter(NylonTarpaulin) & 45 & (/8 & B 7k)
K-With gaiter(Neperence Cloth)B A E(E T K NE)

The Extended Stroke of the cylinder can be adjusted
by the stopperin the head side
AT LUE I Sk S PG S EL M TR ETIHE,

Symbol &5

. @

pod

dnll

Adjustable Range
HEEE

L @ Stroke Adjusting Sybol 1T#2iA¥

A-Stroke Adjusting Range 0~25mm
TR AIASEE0~256mm

B-Stroke Adjusting Range 0~50mm
1T FESEE0~50mm

Specifications ##&

Fluid &

Air 5

Proof Pressure it £

200 PS(1.5Mpa)

Max. Operating Pressure & X #2{EE /1

140 PS(1.0Mpa)

Min. Operating Pressure S /NEEE N

7 PS(0.05Mpa)

Piston Speed HE % E

50~750 mm/sec

Cushion £}

Rubber Cushion(Standard)#& k22 if (45 /)

Stroke Adjusting System 1732

Adjusting Stopper 35 145t

Stroke Adjusting Range 17i2 i3z @l

A:0~25MM, B:0~50mm

Mounting &3&

Basic Type, Foot Type,Rod Side Flange Type
Head Side Flange type, Rod Side Trunnion Type
HAR, MEY, #UEZE, KRE=E, FUHER

Applicable Bore Size(mm) & F 112

$20, $25, $32, $40

Stroke 1772 ~300mm
Construction, Dimensions/Basic Type (£5#R~F,R~F/&EZAH)
| |
g i KK
\ _ I-H
S —-—H§-— <
Q
MK
MT Stroke ML+Adjusting Range
MH+Stroke+Adjusting Range
TL+2Stroke+Adjusting Range(A:25mm,B:50mm)
Bore Size
(mm) MA KK MK MI MT MH ML TL
20 12 M8x1.25 8 15 47 16.5 18 150
25 17 M10%1.25 10 20 49 17.5 18 156
32 17 M10x1.25 10 20 49 17.5 18 158
40 22 M14x1.50 12 25 60 21.5 22 198
3% Other dimensions are the same as for standard type.
HERTEHRARAR
332

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.




Oysc|

High Temperature Cylinder (it & iz < 1)

Mounting| _ |Bore Size|
veM2 23 AR ES

Use at high temperature up to 150 C & & & B E150C

% Other dimensions are the same as for standard type.
HERTEHRERER

Stroke
1T

—XB6

Air Cylinder/Small Bore Size/(Order Made Option)(/NEY S BT /455745

YCM2,YCDM2(s20~040) Series

Dual Stroke Cylinder/Double Rod Type 4TS &L/WiEZEIFEY

YCM2 Mounting Type Bore Size | |StrokeA| |Adjusting Symbol  [StrokeB
R X FIKES 7% B 14 7%

Adjusting Symbol

Wi —XC10

Additionla Bt
Blank-Without gaiter T-THHE

J-With gaiter(NylonTarpaulin) & {1 45 &(f8 £ B 7k)
K-With gaiter(Neperence Cloth)E 45 & (& T 18K 5MNE)

Two cylinders are constructed as one cylinder in

a back-to-back configuration allowing the Cylinder
stroke to be controlled in three steeps.
AASEUERERXAR—NSE, EKETE
F=HIER

Symbol 5

When air pressure is supplied to
B cD = ports@ and ®), both A and B
T strokes retract.
= I - YABmORMNESH, AL B
TREME,
B STROKE A STROKE
B D A When air pressure is supplied to
ports @ andB)A stroke extends.
LB O™ K [ i it S Bt HATT 2
BC D A When air pressure is supplied to
ports@and©), B stroke extends.
HACH AR #HSE, MEBITE.
BC D A When air pressure is supplied to

ports©and(D), both Stroke A and
B out Stroke.
—— ?@é@ﬁ;ﬂlﬁﬂ#i&%ﬁ#, =] Bef e 1
. BiT#

THEo

Specifications #1&

Type Bz

Non-lube ZEE &

Fluid &

Air 25

Proof Pressure it £

200 PS(1.5Mpa)

Max. Operating Pressure & K#g1EE S

140 PS(1.0Mpa)

Min. Operating Pressure &/ME{EEH

7 PS(0.05Mpa)

Piston Speed i& 2 &

50~750 mm/sec

Cushion £

Rubber Cushion(Standard)#5 22 if (75 4)

Mounting &3

Basic Type, Foot Type,Rod Side Flange Type
HAR, WEY, F=8

Applicable Bore Size(mm) i& B I3

$20, $25, $30, $32, $40

Stroke 1712

~300mm

Construction, Dimensions/basic Typ R ~F, R~H/EARE

B Stroke

|
|
v

A Stroke

=

TB+Stroke B

TA+Stroke A

TL+Stroke (A+B)

YCM2 % :
Unit:mm
Bore Size TA B TL m
(mm) *Q&Q*
220 47 78 207
225 47 78 215
232 49 80 219
240 66.5 |110.5| 277
% Other dimensions are the same as for standard type.
HERSTERERER

Please contact us on any small problems & details.

3.33

EFER B R, EERS AN RS,

PNEUMATICS




Oysc|

Air Cylinder/Small Bore Size/(Order Made Option)(/NEY S BT /455745

YCM2,YCDM2(s20~040) Series

Dual Stroke Cylinder/Double Rod Type M {72 S &1/ iE AT EY

Mounting Type Bore Size | |StrokeA Stroke B-A Adjusting Symbol .
YCM2 | Tay R || ae i |t 712 B_A B XC11
Additionla Fif #4
Blank-Without gaiter T-LBHE
J-With gaiter(NylonTarpaulin) & # 45 &(/8 £ B 7k)
K-With gaiter(Neperence Cloth) B 45 & (2% T #E5NE)
Symbol %5
Functon Specifications ##&
B A Whenai i lied t
¢ | the@port. both A and B strokes Fluid itk Air 5

B STROKE A STROKE

retract.
éi%l]i&’;\.ﬂﬂ‘, A . BfTiZREIAY

When air pressure is supplied to
the@®port, the rod extends by

A Stroke

L@AO#SE, AMTEME,

When air pressure is supplied to
the©port, the rod extends by B
Stroke B
LHOMO#SRE, BITREMH,

When air pressure is supplied to
both ports@and©double

output force is obtainable in the
range of the A stroke Iength
SacOERE,
EEFEH A m—E,

fEATREER,

Proof Pressure it £

200 PS(1.5Mpa)

Max. Operating Pressure & K#E1EE S

140 PS(1.0Mpa)

Min. Operating Pressure & /ME{EEH

7 PS(0.05Mpa)

Piston Speed i& 2 & &

50~750 mm/sec

Cushion 2

Rubber Cushion(Standard)#& B2 if (45 /)

Mounting &3

Basic Type, Foot Type,Rod Side Flange Type
Flange Type Head Side Flange type
Single Clevis Type, Double Clevis Type.
EAE, WEY, AUZE=R
SHmUEZE, BURE, NURY

Applicable Bore Size(mm) & F#I12

$20, $25, $32, $40

Stroke 1772

~300mm

Construction, Dimensions/basic Typ Z#IR~F, R~H/EZAE

B Stroke A Stroke
S RN N
\ Z \
NA _ _ _ ] \
TB+Stroke B TA+Stroke A
TL+Stroke (A+B)
Unit:mm
Bore Size

(mm) TA B TL
220 48 62 164
225 48 62 168
232 50 64 172
240 67.5 | 88.5 | 222

% Other dimensions are the same as for standard type.

HERSTSiRgERER

Please contact us on any small problems & details.

3.34

EFER B R, EERS AN RS,

PNEUMATICS




Air Cylinder/Small Bore Size/(Order Made Option)(/NEY S BT /455745
@YSC YCM2,YCDM2(s20~040) Series

Tandem Type Air Cylinder BB S 4T

Mounting Type Bore Size | |StrokeAl
YCM2 3" A3t S e | XC12

This is a cylinder produced with two air cylinders in line
allowing double the output face.
ZSEL AN SELRBRMA, AfEmH Em—E,

Specifications #1&

Fluid Fifd Air =5,
A 1
Symbol e Proof Pressure ffit £ 200 PS(1.5Mpa)
Max. Operating Pressure f KiE1EE 1 140 PS(1.0Mpa)
® clo 4 borh parteBand(. outpurforcs | Min. Operating Pressure & £ . 7 PS(0.05Npa)
is doubled in the retract stroke. X N
LEONRAMESH, HETE Piston Speed iEE# & 50~750 mm/sec
thig H g m—1E, — - —
Cushion &1 Rubber Cushion(Standard) iz 22 i (tRf)
When air pressure is supplied to
B © D ot poth ports@and@, output force Basic Type Axial Foot Type,Rod Side
_ I‘ii%oé)tl’:llelg Q%;ﬁtfzn?;&'%% " . e ;!an_re Typ_e,H_le_ad Side Flange Type,Rod
R T — ounting %% S

EAR, HEBER, FFRMEZE,
SKHA i 2= BY AT 000 5 B 2, S 0 e T Y

Construction, Dimensions/basic Typ Z#IR~F, R~H/EZAE

B Stroke A Stroke
W
_ 1A _ _ C - _ \
TB+Stroke B TA+Stroke A
TL+2Stroke (A+B)

Unit:mm
Bore Size
(mm) TA B TL
220 48 62 164
225 48 62 168
232 50 64 172
240 67.5 | 88.5 | 222
% Other dimensions are the same as for standard type.
HERS SRERER

Please contact us on any small problems & details. 3.35 FiFMME R, EEESAATRE, PNUACS




Accesseriws for Small Size Cylinder(/\BY %R B S £ B 14)
@YSC YCM2,YCDM2(s20~040) Series

Single knuckle Joint(Rod End Drawing) (751 B4 B4 K S EI#F iR RF) | Single knuckle Joint Dimensions(mm)7| B4 Bk sk R <)

1-020B, 032B, 040B

@OND RR1 GNDH1o
FoF T
I |
R1/ . IND MM y RRi
W = W N
4 T 8w VT
0 8 D
A | U Ax Us
L1 L1
Bore(fIfZ)| A | H MM @NDH1o | NXi: | Ui [ Ri| Z PartNo.(28)Bore(]I &) A: | E | Li MM @NDH1o| NX | Ui | Rs
20 18 | 41| M8x1.25 97500 953 | 14| 10 | 66 1-020B 20 16 (20|36 | M8x1.25| 97°* | 935, | 10|14
25,32 | 22 | 45 | M10x1.25| 9Q*g00s 933 | 14|10 | 69 1-032B | 25,32 [ 18|22 |38 |M10x1.25 9°9°%® | 937 [ 10|14
40 24 | 50 | M14x1.5 | 1279 | 1653 | 20 [15.5 92 1-040B 40 22 (24|55 | M14x1.5|[1290°*|1652[15.9 20

Double knuckle Joint(Rod End Drawing) (7Y BUMUEE K SAT#FR~F)| | Double Knuckle Joint Dimensions(mm) (YA XU 545k R <)

Y-020B, 032B  YY-040B

RR:
GND MM + - |
P T
] % . DNDH1o
— MM
R2 Uzﬂ A § |
NX2 H w Y >
Z(MIN) S l_ I a
1l
Az U2 %
| L2
Bore(#If&) | A H MM oNDh1o | NX2 | U2 | R2 | Z PartNo.(22)Bore(fI&) Az | E | L2.| MM [@NDwu1o| NX [NZU:|R-

2 N

20 18 | 41 |[M8x1.25| 9°¢%* 2| 14| 10 | 66 Y-020B| 20 16 | 20 | 36 [M8x1.25| 975°°° |9:5|18|14|12|vcop-1

25,32 | 22 | 45 |[M10x1.25 977%® ;| 14|10 | 69 Y-032B | 25,32 | 18|22 |38 [M10x1.25 93 [9133|18|14|12|YCOP-1
40 24 | 50 |M14x1.5| 12°¢°° [16%;| 25 | 13 | 92 Y-040B| 40 |22|24|55|M14x1.5[1273°°°[16::38/20|13|vc0p-3

Knuckle Joint Pin(Z(R)UBE K B354 L$5F) |  Knuckle Joint Pin(E(X)UZ 4 B At 15 43K 55 F)

Applicable Cylinder Bore(:& & #I1%): ¢ 40 Applicable Cylinder Bore(iE & #11Z): ¢ 20, ¢ 25, ¢ 32
Material(#15%): Carbon Steel (B&$¥) Material(#1 5%): Carbon Steel (B%$¥)
<3 ‘s Q
2-93 S 2-23 o
s S § 1 11
_ g C— [ J
1.15 19.2 1.75
4 33.2 4 41.7 T il
41.2 49.7 s
Stopper Pin(53&1%t) : d3x18L Stopper : C Ring No.9 (%4 4f FCZY9)
Please contact us on any small problems & details. 3.36 FiFARE RE R, HEESAARRE,




Direct Mounting Cylinder(& & 3£ S 1) -
Oysc IYCM2R,YCDM2R(a20~a40)series )

® Space Saving Design. COMMON SPECIFICATIONS (£ E#1&)

@ Built—-in Magnet(STD) FIudCR iR Cl Air(E R ==

® Non Lube Type. UI, (”'L_ ) ” ea.n |r(,.=.:. 11)‘ -

® Compact and Light Weight. Action(z1{EFZR) Double/Single Acting (W& &)

. . Proof Press.({RiETH & 77) 1.5Mpa(15kgf/cm?)

® TA=M Max Press.(B:S A /1) 0.99Mpa(9.9kgf/cm?)

® M BRI ) : Al i 08 Sl

© AT 15 I A F Min Press.(&{&ERES) 0.05Mpa(0.5kgf/cm?)

@ LR EEER Amb. Temp. FREFIRNEE) -5~+60°C (KR FLE)
Cushion (& i) Rubber(STD) A5 H4 (¥R Air(Option) S & M ({H1)
Stroke Tolerance(fTF2 A %) 14

"f\\\ | PISTON SPEED(i&EZi# )

l’!! e Bore(fL1&)(mm) 20 | 25 | g2 40

Piston Speed((EEEE) 50~750mm/s
~y STD STROKE (fr#1TER)
i o
/ \ A Bore(&L1%) Stroke (R AE1TT2)
N < 20 25,50,75,100,125,150
25 25,50,75,100,125,150,200
}! 32 25,50,75,125,150,200
40 25,50,75,100,125,150,200,250,300
HOW TO ORDER (B! SR RH %)

YCDM2R |A 20| - | 100 - |C73K | S
Auto Svjith Type ) ’ N

(WE@;W) * hﬁlﬂetosgwliﬁgg&%rt%zxeﬁi?gf)R—SO)

—

Mouting (23 RX) No. of Switch (14 7F 5% fif inic S)
A:Bottom Mouting gilgj‘c/za%):z(/u\)

(AR I EY) n: n((ll‘))
B:Front Mounting

(EHEB R FEY)
Bore (S #I)
20: 20mm
25:25mm
32: 32mm
40: 40mm
Stroke (1T#2)

| YSC |
Please contact us on any small problems & details. 3.37 FiFANERE R, HEESEAATBESE,  PNEUMATICS




Direct Mounting Cylinder(& & 3£ S 1)
Oysc IYCM2R,YCDM2R(a20~a40)series

Dimensions(mm) (5ME R < Bl(Zk)) | YCM2RA, YCDM2RA

PORT 2-PT1/8” HA 2-@LD
oT " Q40K EIE O APT1/4 J|
|‘ T 5 MM
: I [
/ NN PULL B LB NEEREE
| i e TV
o L SA ) : '
JHEAY ] ——— J s Bl | -
1 1 ' '
1 1 |
= : L RRIAE N
R ! D A Q
G GA 3 E LX
L+Stroke K Lz
N+Stroke

Bore(fIf£) A | B|D|E|[G|H| I |J]|K|L|N|@OMhs P|Q MM R |V |[@d|HA|GA|LB|LX|LZ|@T LD
920 [15.5(2.5| 5 |24 (15| 8 | 5 | 12|27 |76 (106/20%0| 25| 13 |M8x1.25/24 | 7 | 8 | 22|29 |30 |20 | 35|29 |#5.509.50p6.5
225 |19.52.5/5.5/28 15| 8 | 6 [ 12| 31|76 |110/2650s| 31|17 [M10x1.25 30| 8 | 10 |22 (29| 36 | 26 | 39 | 36 |96.5,011Dp7.5
232 |19.52.5/5.5/28 15| 8 | 6 [ 12| 31|78 |112|264503/34.5( 17 M10x1.2534.5/ 10| 12 | 22 | 29 | 42 | 30 | 46 |40.599,611Dp10
240 | 21| 3 | 7 |3121.5 11| 8 | 15|34 |104{141/3254:342.5/ 22 [M14x1.5[42.5( 12 | 14 | 27 37.5 52 | 36 | 58 |46.5011,617.5Dp12.5

Dimensions(mm) (4MERSTE(ZK)) | YCM2RB, YCDM2RB

PORT 2-PT1/8" 4-GLD
a7 H H:O40SEHED HPT1/4” HA
MM
7 2y -- gD
| - 8 ——- - - 3
=/ DF
R D|| A Q
G GA 3 E LX
L+Stroke K LZ
N+Stroke
Bore(fIf¥) A | B|D|E|G|H| | |K|L|N|2Oh8) P | Q| MM |R |V |@d/HA[GA|LB|LX|LZ|@T LD
220 [15.52.5| 5 |24 15| 8 | 5 |27 |76|106| 205, | 25|13 |M8%x1.25/24 | 7 | 8 |22(29|30|20|35|29|M5%0.8 Dp9
225 [19.5(2.5(5.5(28 15| 8 | 6 | 31|76 (110|265 | 31|17 [M10%x1.25 30| 8 | 10|22 |29|36|26|39|36|M6x1Dp11
232 [19.5(2.5(5.5(28 15| 8 | 6 | 31|78 |112| 265,35 [34.5/ 17 [M10%x1.2534.5/ 10 | 12 | 22 | 29 | 42 | 30 | 46 [40.5| M6x1 Dp11
240 21| 3 | 7 |31[21.5 11| 8 |34 (104|141 325, 42.5/ 22 |[M14x1.542.5/ 12 | 14 | 27 [37.5/ 52 | 36 | 58 [46.5M8x1.25 Dp14

| YSC |
Please contact us on any small problems & details. 3.38 FiFARE RE R, HEESAARRE, PNEUACS




Direct Mounting Cylinder(& & 3£ S 1)
Oysc IYCM2R,YCDM2R(¢20~a40)series

Adjustable Stroke Cylinder, Extension Adjustable Type (RIE1T 2 S &L/ H AR R)

Mounting Bore Size | | Stroke Stroke Adjusting Symbol|
YCM2R | gy P s A XC8

v
Stroke Adjusting Sybol 72T
A-Stroke Adjusting Range 0~25mm
1TEFESEE0~25mm
B-Stroke Adjusting Range 0~50mm
TR AASEE0~50mm

The extended stroke of the cylinder can be adjusted

by the stopper on the head side from full stroke Specifications il
(0~25)mm or (0~50)mm. P (*J"';lg)
4 Type %2 Air Cylinder i&&%ES
Symbol 55 . ——
Applicable Bore Size & 220,025,832,040
'A) Action Z{EA R Double Action Single Rod X3 &5 24
_\3 \ Piston Speed (mm/sec)i& ik & 50~750
fond 0
WY Cushion £} Rubber Cushion (Standard) #4284
4_‘_; Stroke Adjusting System {7218 Stopper Adjustment i 3543t
Adjustable Range Stroke Adjusting Range {721 H5 2 B A:0~25mm,B:0~50mm
BEEE Mounting %% Rear pivot Mounting, Front Nose Mounting
RS, KERRSE

Dimensions(mm) (5N R ~F)

Rear Pirot Mouting

K v B §H & 38
- i i -=! i i I KK
N L,T.,_: " N7 .
| [
i i |1 _ _ i - _al 7 (|
- - ! — S
N 1 - 3 g
~ MT Stroke ML+Adjusting Range
MH+Stroke+Adjusting Range
TL+2Stroke+Adjusting Range(A:25mm,B:50mm)
Front Face Mouting
BIE R R
L AR et KK
. T no .
e — — =T
i Jl]zl 3 -
N — 3 g
== MT Stroke ML+Adjusting Range
MH+Stroke+Adjusting Range
TL+2Stroke+Adjusting Range(A:25mm,B:50mm)
Bore Size
(mm) MA MH | gMB | MK ML KK MT TL
820 12 47 15 8 18 M8x1.25 16.5 | 150
825 17 49 20 8 18 M10x1.25 | 17.5 | 156
232 17 49 20 10 18 M10x1.25 | 17.5 | 158
240 22 60 25 12 22 M14x1.5 21.5 | 198
% Other dimensions are the same as for standard type.
HERSTERERER

Please contact us on any small problems & details. 3.39 FiFARE RE R, HEESAARRE, PNUACS




®ysc|

HOW TO ORDER(E SR T Fi%)

C DA2 @— 100}J-[A54K]S|
I

YSC Model(K 2) Bore Size Option(EX):

o (EL72) GallerAmb(fh 45 (R IP E 24 B B 3R 453)
Nil(Ei28): J:60C
STD Type(EF %) Stroke K:110T
D:AutoSwitch Type (778) N:None-Cushion (£ i)
(HFFX) R:Rod Cover Cushion (¥l 28 i)

H:Head Cover Cushion(f5 U £& i)

Mounting (Bt 4 S) I:l Type Knuckle Joint(I5Y & 3 3)
B:Basic(E AR) Y:Y Type Knuc kle Joint(YE! ¥ 41 %)
L:Foot(# = #) Nil(F325): Both Side Cushion(Fifll#: 4 )
F:FrontFlange (#Fli% )
G:RearFlange(Fi%2)

C:Single Clevis (28U £)
D:Double Clevis(FUZ )

Air Cylinder/Medium Bore Size(# B RS H)

YCA2,YCDAZ2(s40~2100) Series

ERHS

COMMON SPECIFICATIONS (3£ E] #11%)

Bore(£I42)(mm) 40 | 50 | 63 | 80 | 100
Fluid(G7i 1K) CleanAirGE =5
Action(En{EfZ3X) Double Acting (X 31)

Proof Press.(fRIEf} £ 1)

1.5Mpa(15kgf/cm?)

Max Press.(RRa{ERAEN)

0.99Mpa(9.9kgf/cm?)

Min Press.(&{REREH)

0.05Mpa(0.5kgf/cm?)

Amb. Temp.GREFLRIASEE)

-5~+60°C (K % £5)

Piston Speed(;EZ=i#/E)

50~500mm/s

Cushion(£& i)

Air Cushion (K £& i)

Stroke Tolerance(TI2 A %)

~250:3° 251~1000:%* 1000~1500:%°

*Lubrication(;i#ig)

Lube Type(STD),Non-Lube(Option) (i AR (5 ), A EE(fE1E))

Pipe Size(1%% [#2)Rc(PT)

174" | 38" | 38" [ 12" [ 12

*Use Turbine Oil 1st-grade ISO VG324#,If Required. (4N T2 98, 1% 1% £ 153#ISO VG32)

Stroke/Auto Switch({TH2/® 14T XL )

(2%2) STD Stroke Auto Switch | Mount Part No.
(mm) (FRAEFTHE) (mm) (REMETF <) (FFEEEF)
25, 50, 75, 100, 125, 175, 200, 5104
40 250, 300, 350, 400, 450, 500 -
25, 50, 75, 100, 125, 175, 200, BT-04
50 | 25,50,75 5,175 DoAB4K
63 | 250, 300, 350, 400, 450, 500, 600 BT-06
80 | 25,50, 75, 125, 150, 175, 200, 250, BT-08
100 | 300, 350, 400, 450, 500, 600, 700 BT-08

Note: Other Stroke Available (& JE iR # 1T 12 AT 3£ F)

T:Center Trunnion(F i H)

Nil(Fti2 5):Lube Type (it iig & 2Y)
N:Non-Lube (7 i i g &)

H:Air Hydro({f it JE &)

F:Steel Tube (&I %)

Dimensions(mm)($M&! R~ E)(mm)

Basic Type(E42!): YCLIA2B

|
Auto Switch (B M FF % 7 3)
Nil(£i25):w/o Switch(F &L 14 FF %)
A54K:Reed Switch(& 1 s FF )

Nil(Zi2 5):2(1)
S:1 (1)
3:3(1)

No of Auto Switch (B 1 FF < £ £)

Lube,Non-Lube,Air-Hydro Type (i#i&8, Fimidias, {KikER)
CA
PA 2-Rc
DA Ve
MM B — — -
pann= R S5 RN
S T NE
AL 4 & |
K — -_— -_— —_
A B
H W w M
T L+Stroke
TL+Stroke
Bore | StrokeRange |Thread Length(K)

(GL) (mm) (TS BN )| (&3tEE400 A | B |OC|OT|eD |gEA| H MM L N 2-Rc|PA|PB|W | T |TL| M |[CA|CB
40 ~500 25 28 | 6 | 44| 60| 16| 32 | 15 IM14x1.5| 84 M6x1 |1/4"| 13 | 5 |26.7| 51 |140| 5 | 18 |10.5
50 ~ 600 28 31 7 | 52| 70|20 | 40 |{17.5|M18x1.5| 90 [M8x1.25|3/8"|14.5| 8 [29.7| 58 [154| 6 | 21 | 9.9
63 ~ 600 28 31 7 | 64|85 |20 | 40 [17.4|M18x1.5| 98 |[M8x1.25|3/8"| 15 | 9 [30.7| 58 [162| 6 | 21 [11.5
80 ~800 33 36 | 10 | 78 |102| 25 | 52 |22.5|M22x1.5| 116 [M10x1.5| 1/2"| 21 | 11 |36.7| 71 |194| 7 | 26 | 13
100 ~ 800 37 40 | 10 | 92 |116| 30 | 52 | 19 [M26%1.5| 126 |[M10x1.5| 1/2"| 21 | 13 |39.7| 72 |206| 8 | 28 | 14

Please contactus on al Il i 3.40 i L R B) B, i N ] B YSC

n n any small problems & details. EFANEN REE, FEESAAFABRSE,  PNEUMATICS




®ysc|

Axial Foot Type(R1EEE!): YC[JA2L

Air Cylinder/Medium Bore Size(# B RS H)

YCA2,YCDAZ2(s40~2100) Series

Lube, Non-Lube, Air-Hydro Type (G#i82!, Filigaa, {Kin/ER)
T CA CA
A PA BAL .M
I e [l 2-Re
[3)
VAR 777777777@7’
N L
I e 4-gLD
W wo N T T I -
X |, . x|
L+Stroke r 0c
LS+Stroke aT
TL+Stroke
Bore | StroKeRange |Thread Length(K)

(G2 (mm) (RSB mm)| (B35 A | B |OC|OT | eD |gEA| H MM L N 2-Rc| PA|PB|W | T |TL| M |[CA|CB
40 ~500 25 28 | 6 |44 |60 | 16 | 32 | 15 [M14x1.5/ 84 | M6x1 [1/4"| 13 26.7| 51 [175| 5 | 18 [10.5
50 ~ 600 28 31| 7 [ 52|70 |20 | 40 (17.7|M18x1.5| 90 |M8x1.25| 3/8"|14.5 29.7| 58 [188| 6 | 21 [ 9.9
63 ~600 28 31 7 | 64| 85|20 | 40 [17.4|M18x1.5| 98 [M8x1.25|3/8"| 15 30.7| 58 |206| 6 | 21 [11.5
80 ~ 800 33 36 | 10 | 78 |102| 25 | 52 |22.5|M22%x1.5| 116 [M10x1.5| 1/2"| 21 | 11 |36.7| 71 |247| 7 | 26 | 13
100 ~ 800 37 40 | 10 | 92 [ 116 30 | 52 | 19 [M26x1.5| 126 [M10x1.51/2"| 21 | 13 |39.7| 72 |258| 8 | 28 | 14
Bore

(414%)(mm) LX| Y | X [LS|LY|LH|LT #4-oLD
40 42 | 13 | 27 [138| 70 | 40 | 3.2 | 7
50 50 | 13 | 27 |144| 80 | 45 | 32| 9
63 59 | 16 | 34 |166| 93 | 50 | 3.2| 9
80 76 | 16 | 44 | 204 |116| 65 | 4.5 | 11
100 92 | 17 | 43 |212(133| 75 | 6 | 11

FrontFlange Type(#fllli%=%Y): YC[JA2F

Lube, Non-Lube, Air-Hydro Type (882!, JoiiaigaY, {KimER)

FT CA QEA
PA PA q
MM R 7@
\ K [40]
8 R 1y *7*7*7***@** il
== N
[aa] [
K L e | T
A Bj!: ;
W W M 4-@LD o N
T L+Stroke OT
TL+Stroke
Bore | StroKeRange |Thread Length(K)

(G143 (mm) (FESE) )| (58K A | B |OC|OT|eD|gEA| H MM L N 2-Rc| PA|PB|W | T |TL| M |[CA|CB
40 ~500 25 28 | 6 |44 | 60| 16 | 32 | 15 IM14x1.5| 84 M6x1 | 1/4"| 13 26.7| 51 |140| 5 | 18 [10.5
50 ~ 600 28 31| 7 [ 52|70 |20 | 40 (17.7|M18x1.5| 90 |M8x1.25|3/8"|14.5| 8 |29.7| 58 |154| 6 | 21 | 9.9
63 ~ 600 28 31| 7 [ 64|85 |20 | 40 ([17.4|M18%x1.5| 98 |M8x1.25/3/8"| 15| 9 |30.7| 58 |162| 6 | 21 |11.5
80 ~ 800 33 36 | 10 | 78 |102| 25 | 52 |22.5|M22x1.5| 116 [M10x1.5| 1/2"| 21 | 11 |36.7| 71 |194| 7 | 26 | 13
100 ~ 800 37 40 | 10 | 92 [ 116 30 | 52 | 19 [M26x1.5/ 126 [M10x1.51/2"| 21 | 13 |39.7| 72 |206| 8 | 28 | 14
Bore

(414%)(mm) FX|FZ|FQ|FY |gLD| FT
40 80 [100| 71 | 42 | 7 | 12
50 90 |110( 81 [ 50 | 9 | 12
63 105(130|101| 59 | 9 | 15
80 130(160(119| 76 | 11| 18
100 150 (180|133 | 92 | 11 | 18

3.41
PNEUMATICS

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,




®ysc|

Air Cylinder/Medium Bore Size(# B RS H)

YCA2,YCDAZ2(s40~2100) Series

Rear Flange Type (f5i%=%!): YC[JA2G

Lube, Non-Lube, Air-Hydro Type (G#i82!, Filigaa, {Kin/ER)
CA CA
|PA. PA
2-Rc
MM e
Vo O\
SR SE %
R D
K J‘ifiififififiil
A __|B
H|. W w
T L+Stroke
TL+Stroke
Bore | StrokeRange |Thread Length(K)

(G143 (mm) (FESE)mm)| (584K A | B |OC|OT | eD |gEA| H MM L N 2-Rc/ PA|PB| W | T | TL |gLD| CA|CB
40 ~500 25 28 | 6 |44 |60 | 16 | 32 | 15 |M14x1.5| 84 | M6x1 |1/4"| 13| 5 |26.7| 51 |147| 7 | 18 |10.5
50 ~ 600 28 31| 7 [ 52|70 |20 | 40 (17.7|M18%x1.5| 90 |M8x1.25|3/8"|14.5| 8 |29.7| 58 |160| 9 | 21 | 9.9
63 ~ 600 28 31| 7 | 64| 85|20 | 40 [17.4|M18x1.5| 98 |M8x1.25|3/8"| 15| 9 [30.7| 58 [171| 9 | 21 [11.5
80 ~ 800 33 36 | 10 | 78 |102| 25 | 52 [22.5|M22x1.5|/116 |M10x1.5|1/2"| 21 | 11 [36.7| 71 [205| 11 | 26 | 13
100 ~ 800 37 40 | 10 | 92 |116| 30 | 52 | 19 [M26%1.5| 126 |[M10x1.5| 1/2"| 21 | 13 |39.7| 72 |216| 11 | 28 | 14
Bore

(4L2)(mm) FX|FZ|FQ|FY|FT
40 80 |100| 71 | 42 | 12
50 90 | 110| 81 | 50 | 12
63 105( 130|101 | 59 | 15
80 130|160 | 119| 76 | 18
100 150 (180|133 | 92 | 18

SingleRear Clevis Type (£ UZI$)#)): YC[JA2C

Lube, Non-Lube, Air-Hydro Type (iElig2!, Joitiifigay, {KihER)

CA c
PA PA|
2-Rc —
MM — - 1 -

\ M S
A — S Ty
J:u:_ S0 \

K a \@cD
A B *’**’7’7’7’*’£
H|. W w CV.
T CL
L+Stroke
LS+Stroke R
TL+Stroke
Bore | StroKeRange |Thread Length(K)

(G143 (mm) (FESE) )| (58K A | B |OC|OT|eD|gEA| H MM L N 2-Rc| PA|PB| W | T | R [CA|CB|gCD
40 ~500 25 28 | 6 |44 | 60| 16 | 32 | 15 IM14x1.5| 84 M6x1 [1/4"| 13 | 5 [26.7| 51 | 10 | 18 |10.5[107"
50 ~ 600 28 31| 7 | 52|70 |20 | 40 [17.7|M18x1.5| 90 |M8x1.25|3/8"[14.5| 8 |29.7| 58 | 12 | 21 | 9.9 [12%"
63 ~ 600 28 31| 7 | 64|85|20 | 40 |17.4|M18x1.5| 98 [M8x1.25/3/8"| 15 | 9 [30.7| 58 | 16 | 21 [11.5/167"
80 ~ 800 33 36 | 10 | 78 |102| 25 | 52 |22.5|M22x1.5| 116 [M10x1.5| 1/2"| 21 | 11 |36.7| 71 | 20 | 26 | 13 |207™
100 ~ 800 37 40 | 10 | 92 |116] 30 | 52 | 19 [M26x%1.5| 126 [M10x1.5 1/2"| 21 | 13 [39.7| 72 | 25 | 28 | 14 (257"
Bore

(4L%)(mm) LS|TL|CV|CL|CX|HH
40 165 | 175| 16 | 30 (15 2 20
50 183[195| 19 | 35 |18 34 24
63 196 (212 23 | 40 |25 3Y 32
80 235|255 | 28 | 48 [3155] 40
100 256 | 281| 36 | 58 [35.504 50

Please contact us on any small problems & details. 3.42 EFMAE B KA, EEESARAFRE,




®ysc|

Air Cylinder/Medium Bore Size(# B RS H)

YCA2,YCDAZ2(s40~2100) Series

Double Rear Clevis Type(MUZ!$49%Y): YC[JA2D

Lube, Non-Lube, Air-Hydro Type (iiFia2!,

FimiEEE, il ER)

C
|PA 2-Rc
MM —- = = = **{ @CcD
a 1T [ Y T
GiiEf [ 1] - - yanYg O E
sl AP
K o
< - _ - _ ol
Hol. w w cV,
T L+Stroke CL
LS+Stroke R
TL+Stroke
(ﬁI?Bé(;zfnm) ﬁ;i%;;‘(m)Thr(eﬁa‘%ﬁzgw)(K) A| B |OC|OT|eD|eEAl H| MM | L N [2R]PA|PB|W | T | R |CA|CBleCD
40 ~500 25 28| 6 |44 |60 | 16| 32 | 15 [M14x1.5| 84 | M6x1 |1/4"| 13 26.7| 51 | 10 | 18 [10.5[10°"
50 ~ 600 28 31| 7 | 52| 70 | 20 | 40 [17.7|M18x1.5| 90 |M8x1.25|3/8"[14.5 29.7| 58 | 12 | 21 | 9.9 [12%7
63 ~ 600 28 31| 7 | 64| 85|20 | 40 [17.4|M18x1.5| 98 |M8x1.25| 3/8"| 15 30.7| 58 | 16 | 21 [11.5]16%"
80 ~ 800 33 36 | 10 | 78 |102| 25 | 52 [22.5|M22x1.5| 116 [M10x1.5| 1/2" | 21 36.7| 71 | 20 | 26 | 13 [20°™
100 ~ 800 37 40 | 10 | 92 |116| 30 | 52 | 19 |M26x1.5| 126 |M10x1.5| 1/2" | 21 | 13 [39.7| 72 | 25 | 28 | 14 |25
Bore
(&) (mm) LS|TL|CX|CV|[CL|HH|CZ
40 165|175(15 54 16 | 30 | 20 [29.5
50 183(195(18 5 19 | 35 | 24 | 38
63 196 [ 21225 24 23 | 40 | 32 | 49
80 235 | 255 (31.50) 28 | 48 | 40 | 61
100 | 256|281 (35551 36 | 58 | 50 | 64
Trunnion Type(f i EEl): YCJA2T
Lube, Non-Lube, Air-Hydro Type (iE/88!, Jimigia sy, {Kin/ER)
CA
|PA
] | | — — | 2-Rc
MM /
v T _ &
DI 1 1 o | _ I
Q l: L] f# Q
e || D,
K I e T[]
A B
H i TT W
T L+Stroke M
TL+Stroke
(H%‘;[fnm) ﬁg%ﬁiﬁ;fﬁg%ﬂ%m A|B|oOC|OT|eD|eEA| H| MM | L N |2Rc/PA|PB|W | T | M|ca|cB
40 ~500 25 28| 6 | 44|60 | 16 | 32 | 15 [M14x1.5| 84 | M6x1 |1/4"| 13| 5 |26.7| 51 | 5 | 18 |10.5
50 ~600 28 31| 7 | 52| 70 | 20 | 40 [17.7|M18x1.5| 90 |M8x1.25|3/8"|145| 8 |29.7| 58 | 6 | 21 | 9.9
63 ~ 600 28 31| 7 | 64|85 |20 | 40 |17.4|M18x1.5| 98 |M8x1.25|3/8"| 15 | 9 |30.7| 58 | 6 | 21 |11.5
80 ~800 33 36 | 10 | 78 [102| 25 | 52 [22.5|M22x1.5| 116 |[M10x1.5|1/2"| 21 | 11 |36.7| 71 | 7 | 26 | 13
100 ~ 800 37 40 | 10 | 92 |116| 30 | 52 | 19 |M26x1.5| 126 |M10x1.5| 1/2"| 21 | 13 |39.7| 72 | 8 | 28 | 14
Bore
(@) (mm)| TZ | TX|TY | TL [ TT oTD
40 117| 85 | 62 | 140 | 22 |152%
50 127| 95 | 74 | 154 | 22 (1530
63 148 110| 90 | 162 | 28 |183%
80 192|140 (110|194 | 34 (2535
100 | 214|162 130|206 | 40 |255%
Please contact us on any small problems & details. 3.43

EFENEREE, EEESAARRE,




@Y I Double Rod Cylinder/Medium Bore Size( 2 & ZEFF RIS 4T)
SC YCA2W,YCDA2W: z40~2100) Series

Double Rod Tylinder (X {EHi&FZE4FE!):YCOA2W[]

Lube, Non-Lube, Air-Hydro Type (G#i82!, Filigaa, {Kin/ER)

CA
PA 2-Rc
—
MM ’E — — -
a NP _ _ _ ( _ _ _ 11
[N Ly T 8 T ;L
- P» i -
K — — — —_
A B
H W w
T L+Stroke T+Stroke
TL+2*Stroke
Bore StrokeRange |Thread Length(K)

(ET72)(mm) |(FEEE) )| (B3N A B | OC| OT | ¢D | ¢EA| H MM L N 2-Rc| PA | PB | W | T | TL | CA | CB
40 ~500 22 28 | 6 | 44 |60 | 16 | 32 | 15 [M14x1.5| 84 | M6x1 [1/4"| 13 | 5 [26.7| 51 |186| 18 |10.5
50 ~ 600 27 32| 8 | 52|70 |20 | 40 |17.5|M18x1.5| 90 |M8x1.25|3/8"|14.5| 8 [29.7| 58 | 206 | 21 | 9.9
63 ~ 600 27 32| 8 | 64|85 |20 | 40 |17.4|M18x1.5| 98 |M8x1.25[3/8"| 15 | 9 [30.7| 58 | 214| 21 [11.5
80 ~ 800 32 36 | 10 | 78 [102| 25 | 52 |22.5|M22x1.5| 116 [M10x1.5[ 1/2"| 21 | 11 [36.7| 71 | 258 | 26 | 13
100 ~ 800 36 40 | 10 | 92 (116 30 | 52 | 19 [M26x1.5| 126 |[M10x1.5 1/2"| 21 | 13 [39.7| 72 |270| 28 | 14

With Gatier Type(={HZERIFEE!): YCLIA2

Lube, Non-Lube, Air-Hydro Type (/&8 FitiEBE (Kih EE)

CA OEA
| PA_ 2-Rc

MM

A AVaNE |
i .

J

JEB
D
|

‘\
t
g
- ®
[
\\‘\
CB
&
[

K 8
A B s w w M
59+8 L+Stroke
TL+S+Stroke
Bore | StroKeRange |Thread Length(K)

(G142 (mm) | (FEEE) M) (E3E) A | B |OC|OT| eD|gEA| MM L N 2-Rc|PA|PB| W | T |TL| M |[CA|CB
40 ~500 22 28| 6 | 44|60 | 16 | 32 [M14x1.5| 84 M6x1 |1/4"| 13 | 5 [26.7| 59 |148| 5 | 18 |10.5
50 ~ 600 27 32| 8 | 52| 70 | 20 | 40 |[M18%x1.5| 90 |[M8x1.25|3/8"|14.5| 8 |29.7| 66 [162| 6 | 21 | 9.9
63 ~ 600 27 32| 8 | 64| 85|20 | 40 |[M18x1.5| 98 |[M8x1.25|3/8"| 15 | 9 |30.7| 66 [170| 6 | 21 [11.5
80 ~ 800 32 36 | 10 | 78 |102| 25 | 52 |M22x1.5| 116 |[M10x1.5|1/2"| 21 | 11 |36.7| 80 |203| 7 | 26 | 13
100 ~ 800 36 40 | 10 | 92 |116| 30 | 52 |M26%x1.5| 126 |[M10x1.5|1/2"| 21 | 13 |39.7| 81 |215| 8 | 28 | 14
Bore

(a)mm) | EB| S
40 43
50 52 1/4
63 5o | Stroke
80 65 | (1T18)

100 65

Please contact us on any small problems & details. 3.44 B BN REE, HEES AN RBRE, PNUACS




®ysc|

Adjustable Stroke Cylinder (FTiH17#22!): YCLIA2-XC8

Lube, Non-Lube, Air-Hydro Type (882, Jc it m i (Kin E2)

E ,,,,,,

2B

Stroke C+Adjusting
D+Stroke+Adjusting Length
ZZ+2Stroke+Adjusting Length

Adjustable Stroke Cylinder/Medium Bore Size(® 2! /] iFTIES 1)

YCA2,YCDA2--XC8(s40~2100) Series

o | @8 | ¢ | D | zz
40 | 3 | 22 | 51 | 186
50 | 42 | 28 | 635 | 2115
63 | 42 | 28 | 635 | 2195
80 | 55 | 35 | 785 | 2655
100 | 55 | 35 | 75 | 213

Accessories for Medium Bore Size( B frES LB {)

YCA2,YCDA2(s40~2100) Series

Single knuckle Joint Dimensions(mm)7| B 244 Sk

Double Knuckle Joint Dimensions(mm) (Y2 3 75 #-3k

Please contact us on any small problems & details.

EFENEREE, EEESAARRE,

PNEUMATICS

| Rr1
—for -
LUt AA 1
A GNDH10
JGNDH10 ) /IIV N
7 o 2
e e e
Kz 0/ !
A1
A2
L
a‘f;ée) A |A1|A2| L1 | MM | U1|gE1|oNDH1o a‘fg) AA [Rr1[A2| L1 | MM | U1 |@E1| eNDH1o
40 69 |22 [ 27 [ 55 [M14x1.5] 20 | 24 | ,.0on 40 20 [ 13| 22| 55 [M14x1.5] 20 | 24 | ., .em
50/63 | 74 | 27 | 32 | 60 |M18x1.5| 20 | 28 0 50/63 | 20 | 15 | 24 | 60 |M18x1.5] 20 | 28 0
80 91 [ 37 |42 ] 71 [M22x1.5] 26 | 36 | 187°° 80 25 | 19 | 32 [ 71 [M22x1.5] 26 | 36 | 187"
100 | 105 | 37 | 42 | 83 |M26x1.5] 28 | 40 | 207°™ 100 | 25 | 21 | 33 | 83 |M26x1.5] 28 | 40 | 20 3™
Bore Bore
(4172) NX | d | b (5173) NX | LL | NZ
40 [16 03] 1 | 2 40 [16 57 24 | 38
50/63 [16 03| 1 | 2 50/63 | 16 15| 27 | 38
80 |28 %:/1.5] 3 80 |28 01| 35 | 55
100 [30 33[1.5] 3 100 [30 27 36 | 61
. . =4 als
Knuckle Joint Pin(Z (3 )UZY 4§ K A T3 3L 55 F)
2-@d
B
g g —14- - -0
M m 1722
B H L
Bore (EL1E)
p! L | m oDd9 d
GE=)) 1Y © B H MM Clevis| Knuckle
40 22 25.4 21 8 M14x1.5 40 - |45.2|37.2] 4 |10 ™ | 3
50/63 27 31.2 26 11 M18x1.5 50 |40/50/63|54.3(46.3] 4 | 12 2% | 3
80 32 37 31 13 M22x1.5 63 - 70 (60| 5 |16 2% | 4
100 41 47.3 39 16 M26x1.5 - 80 | 76|66 | 5 |18 oo | 4
80 100 |82 72| 5 |20 %% | 4
100 - |875[775] 5 |25 2= | 4
3.45 | YSC |




Oysc|

Order Made Option($55&ZY)

YCA2,YCDA2(s40~2100) Series

Dual Stroke Cylinder/Double Rod Type X{T#2 S5/ iE EH &

yCA2 |Mounting

b r
T

Type |Bore Size
B RS

Stroke A || Additional Symbol

1718

+

Bt

Stroke B || Additional Symbol
712 pee |~ XC10

Two cylinders are constructed as one cylinder ina back-to-back
configuration allowing the Cylinder stroke to be controller in three

steeps.

ANSEUEEERXAR -, ESETES =5,

Construction/Dimensions£#4/R <t

Symbol 5

Additional it

Blank-Without Gaiter T-FfAE

J-With gaiter(Nylon Tarpaulin) {455 (B &BiK)

K-With gaiter(Neoperene Cloth EHAZE (& THESNE )

When air pressure is supplied to
ports ® and ®, both A and B
strokes retract.

L@ OR#HESE, A B
TEER4EME,

When air pressure is supplied to

ports ® and ©, A Stroke exteends.
LZeomARMHSE, MHATE,

—~ When air pressure is supplied to
ports @ and ©, B Stroke exteends.
L@omHEmHSE, BT,

When air pressure is supplied to

ports © and ©, both Stroke A and

B out Storkes.

HZoom AR #HSA, MHA. BITHE,

A Stroke B Stroke D ®
= — ]
6—1 T ‘@’ ‘{B’ - B STROKE A STROKE -
[ i =t |
L+Stroke(A+B)
TL+Stroke(A+B) c® &
Bfi: mm B © D (/%
Bore Size L TL _
40 178 280 B
50 192 308 s ©0 ,
@ | 208 | am R o Sy s M
80 246 388 - -
100 268 412

Dual Stroke Cylinder/Single Rod Type W{Ti2S 51/ 8 F =R ‘

YCA2

Mounting
R

25K

Type ||Bore Size| | Stroke A

FARES

1712

Stroke B-A
1T B-A

Additional Symbol ~XC11

Construction/DimensionsZ#/R <t

Symbol 5
Function

L+Stroke(A+B)

TL+Stroke(A+B)

B mm

Bore Size

L

TL

40

198

254

50

215

279

63

230.8

294.8

80

277

355

100

290

370

% Other dimensions are the same as for standard type.

HERY SRR

o

A

|
E— i
| I

B STROKE A STROKE

B c @
-I_-IE
C I TT

B A

B © @

Bt 14
v

Additional M4

Blank-Without Gaiter T-THHE

J-With gaiter(Nylon Tarpaulin) &A% E (B LK)

K-With gaiter(Neoperene Cloth/ BHEE (S THRNE )

When air pressure is supplied to
the ® port, both A and B strokes
retract.

HeH#SR, A, BITRERER4E,

When air pressure is supplied to
the @® prot. the rod exteends by
A Stroke

LHORAHSH, ATREMH,
When air pressure is supplied to
the © prot. the rod exteends by B
Stroke

HOM#HSAT, BITIEME,
When air pressure is supplied to
both ports ® and ©ddouble
output force is obtainable in the
range of the A stroke length.
L@OORMHS, EMTIEEER,
R S —1E

Please contact us on any small problems & details.

3.46

| YSC |
EFEREN R, WEESANFBRE,  PNEUMATICS




vsc|

Air Cylinder/Light Bore Size(# B %R’

£ ) S 4

ERHS

YCA3,YCDA3(s32~2125) series

HOW TO ORDER(E! S XA %)

C @ﬁ - 1 O—!AS‘SKHS\

YSC Model(f )

Nil(Zi25):
STD Type(£H %)
D:AutoSwitch Type
(BFX)

Mounting (M =)
B:Basic(EAH!)
L:Foot (B fE2Y)
F:FrontFlange (]l % =)
G:RearFlange(Fik %)
C:Single Clevis(# U %)
D:Double Clevis(SUZ! )
T:Center Trunnion(F G4 )

Bore Size
(E1f®)
Stroke
(17%8)

Auto Switch (B FF £ 7 3)
Nil(F£i25):w/o Switch (T &L FF %)
A58K:Reed Switch (B # S u I %)

——

No of Auto Switch (B 1 FF < # £)
Nil(Ti2 5):2(1)

S (1)

3:3(1)

Option(B3X):
GallerAmb (R &R 3 & 4 B B3 53)
J:60C

Y:Y Type Knuc kle Joint(YE R i k)
Nil(%£12S): Both Side Cushion(#i{ll# 2 i)

Dimensions(mm)($ME! R < & )(mm)

Basic Type(E42!): YC[JA3B

Lube Type (i#ig2)

COMMON SPECIFICATIONS (3£ E] #11%)

Bore (L #Z)(mm) 32 | 40 | 50 | 63 | 80 | 100 | 125
Fluid(FEfa) Clean Air With Lube (& =S &HE)
Action(ZH1ER ) Double Acting(S Zhi21E3Y)

Proof Press.({RilEfit E /1

1.5MPa{15kgf/cm?}

)
Max. Press.(& = 1E A E )

0.99MPa{9.9kgf/cm?}

Min. Press.(R{XERIEH)

0.15MPa{1.5kgf/cm?}

Amb.Temp.GMER Fi kiR E)

-5~+60°C (K F £5)

Piston Speed(i&ZEi& ) 50 ~ 500mm/s
Cushion(£& ) Air Cushion(FIIS £ i)
*Lubrication(iiEi&) Lube Type(STD)(iiiEiaEY)
Pipe Size(E&O#%)Re(PT) | 1/8" 1/4" R

- Use Tubine Oil 1st-Grade ISOVG32,|f Necessory(#N1E Z18:81% AiE F15HISOVG32)

Stroke/Auto Switch(1Ti2/#z1EFF K<)

Bore
(FI13)

(mm)

STD Stroke
(FREITE)(mm)

Auto Switch
(BRMEFFK)

32
40

25, 50, 75, 100, 125, 175, 200,
250, 300, 350, 400, 450, 500

50
63

25, 50, 75, 100, 125, 175, 200,
250, 300, 350, 400, 450, 500, 600

D-A58K

80
100
125

25, 50, 75, 125, 150, 175, 200, 250,
300, 350, 400, 450, 500, 600, 700

Note: Other Stroke Available (& JE 4R #1712 A i 1% 4%)

Instruction(F=F /N 28)

YC(D)A3RFISEI —REUMEVRRIS AT, SHKE,

ZEMARR TS 1506431
RIAMEE, ERUERIEA,

ElfrtriE, EETIETSE,

L1 _PL. L7 EE 4-RT
|
IS D
m§§——— E— - — - - - - : 0 - - L
ﬁ} A >
N !
VD @ﬁiﬁ@
AM WH L2+Stroke TG
ZJ+Stroke VA E
Bore AM | B | E |EE|RT|J2|J3]|VvD| MM KK |||t |Pe|Vva|lwi| 2
(#L%2)(mm)
32 22 | 30| 48 |18 | M6 | 6 | 52| 9 | 12 [M10x1.25| 18 | 94 | 33 | 325[156| 4 | 26 | 120
40 24 | 35 | 54 | 14" | M6 | 8 | 6 | 9 | 16 |M12x1.25|215|105 |36 | 38 | 14 | 4 | 30 | 135
50 32 | 40 | 65 | 1/4" | M8 |10.4 | 85 | 9 | 20 | M16x1.5 | 28 | 106 | 51 | 465| 14 | 4 | 37 | 143
63 32 | 45 | 752 | 3/8" | M8 | 124 | 10 | 9 | 20 | M16x1.5 | 285 | 121 | 6.6 | 565| 17 | 4 | 37 | 158
80 40 | 45 | 94 |38 [Mi0[125] 8 | 9 | 25 | M20x1.5 |34.7 | 128 [105| 72 [164| 4 | 46 | 174
100 40 | 55 | 111 | 12" [M10| 12 | 10 | 9 | 25 | M20x1.5 |382 138 | 8 | 89 |188| 4 | 51 | 189
125 54 | 60 | 134 | 12 | M12| 13 | 8 | 9 | 25 | M27x2 | 46 | 160 | 14 | 110 | 18 | 6 | 65 | 225
347

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.




Oysc|

Double Clevis Bracket Type(W E 375 #EE): YCLJA3E

Lube Type (i@ig3Y)

Air Cylinder/Light Bore Size(F B fR 2 B S 1)

YCA3,YCDA3(s32~0125) series

| Al MG -
e —F3 | o+ §
iﬂ.'l === =+—H @ﬁ\ -
S
I
E= =t el
Ll Ll 1 i 6
4-0HB T
BM cM
XD+Stroke XN EN
Bore StroKeRange Thread Length(K)
(HL%%)(mm) (T2 ) (mm) (i) AM BM CH CM HB CT MG XN EN CcD T XD
32 500 20 21 18 32 38 7 8 53 31 51 10 10 159.5
40 23 24 22 36 41 7 10 60 35 54 12 15 179
50 ~600 25 33 30 45 50 9 12 68 45 65 12 16 189.5
63 ~600 25 37 35 50 52 9 12 78 50 67 16 16 208
80 ~800 30 47 40 63 66 11 14 98 60 86 16 20 2335
100 ~800 30 55 50 71 76 11 17 118 70 96 20 20 250.5
125 ~800 40 70 60 90 94 14 20 140 90 124 25 25 270
Foot(H EE % 3£ 2Y) YC[JA3L
Lube Type (i#ig&)
XA+Stroke
OAB
T
D
AO | | SA+Stroke
Double Clevis(EZBWE Z 3 #) YC[JA3D
Lube Type (i#ig&)
‘ MR z
t - @@
== =i :
.| cB
FL UB
XD+Stroke
Single Clevis(E# 2 E L H) YC[JA3C

Lube Type (i#ig&)

=i

XD+Stroke

-
- ] %%:%%
N
[

FL

0
o

]
@

EW |

Please contact us on any small problems & details.

3.48

FEFEREN R, HERSEARBRE.

PNEUMATICS




Air Cylinder/Light Bore Size(H ZYfR 442 B 5 1)
©YSC I YCA3,YCDA3(z32~0125) series

JREEE, BEIRE | (BARS, HERERSTRESED
Bore StroKeRange | Thread Length(K)

(GIE)(mm) | (FESEE)mm) By AB | SB| TR | AH | AO | AT | CB | EW | CD FL L MR | SA | UB | XA | XD
32 500 20 7 32 | 48 | 32 8 5 26 | 26 | 10 | 21 13 | 10 | 142 |32.5| 144 | 164
40 - 23 10 | 36 | 53 | 36 | 12 5 28 | 28 | 12 | 25 | 16 | 12 | 161 | 38 | 163 | 184
50 ~600 25 10 | 45 | 63 | 45 | 13 5 32 | 32 |12 | 26 | 16 | 12 | 170 [46.5 | 175 | 202
63 ~600 25 10 | 50 | 73 | 50 | 13 5 40 | 40 | 16 | 33 | 21 16 | 185 [56.5 | 190 | 222
80 ~ 800 30 12 | 63 | 98 | 63 | 19 6 50 | 50 | 16 | 36 | 22 | 16 | 210 | 72 | 215 | 250
100 ~800 30 14 | 75 | 115 | 71 19 6 60 | 60 | 20 | 41 27 | 20 | 220 | 89 | 230 | 270
125 ~ 800 40 16.5] 90 | 131 | 90 | 22 8 70 | 70 | 25 | 20 | 30 | 25 | 250 | 110 | 270 | 329

Trunnion Type (s R EHEEY): YCJA3T

Lube Type (@3 &)

I I g
o
e )
BD T
Rear Flange Type ([FiE=%!): YC[JA3G
Lube Type (i@ig3Y)
4-QFB TF
—— X CE
- r - — -+ 4 + w
—H © @10 o
ZJ+Stroke MF]| UF
FrontFlange Type(#fllix=%Y): YC[LIA3F
Lube Type (i@i88Y)
w 4-QFB TF
_IMF
ZJ+Stroke
~ v, N Ay . —_ [y — Ty —

iEAhEE, E=8 (BARS, HEfERSIARESED
Bore StroKeRange | Thread Length(K)

(BL42)(mm)| (FERE)mm) | (B0 BD FB F MF R TD TF TL ™ UF Um uw w 2
32 500 20 16 7 50 10 32 12 64 12 50 80 74 65 16 130
40 - 23 20 9 55 10 36 16 72 16 63 90 95 75 20 145
50 ~600 25 24 9 65 12 45 16 90 16 75 110 | 107 95 25 155
63 ~600 25 24 9 75 12 50 20 100 20 90 125 | 130 | 105 25 170
80 ~ 800 30 28 12 100 16 63 20 126 20 110 | 154 | 150 | 130 30 190
100 ~ 800 30 38 14 120 16 75 25 150 25 132 | 186 | 182 | 145 35 205
125 ~ 800 40 50 16 150 | 20 90 25 180 25 160 | 220 | 210 | 175 45 245

Please contact us on any small problems & details. 3.49 FFANERE R HEESRATRE,




Oysc|

With Gatier Type(#BZERIPER)

Air Cylinder/Light Bore Size(H ZYfR 442 B 5 1)

YCA3,YCDA3(s32~0125) series

ARRVSEFEEN, MELEFEAGHLE, EEEFLFRFERTNI, ARITRERLIEER,
If need with Gatier for Gylinder, the rod must machining as draning, please attention.

1/4Stroke

@D

®

®

,jji

[T
L
I

an

8

N+1/4Stroke

e N o
32 32 35
40 32 40
50 32 50
63 32 50
80 40 60
100 40 60
125 50 70

Accessories for Medium Bore Size(® B kR L2 B S 51 1)

YCA3,YCDA3(s32~2125) series

Y Type Double Rod Clevis (YZ!Xf#£k)

—— =
| | — s
Wi — 4 j‘ ¥ 8 f >
B
A
I
|
e
|
Lt ===
]
pore A|lB|cCc|D|E F G | H K
(#L78)(mm)
32 40 | 20 | 10 | 18 | 20 | 108z | 20 | 12 | M10x1.25
40 48 | 24 | 12 | 20 | 24 | 123075 | 24 | 14 | M12x1.25
50,63 | 64 | 32 | 16 | 26 | 32 | 161575 | 32 | 19 | M16x1.5
80,100 | 80 | 40 | 20 | 34 | 40 | 203375 | 40 | 25 | M20x1.5
125 110 | 54 | 30 | 48 | 55 | 30357, | 55 | 38 | M27x2
Please contact us on any small problems & details. 3.50

FEFEREN R, HERSEARBRE.




Air Cylinder/Medium Size(No-Lube with Magnet Ring)

(PEGRESEL(E AT ihiEE, A E#IL))
YMB(232~2100) Series

YMB 50 |-| 150

A25B

ERHS
COMMON SPECIFICATIONS (£ E#11&)

Bore(£I1Z)(mm) 32 | 40 | 50 | 63 | 80 | 100
Fluid (it {4) CleanAir(E & =5
Action(Z1{ERZ ) Double Acting (X 1)
Proof Press. (1R i /& 17) 1.5Mpa(15kgf/cm?)
Max Press.(x={ERE ) 0.99Mpa(9.9kgf/cm?)
Min Press.(&{K{EREH) 0.05Mpa(0.5kgf/cm?)
Amb.Temp.(FMEFITIARE) -5~+60°C(R &K L)
Piston Speed(GEZEHE) 50~500mm/s
Cushion(4& %) Air Cushion(S 22 i4)
Stroke Tolerance({TI2 A %) 0~250:7¢° 251~1000:%¢*
*Lubrication(;i@ &) Non-Lube(FREE
Pipe Size(##% 012)Rc(PT) 1/8" | 1/4" 3/8" \ 1/2"

*Use Turbine Oil 1st-Grade ISOVG32, When Use (& ZEidi&,

& REF18HISOVG32)

B ]
YSC Model(K 2) (Bﬁc;rg)sue Stroke((51) Standard Stroke & Auto Switch(1T#2/F% 14 FF K% +E)
= =
Type(H#5) sty o) Stroke (fr#f77) | Tie RodMounting Type(Fiff £568)
B: Basiot ) Y=Y Knuckle(RUFt 5 #3%) (mm) (mm) Auto Switch (£ 7F3%) Swich Holder (7 B2 )
L: Rod Flange(#Ffli% =) Auto Switch (i1 FF X Fh ) 32 25,50,75,100,125,150,175,200,
G: Head Flange(E#lli£ %) po5p B40
C: Single Clevis(#U%i44) 40 250,300,350,400,450,500
D e i) 50 25,50,75,100,125,150,175,200
T: Trunnion (5 i ; A —— ,50,75,100,125,150,175,200,
E: D%JSI:?IIeOB(IeViS/Bracket N.O'Of‘AU;O _SWItChSi%'E;F* M) A-25B B56
(MUB $3E ) Nll(%lﬁi) :2pes(T) 63 250,300,350,400,450,500,600
: ion/| :
R ‘(rp;lu;&%)%gic)ket g: ;ggss((/[[\)) 80 25,50,75,100,125,150,175,200,250, B81
100 300,350,400,450,500,600,700,750
. . oA =] (2= A2 Note: Other Stroke Avilable (5 IEfR/EITIE AT Hi%4E).
DlmenSIOnS(mm) (91\’1:5)??]-(%*)) *Note : See" Auto Switch Series" (Page :4.155)
BASIC TYPE (&) ~
4{7
PORT S R Cushion Valve ;%:@ 2-PT 2-Q .
MM
@ i @ jianl o= o= ]
~ o e o
A A _ _ _ _ 1 -1 1] otz
SIS
5, e R ALE
U il 8-MX c P
v ' H A
Fol F ElDl_ B
K J+Stroke |
L+Stroke
Bei®)| A | B | D | E F| G| H | J K| L MM oN|gO| P [PTIQ| R| S| T|U]|V | W MX
932|195/ 22| 6 | 13 26.5/ 4 |16 | 47 |83 | 4 |135/M10%x1.25| 30 | 12 1/8” 13 /6.5 4 | 10 |32.5| 46 |2.5| M6%1.0
24027 | 30| 6 | 13|26.5 4 |16 | 51|83 | 4 |138|/M14x1.5 35| 16 1/4"13.5) 9 | 4 | 14| 38 |52 |2.5| M6%1.0
95013235 7 |14 131 5 |16 |58|93| 4 |[155M18%x1.5/ 40| 20| 11 |1/4”| 15|10.5 5 | 18 |46.5| 65 | 2.5 |M8x%1.25
2633235 7 |14|31| 5 |16 |58|93| 4 |155|M18x1.5/ 45|20 | 11|3/8" 16 | 12| 9 | 22 |56.5| 75 M8x1.25
2801|3740 | 10|20 37.5 5 |16 | 72 |113| 4 |189/M22x1.5| 45 | 25 | 13 |3/8”|18.5| 14 |11.5/ 22 | 72 | 95 M10x1.5
2100/ 37 | 40| 10 | 20 |37.5| 5 |16 | 72 |113| 4 |189|M26x1.5/ 45| 30 | 16 |1/2"18.5| 15| 17 | 26 | 89 |114| 4 |M10x1.5
Please contact us on any small problems & details. 3.51 FiFARE KGR, EHEESAARRE,




Oysc|

Construction(Z544)

Air Cylinder/Medium Size(No-Lube with Magnet Ring)
(PEGRESEL(EATTHIEE, A EHIR))

YMB(232~2100) Series

SSSSUSSUNT
FZ2z7z2z2z22222222.

A ) 2
S S S
a9 s
PART LIST(EEZZ %)
No.(F5) Description (& #R) Material (%1 13}) No.(FF5) Description (& #x) Material (%1 #3)
1 Tube (&L ) A6063 11 Rod Packing(i& & ) A6063
2 Piston Rod(;& Z+F) SM45C 12 Guide Packing(fI & & £f &) SM45C
3 Piston (& %) A. 13 Cushion Packing (£ ih % £ 1] A.
4 O Ring (O &) NBR 14 Cushion Valve(2& i ) NBR
5 Piston packing (i& ZE & i Bl NBR 15 O Ring(OZ! &) NBR
6 Magnet Ring(#F) - 16 Retaining Ring(fr % &) -
7 Wear Ring(ifif EE#F) - 17 Head Cover(3k %) -
8 Sleeve(ZHE) BS 18 Tie Rod (I #F) BS
9 Rod Cover(#FMif &) ADC-12 19 Tie Rod Nut (5 #F42 &) ADC-12
10 Oilless Bearing (4 &) - 20 Hex. Nut(Fif 12 ) -
Part No. of Paeking(Z £ BlE! 5)
Bore 5 11 12 13
(B1%2) Piston packing(i& Z 2 £ B) Rod Packing (% £} B) Guide Packing(fI 2] % 1 &) Cushion Valve (£ i# &)
232 COP-32 DRP-12 GP-32 CP-16
240 COP-40 DRP-16 GP-40 CP-20
250 COP-50 DRP-20 GP-50 CP-25
263 COP-63 DRP-20 GP-63 CP-25
280 COP-80 DRP-25 GP-80 CP-30
2100 COP-100 DRP-30 GP-100 CP-35
Foot Type(Bi4)(L) MT—
( i
Ol =
% @ X 4-gLD %L _ — = —
I I } I I I I
Lx Y.l X
Lz LS+Stroke
L+Stroke
Bore(5L1Z) | Max. Stoke(SAfE) X Y oLD | LH LS LT LZ L LX LY
232 800 22 9 7 30 | 131 | 8.2 50 | 161 32 53
240 800 24 11 9 33 | 131 | 3.2 55 | 169 | 38 59
250 1000 27 11 9 40 | 147 | 3.2 70 | 189 | 46 | 725
263 1000 27 14 12 45 147 | 3.2 80 | 192 | 56 |82.5
280 1000 30 14 12 55 173 | 4.5 | 100 | 229 | 72 [102.5
2100 1000 32 16 14 65 177 | 4.5 | 120 | 233 | 89 122
3.52

Please contact us on any small problems & details.

FEFEREN RS, HEESAARBRE.




Oysc|

Front Flange Type(BIi% 2)(F)

Air Cylinder/Medium Size(No-Lube with Magnet Ring)
(PEGRESEL(EATTHIEE, A EHIR))

YMB(232~2100) Series

Bore(§I12) [Max. Stroke(EA77%)| B oFD | FE FT |FX | FY | FzZ
232 800 50 9 3 [ 10 [64 3279
240 800 55 | 9 3 | 10 [ 723690
f$ qf 250 1000 70 9 2 12 [ 90 [ 45 [110
| ol 263 1000 80 | 9 2 [ 12 [100] 50 [120
w 280 1000 100 | 12 | 2 [ 18 [126] 63 |153
- R 2100 1000 120 | 14 | 2 | 18 [150] 75 [178
=Y 4-OFD
FzZ
Rear Flange Type(/gi%%)(G)
Bore (i #&)Max. Stroke(®Afr%)] B | @FD | FT | FX [FY [FZ | L
232 500 50 | 9 | 10 [ 64 [32]79 140
240 500 55 | 9 | 10 | 72 [36 [ 90 |144
250 600 70 | 9 [ 12 [ 90 [ 45 [110]163
263 600 80 | 9 [ 12 [ 100 [ 50 [120]163
280 750 100 | 12 | 18 | 126 | 63 [153]203
2100 750 120 | 12 | 18 | 150 | 75 [178]203
Bore(fL{%) | Max Stoke(®AfTE) | A | RR | U |@CD|CX| L | LL
232 500 23 [ 105 | 13 | 10 | 14 |154[1645
240 500 23 | 11 | 13 | 10 | 14 [157|168
@CDwo0 ffﬁﬂ—ffi# 250 600 30 | 15 | 17 | 14 | 20 |181]192
— 263 600 30 | 15 | 17 | 14 | 20 [181[196
Eﬂ’**** 280 750 42 | 23 | 26 | 22 | 30 |227]250
. 2100 750 42 | 23 | 26 | 22 | 30227250
]
RR_| [LA
L+Stroke
LL+Stroke
Double Clevis Type(WUZI£4)(D)
Bore(512) | Max. Stroke(BXfT8) | A RR U |eCD|CX|CZ LL
232 500 23 [105] 13 | 10 [14 | 28 [154]t645
& & acom [HFRE=—=11H} 240 500 23 [ 11 | 13 | 10 [ 14| 28 |157]168
! ) I 250 600 30 | 15 | 17 | 14 [20] 40 [181[192
% 263 600 30 | 15 | 17 | 14 [20] 40 [181[196
Lt | 1 ——— | 280 750 42 | 23 | 26 | 22 |30 |60 [227[250
eyl Y 2100 750 42 | 23 | 26 | 22 [30] 60 [227]250
7 RR A
L+Stroke
LL+Stroke
Center Trunnion Type(F 5 E)(T)
Bore(#112) |Max. Stroke(®xfT#)| @TD | TT TX TY | 72| L
Ty 232 500 12 17 50 49 | 74 | 89
2 Rans 1 240 500 16 | 22 | 62 | 58 | 95 | 925
[ Q F1 ! 250 600 16 22 75 71 107 |104.5
H-1-H { D 063 600 20 | 28 | 90 | 87 |130]104.5
; I | 280 750 20 34 110 | 110 | 150 [128.5
& — L] ] — 2100 750 25 | 30 | 132 | 136 [ 1821285
Tz g L+1/2Stroke
‘ Please contact us on any small problems & details. 3.53

FEFEREN RS, HEESAARBRE.




Oysc|

Air Cylinder/Medium Size(No-Lube with Magnet Ring)

(PEGRAESEL(EATTH

eI

,NEHEIR))

YMB(232~2100) Series

Double Clevis Bracket Type(JUB4H: ) (E) b LeStooke
4-@0DT R i _
2
| — Do s-o0r V7 oL DU
DE DA
Bore(§i%)) 0B | DA | DB | DL | DU | DC | DX | DE | DO | gDR | DT | DS | DH L | @CDuiy | A° B°
40 | 52 | 42 | 32 | 22 | 10 | 44 | 14 | 62 9 6.9 | 15 7 33 | 157 | 10°9%® | 25 | 45
@50 | 65 | 53 | 43 | 30 |11.5| 60 | 20 | 80 | 10.5 18 8 45 | 181 | 14°3°%| 40 | 60
@63 | 75 | 53 | 43 | 30 |11.5| 60 | 20 | 81 | 10.5 18 8 45 | 181 | 147093 | 40 | 60
280 | 95 | 73 | 64 | 45 | 14 | 86 | 30 | 111|125 | 11 22 | 10 | 65 | 227 | 22°0%¢ | 30 | 55
2100| 144 | 73 | 64 | 45 | 14 | 86 | 30 | 111 | 125 | 11 22 | 10 | 65 | 227 | 22°0%¢ | 30 | 55
. L+1/2Stroke
Trunnion Bracket Type
( HhSREHE ) (R) f TR
. I am
Bore()%) | TA | TL | TU | TC | TX | TE | TO | @TR| TT | TS | TH | TF | TY L @ TD o)
240 80 | 60 | 10 | 79 | 62 | 96 | 17 9 17 | 12 | 45 | 60 | 58 | 92,5 16%9°7
50 | 80 | 60 | 10 | 92 | 75 | 109 | 17 9 17 | 12 | 45 | 60 | 71 |104.5 16757
263 10 | 70 | 15 | 110 | 90 | 130 | 20 | 11 22 | 14 | 60 | 78 | 87 |104.5 2070073
80 | 100 | 70 | 15 | 130 | 110 | 150 | 20 | 11 22 | 14 | 60 | 78 | 110 |128.5 2070084
2100 | 120 | 90 | 15 | 132 | 130 | 182 | 25 | 135 | 24 | 17 | 75 | 100 | 136 |128.5 25+0.084
MM
Rod End Nut Double Knuckle )
eIt " ¥ N4
(FFimig &) % H (3HF) 5 A
+ o i
\J o
\7 - Q
i 2-@d ‘
B
Bore(#L %) B © H MM Bore(fI12) A B L ad @D
240 22 25.4 8 M14x1.5 240 36 | 4 | 44 | 3 100078
250,063 27 | 312 | 11 M18x1.5 950,663 | 51 | 4.5| 60 | 4 143500
280 32 37 13 M22x1.5 280,100 | 72 | 5 | 82 | 4 22093
2100 41 47.3 16 M26x1.5 -
Double Knuckle Joint
Single Knuckle Joint (YEU AT e sk) v oS
(129 28 pt 3543 3L) i Ao s
E N___J |
=) N
i T @
c \@d 1%
L A
Bore(ﬁl’é) A B C | @D | @dwio) | Ewig| L R MM Bore(ﬁl&) A B C D @d 10 MM R
240 | 19 | 19 | 40 | 22 |1073°°%|14 53| 50 [12.5|M14x1.5 240 | 40| 19| 1435 | 28353 | 1079%° [M14x1.5| 11
250,863| 24 | 24 | 50 | 28 |10"0°7° /2003 64 |16.5/M18%1.5 850,863| 50 | 24 | 2005 | 40353 | 10%9°7° IM18x1.5) 14
280 | 26 | 34 | 60 | 40 |22*9%%4[3003| 80 |23.5|M22x1.5 280 | 65|34 | 3005 | 5804 | 22709 [M22x1.5| 20
2100 | 26 | 34 | 60 | 40 |22"3°%*|3003| 80 |23.5|M26%1.5 2100 | 65| 34 | 3095 | 58193 | 22'9%* [M26x1.5| 20
Please contact us on any small problems & details. 3.54 FiFARE KGR, HEESAATRE,




Oysc|

HOW TO ORDER(E! SR T F %)

Double Rod Cylinder/Medium Bore Size( B XEEAFE S 41)

YMBBW/(232~2100) Series

YMBBW | 40 - 50
Bore Stroke

©) Mounting 22X

@ Knuckle Joint i #2 Bt ¥4

® Auto Switch B FF x Fh 2

® Auto Switch Q'ty #1EFF X =

Bore size (B fz:mm)

40 25,50,75,100,150,200,250,300,400,500
50 25,50,75,100,150,200,250,300,400,500,600
63 25,50,75,100,150,200,250,300,400,500,600
80 25,50,75,100,150,200,250,300,400,500,600,700,800
100 25,50,75,100,150,200,250,300,400,500,600,700,800

Moving R

Auto Switch Type (BZ1EFF<EIS)

HS ZERR s FRES
Nil Standard Type #r/#E 3! Nil Non-Switch FL# 4 FF %
L Foot Type Bl FE Y A25B A25 Switch and Bracket (A25% B % i3)
F Flange Type ;£ =%l
T Trunnion Type i H &
R Trunnion Bracket Type 3 E 3 225!
Knuckle Joint i it 4 Auto Switch QTY (REMEFFXKE=E)
" Bff 14 #E QTY# =
Nil Standard Type #Rri#ES! 1 1pc
Y Double Knuckle joint XA 354 3k 2 2 pcs
| Single Knuckle joint & A4 # 3k n npcs
11
PORT _SR Cushion Valve -
MM
=
— OIZ
SIS
P
A
B
1+Stroke J+Stroke 1
L+2*Stroke
Bore(#I?) A | B | D | E| F | G| H | J L MM oN| | gO| P |PT| Q| R| S| T|U|V | W MX
240 27130| 6 | 13]26.5 4 | 16 | 51 | 83 |185/M14x1.5/ 35| 16 | 8 [1/4"13.5 9 | 4 | 14| 38 | 52 |2.5| M6%x1.0
250 321357 |14 ]31| 5 | 16| 58| 83 |209/M18x1.5| 40 | 20 | 11 [1/4”] 15 |10.5| 5 | 18 |46.5| 65 | 2.5 |M8x1.25
263 321357 | 14]131| 5 | 16| 58|90 |209/M18x1.5/ 45| 20 | 11 |3/8” 16 | 12| 9 | 22 |56.5| 75 | 4 |M8x1.25
280 37| 40|10 |20 |37.5/ 5 | 16| 72 |[113|257|M22x1.5| 45 | 25 | 13 |3/8”|18.5/ 14 |11.5/ 22 | 72 | 95 | 4 |[M10x1.5
2100 | 37| 40| 10| 20 (37.5/ 5 | 16| 72 |[113|257|M26x1.5| 45 | 30 | 16 |1/2"[18.5| 15 | 17 | 26 | 89 |114| 4 |M10x1.5

Please contact us on any small problems & details.

3.55

FEFEREN RS, HEESANRBRE.

PNEUMATICS




Adjustable Stroke Cylinder/Medium Bore Size(® 2! /] iFTIES 1)

YMB--XC8(240~2100) Series

Oysc|

HOW TO ORDER(E S &R A %)

YMBB| 40 (-] 50 A XC8
A | 0~25mm Adjust i§37 XC8 | Extension Adjustable Typefé i35 5!
B | 0~50mm Adjust {35 XC9 | Retraction Adjustable Type4g[EliE 58

Cushion Valve R S PORT ;::é} 2-PT 2-Q
| MM
Cysire ines =1
AL & AU = i I O R Tz
/) @ ®
© - =
U I X 1z P
v A
C+Adjusting Range | sStroke _|_E F F E_IID B
J+Stroke
L+2*Stroke+Adjusting Range(A:25,B:50)
TUBE | A|[B|D|E|F |1 |J|L| MM |oN|gO[2PT/2-Q| R | S | U |V | W | P|C|eb| X|Z
240 27 |30 | 6 | 13 |26.5| 51 | 83 |185|M14%x1.5| 35 | 16 [1/4”|135| 9 4 |38 |5 | 25| 8 |30 |32|27]| 4
250 32 |35| 7 | 14| 31 | 58 | 83 |209|M18x1.5| 40 | 20 (1/4”| 15 |10.5| 5 |465| 65 | 25| 11 | 39 | 38 | 32 | 15
263 32 |3 | 7 | 14| 31| 58| 90 |209|M18%x1.5| 45 | 20 |3/8”| 16 | 12 | 9 |565| 75 | 4 | 11 | 39 | 38 | 32 | 15
280 37 | 40 | 10 | 20 |37.5| 72 | 113|257 |M22%x1.5| 45 | 25 |3/8”|185| 14 | 115 72 | 95 | 4 | 13 | 48 | 45 | 41 | 18
2100 | 37 | 40 | 10 | 20 |37.5| 72 | 113|257 |M26x1.5| 45 | 30 |1/2”|18.5| 15 | 17 | 89 | 114 | 4 | 16 | 51 | 53 | 50 | 21
3.56

Please contact us on any small problems & details.

FEFEREN RS, HEESANRBRE.




ERHS

L

Air Cylinder/Medium Bore Size(# B RS H)
YMC 232~0100) Series

®ysc|

COMMON SPECIFICATIONS(t E]#11&)

% Bore(f1%Z)(mm) 32 | 40 | 50 | 63 | 80 | 100
" Fluid (5 44) Clean Air(E %= %)
Action(ZH1ER ) Double Acting(JZhi@{EHY)
Proof Press.({RIE}E 1) 1.5MPa{15kgf/cm?}
Max. Press.(& B EREN) 0.99MPa{9.9kgf/cm?}
Min. Press.(&{&{&E AEH) 0.05MPa{0.5kgf/cm?}
Amb.Temp.GAE R KR E) -5~+60°C(K F &)
Piston Speed(i& ZEi® ) 50 ~ 500mm/s
Cushion(£& %) Air Cushion(S 28 i)
Stroke Tolerance(fT#2%) | ~250:,° 251 ~1000:7* 1000 ~ 1500:"*
*Lubrication(ii# &) Lube Type(STD) Non- Lube(Opnon)( HRREE)AEE(EH)
Pipe Size( & OR)Re(PT) | 1/8" | 14" | 14" | 3" | 3" | 12

+ Use Tubine Oil 1st-Grade ISOVG32,If Necessory(in&E &85 FiE F1SHISOVG32)

HOW TO ORDER(E SR T Fi%)
Stroke/Auto Switch({TH2/® 14T XL )
(2%2) STD Stroke Auto Switch | Mount Part No.
YMC E 50 |~ 150 A26B (mm) (FRAELTTE)(mm) (TR R) (FF<EE)
32 40 25, 50, 75, 100, 125, 175, 200, BC-04
‘ ] L : "™ | 250, 300, 350, 400, 450, 500 BC-04
YSC Model(RE) Bore Size e
(5113) Stroke(1T#%) 50 25, 50, 75, 100, 125, 175, 200, D-A26B BC-06
Type(Mif2) I%\&iﬁcskslec;g;sﬁgﬁ) 63 | 250,300, 350, 400, 450, 500, 600 | D-A26BL BC-06
: = TH &R
B: Eﬁﬁifg&ﬁgﬂ) Y=Y Knuckle (T #53%) 80 | 25,50, 75,125, 150, 175, 200, 250, BC-08
F Rod Flange (FF I 3£ 2) Magnet Type (i 5 1% %) 100 | 300, 350, 400, 450, 500, 600, 700 BC-08
: I35 2 iI(kiz ):
g gﬁﬁ:&ggz&ﬁﬁgﬁ% ) gllp(;g?gz);% Note: Other Stroke Available(# JE 4R/ 1T 18 AT {1 %)
D: Double Clevis(UZ! ) )
T: Trunnion (s st 4 H) No.of Auto Switch (&% FF % 4 #) —
Nil(Ei25) : 2pes(4)
S:1pcs(h)
3:3pes(1)
Dimensions(mm)($M&! R~ E)(mm)
Basic Type(E#4%): YMCB
Lube,Non-Lube (@88, FTimi@aa)
A+Stroke
B C+Stroke s
E F G G S o
H N_.Q 2-0 2-%Z g e Q. N I 8-LIEM
K J / \
g
o §§ X @
al>! LT ] _ ]
SIS |' \_/_%' o
Bore | StrokeRange
(ET4Z)(mm) |(T7ESE ) (mm) A|B|C|D|E|F|G]|H | J K L MIN|O|P|Q|R|S|T|V
32 ~500 [140(47 | 93|28 |32 |15 27.5/ 22|17 | 6 M10x1.25 M6%x1 |9.5(13.7/1/8"|3.5(7.5| 7 | 45|33 | 12
40 ~500 (14249 |93 |32 |34 |15 27.5/ 24 |17 | 7 M12x1.25 M6%x1 |9.5(13.5(1/4"| 6 |[7.5| 9 | 50|37 | 16
50 ~600 [150| 57 | 93 |38 |42 | 15|27.5 32|23 | 8 [M16x1.5| M6%1 |9.5(13.5(1/4"|8.5|7.5| 9 | 62|47 | 20
63 ~600 [153| 57 |96 |38 |42 |15 27.5/ 32|23 | 8 [M16x1.5M8%x1.259.5(13.5/3/8"| 7 |[7.5(8.5| 75| 56 | 20
80 ~800 (18275 |107|47 | 54| 21|33|40|26| 10 |M20%x1.5M10x1.5/11.5/16.5/3/8"| 10 [8.5| 14| 94 | 70 | 25
100 ~800 [188| 75 (113| 47 | 54| 21|33 |40 | 26| 10 [M20x1.5M10x1.511.5{16.5(1/2"| 11 |8.5| 14 |112| 84 | 25
ol i 3.57 ; B YSC
lease contact us on any small problems & details. EFANEN REE, FEESAAFABRSE,  PNEUMATICS




Air Cylinder/Medium Bore Size(H BLfR/ES HI)
QYSC I YMC(232~0100) Series

Dimensions(mm) (i # R ~F Bl (Zk))
Axial Foot (F1E): L

Bore

| _ (4142)(mm) AA | AB |AC |AD | AE | AF | AG| AH| AP | AT
4-QAP <
32 153| 33 |{134|/9.5| 50 | 33 [20.5{ 12| 9 3
AD|_ AG AG _|AD 40 169| 37 |140|14.5 57 | 36 [23.5(11.5| 12 | 3
AC+Stroke

AA+Stroke 50 173| 47 |[149| 12 | 68 | 47 | 28 |13 | 12| 3
AB 63 184| 56 [158| 13 |80 |56 | 31|13 | 12| 3
} ! ! } 80 189| 70 [167| 16 | 97 | 70 | 30|14 | 14 | 4
4

. LN
{'} <P 100 |209| 84 |173| 18 |112| 84 | 30 | 15 | 14

' ' AF

AH

Flange (i£=):F. G

BE
BE (Hg;[fnm) BA | BB |BC|BD |BE|BF |BH|BP |AJ |AK| T
f@ @> ! @? R 32 [28.3 10| 50|33 |80|58|6.5| 7 |10.5/6.5| 33
i ' © 40 [32.3 10| 55|36 |90 706.5 7 [10.56.5] 37
ok 50 [38.3 12| 68| 47 [108| 86 [6.5] 9 [10.5/6.5] 47
- o o 63 [38.3 12 | 78| 56 [120] 98 |8.5| 9 [13.5/8.5] 56
& i 80 |47.3 16 |100| 70 [143[119[10.5 11 [16.5/10.5 70
@ i @ {S\ 100 |47.3 16 [120| 84 |162|138[10.5 11 [16.510.5 84
—J 4-@BP
SingleRear Clevis (BUZ!$4): C
DQi. P - (ﬂgngnm) pc|DD|DE|DJ|DQ| S | T
& ! S = o 32 |34|14|12]14] 164833
E;:l - 40 | 3414|1414 |20 50|37
B B c 50 |34|15|14|15]20 6247
- > o 63 [34[15|14 15|20 75|56
80 |48|20[20|2032[94]70
e i & = 100 | 48] 2020|2032 [112] 84
Double Rear Clevis (XUZ!$4): D
er CSG Bore
cP B (@@)mm)| CC| CP | CE|cG|cP|CT|PA| PB | S | T
o3 ! +=t 32 | 21| 9 |12]13[16.332| 41| 33.5 | 48] 33
R I | - cD
N = 40 | 21]12] 14|13 20.3[ 44 [51.8] 45.5 | 50 | 37
B —— YT 50 | 21]12]14]15[20.3/ 52 [60.3] 54 |62]47
g @CE 63 | 21| 15|14 | 15|20.3] 52 [60.3 54 |75] 56
& IZAJ LI 80 |32 15|20 21[32.3 64 [73.8] 65.5 | 94 | 70
| ¥ = 100 | 32|20 | 20| 21 [32.3 64 [73.8] 65.5 [112] 84
PA
PB

Please contact us on any small problems & details. 3.58 EEFEER RO, EEESAATRE, PNUACS




Air Cylinder/Medium Bore Size(H BLfR/ES HI)
@YSC I YMC(232~0100) Series

Double Rod Tylinder (B {EFi&ZE+F3!):YMCW

Lube, Non-Lube, Air-Hydro Type (F8i&2, JiliE8 8, {KimER)

A+28Stroke
B C+Stroke B+stroke
E F G G F E+stroke
H N_Q 2-0 Q __N H
K J J
N e
| X o d A
> T__%_ al oy & __D__g___@___:\_l_
Q A S o ol 7D TR JAAV I W
N\ —
=
2-4F iR s
Bore | StroKeRange
(ET72)(mm) |(F255) m) A|B|C|D|E F| G| H | J K L M|{N|O|P|Q|R|S|T]|V
32 ~500 |187|47 |93 |28 |32|15(27.5(22 (17| 6 M10x1.25 M6x1 [9.5|13.7/1/8"|3.5|7.5| 7 | 45|33 | 12
40 ~500 (19149 |93 |32 |34 |15(27.5/24 (17| 7 M12x1.25 M6x1 [9.5(13.5(1/4"| 6 |7.5| 9 | 50| 37| 16
50 ~600 [207|57 |93 (38|42 |15|27.5(32|23| 8 [M16x1.5| M6x1 [9.5|13.5(1/4"|8.5(7.5| 9 | 62 |47 | 20
63 ~600 |210| 57 |96 |38 |42 |15(27.5( 32|23 | 8 |[M16x1.5M8x1.259.5|13.5(3/8"| 7 |7.5|8.5| 75| 56 | 20
80 ~800 [257|75|107|47 |54 |21|33[40| 26|10 |[M20x1.5M10x1.5/11.5|16.5(3/8"| 10 [8.5| 14| 94 [ 70 | 25
100 ~800 [263| 75 |113|47 | 54| 21|33 |40| 26| 10 [M20%1.5M10x1.511.5/16.5(1/2"| 11 |8.5| 14 |112| 84 | 25
ONC

@ll\lB

!

iy

i

@ll\lK
N

ONC

ND NJ
NE

17

NQ

003
o

NM

o N e/
NG o PN s s
T 2z, 70,

ND

0
NA

(ﬁ%‘;[ﬁ]m) NA [NB|NC|ND|NE|NF|NG| NH | NJ|NK|NM|NP|NQ

32 191 20| 10| 40 | 52 | 15 | 20 [M10*1.25| 12 | 18 | 10 | 20 | 52
40 25.4| 24 | 12| 48 | 67 | 24 | 20 |[M12*1.25| 20 | 23 | 12 | 24 | 62
50 32 32|16 | 64|89 | 32|23 | M16*1.5 | 22 | 30 | 16 | 32 | 83
63 32 32|16 | 64|89 | 32|23 | M16*1.5 | 22| 30 | 16 | 32 | 83
80 44.4| 40 | 20 | 80 | 112| 40 | 30 | M20*1.5 | 30 | 39 | 20 | 40 [ 105
100 (44.4| 40 | 20 | 80 [112| 40 | 30 | M20*1.5 | 30 | 39 | 20 | 40 [ 105

Please contact us on any small problems & details. 3.59 EEEE R, EEESAATRE, PNUACS




Oysc|

Adjustable Stroke Cylinder (FTi#{T#%): YMC-XC8

Lube, Non-Lube, Air-Hydro Type (183!, 7 i iE 8 2, (K it E3Y)

Air Cylinder/Medium Bore Size(H B FrAES EI)
YMC(232~0100) Series

YMC Mounting | | Bore | |Stroke| |Stroke Adjusting Symbol —XC8 - Auto Switch
ZERER | | 6112 1712 ITREIBET AR
il | I 0 I ssyes IR =
DL H ®
| - — L Stroke C+Adjusting
D+Stroke+Adjusting Length
ZZ+2Stroke+Adjusting Length
(Bﬁ‘l’g) 6B | C D | zz
32 32 21 42 182
40 32 21 43 185
50 42 23 46 196
63 42 23 46 199
80 55 29 60 242
100 | 55 29 60 248
Dual Stroke Cylinder/Single Rod Type W{Ti2S 51/ F &R
YMC Mounting|| Type |Bore Size| | Stroke A |, | Stroke B-A| | Additional Symbol —XC11
=% | BR || &g fri2 |7 4712 B-A

Construction/DimensionsZ#3/R <t

Bt 4
v

Additional 4
Blank-Without Gaiter T-FfAE
J-With gaiter(Nylon Tarpaulin) &4 E (B £ K)

Symbol 55

K-With gaiter(Neoperene Cloth/BHAE (S THRNE )

B Stroke A Stroke Function
S — When air pressure is supplied to
N — — c A the ® port, both A and B strokes
AL L ¢ o retract.
— 77777 Al Y h‘,A\ B/—uE ‘_,« R
| L+Stroke(A+B) e I ASTHOKEU LeAHSe TR E
TL+Stroke(A+B) When air pressure is supplied to
8 ® the ®@ prot. the rod exteends by
¢ A Stroke
i o —FF ] LGSR, AT,
. } When air pressure is supplied to
EOEl1ze E lC B A the © prot. the rod exteends by B
32 216 263 E— Stroke
40 216 265 - = HOM#SAS, BITEME,
50 216 273 When air pressure is supplied to
B © @ both ports ® and ©ddouble
63 222 279 T output force is obtainable in the
80 256 331 - -|=_|: range of the A stroke length.
HOOHRMHS, EATEEEN,
100 268 343 EEATHH I —fE,
»* Other dimensions are the same as for standard type.
HERTEHFERER
3.60

Please contact us on any small problems & details.

EFER B R, EERS AN RS,




YMD E 50 - 150 A26B
YSC Model(X ) tBore Size _
(ET1Z) Stroke({T18)
T T Accessories (Bt )
ngeaSEg;u)) =l Knuckle(ﬁﬂﬁi&%)
B: AT Y=Y Knuckle(B it %5 k)
F: Rod Flange (#Fll 3% 2£) Magnet Type (83 15 15)
G: Head Flange(ﬁﬁﬂﬂgﬁ;é) Nil(Zi2 5):%
C: Single Clevis(#UZ! : R
D: ch?l?b‘lae c?&%(iﬂu.ﬂ#a) SHEHF

T: Trunnion(fh L& E)

No.of Auto Switch(B {4 FF % 1 4) ——
Nil(Ei2 ) : 2pcs(4)

S: 1pes(4Y)

3:3pes(1Y)

Dimensions(mm)(5M& R ~F &) (mm)

Basic Type(E#A%): YMDB

A+Stroke

Air Cylinder/Medium Bore Size(# B RS H)
YMD¢32~0200) series

ERHS

L

COMMON SPECIFICATIONS(t E]#11&)

Bore(&#)(mm) [ 3240 50] 63 ] 80 [100[125[160[200
Fluid(G7i 1K) CleanAirGE =5
Action(En{EfZ3X) Double Acting (X 31)

Proof Press. ({R IEM [ 17) 1.5Mpa(15kgf/cm?)

Max Press.(s&ERE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(E&{R{ERE ) 0.05Mpa(0.5kgf/cm?)
Amb.Temp.FMEFIRIAERE) -5~+60°C (K % £5)

Piston Speed(EZE;®/E ) 50~500mm/s

Cushion(4& i#) Air Cushion(= £& i#)

Stroke Tolerance(fT12 A %) 0~250:%° 251~1000:%*
*Lubrication(5i#ig) Non-Lube(REE)

Pipe Size(#& M2)Rc(PT)|1/8"[1/4"[1/4"[1/4°[3/8"[1/2"[1/2"[314"[3/4"

*Use Turbine Oil 1st-grade ISO VG324#,If Required. (4N T2 98, 1% 1% £ 153#ISO VG32)

Stroke/Auto Switch(1TF2/E4 M FF X %)
(Z%rée) STD Stroke Tie Rod Mounting(Fi4F 22 3£ )
(mm) (FRAEFTEE)(mm) Auto Switch(HEFF3%) | Mount Part o (F£ B B)
32 BD-03
40 BD-04
gg 25,50, 75, 100, 125, 150, 175, | D-A26B gg:gg
80| 200,250,300, 350, 400, 450, D-A26BL 5005
500, 600, 700, 800, 900, 1000,
100 | 4400, 1200 BD-10
125 : BD-12
160 BD-16
200 BD-20

Note: Other Stroke Available(HIEFREITIZAIHIERE) , 100A EEIEHEFEF .

YMDARFISE MBI SE, LR E,

= r
=3

EAMRTHFEISO643MERRE, BEFIMERE. WA

THIF. BEiRMEMTES.

B C+Stroke s
E F G G o7
H N,_Q 2-4% g 4 Q_N I
K\,A* T T
S ¢ @
> ol | | e ] I
8 % C S 3 gﬁ m
u x\ } v
12-0
Bore | StroKeRange
(GL2) (mm) |35 ) B|C|D|E|F|G|H | J K L N|O|P|Q|R|[S|T|V]|X
32 ~500 |142|48 |94 |30 |28 |20 (27.5 22|17 | 6 |M10*1.25 M6 (13.5| 1/8" 7.5 7 |47 325/ 12| 3
40 ~500 |159| 54 (105 35|34 |22|32|24 (19| 7 |M12*1.25 M6 | 16 |1/4"| 6 |7.5| 9 | 53 |38 |16 |3.5
50 ~600 |175| 69 |106| 40|42 |27 |31|32|24| 8 |[M16*1.5| M8 [16.5/1/4"|8.5|7.5|7.5| 65 |46.5( 20 | 3.5
63 ~600 [190| 69 |121{ 4540|2933 |32 |24| 8 |[M16*1.5| M8 [16.5/3/8"|7.5|8.5(8.5|75 |56.5/ 20 | 4
80 ~800 |214| 86 |128| 45|53 | 33|33 |40| 30|10 |M20*1.5|M10{16.5/3/8"| 11 |8.5(13.5/ 95 |72 | 25| 4
100 ~800 |229| 91138/ 55|55|36|37|40| 30|10 |M20*1.5|M10{18.5/1/2"|9.5|9.5|14.5(115|89 | 25| 4
125 ~1000 |279|{119|160| 60 | 74 | 45 | 46 | 54 | 41 |13.5| M27*2 |M12| 23 |1/2"| 14| 12 | 14 |[140|/110| 32 | 4
160 ~1000 |332|{152|180| 65|94 | 58 | 50| 72 | 55| 18 | M36*2 |M16| 25 | 3/4"| 15| 12 | 20 |[180|140| 40 | 4
200 ~1200 |347|167|180| 75 ([100| 67 | 50 | 72| 55| 18 | M36*2 |[M16| 25 | 3/4"| 15| 12 | 20 |220|175| 40 | 5
ol ; 3.61 ; B - YSC
lease contact us on any small problems & details. EFANEN REE, FEESAAFABRSE,  PNEUMATICS




Air Cylinder/Medium Bore Size(H B FrAES EI)
@YSC I YMD¢32~0200) series

Dimensions(mm) (i # R ~F Bl (Zk))
Axial Foot (F1E): L

Bore
| . (krf2)(mm)| AA | AB |AC | AD | AE | AF | AG| AH | AP | AT
4-@AP <
32 |158(32.5/1142| 8 |47 |32 |24 (158 7 | 3
AD|_ AG AG _|AD 40 |179/38(161| 9 |53 |36[28 17| 9 | 3
AC+Stroke
AA+Stroke 50 [190[46.5170| 10 | 65 | 45|32 [21.8) 9 | 3
AB 63 |209|56.5/185| 12 | 75| 50 | 32 (21.8) 9 | 3
! [ — ! 80 |248| 7221019 | 95|63 | 41|27 [12.5 4
{i} {I} 100 |266| 89 |228| 19 |115| 75 | 45 |26.5[14.5| 4
T
; < EP EP 125 |290[110|250| 20 |140| 90 | 45 | 35 |16.5| 8
' ' L+—l 160 |340[140|300| 20 |180|115| 60 | 45 |18.5| 8
200 |380|175|320| 30 |220(135| 70 [47.5| 24 | 9

Flange (i£=):F. G

BE

BF Bore
F @#mm)| BA| BB |BC |BD | BE | BF [ BH|BP | AJ [AK| T
f '@? ! @@ 32 [30.5] 10| 50(32|80|64 (6.5 7 |11 ]|6.5[325
& I ©
40 [35.5/10|55|36|90]72(6.5] 9 |11 |6.5] 38
50 |40.5| 12| 68| 45 [108[ 90[8.5| 9 [ 14| 9 |46.5

BD
BC

63 |45.5/ 12 | 78 | 50 [120[100|8.5| 9 | 14| 9 [56.5
80 [45.5 16 [100| 63 [153[126(10.5(12.5| 17 | 11 | 72
100 |55.5 16 [120| 75 [178]150(10.5/14.5| 17 | 11 | 89
4-0BP 125 |60.5/ 20 |140| 90 |224[180[12.5(16.5/ 19 | 13 [110
160 |65.5 20 |180|115(280(230| 13 |18.5) 25 | 17 |140
200 |75.5| 25 |220(135|320(270(17.5| 24 | 25 | 17 |175

©
&

© o

SingleRear Clevis (BUZ!$4): C

DY P - (ﬂgngnm) pc|DD|DE|DJ|DQ| S | T
P S = o 32 |22| 9 [10]13[25.8 47 [32.5
E;:I - 40 | 25|12 12|16 [27.8 53 | 38
! . 50 |27|12] 12|17 [31.7] 65 [46.5
T ea g 63 |32|15] 1622 [39.7| 75 [56.5
_E::l_ OcE 80 |36 15| 16|22 [49.7 95 | 72
s i © = 100 | 41|20 20|27 [59.7]115] 89
- 125 | 50 | 25 | 25 | 31 [69.7/140[ 110
160 | 55| 30 | 30 [35.5/89.7/180| 140
Double Rear Clevis (WUZ!44): D 200 180 SRLSh a8 per0pTe
CT cC
cP £g drieom) G| CO| CE|ca|cP|cT|PA| PB s | T
| += 32 |22| 9 [10[13]26|45|51| 45547325
R I S - cD
N = 40 |25|12|12| 16| 28|52 |59 52.5 | 53] 38
B s o 5 £ ) 50 |27|12]12]17|32]60|67] 605 |65]46.5
g @CE 63 |32|15|16| 2240|7077 705 | 75]56.5
& Emr LI 80 |36|15|16|22|50| 90|97 | 90595/ 72
| ¥ = 100 | 41| 20| 20|27 |60 [110[119]110.5[115] 89
PA 125 |50 | 25| 25| 31| 70 |130[139]130.5140[110
160 | 55| 30 | 30 [35.5 90 |170|181|170.5 180|140
L I —— I 200 | 60303036 90|170[181]170.5|220[175

Please contact us on any small problems & details. 3.62 FiFMME R, EEESAATRE, PNUACS




Oysc|

Double Rod Tylinder (W {EFi&ZE4+F3!):YMDW

Air Cylinder/Medium Bore Size(H BLfR/ES HI)
YMD¢32~0200) series

A+2Stroke
B C+Stroke B+Stroke 0s
E F G G F E+Stroke aT
H Q 2-Z g g Q H I
1 7L___ | 1\Ys /!\ @A)
K J J N l N
_\\ r L ~
N\ ¢:§7 fL} —
St TR al | (B oy N S 1 1 |
) S e ,I__’ q r | —§ X< =
N A — :
N.2-0 L i
| I e R S
NZ T
8-L
Bore | StroKeRange
(4T42)(mm) |(FEZ35E) ) A B | C D E F G| H | J K L N (0] P|Q|R|S T |V
32 ~500 [190| 48 |94 | 30|28 |20 (27.5/ 22|17 | 6 [M10*1.25{ M6 |13.5(1/8”| 4 |7.5| 7 | 47 [32.5] 12
40 ~500 [213| 541|105/ 35|32(22(32|24|19| 7 [M12*1.25 M6 | 16 |1/4”| 6 |8.5| 9 | 53| 38| 16
50 ~600 [244| 69 |106|40 |42 27| 31|32|24| 8 [M16*1.5| M8 |16.5|/1/4”|8.5|7.5|7.5| 65 [46.5| 20
63 ~600 [259|69(121/45|40(29(33|32|24| 8 |[M16*1.5| M8 |16.5|3/8”|7.5(/8.5(8.5| 75 |56.5| 20
80 ~800 [300| 86 |128| 45|53 |33(33|40| 30|10 |M20*1.5|{M10|16.5|3/8”| 11 |8.5(13.5/ 95| 72| 25
100 ~800 [320| 91 (138 55|55| 36|37 (40| 30|10 |M20*1.5{M10({18.5(1/2”9.5|9.5|14.5{115| 89 | 25
125 ~1000 [398(119|160| 60 | 74 | 45 | 46 | 54 | 41 |13.5| M27*2.0 |[M12| 23 [1/2”| 14 | 12 | 14 |{140[110| 32
160 | ~1000 |484|152/180| 65|94 |58 |50 72| 55|18 |M36*2.0/M16| 25 |1/4”| 15| 12 | 20 |180[140] 40
200 | ~1200 |514|167|180| 75|100| 67 | 50 | 72| 55 | 18 | M36*2.0 |M16| 25 |3/8”| 15 | 12 | 20 |220|175| 40
@NC
[
Q < /.
é_'_—__éi_ S _\\'
@NC
ND NJ
NE
% NQ
s
NH z NH
- = - — o —-—3ls
- W7
= . 7
NP
ND
Boe | NAINC|ND|NE|NF|[NG| NH |[NM|NP|NQ
(E1#&)(mm)
32 19110 | 40| 52 | 15| 20 |[M10*1.25| 10 | 20 | 62
40 25.4| 12 | 48 | 67 | 24 | 20 |M12*1.25| 12 | 24 | 62
50 32|16 | 64 | 89| 32| 23 | M16*1.5 | 16 | 32 | 83
63 32|16 | 64 | 89 | 32| 23 | M16*1.5 | 16 | 32 | 83
80 44 .41 20 | 80 | 112| 40 | 30 | M20*1.5 | 20 | 40 | 105
100 44.4| 20 | 80 | 112| 40 | 30 | M20*1.5 | 20 | 40 | 105
125 54 | 30 |110(150| 51 | 45 M27*2 30 | 55 |151.8
160 70 | 35 |144(195| 65 | 55 M36*2 35| 73 |195.8
200 70 | 35 |144(195| 65 | 55 M36*2 35| 73 |195.8
3.63

Please contact us on any small problems & details.

EHARNBEREE, EERSFATBRE,




Oysc|

Air Cylinder/Medium Bore Size(H B FrAES EI)
YMD¢32~0200) series

Adjustable Stroke Cylinder (fi&{7#2#): YMD-XC8

Lube, Non-Lube, Air-Hydro Type (88, 72 i 8 &

YMD

B RMER)

Mounting
RERK

_ | Stroke

1712

Stroke Adjusting Symbol
TERIAT

Auto Switch
~XC8 | mr g FF %

Stroke | C+Adjusting
D+Stroke+Adjusting Length

ZZ+2Stroke+Adjusting Length

(BL,G‘I’;;) @B | C D | zz
32 32 21 41 189
40 | 32 | 21 | 43 | 209
50 | 42 | 23 | 50 | 234
63 42 23 52 250
80 55 29 62 286
100 55 29 65 304

Please contact us on any small problems & details.

EFER B R, EERS AN RS,

PNEUMATICS




vsc|

YCDS1 (s125~0160)

COMMON SPECIFICATIONS (£ [E]#11&)

HOW TO ORDER(E! £ %R 77 %)

series

Air Cylinder/Large Bore Size(K B4R EIS4)
Y CS1 (s125~2300)

ERHS

[

Bore(4I1%)(mm) 125 [ 140 | 160 | 180 | 200 | 250 | 200
Fluid () Clean AirGE =5
Action(Eh{EF ) Double Acting( zh)

Proof Press.(fRIETE77)

1.6MPa{16kgf/cm®}

Max. Press.(& & & B E )

1.0MPa{10kgf/cm®}

Min. Press.(R{R & B E )

0.05MPa{0.5kgf/cm?}

Amb.Temp.(ME R IRE)

-5~+60°C(K F &)

Piston Speed(i& ZEif &) 50 ~ 500mm/s
Cushion(£& ) Air Cushion(S£& )
Stroke Tolerance({Ti2/A ) 0~250:7° 251 ~1000:
*Lubrication(iiE &) Non-Lube(FREE)

Pipe Size(#& O)Rc(PT)

AR

« Use Tubine Oil 1st-Grade ISOVG32,If Necessory (il & % i1)igi% & 1S i#HISOVG32)

Stroke/Auto Switch(1TF2/R5 4 FF K 1EFF)

Mclist Bilte0-BoglR - |ASAK]S Boe 7D Stroke Tie Rod Mounting (A2
= v 4= 1O 5 =
YSC ModeR) T Bore Size| | NIUERS):Lube Type(HAAE) (mm) (FRifE1T72)(mm) Auto Switch(&H7F3%)] Mount Part o (F £ E2)
(E1f®) N:Non-Lube (3 it 8 /8 8) 125 BT-12
M ting (Mt 4= H:Air Hydro({f it FE B! — —
o =) Stroke | | AT HVArCURIER) 1401 25,50, 75, 100,125, 150, 175, | DA% BT-12
L:Foot (B FEAY) (1718) 180 200, 250, 300, 350, 400, 450, BT-16
F:FrontFlange (]l % 2)
G:RearFlange(f5 i %) Gaiter & Option(8{): 200 ??866326200' 800, 900, 1000, None None
C:Single Clevis(#U%! %) J:Nylon Tarpanline s = =
D:Double Clevis(UZ!£3) (4B FA 3 E(60CIE /) 250 (FEF) (FER)
T:Center Trunnion(F G4 E) K:Neoprene(fR 45 B 4P E(110CiE ) 300
N:None-Cushion (£ i) Note: Other Stroke Available(# 3E#R #1752 A 43 3%)
Auto Switch(f B#) — R:Rod Cover Cushion (FFl#5 48 i)

Nil(Fi22): None()
D:Auto Switch(%)

H:Head Cover Cushion (J5 I #; £& i)
Nil(%128): Both Side Cushion (Rl 48 i)

Dimensions(mm)($ME! R < & )(mm)

Basic Type(E#A%): YC[IS1B

Auto Switch (B 1 7 % i 2§)
Nil(£i25):None(F#E M FF %)
A54K:Reed Switch (G # a1 FF %)

*Note: See."Auto Switch Series"(Page:0-04, R-49)

No of Auto Switch (%14 FF % #1 &)
Nil(FTEi22): 2(4) S:1(4) 3: (M) n:n(h)

swW PG
I ce—
|| R
[m)
o 7 S A ——
K
A B ‘Eg*  ——————
H W
T L+stroke
TL+stroke
Bore StroKeRange | Thread Length(K)

(1) mm) | GE5E)mm| (exesw) | A | B |OC| @D [oEA|0EB| H | KK | L N |PGPPT)|sw | OT| T [TL| U |W
125 ~1000 47 50 | 15 | 115| 35 | 59 | 90 | 43 |M30x1.5| 98 |M14x1.5| 16 | 1/2"| 14 | 145|110| 235 | 27 | 35
140 ~1000 47 50 | 15 [ 128 | 35 | 59 | 90 | 43 |M30x1.5| 98 |M14x1.5| 16 [ 12"| 14 | 161 110|235 | 27 | 35
150 ~1200 53 56 | 17 | 132| 40 | 59 | 90 | 43 |M36x1.5| 106 |M16x1.5| 17 | 3/4"| 14 | 170|120 [256.5/30.5| 39
160 ~1200 53 56 | 17 | 144| 40 | 59 | 90 | 43 |M36x1.5| 106 |M16x1.5| 17 | 3/4"| 14 | 184 | 120 [256.5/30.5| 39
180 ~ 1400 60 63 | 20 [ 162 | 45 | 70 | 115| 48 |M40x1.5| 111 [M18x1.5| 17 |3/4"| 17 | 204 | 135 281 | 35 | 39
200 ~1600 60 63 | 20 | 182 | 50 | 74 | 115| 48 |M45x1.5| 111 [M20x1.5| 17 | 3/4"| 17 | 226 | 135| 281 | 35 | 39
250 ~1800 67 71 | 25 |225| 60 | 96 | 140 | 60 | M56x2 | 141 |M24x1.5| 22 | 1" | 20 | 277 | 160 |342.5/41.5| 49
300 ~2000 76 80 | 30 [270| 70 | 96 | 140 | 60 | M64x2 | 146 [M30x1.5| 23 | 1" | 20 | 330 | 175 |372.5/51.5| 49

Please contact us on any small problems & details. 3.65 FiFARE KGR, HEESAARRE,




Oysc|

YCDS1 (s125~0160)

FrontFlange Type(#flli£=2Y): YC[JS1F

series

Air Cylinder/Large Bore Size(K B4R EIS4)
Y CS 1 (s125~0300)

Lube, Non-Lube, Air-Hydro Type (iE/B8!, Joiligiaa, (Kl /ER)
4-@FD 4-N ET PG
[ I |
2@ | So KK =2
N
a gggl g f@ 2-P(PT)
K
2 © hd AB H W W,
%% T L+Stroke :‘U
EX TL+Stroke
FZ
Bore StroKe Range | Thread Length(K)

(ELf2)(mm) | ((TiEE)(mm) | (FRELK) A | B |0OC| oD |gEA|@EB|gFD| FT | FX | FY | FZ | H KK L |P(PT)
125 ~ 1000 47 50 15 | 115 | 35 59 90 19 14 | 190 | 100 | 230 | 43 M30%x1.5 | 98 1/2
140 ~ 1000 47 50 | 15 | 128 | 35 | 59 | 90 19 | 20 | 212 | 112 | 255 | 43 | M30%1.5 | 98 1/2
150 ~ 1200 53 56 | 17 | 132 | 40 | 59 | 90 19 | 20 | 228 | 115 | 265 | 43 | M36%x1.5 | 106 | 3/4
160 ~ 1200 53 56 17 | 144 | 40 59 90 19 20 | 236 | 118 | 275 | 43 M36x1.5 | 106 | 3/4
180 ~ 1400 60 63 | 20 | 162 | 45 | 70 | 115 | 24 | 25 | 265 | 132 | 320 | 48 | M40%x1.5 |111 | 3/4
200 ~ 1600 60 63 | 20 | 182 | 50 | 74 | 115 | 24 | 25 | 280 | 150 | 335 | 48 | M45%x1.5 |111 | 3/4
250 ~ 1800 67 71 25 | 225 | 60 96 | 140 29 30 | 355 | 180 | 420 | 60 M56%2 141 1
300 ~ 2000 76 80 30 | 270 | 70 96 | 140 33 30 | 400 | 212 | 475 | 60 M64x2 146 1
Bore

(5T42)(mm) N PG | OT| T TL U W
125 M14x1.5 | 16 | 145 | 110 | 235 | 27 | 35
140 M14x1.5 16 | 161 | 110 | 235 | 27 35
150 M16x1.5 | 18.5| 170 | 120 |256.5| 30.5| 39
160 M16x1.5 |[18.5| 184 | 120 (256.5| 30.5| 39
180 M18x1.5 [18.5| 204 | 135 | 281 | 35 | 39
200 M20x1.5 | 18.5| 226 | 135 | 281 | 35 | 39
250 M24x1.5 | 23 | 277 | 160 [342.5/41.5| 49
300 M30x1.5 | 23 | 330 | 175 [372.5/ 51.5| 49

R YA
Rear Flange Type (5i#=2!): YC[1S1G
Lube, Non-Lube, Air-Hydro Type (iE/88!, Jcimigiaay, {Kin/ER)
PG 4-OFD 4-N
KK 2 D & g I
AN
55@ g < 2-P(PT) & @2
[SISIS I — o NED
K - > S22
Al Eﬁw W & 2%
T L+Stroke FT %$
TL+Stroke EX
FZ
Bore StroKe Range | Thread Length(K)

(EL42)(mm) | ([FEER)(mm) | (FHELK) A B | OOC | ¢D |gEA|@gEB|eFD| FT | FX | FY | FZ H KK L P(PT
125 ~ 1000 47 50 15 | 115 | 35 59 90 19 14 | 190 | 100 | 230 | 43 M30x%x1.5 98 1/2
140 ~ 1000 47 50 15 | 128 | 35 59 90 19 20 (212 | 112 | 255 | 43 M30x1.5 98 1/2
150 ~ 1200 53 56 | 17 | 132 | 40 | 59 | 90 19 | 20 | 228 | 115 | 265 | 43 | M36%x1.5 | 106 | 3/4
160 ~ 1200 53 56 | 17 | 144 | 40 | 59 | 90 19 | 20 | 236 | 118 | 275 | 43 | M36%x1.5 | 106 | 3/4
180 ~ 1400 60 63 20 | 162 | 45 70 | 115 | 24 25 | 265 | 132 | 320 | 48 M40x1.5 | 111 | 3/4
200 ~ 1600 60 63 20 | 182 | 50 74 | 115 | 24 25 | 280 | 150 | 335 | 48 M45%x1.5 | 111 | 3/4
250 ~ 1800 67 71 25 |225| 60 | 96 | 140 | 29 | 30 | 355 | 180 | 420 | 60 M56x2 141 1
300 ~ 2000 76 80 | 30 | 270 | 70 | 96 | 140 | 33 | 30 | 400 | 212 | 475 | 60 M64 %2 146 | 1
Bore

(&I4Z)(mm) N T | TL | W | OT
125 M14x1.5 | 110 | 222 | 35 | 145
140 M14x1.5 | 110 | 228 | 35 | 161
150 M16x1.5 | 120 | 246 | 39 | 170
160 M16x1.5 | 120 | 246 | 39 | 184
180 M18x1.5 | 135 | 271 39 | 204
200 M20x1.5 | 135 | 271 39 | 226
250 M24x1.5 | 160 | 331 49 | 277
300 M30x1.5 | 175 | 351 | 49 | 330

3.66

Please contact us on any small problems & details.

FEFEREN R, HERSEARBRE.




Air Cylinder/Large Bore Size(K B4R EIS4)
YCDS1 (s125~0160)

Double Rear Clevis Type(UZ!$5%Y): YC[IS1D
Lube, Non-Lube, Air-Hydro Type (i#i82!, ilig g, {Rik/ED)

e 2-P(PT) - AN
| " i
< N
ST @ K ==l
Sttt | 1o @ || 4 Y
K £
A lBl SH T T
H CT CV.
T L+Stroke CL X
TZ+Stroke R cC
TL+Stroke 0T
Bore StroKe Range | Thread Length(K)

(&T42)(mm) | GFEEEmm) | (Gaeay | A | B |OC| eCD | CL|[CT|CV|CX| CZ |oD|eEA|0EB| H KK
125 ~ 1000 47 50 | 15 | 115 25'%% 65 | 17 | 48 | 64 32103 35 | 59 | 90 | 43 | M30x1.5
140 ~ 1000 47 50 | 15 | 128 28'9% 75 | 17 | 58 | 72 36103 35 | 59 | 90 | 43 | M30x1.5
150 ~ 1200 53 56 | 17 | 132 32791 80 | 20 | 60 | 80 40193 40 | 59 | 90 | 43 | M36x1.5
160 ~ 1200 53 56 | 17 | 144 | 329" 80 | 20 | 60 | 80 40103 40 | 59 | 90 | 43 | M36x%1.5
180 ~ 1400 60 63 | 20 | 162 40°%"° 90 | 23 | 67 |100| 50:53 45 | 70 | 115 | 48 | M40x1.5
200 ~ 1600 60 63 | 20 | 182 40°%"° 100 | 25 | 75 | 100 | 5013 50 | 74 | 115 | 48 | M45%x1.5
250 ~ 1800 67 71 | 25 | 225 509" 110 | 30 | 80 | 126 63103 60 | 96 | 140 | 60 M56x2
300 ~ 2000 76 80 | 30 | 270 639" 130 | 37 | 93 | 160 | 80:53 70 | 96 | 140 | 60 M64x2
Bore

(4T42)(mm) L N P(PTY PG| R |[Sw | OT| T TL | TZ | W
125 98 | M14x1.5 [ 1/2"| 16 | 29 | 14 | 145|110 | 302 | 273 | 35
140 98 | M14x1.5 [ 1/2"| 16 | 32 | 14 | 161|110 | 315|283 | 35
150 106 | M16x1.5 | 3/4"| 17 | 36 | 14 | 170|120 | 342 | 306 | 39
160 106 | M16x1.5 [ 3/4"| 17 | 36 | 14 | 184 | 120 | 342 | 306 | 39
180 111 | M18x1.5 | 3/4"| 17 | 44 | 17 | 204 | 135|380 | 336 | 39
200 111 | M20x1.5 |3/4"| 17 | 44 | 17 | 226 | 135|390 | 346 | 39
250 141 | M24x1.5| 1" | 22 | 55 | 20 | 277 | 160 | 466 | 411 | 49
300 146 | M30x1.5| 1" | 23 | 68 | 20 | 330 | 175|519 | 451 | 49

SingleRear Clevis Type (2UZ!4%): YCJS1C
Lube, Non-Lube, Air-Hydro Type (i#/88!, Jimigia 8y, {Kin/ER)
S 4-N

W,,E;**PG 2-P(PT)
KK = @cD @ 1i] &

< N
ﬂja\ v {} {g 2
SISl - - @ \//
K
e o || o
H | W CT CV CZ
T L+Stroke CL TG
TZ+Stroke R o7
TL+Stroke
Bore StroKe Range | Thread Length(K)
125 ~ 1000 47 50 | 15 | 115 2579% 65 | 17 | 48 32 of 35 | 59 | 90 | 43 | M30x1.5
140 ~ 1000 47 50 | 15 | 128 28 75 | 17 | 58 36 o) 35 | 59 | 90 | 43 | M30x1.5
150 ~ 1200 53 56 | 17 | 132 3291 80 | 20 | 60 40 b 40 | 59 | 90 | 43 | M36%1.5
160 ~ 1200 53 56 | 17 | 144 3297 80 | 20 | 60 40 o) 40 | 59 | 90 | 43 | M36x1.5
180 ~ 1400 60 63 | 20 | 162 407%"° 90 | 23 | 67 50 b 45 | 70 | 115 | 48 | M40x1.5
200 ~ 1600 60 63 | 20 | 182 409" 100 | 25 | 75 50 Tob 50 | 74 | 115 | 48 | M45x1.5
250 ~ 1800 67 71 | 25 | 225 50°%"° 110 | 30 | 80 63 b 60 | 96 | 140 | 60 M56x2
300 ~ 2000 76 80 | 30 | 270 630" 130 | 37 | 93 80 b 70 | 96 | 140 | 60 M64x2
B
e N PGP(PTY R |SW|OT| T | L |TL|TZ| W

(HL1ZE)(mm)
125 M14x1.
140 M14x1.
150 M16x1.
160 M16x1.
180 M18x1.
200 M20x1.
250 M24x1.
300 M30x1.

16 | 172 | 29 14 | 145 | 110 | 98 | 302 | 273 | 35
16 | 1/2 | 32 14 | 161 | 110 | 98 | 315 | 283 | 35
17 | 3/4 | 36 14 | 170 | 120 | 106 | 342 | 306 | 39
17 | 3/4 | 36 14 | 184 | 120 | 106 | 342 | 306 | 39
17 | 3/4 | 44 17 | 204 | 135 | 111 | 380 | 336 | 39
17 | 8/4 | 44 17 | 226 | 135 | 111 | 390 | 346 | 39
22 1 55 20 | 277 | 160 | 141 | 466 | 411 | 49
23 1 68 20 | 330 | 175 | 146 | 519 | 451 | 49

ajoagaiaigaialaio

Please contact us on any small problems & details. 3.67 FiFARE KGR, HEESAARRE, PNUACS




Oysc|

Air Cylinder/Large Bore Size(k Bz A S4)
series

Axial Foot Type(fIEEZY): YC[IS1L

Lube, Non-Lube, Air-Hydro Type (iEi83!, Jili@iasy, {KihEE)

Y CS1 (s125~2300)
YCDS1 (s125~0160)

T H L+Stroke e AN
e e
AN
SIS/ N - -
K = Mg, A4-9LD 5
S 6] . e | ®
1 T T
Y[ X = XY
LS+Stroke N L%J
TL+Stroke
Bore StroKe Range | Thread Length(K

() (mm) | B (ﬁwﬁ,@” A | B |OC| oD |oEA|0EB| H KK L |olD| LH | LS | LT | LX | LY
125 ~ 1000 47 50 | 15 |115| 35 | 59 | 90 | 43 | M30x1.5 | 98 | 19 | 85 [ 188 | 8 | 100 [157.5
140 ~ 1000 47 50 | 15 [ 128 | 35 | 59 | 90 | 43 | M30x1.5 | 98 | 19 | 100|188 | 9 | 112 [180.5
150 ~ 1200 53 56 | 17 |132| 40 | 59 | 90 | 43 | M36x1.5 | 106 | 19 | 105|206 | 9 | 118 | 190
160 ~ 1200 53 56 | 17 | 144 | 40 | 59 | 90 | 43 | M36x1.5 | 106 | 19 | 106 | 206 | 9 | 118 | 197
180 ~ 1400 60 63 | 20 | 162 | 45 | 70 | 115 | 48 | M40x1.5 | 111 | 24 | 125 | 231 | 10 | 132 | 227
200 ~ 1600 60 63 | 20 | 182 | 50 | 74 | 115 | 48 | M45x1.5 [ 111 | 24 | 132 | 231 | 10 | 150 | 245
250 ~ 1800 67 71 | 25 |225| 60 | 96 | 140 | 60 | M56x2 | 141 | 29 | 160 | 301 | 12 | 180 |298.5
300 ~ 2000 76 80 | 30 |270| 70 | 96 | 140 | 60 | M64x2 | 146 | 33 | 200 | 326 | 15 | 212 | 365
Bore
125 M14x1.5 | 1/2 | 145|110 | 273 | 35 | 45 | 20
140 M14x1.5 | 1/2 | 161 | 110 | 273 | 35 | 45 | 20
150 M16x1.5 | 3/4 | 170 | 120 | 301 | 39 | 50 | 25
160 M16x1.5 | 3/4 | 184 | 120 | 301 | 39 | 50 | 25
180 M18x1.5 | 3/4 | 204 | 135 | 336 | 39 | 60 | 30
200 M20x1.5 | 3/4 | 226 | 135 | 336 | 39 | 60 | 30
250 M24x1.5 | 1 |177 | 160 | 421 | 49 | 80 | 40
300 M30x1.5 | 1 |330|175| 451 | 49 | 90 | 40

Trunnion Type(HRiHE#Y): YCISI1T

Lube, Non-Lube, Air-Hydro Type (iEi83!, Jimiaiaa!, {Kihm/EE)

LZ+Strok _ -
fﬁ roke. 772 P(PT) 4-N
KK =8| IES; 2-RR f@ @
N\ | N\
Finie Fan) .10 A
SIS — & AN Fs &ﬁ
Kl €6 = & O
HLw, [RT] Lw,| oc
T L+Stroke V] T
TL+Stroke X
Bore StroKe Range | Thread Length(K)

(ET42)(mm) | (TRSEE)mm) | (ERERK) A B OC | eD |eEA|@EB| H KK L LZ N P(PT) PG | RR | RT
125 ~ 1000 47 50 | 15 |115| 35 | 59 | 90 | 43 | M30x1.5 | 98 | 159 | M14x1.5| 1/2 | 16 | 1 | 50
140 ~ 1000 47 50 | 15 |128 | 35 | 59 | 90 | 43 | M30x1.5 | 98 | 159 | M14x1.5| 1/2 | 16 | 1.5 | 55
150 ~ 1200 53 56 | 17 | 132 | 40 | 59 | 90 | 43 | M36x1.5 [ 106 | 173 | M16%x1.5 | 3/4 | 17 | 1.5 | 59
160 ~ 1200 53 56 | 17 | 144 | 40 | 59 | 90 | 43 | M36x1.5 [ 106 | 173 | M16%x1.5 | 3/4 | 17 | 1.5 | 59
180 ~ 1400 60 63 | 20 |162| 45 | 70 | 115 | 48 | M40x1.5 [ 111 [190.5| M18x1.5 | 3/4 | 17 | 2 | 60
200 ~ 1600 60 63 | 20 | 182 | 50 | 74 | 115 | 48 | M45%x1.5 [ 111 [190.5| M20x1.5 | 3/4 | 17 | 2 | 60
250 ~ 1800 67 71 | 25 |225| 60 | 96 | 140 | 60 | M56x2 | 141 [230.5| M24x1.5| 1 | 22 | 2 | 69
300 ~ 2000 76 80 | 30 |270| 70 | 96 | 140 | 60 | M64%x2 |146|248| M30x1.5| 1 | 23 | 2 | 79
Bore

(5T4%)(mm) SW|OT| T oTD TL [ TX | TY | TZ U W
125 14 [145]110| 32 2% [ 227|170 | 164|234 | 19 | 35
140 14 | 161|110 36 3% |227 (190|184 |262| 19 | 35
150 14 170|120 40 3% | 248 |200|192|275| 22 | 39
160 14 [ 184|120 40 2% | 248|212 204|292 | 22 | 39
180 17 | 204|135 | 45 3% |272.5| 236 | 228 | 326 | 26.5| 39
200 17 | 226|135 | 45 2% [2725| 265|257 | 355 [26.5| 39
250 20 | 277|160 | 56 2% (3315|335 | 325|447 [30.5| 49
300 20 | 330|175 | 67 9o | 357 | 400 | 390|534 | 36 | 49

Please contact us on any small problems & details. 3.68 FiFARE KGR, HEESAARRE,




Air Cylinder/Large Bore Size(kBUtRER S AT)
®YSC I YCDS1 (8125~2160) S € ries

Dimensions(mm)(5MiZ R~ Bl (Z))

@ I Type Single Rod Clevis(1! 2 i} F5#£3%)

KK
< Bore(§If2)(mm)| oE F KK L oND NX R u
—— _ 125 46 54 | M30x1.5 | 100 259 32 71 27 | 33
*F” ‘ 140 48 54 | M30x1.5 | 105 28'9% 36 ) 30 | 39
@ND 150, 160 55 60 M36x1.5 | 110 327" 40 91 34 39
180 70 67 | M40x1.5 | 125 40%0"° 50 Ts | 425 | 44
s — ik & 200 70 | 67 | M45x1.5 | 125 4077 50 °0 | 42.5 | 44
U 250 86 | 75.5| M56x2 160 507" 63 o5 53 | 66
L 300 105 | 84.5 M64x2 175 637" 80 T: 66 71

@ Y Type Double Rod Clevis(YZ I Ati5#Ek)

< Bore(fIZ)(mm)| @E KK L gND NX NZ R
{3}@/ 125 46 | M30x1.5 | 100 2579 32 01 64 5 27
KK,V —OND 140 48 | M30x1.5 | 105 280 36 o1 72 3 30
e 150,160 | 55 | M36x1.5 | 110 3201 40 71 80 34
8 -3y 180 70 | M40x1.5 | 125 40707 50 100 % 42.5
- 200 70 | M45x1.5 | 125 40°07° 50 o1 100 2° 42.5
L 250 86 M56x2 160 507"° 63 o 126 53 53
300 105 M64x2 175 637" 80 o, 160 ° 66
@ Knuckle Clevis Type Pin($31 F$5F)
T T Bore(#L1&)(mm) oD ad L F T
m 125 25 2% |235| 72 |64.3(1.35
I e 140 28 o5 26 |80.6|72.3(1.65
88 150, 160 32 7% |29.5|89.6|80.3|1.65
F 180, 200 40 0% 37 |110.1/100.3] 1.9
L 250 50 o | 46 |138.9]126.5| 2.2
300 63 o1 59 [160.5/172.9| 2.2
@ Rod Nut(#Fim 2 )
KK Bore(#)(mm) C H KK T
r 140 53.1 | 46 | M30x1.5 18
o 150,160 | 63.5 | 55 | M36x1.5 | 21
180 69.3 | 60 | M40x1.5 | 23
; 200 80.8 | 70 | M45x1.5 | 27
250 98.1 | 85 M56x2 34
300 110 | 95 M64x2 38

Please contact us on any small problems & details. 3.69 FiFARE KGR, HEESAARRE, PNUACS




@Y SC I Double Rod Type cylinder/Large Bore Size(K B S 51/FGEEMR)
YCS1 W,YC DS1 W(¢125~¢300) series

Double Rod Tylinder (/A& ZE4F3!):YCOS1W]

Lube, Non-Lube, Air-Hydro Type (G#i82!, Filigaa, {Kin/ER)

250 25 | 105 | 55 M56x2 | M24x1.
300 270 | 115 | 55 M64x2 | M30x1.

141 | 22 1" | 176 | 277 | 3585(0.17x | 41.5 | 49
146 | 23 1" | 190 | 330 |387.5|Stroke| 51.5 | 49

sw PG
KK ————f———gzr
N
SR e
K K
A_lB Egi *’*’"’*gﬁ BL A
H W WY
T L+Stroke T+Stroke
TL+Stroke i Unit: mm
Bore StroKe Range | Thread Length(K)

(ﬁ]:?é)(mm) (ﬁfi?ﬁ)(mm) (ﬁ;ﬂ;ﬂk) A B e} oD | gEA | gEB H KK L N PG P(PT) aT
125 ~ 1000 47 50 15 | 115 | 35 59 90 43 M30x1.5 98 M14x1.5 16 1/2 | 145
140 ~ 1000 47 50 15 | 128 | 35 59 90 43 M30x1.5 98 M14x1.5 16 1/2 | 161
150 ~ 1200 53 56 17 | 132 | 40 59 90 43 M36x1.5 | 106 | M16%1.5 17 | 3/4 | 170
160 ~ 1200 53 56 17 | 144 | 40 59 90 43 M36%x1.5 | 106 | M16%x1.5 17 3/4 | 184
180 ~ 1400 60 63 20 | 162 | 45 70 | 115 | 48 M40%x1.5 | 111 | M18x1.5 17 | 3/4 | 204
200 ~ 1600 60 63 20 | 182 | 50 74 | 115 | 48 M45%x1.5 | 111 M20x1.5 17 3/4 | 226
250 ~ 1800 67 71 25 | 225 | 60 96 | 140 | 60 M56x%2 141 | M24x1.5 22 1 277
300 ~ 2000 76 80 30 | 270 | 70 96 | 140 | 60 M64x2 146 | M30x1.5 23 1 330
Bore

(417Z)(mm) SW | T TL u W
125 14 | 110 | 318 | 27 35
140 14 | 110 | 318 | 27 35
150 14 | 120 | 346 | 30.5| 39
160 14 | 120 | 346 | 30.5| 39
180 17 | 135 | 381 35 39
200 17 | 135 | 381 35 39
250 20 | 160 | 461 | 41.5| 49
300 20 | 175 | 496 | 51.5| 49

With Gatier Type(T=HZERIPEE!): YC[1S1

Lube, Non-Lube, Air-Hydro Type (&, FitiE B8 (Kih EE)

PG
3
@————— g 2-P(PT)
Lw,] Lw,]
L+Stroke U
TL+Stroke
Unit: mm
Boe | hc |eEB| F KK N LlpPpelpPT) T |OT|TL| S| U|W

(I72)(mm) 2
125 115 | 75 | 40 | M30%x1.5 | M14x1.5 | 98 16 | 1/2" | 133 | 145 | 258 27 35
140 128 | 75 40 | M30%x1.5 | M14x1.5 | 98 16 | 1/2" | 133 | 161 | 258 27 35
150 132 | 75 | 40 | M36x1.5 | M16x1.5 | 106 | 17 | 3/4" | 141 | 170 | 2775 oy | 30.5 | 39
160 144 | 75 | 40 | M36x1.5 | M16x1.5 | 106 | 17 | 3/4" | 141 | 184 | 277 |gyokel 30.5 | 39
180 162 | 85 45 | M40%x1.5 | M18x1.5 | 111 17 | 3/4" | 153 | 204 | 299 35 39
200 182 | 90 | 45 | M45x1.5 | M20x1.5 | 111 | 17 | 3/4" | 153 | 226 | 299 35 | 39

5
5

Please contact us on any small problems & details. 3.70 FiFARE KGR, HEESAARRE, PNUACS




Ordder Made Option/Large Bore Size( KBS EI/4572Y)

YCDS1 (s125~0160)

‘ Dual Stroke Cylinder/Double Rod Type M 1T#&S &L/XiE 24T 8

ycs1|Mounting| | Tube material|| Type ||Bore Size| | Stroke A || Additional Symbol +StrokeB Additional Symbol —~XC10
=% || @EHER) | B || #7148 1742 Hi 44 1718 Bt

Additional Bt | |
Blank-Without Gaiter - FTMAHE

J-With gaiter(Nylon Tarpaulin) B #ZEE (R &FK)

K-With gaiter(Neoperene Cloth) BHEE ( K THKIMNE )

Construction, Dimensions/Basic Type 544, R~/&EZ#Y

A Stroke B Stroke

B

I=M§U_EL LJJ%HJ%

B -
L+Stroke(A+B)
TL+Stroke(A+B)
AL mm

Bore Size L TL
Two cylinders are constructed as one cylinder ina back-to-back 125 196 416
configuration allowing the Cylinder stroke to be controller in three 140 196 416
steeps. 150 212 452
ANSEMEEEEXAN —SE, BSETRS =R, 160 212 452
180 222 492
3 Other dimensions are the same as for standard type. 200 222 492
HERTEiRERAR 250 282 602
300 292 642

Dual Stroke Cylinder/Single Rod Type /T2 S f1/8FEIFE

ycs1/Mounting| | Tube material|| Type ||Bore Size| | Stroke A || Additional Symbol |, | Stroke B || Additional Symbol ~XC11
& || @EMER) || BRX || #HE 1742 NES 1718 kG

Additional Pt | |
Blank-Without Gaiter - AR45E

J-With gaiter(Nylon Tarpaulin) G #ZE (B &FK)

K-With gaiter(Neoperene Clothy GHEE ( & THKINE )

+

Construction, Dimensions/Basic Type 4544, R~/&EZ#Y

B Stroke 1 B Stroke Bore Size 3 o B mm
E} 125 282 392
] ] 140 282 392
& B e s | 150 298 418
U—J 160 298 418
180 318 453
= LB 200 318 453
L+Stroke(A+B) 250 402 562
TL+Stroke(A+B) 300 412 587

Please contact us on any small problems & details. 3.71 FiFARE KGR, HEESAARRE, PNUACS




Ordder Made Option/Large Bore Size(K B SH/455E)

YCDS1 (s125~0160)

Adjustable Stroke Cylinder/Extension Adjustablee Type FJiE1TTE S AL/ H T &

ycs1/Mounting| (Tube material|| Type ||Bore Size| | Stroke A || Additional Symbol n Stroke adjusting symbol | XC8
Z% || @EMR) || BX || HE 1712 it 44 TRRIAT
Additional P4 ‘ \—' Stroke Adjusting Symnol 171218
Blank-Without Gaiter T-T4EE A-Stroke Adjusting Range 0 ~ 25mm
J-With gaiter(Nylon Tarpaulin)&4E (B £ 7K) 1TIZRIASE O ~ 25mm
K-With gaiter(Neoperene Cloth) BHHE ( K THEINE ) B-Stroke Adjusting Range 0 ~ 50mm

T2 AR O ~ 50mm

The stroke at extend of the cylinder can be adjusted by the stopper in the head side from full stroke 0 ~25mm or 0 ~ 50mm
SHEAHTEETETERETEE, FHEEEO ~ 256mmz0 ~ 50mm
Symbol #F&

= &
[

Construction, Dimensions/Basic Type &4, R~/&EZA#

KK

E@”* ’’’’’’’’’’’ *“@ %\

H Stroke C+Adjusting Rangel E
TL+2Stroke+Adjusting Range

Bfr: mm

Bore size
(mm)
125 60 | 37 | 35 | 30 | 90 | 43 M30x1.5 318
140 60 | 37 | 35 | 30 | 90 | 43 M30x1.5 318
150 60 | 46 | 40 | 26 | 90 | 43 M36x1.5 341
160 60 | 46 | 40 | 26 | 90 | 43 M36%1.5 341
180 70 | 52 | 45 | 30 | 115 48 M40x1.5 376
200 70 | 52 | 50 | 30 [115]| 48 M45x1.5 376

¢B| C [ ¢D| E [¢EB H KK TL

250 86 | 60 | 60 | 35 | 140 | 60 M56x2 456
300 86 | 60 | 70 | 35 |140| 60 M64 %2 496
% Other dimensions are the same as for standard type.
HERTEFERER

Please contact us on any small problems & details. 3.72 FiFARE KGR, HEESAARRE, PNUACS




Oysc|

Compact Cylinder/Standard Type(tr/#EE! H A S §T)

YAQ2,YADQ2(s12~2100) series

ERHS

—11 =41

COMMON SPECIFICATIONS (£ E #11%)

Bore (I %) 12 16]20]25[32[40]50]63 80100

Fluid (i &) Clean Air(E&=5)

PR WA
Action(E{ER3t) BER B EE R EE Y

Proof Press.({RIEMtE 1) 1.5Mpa(15kgficm?)

Max. Press.(Rm{EBE ) 0.99Mpa(9.9kgf/cm?)

Amb. Temp(FME R T IKIRE) -5~+60°C (K H &)

Rod End Thread(#Fif4247) | Female(STD)(RH24L (17 4E)), Male(SMEL ) (1E1)

Cushion (4 i) None(7t)

Stroke Tclerance({TA2HZSE ) 8!

*Lubrication(:i&) Non-Lube(F EE)

Mounting (% %%) Through Hole(STD)(i#7L(#7),Both End Tapped (i M 40)

Pipe Size(##% 01%)Rc(PT) M5x0.8 | 1/8" | 1/4" | 3/8"

*Please Use Turbine Oil 1st-Grade ISOVG32,If Necessary.(#1 & 38, i5
iEF15iHhISOVG32)

Standard Stroke & Auto Switch({TF2/fk 1% FF £ £ $F)

EIO{’?‘ Stroke (5 # 1T 18) Auto Switch(E 77 %)
(B Double (W ) Single(B ) |RallouningfLEREE)
12 5,10,15

- 20,25 50 5,10 D-A72K

20 5,10,15,20,25, 5 10

25 30,35,40,45,50 ’

32 5,10,15,20,25,30, 5 10

40 | 35,40,45,50,75,100 : D-A72K

50 D-A92K

63 5,10,15,20,25, Not Avilable

30,35,40,45, '
80 50,75,100 (FiEH)
100

Note: For Auto Switch:Referto Page(R-51) ,Magnet Switch:Applicable Double Acting Type Only.
i) BIHSE AT N E#R N R AU X ER M F X ERSFEA S AT X2 25
T T RIFM L ILIED-AT2K

HOW TO ORDER(E! SR T F %)

'YJAID|Q2 WIA[32] - [30|D[C| - | A72K \’S\

YSC Model(5)

Magnet(§ TT#EER)
Nil(Zi22): Non(FH#EHH)
D: Built-in Magnet(&#43F)

Type(2)
Nil(FE322): Single Rod(& & #4TY)
W: Double Rod End(Wi& Z42!)

Type(&%)
B=Through Hole(i#¥L)

Bore Size  Stroke

(fI1%)

A=Both End Tapped (7 i#1247)

Auto Switch(B T FFX)
(17%8) Nil(F122): Non(FrREIEF )

Option (&1 5 (fEi%))

Nil(ZE322): Rod End Female Thread(#Fif P 4247)
C: Rubber Cushion(#i£& iH)

M: Rod End Male Thread(#F #4512 5r)

*Cushion for Single Acting Type: Not Available.
(B SEL AR AT LUR L )

—— Action(fI & ({£i%))
D: Double Acting(¥#f1)
S: Single Acting(Spring Return)
(B EH (G ERE))(D 12~32)
T:Single Acting(Spring Extended)
(B (HEEH))
*Magnet Switch: Applicable Double
Acting Type Only.
(M B#IEAZANHNSE)

A73K: Reed Switch (51 A #L T %)

No.of Auto Switch(FF £ &)
Nil(Ei2S): 2(4)

S:1(4Y)

3:3(41Y)

Please contact us on any small problems & details.

3.73

| YSC |
EFRYEL K6 IEEES A AREKE. PNEUMATICS




®Ovysc|

Constroction ([ #B £ #)

T

Compact Cylinder/Standard Type(tr A2 E B S HT)

YAQ2,YADQ2(212~2100) series

Fe| &% |FS| &

1| Em= |6 | mEmy

2 EE 7 %

3 | REEHE | 8 REAEHE

4 A 9 | mE#

5 | mimE | 10
Dimensions(mm) (5 R <t Bl (mm))

Please contact us on any small problems & details.

SRR B R B S E i S AR R

F 2-P .G.|
B+Stroke
A+Stroke
4 R 2 o BL IR ED
Bo(fgg%é)Sta:dardTBypeAnf\”éhmaget C|leD| E| F| G H | L | M [Nizigg) ¢0 | 2-P | Q
12 22 | 17 | 32 | 27 6 | 25 | 7.5 M3x0.5 | 4.2 5 [16.2] M5x0.8 | 6.5 | M5x0.8 | 6
16 24 [18.5) 34 (285 6 | 6 | 29 | 8 | 55| M3x0.5 | 4.2 5.5(19.8] M5x0.8 | 6.5 | M5x0.8 | 6.5
Bore(#I 1
(mﬁ.n)l) R|s | T
12 45 23 | 12
16 45 28 | 12
Male Screw(#FimsMEL)
ﬁ\ - -
wh (™= a | _ _
sHEH
c @D
X
v
B°(rr$1(rﬁ3§é) c E K L X
12-M 10 6 | M5x0.8 | 17 12
16-M 10 6 | M5x0.8 | 17.5 | 12
374




Compact Cylinder/Standard Type (¥R 4B B 7 S £1)
@YSC YAQ2,YADQ2(212~2100) series

Dimensions(mm)(5Mz R~ B (mm))

HDPC =

aD
==
D
ALY
|
|
|
Y
O/

F 2-P G|
L B+Stroke
A+Stroke
2 FEY | BEnw

B°(rrﬁ(ﬁl)é)StaﬁgardgpeAttlaFrﬁ?nig%net cleD| E|F |G| H 1] 9| k| L | M Nm@sgg) 0| 2P | R
20 | 25 19.5] 35295 8 | 8 | 34| 9 |55| M4x0.7 (42| 2 | 6 |55 24 | M5x0.8 | 6.5 M5x0.8 | 4.5
25 |27 | 21| 37| 31,1010 |40 | 9 55| M5x0.8 46| 2 | 8 | 6 | 28| M6x1.0 |8.2| M5x0.8 | 5.5
32 |31.5|24.5(41.5(34.5] 12 | 12 | 44 | 9 | 6.5| M6x1.0 |[4.6| 6 | 10| 7 | 34 | M6x1.0 |8.2| PT1/8" |55
40 |33 | 26|43 36| 12| 16 | 52 |9.5| 7.5 | M8x1.25| 6.5| 65| 14 | 7 | 40 | M8x1.25 | 10 | PT1/8" | 7.5
50 | 37 | 28 | 47| 38 | 15 | 20 | 62 [10.5[10.5|M10x1.5|6.5|9.5| 17 | 9 | 48 | M8x1.25 | 11 | PT1/4” | 8.5
63 | 41|32 | 51| 42| 15| 20 | 75 |11.8[11.8| M10x1.5| 6.5 9.5| 17 | 9 | 60 | M8x1.25 | 11 | PT1/4” | 8.5
80 | 52| 41| 62| 51| 15 | 25 | 94 [14.5/14.5| M14x1.5| 9.2 | 10 | 22 | 11 | 74 |M12x1.75| 14 | PT3/8" [10.5
100 | 63 | 51 | 73 | 61| 18 | 32 | 114]20.5/20.5| M18x1.5|11.3] 10 | 27 | 12 | 90 | M14x2.0 |17.5] PT3/8" | 13

Bo(rrtre](nﬁl) B s|T1!|lv]| 2z

20 36 | 14 |11.3] 10
25 42 1 15|12 | 10
32 50 | 16 |18.3]| 15
40 58.5| 20 [21.3] 16
50 71.5| 25 | 30 | 20
63 84.5| 25 [28.7| 20
80 104 | 25 | 36 | 26
100 124 | 30 | 35 | 26

w
¢
@

C R
X

L

Vertical Screw Of Rod (#F if 4MZ 47 E)(mm)

Bore(fL&)(mm) © E H L X
20 13 8 M6x1.0 20.5 15
25 15 10 M8x1.25 23 17
32 15 12 M10%x1.25 25 18
40 25 16 M14x1.5 35 28
50 25 20 M18x1.5 37 28
63 25 20 M18x1.5 37 28
80 30 25 M22x1.5 44 33
100 35 32 M26x1.5 50 38

Please contact us on any small problems & details. 3.75 EFA ELL K6 S E S AN R B, PNUACS




®Ovysc|

Compact Cylinder/Double-Acting Both Side Rod (& 2! S &1/ & Z=AFEY)

YAQ2W,YADQ2W/(s12~2100) Series

Dimensions(mm)(5Mz R~ B (mm))

HDPC

N\

T, N
L -

I
///////E/A

A+2Stroke

TRl

AR AL

ESMEG RTES E R R TEET

4 oA
Bo(r'%(r;f%{é) StTgardTgpeAtt:\chmaget oD | E | F L N(RIAMELL) 20 2-P Q| R
12 27 | 17 | 37 | 27 25 | 7.5 5 M5x0.8 | 6.5 | M5x0.8 | 6 | 4.5
16 29.5/18.5/39.5(28.5 29 | 10 5.5 M5x0.8 | 6.5 | M5x0.8 | 6.5 | 4.5
Bore(fL 12
omEl s | T
12 23 | 12
16 28 | 12
R
o
— ’Z¢&
o @ o) J
S _ I I I
2-P F
B+Stroke L+Stroke
A+2Stroke
4 FRER IR
B°(r,$1(rﬁ§‘é) Standiard Type|Attach magnet eD | E | F J | K M [N(Fa#85) 00 |  2-P R
A B A B
YAQ2W20 |{30.5/19.5/40.5|29.5 34 (10.5 2 6 . 24 M5x0.8 | 6.5 | M5x0.8 | 4.5
YAQ2W25| 33 | 21 | 43 | 31 40 | 11 2 8 6 28 M6x1.0 | 8.2 | M5x0.8 | 5.5
YAQ2W32 |38.5/24.5/48.5/34.5 44 111.5 6 10 7 34 M6x1.0 | 8.2 | PT1/8” | 5.5
YAQ2W40 | 40 | 26 | 50 | 36 52 | 11 14 7 | 40 | M8x1.25 | 10 PT1/8” | 7.5
YAQ2W50 | 46 | 28 | 56 | 38 62 [10.5 17 | 9 | 48 | M8x1.25 | 11 PT1/4” | 8.5
YAQ2W63 | 50 | 32 | 60 | 42 75 | 15 17 | 9 | 60 | M8x1.25 | 11 PT1/4” | 8.5
YAQ2W80 | 63 | 41 | 73 | 51 94 | 16 22 | 11| 74 | M12x1.75| 14 PT3/8” |10.5
YAQ2W100| 75 | 51 | 85 | 61 114 | 23 27 | 12 | 90 | M14x2.0 |17.5| PT3/8” 13
Bore(#I 12
@S s | T | Y|z
YAQ2W20 | 36 | 14 [11.3| 10
YAQ2W25 | 42 | 15 | 12 | 10
YAQ2W32 | 50 | 16 [18.3| 15
YAQ2W40 |58.5| 20 |21.3| 16
YAQ2WS50 |71.5| 25 | 30 | 20
YAQ2W63 |84.5| 25 |28.7| 20
YAQ2W80 | 104 | 25 | 36 | 26
YAQ2W100| 124 | 30 | 35 | 26

‘ Please contact us on any small problems & details.

SRR B R B S E i S AR R

PNEUMATICS




Compact Cylinder/Single-Acting(With spring-operated)

(EESI/RERBRGEEE H/EE))
QYSC I YAQ2,YADQ2(¢12~040)-S/T series

Dimensions(mm)(4ME R <t Bl (mm))

YAQ12~16-S

HDPC R — R

o) Hrr =

o]e)

B+Stroke
A+Stroke

_Eﬂ
2
el
|
L
fad

F

L B+Stroke
A+Stroke

YAQ12~16-T

HDPC

O

YAQ20~40-T

HDPC

S

20
[ <

*,,i

g

4]0

R

la

@

—

B+Stroke
A+Stroke

B+Stroke

A+Stroke

Please contact us on any small problems & details.

Bore (1 12) ﬁ}EEAStandardgype %Eﬁiﬁﬂmtach mBagnet .
5 oD| E | F H L]0 | K| L | M |N@EREs) 00
<10[>10|<10[>10|<10[>10|<10[>10
12 32 | 42 | 27 | 37 | 42 | 52 | 37 | 47 6 6 25 [ 6.3 | M3x0.5 |4.2| - 5 5 [16.2| M5x0.8 | 6.5
16 34 | 44 |28.5/38.5| 44 | 54 |38.5|48.5| 6 6 29 | 7.3 | M3x0.5 [4.2| - 5 |5.5(19.8] M5x0.8 | 6.5
20 35 | 45 [29.5/39.5| 45 | 55 |39.5|49.5| 8 8 34 | 7.5 | M4x0.7 | 4.2| 2 6 |55 24 M5x0.8 | 6.5
25 37 | 47 | 31 | 41 | 47 | 57 | 41 | 51 | 10 | 10 | 40 8 M5x0.8 | 4.6 | 2 8 6 28 M6x1.0 | 8.2
32 41.5|51.5|34.5|44.5|/51.5/61.5(44.5|54.5| 12 | 12 | 44 M6x1.0 | 4.6 | 6 10 34 M6x1.0 | 8.2
40 43 | 53 | 36 | 46 | 53 | 63 | 46 | 56 | 12 | 16 | 52 | 10 | M8%x1.25|6.5| 6.5 | 14 7 40 | M8x1.25 | 10
Bore®®) 2p |Q|R|s|T |V ]|z
12 M5x0.8 6 |45 - 12 - -
16 M5x0.8 | 6.5|4.5| - 12 - -
20 M5x0.8 - 14536 | 14 [11.3] 10
25 M5x0.8 - |55142 |15 | 12 | 10
32 PT1/8” - | 55|50 16 [18.3] 15
40 PT1/8” - | 7.5|58.5] 20 |21.3] 16
3.77 S L B B AL A




®Oysc|

Compact Cylinder/Order Made Option (5 S &1/43 7k BY)

YAQ2,YADQ2(s12~2100) Series

Dual Stroke Cylinder/Double Rod Type(WiTRS S/MiF £ )

Dual Stroke Cylinder/Single Rod Type(RATRRSAL/# £ H)

YAQ2B
YADQ2B

Two cylinders are constructed as one cylinder in a back-to—-back
configuration allowing the Cylinder stroke to be controlled in the three
steps.

ATSELEEEXNER — M SELESETES = FEH.

Symbol 5

StrokeB
17#8B

Bore
pige

_ |StrokeA
1TEEA

D(O)M)-XC10

Function
e @ When air pressure is supplied to ports®@and®,
both A and B strokes retract.
- B STROKE A STROKE - é’@@u[ﬂﬁj&’f\ﬂﬂ.; A\ B?T*E[E]Eqéﬁ@()
0© A When air pressure is supplied to ports®and®©,
EEE A stroke extends and B stroke retracts strokes.
- T HOOORMHSAE, ATRME, BITRER,
8 @ ¢ ‘® When air pressure is supplied to ports@andD,
EE B stroke extends and A retracts strokes .

LOONRER#HSE, BITEMH AITESEE,

When air pressure is supplied to portsdand®©,
A and B strokes extend.
LOOHMA#HSE, A, BITERREEHE,

Specifications (¥ &)

StrokeB-A|
17#B-A

Bore

ffz

YAQ2B
YADQ2B

Two cylinders are constructed in serial as one cylinder.lt is possible
control the stroke in two steps to obtain double the cylinder

output force.

MASEER—ANSE, ALRRTEAMAXNES FFEEINEHHAN.

Symbol 5

_ |StrokeA
17EEA

DEC)M)-XC11

Function
c A When air pressure is supplied to the® port
7] both A and B strokes retract.
ST upnigse, A, BERMEE,
5 ¢ ®  When air pressure is supplied to the@port,the
:@ rod extends by the A stroke length.
- L0 O#SE, mEFHHAITE,
8 ® ) When air pressure is supplied to the © port,the
%ﬂ%j rod continue extends by B-A stroke
LOMBLHS AT, iEETUR LM H 1T AB-A.
B © ® When air pressure is supplied to ports@and®©,
|

double output force is obtainable in the A
stroke length. H@O O &S At FEITIRATE
MRS B A &R 7.

Specifications (¥ 1#&)

Type Z£E Lube,Non-lube T i g Type 23! Lube,Non-lube T i ig
Bore(mm) #L1& 212-,8100 Bore(mm) 1% 212-,8100
Action Zh{E Double acting Xz Action zh{E Double acting 3 zh
Fluid it Air =5 Fluid & Air =5
Mounting &3 X Through hole B¥L Mounting £F A =X Through hole &L

Dimensions(5p 2 R ~t)

Stroke B Stroke A
= T —=
HoO— 019 —dH
IN2| N1 N2
D+strokeB D+stroke A
C+stroke(A+B)
(mm)
Bore(mm) © D N N
212 44(64) 17(27) 6.3 6.3
216 48(68) |18.5(28.5)| 7.3 7.3
220 50(70) |[19.5(29.5)| 7.5 7.5
225 54(74) 21(31) 8 8
232 63(83) [24.5(34.5) 9 9
240 66(86) 26(36) 10 10
350 74(94) 28(38) 10.5 10.5
263 82(102) 32(42) 11.8 11.8
280 104(124) | 41(51) 14.5 14.5
2100 | 126(146) | 51(61) 20.5 20.5

% () With auto switch# ®E 14 Fr 35

Dimensions(4pE R ~t)

< N
YN
ARSI
L D+Stroke B D+Stroke A
C+Stroke(A+B)
(mm)
Bore(mm) © D L
212 39(59) 17(27) 5
216 42.5(62.5)18.5(28.5) 5.5
220 44.5(64.5)|19.5(29.5) 5.5
325 48(68) 21(31) 6
232 56(76) |24.5(34.5) 7
240 59(79) 26(36) 7
250 65(85) 28(38) 9
263 73(93) 32(42) 9
280 93(113) 41(51) 11
2100 114(134) 51(61) 12

% () With auto switchis #1475

Please contact us on any small problems & details.

| YSC |
EiFEH B R0 B EES A ARKE PNEUMATICS




Compact Cylinder/Order Made Option (5 S &1/43 7k BY)
@YSC YAQ2,YADQ2(zs12~2100) Series

Adjustable Stroke Cylinder/Extension Adjustable Type(T TR S LA i 4T)

YAQ2B [Bore]_|[StrokeA D - [Adiust stroke

-XC8

Symbol %2

YADQ2B | &% 1THEA BT Function
B A
Two stroke at extendsion of the cylinder can be adjusted by stopper
in head side from full stroke 10,20,30,40,50. <=
SELf TR AE AT LB S HIA 1712 10,20,30,40,50. ‘
»«L—
Adjustable Range
e : AEEE

Specifications (¥ 1&)

Type ZZE! Non-lube 7&ii# &

Bore(mm) L& 216-,86100

Action Zh{E Double acting 3 zh

Fluid i ff Air 25§

Stroke Adjustment System{T #2115

Adjusting Bolti Ti # $

Stroke Adjustment Rangeid 5 3% Bl

10mm(0.39inch)

Mounting 23 A

Through hole i&7L

Dimensions(5p 2 R ~t)

$

¢

I
SNRS

B+Stroke Stroke C+Adjusting
A+2Stroke+Adjusting Range

(mm)
Bore A B
(8L %) | T 7 7| 25 o o1 T R | TSR] © | D | ©
12 40 50 17 27 13 6 1
16 425 | 525 | 185 | 285 | 13 6 1

20 | 475 | 575 | 19.5| 295 | 16 | 8 | 17
25 55 65 21 31 19 | 10 | 17
32 | 615 | 715 | 245|345 | 21| 12 | 24
40 65 75 26 36 21| 16 | 24
50 73 83 28 38 21| 20 | 30
63 77 87 32 42 21| 20 | 30
80 94 104 41 51 24 | 25 | 41
100 | 105 | 105 51 61 24 | 32 | 41

% Other dimensions are the same as for standard type.

Htt R~ Sixg2ER

EATIRIMBEY B RTES R R R EAT WA

‘ Please contact us on any small problems & details. 3.79 EFARY B AR H S A TR, PNUACS




Oysc|

Compact Cylinder/Standard Type (¥R 2! B H S #T) -
YCQ2(z12~2100) Series - -

COMMON SPECIFICATIONS (£ E #11%)

Bore (I %) 12 16]20]25[32[40]50]63 80100

Fluid (i &) Clean Air(E&=5)

PR WA
Action(E{ER3t) BER B EE R EE Y

Proof Press.({RIEMtE 1) 1.5Mpa(15kgficm?)

Max. Press.(Rm{EBE ) 0.99Mpa(9.9kgf/cm?)

Amb. Temp(FME R T IKIRE) -5~+60°C (K H &)

Rod End Thread(#Fif4247) | Female(STD)(RH24L (17 4E)), Male(SMEL ) (1E1)

Cushion (4 i) None(7t)

Stroke Tclerance({TA2HZSE ) 8!

*Lubrication(:i&) Non-Lube(F EE)

Mounting (% %%) Through Hole(STD)(i#7L(#7),Both End Tapped (i M 40)

Pipe Size(##% 01%)Rc(PT) M5x0.8 | 1/8" | 1/4" | 3/8"

*Please Use Turbine Oil 1st-Grade ISOVG32,If Necessary.(#1 & 38, i5
iEF15iHhISOVG32)

Standard Stroke & Auto Switch({TF2/fk 1% FF £ £ $F)

E%r;\ Stroke (t5 1T 12) Auto Switch(B {17 %)
émnf)’ Double (¥ ) Single(& 3) |Rail Mounting(HE%ER)

12 5,10,15

16 20,25,30 5,10 D-A93K

20 5,10,15,20,25, 510

25 30,35,40,45,50 ’

32 5,10,15,20,25,30, 510

40 35,40,45,50,75,100 ’

50 10,20 D-A73K

63 5,10,15,20,25,

30,35,40,45, Not Avilable
80 50,75,100 (REF)
100

Note: For Auto Switch:Referto Page(R-51) ,Magnet Switch:Applicable Double Acting Type Only.
i) BIHSE AT N BRI N RS X ER M F X AR RSTEA S AT X2 R5).

HOW TO ORDER(E! SR T F %)

Y/CID|Q2 WIA[32] - [30[D[C| - | A73K \’S\

YSC Model(5)

Magnet(§ TT#EER)
Nil(Zi22): Non(FH#EHH)
D: Built-in Magnet(&#43F)

Type(2)
Nil(FE322): Single Rod(& & #4TY)
W: Double Rod End(Wi& Z42!)

Type(&%)
B=Through Hole(i#¥L)

Bore Size  Stroke

(fI1%)

A=Both End Tapped (7 i#1247)

Auto Switch(B T FFX)
(17%8) Nil(F122): Non(FrREIEF )

Option (&1 5 (fEi%))

Nil(ZE322): Rod End Female Thread(#Fif P 4247)
C: Rubber Cushion(#i£& iH)

M: Rod End Male Thread(#F #4512 5r)

*Cushion for Single Acting Type: Not Available.
(B SEL AR AT LUR L )

—— Action(fI & ({£i%))
D: Double Acting(¥#f1)
S: Single Acting(Spring Return)
(B EH (G ERE))(D 12~32)
T:Single Acting(Spring Extended)
(B (HEEH))
*Magnet Switch: Applicable Double
Acting Type Only.
(M B#IEAZANHNSE)

A73K: Reed Switch (51 A #L T %)

No.of Auto Switch(FF £ &)

Nil(Ei2S): 2(4)
S:1(1)
3:3(41Y)

Please contact us on any small problems & details.

3.80

| YSC |
EFRYEL K6 IEEES A AREKE. PNEUMATICS




Compact Cylinder/Double-Acting Single Rod
@YSC I (B SEL/ W -2 EATE) ]
YCQ2(s12~025) series

Dimensions(mm) (M R < B (mm))

BOTH-SIDED TAP TYPE( #1245 7)

o1
[ e—=—z—< — Sty Bore(#I12)(mm) 01 R1 a1
= —= 12 M4x0.7 10 6.5
] 16 M4x0.7 10 6.5
20 M6x1.0 17 9
25 M6x1.0 17 9
Female Screw(#F i N 2 4L)
612 N 216: ,
a
) /
B & STl -4 —o
Q F
LL’ B+S/T L”g’ B+S/T
A+S/T A+SIT
220:
2-p
2-P
34" —
Q F
LL_’ B+S/T B+S/T
A+S/T A+S/T
Bore (fI &) (mm) |Stroke Rangef 255 El(mm) A B © oD E F L Q 2-P H M
12 10~30 20.5 17 6 6 25 5 3.5 7.5 M5x0.8 [M3x0.5| 15.6
16 10~30 22 18.5 8 8 29 5.5 3.5 10 M5x0.8 (M4x0.7| 19.8
20 10~50 24 19.5 7 10 36 5.5 4.5 10.5 M5x0.8 [M5x0.8| 25.5
25 10~50 27.5 22.5 12 12 40 5.5 5 1 M5x0.8 [M6x1.0| 28.3
Male Screw(#Fiw5MELL)
212: op 216:
I
, r*(/i,{}, O F -4 - —ad
|G| 1.C.|
< g = X|= =
L B+S/T L [ st |
A+SIT A+S/T
220: @25:
2-P
LTl - o1 T ]
c il
x S
Q F
L B+S/T l.a| F
A+S/T L B+S/T
A+SIT
Bore(#I 1&)(mm)(Stoke Range/TiEE (M), A B © E F L H Q X 2-P M
12-M 10~30 31 17 9 25 5 14 M5x0.8 1 10.5 M5x0.8 15.6
16-M 10~30 34 18.5 10 29 5.5 15.5 M6x1.0 10 12 M5x0.8 19.8
20-M 10~50 38 19.5 12 36 5.5 18.5 | M8x1.25| 10.5 14 M5x0.8 25.5
25-M 10~50 45 22.5 15 40 5.5 22.5 |M10x1.25 1 17.5 M5x0.8 28.3
3.81
PNEUMATICS

Please contact us on any small problems & details.

SRR B R B S E i S AR R




®Ovysc|

Dimensions(mm)(5MEZ R ~F B (mm))

R

Compact Cylinder/Double-Acting Single Rod(Auto Switch Type)
(HESE/XN -2 R BB THHEE T X)

YCDQ2(¢12~025) series

BOTH-SIDED TAP TYPE( #1245 7)

[ e—=—z—< — Sty Bore(#I12)(mm) 01 R1 a1
o= — s 12 M4x0.7 10 6.5
— 16 M4x0.7 10 6.5
20 M6x1.0 17 9
25 M6x1.0 17 9
Female Screw(#F i N 2 4L)
212: N 216: .
a
i {
&Eé} ST -—aof
Q F
'-L* B+S/T o mesir
A+S/T A+SIT
220:
2-p
2-P
5o —
Q F
LL_’ B+S/T B+S/T F
A+S/T A+S/T
Bore (#I 12)(mm) |Stroke RangefTi&EE (mm), A B © @D E F L Q 2-P H M
12 10~30 31.5 18 6 6 25 5 3.5 7.5 M5x0.8 | M3x0.5 | 15.6
16 10~30 34 30.5 8 8 29 5.5 3.5 10 M5x0.8 | M4x0.7 | 19.8
20 10~50 36 31.5 7 10 36 5.5 4.5 10.5 M5x0.8 | M5x0.8 | 25.5
25 10~50 37.5 32.5 12 12 40 5.5 5 11 M5x0.8 | M6x1.0 | 28.3
Male Screw(#Fiw5MELL)
P12 op P16 2.p
I
| r*(/i,{}, [ ,,;,JG D
1S, 1.C_|
x5 g x| = -
L B+S/T L [ st |
A+SIT A+S/T
:d20 P25 2-p
2-P
TRl - o1 S e
c il
x S
Q F
L B+S/T l.a| F
A+SIT L B+SIT
A+SIT
Bore (&I 1£)(mm)(Stoke Rangef TEERE(mm)| A B © E F L H Q X 2-P M
12-M 10~30 42 28 9 25 5 14 M5x0.8 11 10.5 M5x0.8 15.6
16-M 10~30 46 30.5 10 29 5.5 15.5 | M6x1.0 10 12 M5x0.8 19.8
20-M 10~50 50 31.5 12 36 5.5 18.5 | M8x1.25| 10.5 14 M5x0.8 25.5
25-M 10~50 55 32.5 15 40 5.5 22.5 [M10x1.25 11 17.5 M5x0.8 28.3
3.82

Please contact us on any small problems & details.

SRR B R B S E i S AR R




Compact Cylinder/Double-Acting Single Rod
(HE S/ - ETE)

BOTH SIDE TAP TY PE (&I 2] # i A #2 50 &)

(6]
Bore(#L 1£)(mm) R O
7 32 17 M6x1.0
| o i EEEERnE 40 17 M6x1.0
50 20 M8x1.25
R R 63 20 M10%1.5
B+Stroke 80 25 M12x1.75
100 30 M12x1.75
HDPC
4-ONIEFL
Q L ! B-0Om 7L
2-p faxN
N
a F (N (\\{ N| S| w
e % J J ﬁ
o (N
NN
L B+Stroke K
A+Stroke YR
E J
S
Bore (& 1%)[Stroke Range i
) g ) B|C|eD|E|F H Il J | K|L|M|[N 20 2P | Q| s |z
2 30 | 23 5.5 J11.5
32 0391 30 | 23 | 13 | 16 | 45 [52{M8x1.25 60 |4.5| 14| 7 | 34 | 55| 9DP7 |Re(PT)1/84{:2149.5] 18
5~50 [36.5[29.5 »
40 3 00 qeetoae] 13| 16 | 52| 8 |M8x1.25 69 | 5 | 14| 7 | 40 | 55| 9DP7 Re(PT)18 11| 57 | 18
10~50 [38.5]30.5 p
50 oiad e a0 15 | 20 | 64 [10.5\M10x1.5 86 | 7 | 17| 8 | 50 | 6.6 | 11DP8 [Re(PT)V4110.5 71 | 22
63 [ota0 e Tqe 15 | 20 | 77 [10.5|M10x1.5103| 7 | 17| 8 | 60 | 9 |14DP10.5Rc(PT)/4] 15 | 84 | 22
80  [Hoqadtevetese| 21| 25 | 98 [12.5\M16x2.0{132| 6 | 22| 10 | 77 | 11 [17.5DP135Rc(PT)3/8 16 | 104 | 26
100 o709 92 a9 27 | 30 [ 117 | 13 [M20x2.5[156 | 6.5 | 27 | 12 | 94 | 11 17.5DP135Rc(PT)3/8" 23 1235 26
g
H
m m VERTICAL SCREW OF ROD (#F % 4 M2 47)(mm)
NN Bore((#Z)(mm)] C X H L1
32-M 20.5 23.5 | M14x1.5 | 28.5(38.5)
. 40-M 20.5 235 | M14x1.5 | 28.5(38.5)
En 50-M 26 28.5 | M18x1.5 | 33.5(43.5)
% 63-M 26 28.5 | M18x1.5 | 33.5(43.5)
80-M 32.5 35.5 M22x1.5 43.5(53.5)
100-M 32.5 35.5 | M26x1.5 | 43.5(53.5)
X()1TI125 £
3.83

Please contact us on any small problems & details.

SRR B R B S E i S AR R




®Ovyscl:

e $IEEAF R BRI X)

Dimensions(mm)(5Mz R~ B (mm))

YCDQ2(232~0100) Series

Com act Cylinder/Double-Acting Single Rod(Auto Switch Type)

o BOTH SIDE TAP TYPE (I {2 ™ ifs W 42 4L £Y)
Bore(#L 1£)(mm) R O
Z 32 17 M6x1.0
Tt —t - 40 17 M6x1.0
50 20 M8x1.25
R R 63 20 M10%x1.5
B+Stroke 80 25 M12x1.75
100 30 M12x1.75
HDPC
4-@NiE 7L
Q <F ! 8-GO L
2-P faxN
&
o F (N (\\{ N|=|w
s % J J
B X o AN
N2/
L B+Stroke K
A+Stroke YR
E J
s
Bore (&I 12 )Stroke Range
S i B|c|leD|E|F| H |1 |J|K|[L|M|N| o0 2P | Q| s |z
32 5~100| 40 | 33 | 13 | 16 | 45 | 7.5 |M8x1.25| 60 |4.5| 14 7 34 | 55| 9DP7 |Rc(PT)1/8"10.5|58.5| 18
40 5~100(46.5(39.5| 13 | 16 | 52 8 |[M8x1.25| 69 5 14 7 40 | 5.5| 9DP7 |Rc(PT)1/8"| 11 | 66 | 18
50 10~100/48.5|40.5| 15 | 20 | 64 [10.5|M10%x1.5| 86 7 17 8 50 | 6.6 | 11DP8 |Rc(PT)1/4"/10.5| 80 | 22
63 10~100 54 | 46 | 15 | 20 | 77 [10.5/M10%x1.5/ 103 | 7 17 8 60 9 [|14DP10.5Rc(PT)1/4"| 15 | 93 | 22
80 10~100/63.5|53.5| 21 | 25 | 98 [12.5|M16%2.0{ 132| 6 22 [ 10 | 77 | 11 |17.5DP13.5(Rc(PT)3/8”"| 16 [112.5( 26
100 10~100| 75 | 63 | 27 | 30 | 117 | 13 |M20%x2.5/156| 6.5 | 27 | 12 | 94 | 11 |17.5DP13.5[Rc(PT)3/8" 23 |132.5 26
Fim 42 £
H
VERTICAL SCREW OF ROD (#F i 52 57)(mm)
m - m Bore(#I 1&)(mm) C X H L1
N N 32-M 205 | 235 | M14x1.5 | 28.5(38.5)
40-M 20.5 23.5 M14x1.5 28.5(38.5)
c 50-M 26 28.5 M18x1.5 33.5(43.5)
X ' 63-M 26 28.5 M18x1.5 33.5(43.5)
1 80-M 325 | 355 | M22x1.5 | 43.5(53.5)
100-M 32.5 35.5 M26x1.5 43.5(53.5)

¥()ITIE125 £

Please contact us on any small problems & details.

3.84

SRR B R B S E i S AR R

PNEUMATICS




®Ovyscl:

Dimensions(mm)(5Mz R~ B (mm))

Com act Cylinder/Double-Acting Both Side Rod
’*”’:uﬁI/ﬂllBjJ X EEITE)

YCQ2W(032~5100) Series

o BOTH SIDE TAP TYPE (I {2 ™ ifs W 42 4L £Y)
Bore(#L 1£)(mm) R O
7 32 17 M6x1.0
By A — 40 17 M6x1.0
50 20 M8x1.25
R R 63 20 M10x1.5
B+Stroke 80 25 M12x1.75
100 30 M12x1.75
HDPC
4-ONETL
T_g_, Q i I 8-GO 7L
2-P )
VY
4 K ~
IR ({8
=S
L L B+Stroke L+Stroke K
A+Stroke M
E K
s
Bore(tl ) {S;rikeﬂiigﬁ) AlB|clep|E| H |1 |J|K|L|[M|N]| 0 2p | Q| s |z
YCQ2W32 [ +%:5—144.5/30.5] 13 | 16 | 45 |M8x1.25] 60 |4.5| 14 | 7 | 34 [ 55| 9DP7 RC(PT)1/8“12.5 49.5| 18
YCQ2W40| 5~50 | 54 | 40 | 13 | 16 | 52 [M8x1.25/ 69 | 5 | 14 | 7 | 40 [ 55| 9pP7 [Rc(PT)1/8" 14 | 57 | 18
YCQ2W50| 10~50 [56.5(40.5| 15 | 20 | 64 |M10x1.5/ 86 | 7 | 17 | 8 | 50 | 6.6 | 11DP8 |Rc(PT)1/47 14 | 71 | 22
YCQ2W63| 10~50 | 58 | 42 | 15 | 20 | 77 [M10x1.5/103] 7 | 17 | 8 | 60 | 9 |[14DP10.5|Rc(PT)1/4"(15.5] 84 | 22
YCQ2wW80| 10~50 | 71 | 51 | 21| 25 | 98 [M16x2.0[132| 6 | 22 | 10 | 77 | 11 [17.5DP13.5[Rc(PT)3/8" 18 | 104 26
YCQ2W100 10~50 |84.5/60.5| 27 | 30 | 117 [M20x2.5/ 156 | 6.5 | 27 | 12 | 94 | 11 |17.5DP13.5[Rc(PT)3/8" 22 [123.5| 26
H H
~ ~ —WQTFQE{VERHCAL SCREW OF ROD(FF i 52 47)(mm)
\u - \u - Bore(fL&)(mm)| C X H L1 A
ﬂj‘—‘H‘—‘L YCQ2W32-M | 20.5 | 23.5 |M14x1.5| 28.5 | 87.5
YCQ2W40-M | 20.5 | 23.5 |M14x1.5| 285 | 97
c . YCQ2W50-M | 26 | 28.5 |M18x1.5| 33.5 | 107.5
| X | YCQ2W63-M | 26 | 285 |M18x1.5| 33.5 | 109
o] ~  LivStroke YCQ2W80-M | 325 | 355 |M22x1.5| 435 | 138
A+2Stroke .
YCQ2W100-M | 32.5 | 35.5 |M26x1.5| 43.5 | 147.5

Please contact us on any small problems & details.

3.85

SRR B R B S E i S AR R

PNEUMATICS




®Ovyscl:

Dimensions(mm)(5Mz R~ B (mm))

Com act Cylinder/Double-Acting Both Side Rod(Auto Switch Type)
*‘J’:LEI/XMJ X EEAT R THRE T K )

YCDQ2W 232~0100) Series

) BOTH SIDE TAP TYPE (I {2 ™ ifs W 42 4L £Y)
Bore(£L1E)(mm) R (0}
: 32 17 M6 x 1.0
S B -1 40 17 M6 x 1.0
! 50 20 M8 x 1.25
R R 63 20 M10x 1.5
B+Stroke 80 25 M12x1.75
100 30 M12 x1.75
HDPC 4-ON;EFL
T.Q. "E'T ' 8-005 7L
2-P € )
4 5@ et
@ jA J L
BT % @ o 2R
/N
L B+Stroke L+Stroke K
o A+Stroke M |
E J
S
Bore(&L12) [StokeRange _

(mm) " [fsEm) A| B | C|eD| E H | J| K| L|M|N 20 2-P Q| s | z
YCDQ2W32 | 5~75 |54.5|40.5| 13 | 16 | 45 |M8x1.25| 60 | 45| 14 | 7 | 34 | 55| 9DP7 |Rc(PT)1/8"(12.5/58.5| 18
YCDQ2W40 | 5~75 | 64 | 50 | 13 | 16 | 52 |M8x1.25|/ 69 | 5 | 14 | 7 | 40 |5.5| 9DP7 |Rc(PT)1/8’| 14 | 66 | 18
YCDQ2WS50 | 10~75 |66.5(50.5| 15 | 20 | 64 |M10x1.5/ 86 | 7 | 17 | 8 | 50 | 6.6 | 11DP8 |Rc(PT)1/4"| 14 | 80 | 22
YCDQ2W63 | 10~75| 68 | 52 | 15 | 20 | 77 |M10x1.5/103| 7 | 17 | 8 | 60 | 9 |14DP10.5|Rc(PT)1/4"|15.5| 93 | 22
YCDQ2W80 | 10~75| 81 | 61 | 21 | 25 | 98 |[M16%x2.0/132| 6 | 22 | 10 | 77 | 11 |17.5DP13.5|Rc(PT)3/8”| 18 |112.5| 26
YCDQ2W100| 10~75|94.5/70.5| 27 | 30 | 117 |[M20x2.5/156| 6.5 | 27 | 12 | 94 | 11 |[17.5DP13.5|Rc(PT)3/8"| 22 [132.5| 26
H H

m m T#F% % VERTICAL SCREW OF ROD (#F## 5 2 47) (mm)
N2 NVA Bore(#11Z)(mm)| C X H L1 A
YCQ2W32-M | 20.5 | 23.5 |M14x1.5| 28.5 | 97.5
YCQ2W40-M | 20.5 | 23.5 |M14x1.5| 28.5 107
c | YCQ2W50-M 26 28.5 |[M18x1.5| 33.5 117
1 X L YCQ2W63-M 26 28.5 |M18x1.5| 33.5 119
—#—l - L1+Stroke YCQ2W80-M | 32.5 | 35.5 |M22x1.5| 43.5 | 148
A+2Stroke - : : : :
YCQ2W100-M | 32.5 | 35.5 |[M26x1.5| 43.5 | 157.5
Please contact us on any small problems & details. 3.86 EFA ELL K6 S E S AN R B,




Knuckle Joints For Compact Cylinder
HE ST A R ERESR)

©YSC I YCQZ YCDQ2 series

Dimensions(mm)(5ME R <1 B (mm))

Single Knuckle Joint(I12Y & i 5 # 3k)

GNDH10
Part No.| Bore
@e) | ER7) A A1 E+ L1 MM R U NDH10 NX
YI-G012| 12 [21.5/ 6 | 10 | 16 | M5%x0.8 |6.3| 7 | 579 552
YI-G015 16 32 8 12 | 25 | M6x1.0 | 8.1 | 14 59048 6.403
YI1-G020| 20 34 | 85| 16 | 25 | M8x1.25 [10.3[11.5| 8% 8153
YI-G025 25 41 [10.5] 20 | 30 | M10x1.5 |12.8| 14 | 1079"® 1053
YI-G040| 32,40 | 42 | 14 | 22 | 30 | M14x1.5 | 12 | 14 | 10°9**® 1853
YI-G050| 50,63 | 56 | 18 | 28 | 40 | M18x1.5 | 16 | 20 | 147%™ 2233
g YI-G080| 80 711 21| 38 | 50 | M22x1.5 | 21 | 27 | 118%™ 28353
YI1-G100| 100 79 | 21| 44 | 55 | M26x1.5 | 24 | 24 | 22'9*® 3253
RR; Double Knuckle Joint(YZ X Bt 15 # 3k)
Part No.| Bore
@E) |(ER) A | A1 | E1| L1 MM R1 | U1 | NDn1o NX NZ| L
YY-G012 12 [21.5 10| 16 | M5x0.8 [6.3| 7 | 579 5303 10 [14.6
YY-G015 16 | 32 12| 25| M6%x1.0 (8.1 14 | 59 | 6.433 | 12 |16.6
YY-G020 20 | 34 [8.5| 16 | 25 [M8x1.25|10.3|11.5| 8% 8% |16 | 21
YY-G025 25 | 41(10.5/ 20 | 30 [M10x1.5|12.8| 14 | 10°0°** | 1032 | 20 |25.6
YY-G040 32,40 42 | 14 | 22 | 30 ([M14x1.5| 12 | 14 | 100*®| 1832 | 36 |41.6
YY-G05050,63| 56 | 18 | 28 | 40 [M18%x1.5| 16 | 20 | 1473 | 223% | 44 [50.6
g |- YY-G080 80 | 71| 21| 38 | 50 [M22x1.5| 21| 27 | 1873**® | 28%% | 56 | 64
YY-G100 100 | 79 | 21 | 44 | 55 [M26x1.5| 24 | 24 | 227°° | 3232 | 64 | 72
Knuckle Joint Pin(ft 153k 55 F)
Part No. Bore
K (ﬂ%) (ﬁl?:zl:) Ddo L d | m t
e 1 = 8 YIY-G012 12 5008 14.6 4.8 10.2 1.5 0.7
mlt Y1Y-G015 16 55088 16.6 4.8 12.2 1.5 0.7
‘ | YIY-G020| 20 800 21 7.6 16.2 1.5 0.9
L YIY-G025| 25 108%2 | 25.6 9.6 20.2 1.55 1.15
YIY-G040| 32,40 10005 41.6 9.6 36.2 1.55 1.15
YIY-G050] 50,63 1420059 50.6 13.4 44.2 2.05 1.15
YIY-G080 80 1820009 64 17 56.2 2.55 1.35
YIY-G100] 100 225957 72 21 64.2 2.55 1.35
Please contact us on any small problems & details. 3.87 EFA ELL K6 S E S AN R B,




Compact Cylinder/Order Made Option(iE 2! S /45 7% 2Y)
@YSC YCQ2,YCDQ2(z12~2100) Series

Adjustable Stroke Cylinder/Extension Adjustable Type(T TR S /b HEH ) Adjustable Stroke Cylinder/Retum Adjustable Type(FTiRTi2 S ALREIRTHE)

YCQ2B [Bore|_|[StrokeA YCQ2B [Bore|_|[StrokeA
YCDQ2B & | [ f7a | D-XC8 YCDQ2B | iz | [ #rea | D-XCY
Two stroke at extendsion of the cylinder can be adjusted by stopper = 4530 T S oo A 2 2 SR A 2 3 E ()~ ;
in head side from full stroke 0~10mm (0.39inch) SEL4EE T2 FTE S I8 T B SR A2$T S, I8 T35 B 0~10mm(0.39inch)
SELH TR ATE S I T K iR R L I T3 B0~ 10mm, (0.39inch). Symbo| f@%
o Function

Symbol #5 B A
Function

. A J J

] ) — |

= | m |
" 1L

Adjustable Range

= THELE
Adjustable Range
Specifications (&)
ifications(# S
Specifications(#1%) Type EH Non-Iube 2 H78
o _ Bore(mm) L1 216-,86100
Type ZE Non-lube 7& i i& Action Bh{E Double acting 3 zh
Bore(mm) #1712 216-,6100 Fluid i &k Air 25§
Act.ior:dﬁ’ﬁ Double.acting R Stroke Adjustment System?Ti2i8 % Adjusting Screwif 13 82 §7
Fluid & Air 25 Stroke Adjustment Rangeidl %5 3E & 10mm(0.39inch)
Stroke Adjustment System{7 2 Adjusting Boltif 15 # 5k Mounting RE A3t Through hole &7
Stroke Adjustment Rangeif 155 B 10mm(0.39inch)
Mounting &£3#& A= Through hole @7l
Dimensions(5M i R ~F)
Dimensions(4ME R ~F)

N\
N\

.

e |
| | 7/ )
! ! T ® _ = *//////{3_/%//4/////% -
[ ] TN ]Al’i’i’ & [ )
e A1 o 1\(ﬁn‘\' L ]
Ly s \\J
J L @@
Na | 67
L | e
L MT Stroke. ML L B+Stroke C
B+Stroke A+Stroke
A+2Stroke
(mm)
(mm) Bore(mm)] A B L] C| KK [madd]
Bremm] A [ B [ L [MT| F [MA[KK][eG [ ML [ g ] 20 61(73) 26(38) | 4.5 [30.5|M8x1.25
16 |58.5| 26 | 3.5 | 5 |@28| 11 7 14 | 19 30 25 | 63.5(73.5) 29(39) 5 |29.5|M8x1.25 5-50
20 |67.5| 26 45| 8 |@36| 17 | 10 | 20 |22.5 32 | 65.5(75.5)| 30.5(40.5)| 7 28 |M8x1.25
25 71 29 5 8 |@40| 17 | 10 | 20 |22.5 40 84(94) 40(50) 7 37 | M8x1.5
32 |78.5|30.5| 7 6 |@38| 24 | 14 | 27 | 26 50 | 84.5(94.5)|40.5(50.5)| 8 36 |[M8x1.25
40 | 88 | 40 | 7 6 |o46| 24 | 14 | 27 | 26 50 63 | 88.5(98.5) 42(52) 8 [38.5| M8%x1.5 1050
50 [100.5/40.5| 8 8 | @57 | 30 | 16 | 35 | 30 80 [109.5(119.5)| 51(61) 10 |48.5| M8x1.5
63 [102 | 42 8 10 | 268 | 30 | 16 | 35 | 30 100 | 125(135) | 60.5(70.5)| 12 [52.5| M8%x1.5
80 |125 ) 51 10 12 090 | 41 20 | 48 | 38 % Other dimensions are the same as for standard type.
100 138.5/60.5| 12 | 14 |@110| 41 | 20 | 48 | 38 HE R SFOERER, ()N X R
% Other dimensions are the same as for standard type.
Hit R~ 5icEZERE

Please contact us on any small problems & details. 3.88 EFA ELL K6 S E S AN R B, PNUACS




Oysc|

Compact Cylinder/Order Made Option(iE 2! S /45 7% 2Y)

YCQ2,YCDQ2(z12~2100) Series

Dual Stroke Cylinder/Double Rod Type(M{T RS /M F £+ H)

Dual Stroke Cylinder/Single Rod Type(R{TH 5 51/ E £ H)

YCQ2B
YCDQ2B

Two cylinders are constructed as one cylinder in a back-to—back
configuration allowing the Cylinder stroke to be controlled in the three
steps.

AT SREMEEEXER - SELESETRES =S

Symbol %5

Function

Bore
e

_ |StrokeA

+ StrokeB
1THEA

17128

D(C)M-XC10

® When air pressure is supplied to ports®and®,

DC
both A and B strokes retract.
— E — =4 —

ssROE  ASTROKE L@OMORMEHSE, A, BITREMEEE,

» 0© A When air pressure is supplied to ports®and®©,
= — —H— A stroke extends and B stroke retracts strokes.
LeOORAHSA, ATIEME, BITE4R.,
8@ ¢ *® When air pressure is supplied to ports@andD),
F—TF B stroke extends and A retracts strokes .

L@oOmEmHSH, BITEMM ATREEEME,

When air pressure is supplied to portsDand®©,
A and B strokes extend.
LHOOM RS, A BITRREIR L,

Specifications (1K)

YCQ2B
YCDQ2B

Two cylinders are constructed in serial as one cylinder.lt is possible
control the stroke in two steps to obtain double the cylinder

output force.

AANSREER—ANSRE, AIETEBEMA R EHIEFREEHA.

Symbol %5

Bore
ke

_ |StrokeA

ia |+ enon | DOM-XC11

171EB-A

Function
c A When air pressure is supplied to the® port
_ [——Tr—7 both A and B strokes retract.
STt upnigsm, A BIERMSE,
8 ¢ ®  When air pressure is supplied to the@port,the

rod extends by the A stroke length.
4O O#SE, FEFHHATE,

When air pressure is supplied to the © port,the
rod continue extends by B-A stroke

LHO OB S, FZEF 4RSI H 172 AB-A.
When air pressure is supplied to ports®and®©,
double output force is obtainable in the A
stroke length. H@OC O [E] B S At TE1TIRATE
BN AR 2 A S 5.

Specifications (&)

Type 23! Lube,Non-lube ¢ iif i& Type 2! Lube,Non-lube & i#i&
Bore(mm) £I12 212-,6100 Bore(mm) #11& 212-,6100
Action Zh{E Double acting X zh Action Zh{E Double acting Mz
Fluid itk Air 25 Fluid Rk Air 25
Mounting £3& A X Through hole &L Mounting &3 7 Through hole B¥L

Dimensions(5ME R ~t)

Stroke S:  Stroke Si

N
N
\
I

N
AN

HO— 019 —O

B+Stroke S: B+Stroke S:
A+Stroke(S:+8S2)

Dimensions(5M 2 R ~t)

L B2+Stroke S:

B:+Stroke S
A+Stroke(S:1+S:)

(mm) (mm)
Stroke adjustable A I B Bore(mm) A B, B, L
Bore(mm)|  range

EE%sE (50 Strokeorless| 75,100 [50Strokeorless| 75,100 220 50(74) |19.5(31.5)| 26(38) 4.5
212 41(63) - 17(28) - 225 56.5(76.5)|22.5(32.5)| 29(39) 5
216 5~30 44(68) - 18.5(30.5) - 232 60.5(80.5)| 23(33) |30.5(40.5) 7
220 48(72) - 19.5(31.5) - 240 76.5(96.5)[29.5(39.5)| 40(50) 7
225 5~50 755 75) - 225325 - 250 79(99) [30.5(40.5)[40.5(50.5) 8
232 60(80) | 80(80) | 23(33) | 33(33) 263 88(106) | 36(46) 42(52) 8
240 5~100 73(93) | 93(93) [29.5(39.5)[39.5(39.5 280 104.5(124.5)[43.5(53.5)| 51(61) 10
250 77(97) | 97(97) |30.5(40.5)/40.5(40.5 2100 |125.5(145.5) 53(63) |60.5(70.5) 12
263 10~100 88(108) [108(108) 36(46) 46(46) % () With auto switch#s# M 7 %
280 107(127)[127(127)|43.5(53.5)53.5(53.5
2100 130(150)[150(150)| 53(s3) | 63(63)

¥ () With auto switchTs &1 77 %

Please contact us on any small problems & details.

3.89

| YSC |
EFRYEL K6 IEEES A AREKE. PNEUMATICS




Oysc|

YCU series

Direct Mount Cylinder(Rubber Cushion) & ## % % S L/ R E

Standard specifications (R/E#1)

Bore(£I1&)

6 | 10 [ 16 | 20 | 25 | 32

Fluid Gt &)

Clean Air With Lube((E =S &iHE)

Action(FERR)

SAE B
BERBEERAERY

Proof Press.({RiEME 1)

1.05Mpa(10.5kgf/cm?)

Max. Press.(& S {#BEN)

0.7Mpa(7kgf/cm?)

Amb.Temp(FRERFIKEE)

-5~+60°C(k % )

HOW TO ORDER(E! SRR i%)

Cushion(4 %) Rubber Cushion (i N AX & i)
Stroke Tclerance({T#21EZ35E) +8. 1
*Lubrication(;@i&) rEE

Mounting(%& %) BH(ZEEE
(E\%gigjﬁﬁ(f&}() +0.8° +0.5°

Pipe Size(#& 0Z)Rc(PT) M5x0.8 | 1/8"

YC U -1 30 - |A93K %
Bore Auto Switch(B LR FF %)
GRS NiI(%iE%‘):Non_e(iE) .
Magnet(s ZLiF) stb C73K:Reed Switch(G1& ST %)
Nil(Fi2-2 ):Non(F#3F) troke i =
D:Builtin Magnet(5 ¥F) (17752) wiﬂﬁé\ét)?z%'mh(%*ﬂg)
S:1(1)
Type(& ) Acting(# ) 3:3(1)
Nil(Fi2 S) A H D:Double Acting (X )
KAF R B 4% S:Spring Return (3 & £ [@])

T:Spring Extend (3% # £ 1)

*Please Use Turbine Oil 1st-Grade ISOVG32,If Necessary. (41 % &g,
i% 3% 12 5mISOVG32)

PEt 1T /HMEFFRBS &R
1)F7 5 417216, 1772:10, X3, R HE % 3% 24 Bore | STD Stroke(HFA1T12)(mm) | fif i FF B2
IE# % S:YCUK6-10D (1) e SR | (HEEE)
2)FF B 6L 12:25, {772:25, WRI( & & ), & IR 2 (mm) B X%
EffE S:YCDU25-258 6
1)Required cylinder diameter:6;Stroke:10;double-acting,with 10 5,10,15
non-rotating plunger rod, 20,25,30
Correct Type:YCUK6-10D 16 D-A93K
2)Required cylinder diameter:25;Stroke:25;spring-operated with 20 5,10,15 D-A93KL
drawas,built-in magnetic ring. 510 15.20
Correct Type:YCDU25-25S 25 25.30,40.50
32
iﬁﬂ'ﬁ%ﬁﬂ‘]&%‘%&ﬁﬁé’—ﬁﬁl Very-adaptive installations/rectangular cylinder
EE 35S TR (R 5 BY) HEER(FIRTL) 5> B (R IR TL)

Installation model Psrallel-shaft model(body connected)

Vertical-shaft model (with through bore in the body)

Side-connected (with through bore in the body)

3.90

Please contact us on any small problems & details.

| YSC |
EFEREN KRG, EEESANFEBRSE, PNEUMATICS




@YSC I Direct Mount Cylinder(Rubber Cushion) B £ %2 S FI/R AR E 1
YCU series

Dimensions(mm)(5M&! R <F &) (mm)

EAXRB NEHIAB(NF . B8 E ERL/E L)
Basic model,Model with built-in magnetic ring
(Double action,Single action with spring return/extend)

MM
4NN - %ﬁ 2-gPETL P
% N P -
== é A @ SR
(<Pl P
! A 1 D r‘(/
Y T E 2-gPiE7L N %
L |l ToTRIL
H S(8)+7 1 c
B ZZ)HiTH Lo B
4-NN MM
—@7 2-OP@ 7L 2-M5x0.8
] IR } D
o @ ar < B - =<
2-OPiEFL U
=& £ 4-QTRAL e
H S(8) 7%
B Z2(Z)+17%# GA e
232
MM
4-NN HARY——— .
—P 2-@PiB L 2-PT1/8"
= 1 S (AR S
o|x @ ?\' o % ¥4 <]
Y E 2-@PiEFL b
ﬂi B 4-OTSR AL
H S(8)+712 E
B | 2(Z)+712 GA | GB |
+:[E R ~F % Common Dimension Table
ModelNo.(BLS) A A B C aD E GA | GB J K L MM NN apP Q R aT
YCLIU6 7 - 13 22 3 7 14.5 10 10 17 - M3x0.5 M3x0.5;%5 | 3.4 - 7 6:%4.8
YCLIU10 10 - 15 24 4 7 15.5| 10 11 18 - M4x0.7 M3x0.5;%5 | 3.4 - 9 6IR5
YC[JU16 1 12.5 20 32 6 7 16.5 10 14 25 5 M5x0.8 M4x0.7:%6 | 4.5 4 12 7.6%6.5
YC[IU20 12 14 26 40 8 9 19 12.5 16 30 6 M6x1.0 M5x0.8i%8 | 5.5 9 16 9.5/R8
YCLJU25 | 15.5 18 32 50 10 10 21 13 20 38 8 M8x1.25 M5x0.8:%8 | 5.5 9 20 9.5:%9
YC[1U32 | 19.5 22 40 62 12 11 22 13 24 48 10 [ M10x1.25 | M6x1.0i89 | 6.6 | 13.5 24 | 11R11.5
Wi R+ Dimension Table of Double-acting Cylinder B {EF (3 EEE) R <% Dimension Table of Single-acting Cylinder (with spring-operated withdrawal)
HAR WE#IFE 7 BIBasic Model A B#F EIMode with built-in magnetic ring
Model No. Basic ModeM0de with built-in Model No. ; ,
(B 2) H |Basic Modell " magnetic ring TN H S z W S V4
S Z W | S | Z 5st | 10st|15st| 5st | 10st|15st 5st [ 10st | 15st| 5st | 10st | 15st
YCLJU6-[ID | 13| 33 | 46 | 2.5 | 33 | 46 YC[JU6-[1S| 13| 38 | 43 | 48 | 51 | 56 | 61 |2.5| 38 43 | 48 51 56 61
YCLJU10-C1D| 16 | 36 | 52 4 36 | 52 YCLIU10-JS| 16 | 41 | 46 | 56 | 57 | 62 | 72 4 41 46 | 56 57 62 72
YC[JU16-[1D| 16 | 30 | 46 0 40 | 56 YCLJU16-[1S| 16 | 35 | 40 | 50 | 51 | 56 | 66 0 45 50 | 60 61 66 76
YC[JU20-CID| 19 | 36 | 55 4 46 | 65 YCLJU20-JS| 19 | 41| 46 | 56 | 60 | 65 | 75 4 51 56 | 66 70 75 85
YCLIU25-(ID| 23 | 40 | 63 -1 50 | 73 YCJU25-[J]S| 23 | 45 | 50 | 60 | 68 | 73 | 83 | -1 55 60 | 70 78 83 93
YC[JU32-(ID| 27 | 42 | 69 | -4 | 52 | 79 YCLJU32-[1S| 27 | 47 | 52 | 62 | 74 | 79 | 89 | -4 | 57 | 62 | 72 | 84 | 89 | 99
B{ERGEEE H)R T3 Dimension Table of Single—acting Cylinder (with spring—operated withdrawal)
E A ZBasic Model M & #31 EMode with built-in magnetic ring
Model No. H S Z S 2
(BS) w
5st 10st 15st 5st 10st 15st 5st 10st 15st 5st 10st 15st 5st 10st 15st
YCLJU6-ID 18 23 28 38 43 48 56 66 76 2.5 38 43 48 56 66 76
YCLJU10-C1D 21 26 31 41 46 56 62 72 87 4 41 46 56 62 72 87
YC[JU16-LI1D 21 26 31 45 50 60 66 76 91 0 45 50 60 66 76 91
YCL[JU20-C1D 24 29 34 41 46 56 65 75 90 4 51 56 66 65 85 100
YC[JU25-C1D 28 33 38 45 50 60 73 83 98 -1 55 60 70 83 93 108
YCJU32-L1D 32 37 42 47 52 62 79 89 104 -4 57 62 72 89 99 114

*st=1T2

Please contact us on any small problems & details. 3.91 FiFARE KGR, HEESAARRE, PNUACS




Oysc|

Dimensions(mm) (M2 R~ E)(mm)

HAB%E NE#RE (N, BahEEL/E L)
Rod non-swiveling,Model with built-in magnetic ring
(Double action,Single action with spring return/extend)

Direct Mount Cylinder(Rubber Cushion)E 1%

YCUK series

E°S

dE =
Z< \

£

E/AR R i

- N -
7% - MM 2-M5
e
FiEh == : w d o)
> o] _«%
A : — Loa] Iy
ud o T
|Fr| H S(S')+Stroke
LB Z(Z')+Stroke
o 2-K1 L 2-NN 2-OPE 7L 2-M5
=g w [T
o Vv Q @@T S@ f/
© & 2 O T T b . T O:
17\ Py 4
> = | D R —Ki% W
e Al e Le]
m ol el pmmm el el
EK H S(S')+é|roﬂa
B 7(Z')+Stroke
232
2-K1 2-NN
[ 4 o g 2-OPEFL 2-1/8
I:] w‘ r‘] M‘\ gl ) § Ny
JiE 20l & 5 4
of HHOH ¢ - - + o « EH ) A—— J
@A 5 ®
>| :] o0 E [\ p
y o i 2-OPE7L ‘EEA GB,
L] A LFoLE TOTRA s
FK H S(S')+Stroke
B Z(Z')+Stroke
#FE R~F% Common Dimension Table
ModelNo.E25) A | A’ | B | C |@D| E | F |[FL|FK|FY|GA|GB| H | J [ K| K1 L MM [NA|NB NN gPQ R T (U |Y
YCLOUKG| 7 | - [13|22| 3| 7| 8| 9| 11|20.5114.5 10| 18| 10|17 |[M3x0.5 - | M3x0.5 | 6 | 14 [M3x0.5/%5|3.4| - | 7 | 6i84.8 | 10 [10.5]
YCLJUK10| 10| - |15|24| 4 | 7 | 8 [12]12]22[155( 10| 21| 11|18 |M3x0.5| - | M4x0.7 | 7 |15 |M3x0.5/85(3.4| - | 9 6;R/5 [10.5/11.5]
YCLIUK16| 11 (12520 (32| 6 | 7 | 8 |17 |13 |28 |16.511.5/ 26 | 14 | 25 [M4x0.7| 5 | M5x0.8 | 6 | 18 |M4x0.7;R6(4.5| 4 | 12 |7.6;86.5|12.5/15.5]
YCLJUK20[ 12|14 [26|40| 8 | 9 | 8 [20| 16|33 | 19(12.5/ 29| 16| 30 [M4x0.7| 6 | M6x1.0 | 8 |20 [M5x0.8;%8|5.5| 9 |16 | 9.5%8 [13.5/19.5]
YC[JUK25[15.5| 18 | 32| 50| 10| 10| 10| 22|20 [43.5/ 21|13 | 33| 20| 38 [M5x0.8/ 8 |M8x1.25| 10 | 28 [M5x0.8;%8|5.5| 9 |20 | 9.589 | 19 |24.5
YCLJUK32[19.5/ 22 {40 | 62| 12| 11| 12| 29|24 [51.5/ 22 | 13| 42| 24 | 48 [M5x0.8| 10 [M10x1.25| 12 | 32 [M6x1.0;%9|6.5(13.5| 24 [11;%11.5| 21 |30.5|
M R<F% Dimension Table of Double-acting Cylinder B £ (8 E EE]) R~ % Dimension Table of Single-acting Cylinder (with spring-operated withdrawal)
) AEHIRE A #IBasic Model M E# IR EMode with built-in magnetic rin
Model No. EXH |Mode with built-in Model No. - g’ g
(;:;J:]- _%,) H Basic Modell maqneuc ring (;;:U _%_) H S Z w S V4
S Zlw|s |z 5st | 10st| 15st| 5st | 10st| 15st 5st | 10st| 15st| 5st | 10st| 15st
YCLJUKe-[1D| 18 | 33 | 51 | 2.5 | 33 | 51 YCLJUK6-[]S| 18 | 38 43 | 48 56 | 61 66 |2.5| 38 | 43 | 48 56 | 61 66
YCLJUK10-CID| 21 | 36 | 57 4 36 | 57 YCLJUK10-C1S| 21| 41 46 56 62 67 77 4 41 46 56 62 67 77
YCLJUK16-[JD| 26 | 30 | 56 0 40 | 66 YC[JUK16-[1S| 26 | 35 | 40 | 50 61 66 | 76 | O | 45 | 50 | 60 | 71 | 76 | 86
YC[JUK20-(]D| 29 | 36 | 65 4 46 | 75 YCLJUK20-[1S| 29| 41 | 46 | 56 | 70 | 75 | 85 | 4 51| 56 | 66 | 80 | 85 | 95
YCLJUK25-(]D| 33 | 40 | 73 -1 50 | 83 YCLJUK25-1S| 33 | 45 50 60 78 83 93 | -1| 55 60 70 88 93 [ 103
YCLIUK32-[]D| 42 | 42 | 84 | -4 | 52 | 94 YCLIUK32-[]S| 42 | 47 | 52 | 62 | 89 | 94 [ 104 | -4 | 57 | 62 | 72 | 99 | 104 | 114
B{EF (B8 E E 1) R~F & Dimension Table of Single-acting Cylinder (with spring—operated withdrawal)
#Basic Model B IR EMode with built-in magnetic rin
Model No. H Exd R i EMod gne'lc ring
) aT uly S Z S z
(=) w
5st | 10st | 15st 5st | 10st | 15st | 5st | 10st | 15st 5st | 10st | 15st | 5st | 10st | 15st
YCLJUK6-[IT 18 23 28 6;74.8 10 10.5 | 38 43 48 61 71 81 2.5| 38 43 48 61 71 81
YCOOUK10-OIT | 21 26 31 6IR5 105 | 11.5 41 46 56 67 77 92 1 41 46 56 67 77 92
YCLOUK16-(IT | 21 26 31 7.6:£6.5 | 125 | 155 45 50 60 76 86 101 0 45 50 60 76 86 101
YCLJUK20-[(IT | 24 29 34 9.5:%8 135 | 195 | 41 46 56 75 85 100 1 51 56 66 85 95 110
YCLJUK25-(JT | 28 33 38 9.5/%9 19 | 245 | 45 50 60 83 93 108 | -1 55 60 70 93 103 | 118
YCLIUK32-(JT | 32 37 42 113%11.5 21 30.5 47 52 62 94 104 | 119 -4 57 62 72 104 | 114 | 129
1T
Please contact us on any small problems & details. 3.92 FiFARE RE R, HEESAARRE,




Guide Cylinder(F5 S+ 5 1)
@YSC I YMGP(s12~2100) series

YMGP % %/Series Standard specifications(¥x/# #1&)
Bore(I1Z) 12[16]20[25[32[40]50]63][80][100
Fluid GRL 1) CleanAir(E %= %)
Action(FI{EFR) Double-acting (¥ 1)
Proof Press.(Mi &R 77) 1.5Mpa(15.3kgf/cm?)
Max. Press.( &£ E 1) 1.0Mpa(10.2kgf/cm?)
Min. Press.(RIEERAIE 1) 0.12Mpa(1.2kgficm?)
Amb.Temp(FREFIRAGE ) -5~+60°C(kK FH &)
Piston Speed(;&Z® &) 50~500mm/s |  50~400mm/s
Cushion(£& ) BB LB i
Stroke Tclerance(1TH2AZESE ) S mm
*Lubrication(G& &) Not Required(R~ £ %)
Bearing(4#7%) B B RAR IR T 8 X
Rod Non-Ratary Allow | Slide Bearing(i&sh##%) | +0.08° | +0.07° | +0.06° | +0.05° | +0.04°
ance (7 E4F A [EI#e 45 ) [Ball Guide Bearing(#3# 4% +0.10° | +0.09° | +0.08° | +0.06° | +0.05°
Small and light Size(# & O 1&)Rc(PT) M5x0.8 1/8" 174" | 3/8
High resistance to lateral loads
High resistance to torsioning force *Please Use Turbine Oil 1st-Grade ISOVG32,If Necessary.(d1E E;idi8, iEFHIETF1S;HISOVG32)
High pecision in terms of non-swiveling
Guide—_rod bear_ing is slide bearing or —
ballguide bearing. se Order Example (3T £ 2¢41))

Optional nozzle positions on two sides

1) FrE IR 12, 1738 50, B3R, 1) Required cylinder diameter: 12; Stroke: 50, with slide bearing
*RALN R TS EmES: YMGPM12-50 Correct Type: YMGPM12-50
M fa IR 5 2) FTE4I1Z: 40, 1712: 100, RS @&, 2) Required cylinder diameter: 40; Stroke: 100; with ball guide
TEFERES FRUsoMELT, BENE, bearing, male threads on rod end, and rubber buffer
:ig*jgﬂg%ﬂﬁﬁf@ﬁmﬁﬁfﬁﬁ%rﬁlﬁif:"‘ EMBEE. YMGPL40-100 Correct Type: YMGPL40-100
s
* T g g b2 . . . —_ \ sz
—EREEET R Stroke/magnetic switch selection(fTF2/f4 14 FF £ HE)
Model Selection(ﬂ%ii:?%) Cylinder Dia'meter(mm) Stroke_Ra,rlge(mm) TR
(£I1Z) (FRAETTIE) iR dE R
Model with built—in magnetic ring:YMGP 12,16 10,20,30,40,50,75,100
(P EHEINEY) 20,25 20,30,40,50,75,100,150,175,200 PRO-A1
WG oL e ﬂ@ — 32,40,50,63,80,100 25,50,75,100,125,150,175,200
L-Ball Guide Beari
R Note: medium stroke (5, 10, 15, 20, 30, 35...) is plus 5, 10, 15, 20mm backing plate
M—;‘%fd)iﬁﬂ o For example, YMGPM50-10 means that a 15mm thick backing plate is added between YMGPM50-25
LIRS PR Stroke(T) . HETAZ(S, 10, 15, 20, 30, 35..) 215, 10, 15, 20mmBHIEH,
Cylinder Diameter(£I12) Fa0: YMGPM50-10=21015mmEK#4#7EYMGPM50-252 i),
fo- 1omm
25 4 25mm AES Y &5
32- ¢ 32mm
40- ¢ 40mm
50— ¢ 50mm Cylinder Diameter F(N) (&5 o ) 7 £ 26)
gg— ¢ ggmm mm A Stroke(mm)(fT18)
T00~ & 100mm (fI2) 10 [ 20 [ 25 [ 30 | 40 | 50 | 75 [100[125 [150] 175 | 200
F 12 YMGPM | 24 | 19 | - 17 [ 14 | 183 | 26 | 22 | — - - -
YMGPL | 37 | 27 | — | 22| 35| 30|23 |18 | - - - -
l 16 YMGPM | 38 | 31 - |27 |23 |21 |37 |32 | - - - -
T YMGPL | 54 | 40 | — | 32 | 54 | 47 | 35 | 28 | — - - -
J 20 YMGPM| - | 49| - |43 |38 |35 |87 | 75|66 | 59| 54| 49
YMGPL | — | 58| — | 48 |101]| 90 | 70 | 58 | 62 | 54 | 48 | 43
25 YMGPM| - | 69| - | 60 | 54 | 49 [116[100| 88 | 79 | 71 | 65
YMGPL | — | 82| - | 68| 32 |118] 93 | 77 | 80 | 70 | 62 | 55
E 32 YMGPM | - - 1203] - — [ 164 (182|159 |142 | 127 | 116 | 106
YMGPL | - - | 113] - — | 78 [130|107 130 | 114|101 | 90
l 40 YMGPM | - - 1203| - — 1164 (182|159 |142 | 127 | 116 | 106
] YMGPL | — - |113] - - 78 129|106 1130 | 114 [ 101 | 90
50 YMGPM | — - 1296 | - — [245(273 1241|216 | 195|179 | 164
YMGPL | - - |120] - — | 83 178148148 | 129|114 | 102
63 YMGPM | — - 1296 | - — [245[273 1241|216 | 195|179 | 164
YMGPL | - - |117] - — | 81 176145145 126|111 | 99
- 80 YMGPM | — - |352] - — 297368329298 | 272 | 251 | 232
YMGPL | — - |125] - — 199 [281|240|208 | 184 | 163 | 147
100 YMGPM | — - |515] - — | 445|498 | 450|410 | 377 | 349 | 325
YMGPL | - - 1138] - — [ 108395340297 | 263 | 235 | 211

| YSC |
Please contact us on any small problems & details. 3.93 FiFARE KGR, EHEESAATRE, PNEUACS




®Ovysc|

Guide Cylinder(F5 S+ 5 1)

YMGP(s12~2100) series

Cylinder Diameter sAHET (N.MD
mm A5t Stroke(mm)(1T#8)
(EI1Z) 10 [ 20 [ 25 [ 30 [ 40 [ 50 [ 75 [100[125[ 150 175 [ 200
12 YMGPM [0.39]0.32] - [0.27|0.24[0.21][0.43[0.36] - | - | - | -
YMGPL [0.78]/0.66] — [0.57/0.93]0.85[0.69[058] — | - | = [ -
16 YMGPM [0.69/0.58] - [0.49/0.43[0.38/0.69/058] - | - | — | - , , )
YMGPL [1.23]1.06] - [0.92]1.53]1.40[1.16/0.99] - | — | — | = | Overall Dimension Drawing(mm)
20 YMGPM | - [1.05] — 0.93]0.83]0.75/1.88/1.63/1.44|1.28/1.16/1.06| (5pi2 R~F (mm))
YMGPL | - [1.70] - [1.52|3.06|2.87|2.47|2.17|2.38]2.16]1.98[1.82
o5 YMGPM| - [1.76] — [1.55[1.38]1.25/2.96|2.57[2.262.02]1.83]1.67
YMGPL | — [2.80] — |2.53]4.67|4.39]3.81]3.36]3.653.31|3.02]2.78 212-¢25
39 YMGPM| - | - |635] - | - [5.13]5.69/4.97|4.42]3.98/3.61]3.31 SYYRYL
YMGPL | - [ - [476] - | - [3.86]6.53|5.57]7.10(6.46]5.92]5.47 A=
20 YMGPM| — | - [7.00] — | — |5.66]2.27|5.48]4.87 | 4.38| 3.98]3.65 DXARXL
YMGPL | - [ - [524] - | - [4.25]7.19/6.33]7.81[7.11]6.52]6.02 ]
50 YMGPM| — [ - [1300] - | - [10.8[12.0]/10.6]9.50(8.60(7.86]7.24 ] - .
YMGPL | - [ - [703] - | = [5.76]12.3]10.9][11.2[10.2]9.40]8.69 L] i ]
63 YMGPM| - [ — [1470] - | - [12.1]13.5[12.0[10.7[9.69]8.86]8.16 & 4
YMGPL | — | — [777] - | - [6.35[13.7]12.2]12.5]11.4]10.5|9.65 | o
80 YMGPM| — [ — 2200 - | - [18.6]22.9]20.5[18.6[17.0[15.6][14.5 «< B — = S
YMGPL | — [ - [10.30] - | - [9.35[24.8]22.7[20.9[19.4]18.0[16.9 — #
100 YMGPM| - | - 3880 - | - [33.5[37.5/33.8/30.9(28.4[26.2[24.4 o o
YMGPL | — [ = [13.60 - [12.2]41.1]37.9]35.1]32.7][30.5]28.6 - }
WB XX &R
Z WA
XX #B L 4-MMEML Z___WA 4-@OA 7L 4-NNB 7L XX
4-@0OBROL
5 ] | \
=== [
_ Ll L
8 < s
o g <>’: T D¢ 5= — = X 5 0 N ol x +—
;&I @ m M ;2
R gle - —al &)
% A — Tlm m < . (@
/P8 GA] N Q
2-P/ PA+{T#2 GB S
G FA FB C+1T#E
B+T12 E
A+1T12
Detailed drawing of XX Part
(XXER £ 20 &)
o
x
XA H7 /4
XC|
XL
(Common Dimension($ 12— $25)YMGP, YMGPL[E R ~f
st=Stroke({T#%)
Cylinder Diameter|
mm Sm”gféi??“ B | C |DA|FA|FB| G |GA|GB| H [HA| J | K| L| MM |ML| NN |oAloBloL|HA| P |PA|PBIPW| Q
(5T) (FR7ETTEE)
12 10,20,30,40, |42 |29| 6 | 8 | 5 |26 11|7.5/58|M4| 13|13 |18 |M4X0.7| 10|M4X0.7|4.3| 8 |4.5|M4|M5X0.8( 13| 8 | 18 | 14
16 50,75,100 | 46|33 |8 |8 |5 (30|11 | 8 |64|M4|15|15|22|M5X0.8| 12|M5X0.8/4.3| 8 |4.5/M4|[M5X0.8| 15 | 10| 19 | 16
20 gg,?gb4t1)é550 53|37 /10|10| 6 |36 |105(8.5/83 |M5| 18| 18| 24 |M5X0.8| 13 |M5X0.8|5.6(9.5(5.5|M5|RC1/8(12.5/10.5| 25 | 18
25 150,175,200 |535(37.5/12|10| 6 |42[115| 9 |93|M5|21 |21|30|M6X1.0| 15|M6X1.0|5.6|9.5|5.5|M5|RC1/8 |12.5/13.5/28.5 26
3.94

Please contact us on any small problems & details.

FEFEREN RS, HEESENRBRE.




®Ovysc|

Guide Cylinder(F5 S+ 5 1)
YMGP(¢12~2100) series

[?ylinder Standard Stroke WA wB
| erm |R|[S|T|U|VAVB X |XA|XBIXC|XL| YY |YL|Z
(mg) <30st [40st-100st| =125st | <30st |40st-100st| =125st
12 |10,20,30,40]48|22|56|41|50|37| 20 40 - 15 25 - |23 335/ 3|6 |M5X0.8/10| 5
16 | 8075100 |54|05/62|46|56(38| 24 44 - 17 27 - |24/ 335/ 3|6 |M5X0.8/10| 5
20 1075013812550 70|30(81(54(72(44| 24 44 120 29 39 77  |28] 3 (3.5) 3| 6 |M6X1.0[12|17
25 | 150175200 | 78|38|91|64 (82|50 24 44 120 29 39 77  |34] 3 |45 3| 6 |[M6X1.012|17
YMGPM Slide bearing (i&zhih %) YMGPL Roller guide bearing (& 5h S [6] 5 7%)
Cylinder Diameter A E Cylinder Diameter A E
mm DB mm DB
() <50st | 50~100st <50st | 50~100st (@&  [<30st|30~100st[>100st| | <30st| 30~100st]>100st
12 42 60.5 8 0 18.5 12 43 55 - 6 1 13 -
16 46 64.5 10 0 18.5 16 49 65 - 8 3 19 -
<50st | 50~200st <50st | 50~200st 20 63 80 104 |10 10 27 51
20 53 84.5 12 0 31.5 25 69.5 85.5 104.5 13| 16 32 51
25 53.5 85 16 0 31.5
Overall Dimension Drawing(mm)(4ME R ~F (E¥))
4-YYRYL G 4-MMIEML
XX #B XX &B L
232-¢63 — ‘
¢ 49
= 8 S
—-—-—-— ¢ S =
— 3 ]
X x
B ¢
o WB 2-P
V4 WA
zZ__ WA 4-GOAB 7L XX
4-@OBROL
. . [ H
Detailed drawing of XX Part R e e e s L‘“’{}
(XXER 1 48 &) ] 7]
|
< ™ N =1 g
9 DY) — - [ {—(J i E
h A
m Iz
Xt & T E Jé
I I S P N E—
XA H7 /4 st ] dj ‘F 9‘@
Xc)iL GA| ‘ GB N 2-p o
FB| PA+{T 12 2
7ﬁf_—.\0 jj__ = £ GXARXL S
BT
A+{TiE
(Common Dimension TabeYMGPM, YMGPL G R ~F Y
st=Stroke(1T#%)
Cylinder Diameter
mm | SRS | B | C|DA|FA|FB| G |GA|GB|GC| H [HA| K| L | MM |ML| NN |oAlOB[OL| P |PA|PBIPW| Q
(f1) :
32 59.5(375| 16| 12|10 | 48 |[125| 9 125112 M6 | 24 | 34 | M8X1.25| 20 | M8X1.25| 6.6 | 11 |75 |RC1/8| 7 | 15|34 | 30
40 10205’15205*71%0 66 | 44 | 16|12 |10|54 | 14| 10| 14 |120| M6 | 27 | 40 | M8X1.25( 20 | MBX1.25| 6.6 | 11 [7.5|RC1/8| 13 | 18 | 38 | 30
50 175 200 72 44(20(16|12(64 | 14| 11| 12 |148| M8 | 32 | 46 |M10X1.5( 22 | M10X15(86 | 14 | 9 |RC1/4| 9 [215] 47 | 40
63 77| 49|20 |16 | 12|78 |165(13.5/165|162|M10| 39 | 58 | M10X1.5| 22 | M10X1.5|86 | 14 | 9 |RC1/4| 14 | 28 | 55 | 50
&mggr Standard Stroke WA WB
daid orokel R T|U|VA|VB X |XA|XBIXC|XL| YY |YL|Z
om | OwEAE) SIT|Y 25st  |50,75,100st] =100st | 25st |50,75,100st] =100st xC
32 96(44[11078|98|63| 24 48 124 33 45 83  |42| 4 |4.5| 3| 6 |MBX1.25 16|21
40 1020555205;71550 104/ 44/118/86 [106| 72| 24 48 124 34 46 84 |50/ 4 |4.5| 3 | 6 |M8X1.25(16|22
60 | 175200 [130/60[146110130 92| 24 48 124 36 48 86 (66| 5| 6|4 |8 |M0X1520| 24
63 130/ 70(158124/1421110| 28 52 128 38 50 88 [80| 5|64/ 8|Moxi520| 24
Please contact us on any small problems & details. 3.95 FiFARE KGR, EHEESAATRE,




®Ovysc|

YMGPM Slide bearing (i&Zh#h&)

Guide Cylinder(F5 S+ 5 1)
YMGP(¢12~2100) series

YMGPL Roller guide bearing & zh S mi#h%K)

Cylinder Diameter A DB E Cylinder Diameter A E
mm, mi
(#8) <50st |50~200st <50st |50~200st (B8 |<50s(50~100s{100~200st ° ° <505{50~100s{100~200s{
32 97 102 | 16 | 375 | 425 32 81| 98 118 |16/21.5] 385 58.5
40 97 102 [20 ] 31 36.5 40 81| 98 118 |16| 15 | 325 52
53 1065 | 118 | 25 | 345 | 46.5 50 93 | 114 134 20| 21 | 425 62
60 1065 | 118 | 25 | 29.5 41 63 93 | 114 134 |20| 16 | 37 57
Overall Dimension Drawing(mm)(4ME R~ (E X))
QSO'g1 OO 4-YYRYL G 4-MMZEML
XXEB XXEB L
¢ 4o
N
= S
W—-——"7T 3
x
B ¢ <
o WB
Z_ 1. WA
Z__ WA 4-@GOAEFL XX
- 4-@OBROL .
Detailed drawing of XX Part - ‘L@
(XX 3 28 ) e s s i<
2 [
HEN,
< 1A 18
=) X _——_— D [[14 @ o
Q t] HJ ] &
m¢ = = B X<
. S 2 |
. b
XA H7 7 @ ﬁ,ﬂ, . S .6
Q
AC LM m \ P
XL GA| GB “N_2-P a
FB PA+{T12 .
=0 Crist DXARXL S
B+{T 12 E
A+{T12
(Common Dimension TableYMGPM, YMGPLi [E R ~F .
st=Stroke({T#%)
Cylinder Diameter | gy 4ard Stroke
(mm) (e | B | C |DA|FA|FB| G |GA|GB(GC| H [HA| J |JA|JB| K MM [ML| NN |OAOBOL| P |PA|PB|PW
(fﬂ&) MRETTAE,
80 255075100, |96.5(56.5( 25| 22 | 18 |915| 19 [15.5 14,5202 [M12(455| 38 | 7.5 | 46 | 54 [M12X1.75] 30 |M12X1.75[10.617.5 8 |RC3/8| 145|255 | 74
100 |125150,175200( 116 | 66 | 30| 25 | 25 [1115 23 | 19| 18 | 240 |M14|555] 45 |10.5| 56 | 62 | M14x2.0| 32 | M14X20[12.5 20 | 8 |RC3/8|17.5(325| 89
Cylinder WA WB
e | S s | Q [R | S| T|U|vA|vB X [XAIXB[XC|XL| YY |YL|Z
o 25st  |50,75,100st| =100st | 25st |50,75,100st] =100st
80 | 255075100, | 52[174]75(198[156180140 28 52 128 42 54 92 100/ 6 | 7 | 5 |10|M12X1.75 24 | 28
100 |1519017%52000 541510/ 90 [236188210/166] 48 72 148 35 47 85 [124/ 6| 7 | 5 [10|mi4x20[ 2811
YMGPM Slide bearing (i&zhih %) YMGPL Roller guide bearing (& zh S [a 5 7%)
Cylinder Diameter A E Cylinder Diameter A E
(mm) DB mm DB
(iR) <50st |50~200st <50st |50~200st (R  |<25s{25~50st/50~200st|~ - |<25s{25~50st/50~200st
80 115 142 | 30| 185 | 455 80  [109.5 130 160 |25| 13 | 335 | 63.5
100 137 162 [ 36 | 21 46 100 121] 147 180 |30] 5 31 64
Please contact us on any small problems & details. 3.96 FiFARE KGR, EHEESAARRE,




Oysc|

Block Cylinder(S &I = &1/ 5 M #F2Y)

YCXS series

HOW TO ORDER(E{ S &R Fi%)

YCXS -

M

-

COMMON SPECIFICATIONS (£ E #11&)

Bore(#I1%)(mm) 6 | 10] 15 [ 20 | 25 | 32
Fluid G7E 1) CleanAirGE %= %)
Action(F1EFR) Double(X £ F)

Proof Press.(iEiX3&E /1)

1.05Mpa(10.7kgf/cm?)

Max. Press.(\R & {EHEH)

0.7Mpa(7.1kgf/cm?)

Min. Press.(R{EERIE7)

0.15Mpa 1 Skafcm’] 0. 1Mpa{1.Okgfiem’} [0.05Mpa(0 51kgfinr)

Amb. Temp (BRI IRIRE)

-5~+60°C(KR K &)

Cushion(£& %)

4 i 15T 28 i

Formation(£5#4)

XS EL(21E i 1)

*Lubrication(Gi#ig)

Non-Lube(REE)

Stroke Tclerance({TA2 HESE

45 8] {T#20~-5mm

Bearing(4#7%) B B 4 Rk 5 &

Rod Non-Ratary| sa znami& |+0.1°|£0.15° £1.3°[20.11° £0.1°|+0.08°
Allowance((EE —

HAREHEE) | PRk |£0.1°)£0.1°|+0.07°|20.06°+0.15°+0.04°
Size(#E& O12)Rc(PT) M5x0.8 1/8"

*Use Turbine Oil1st-Grade ISOVG32,When Use(#N EE;ii8,15 HiET15;HISOVG32)

- PRO-B1

YSC Model(fX5) Bore Type Stroke No.of Auto Switch
(F11%) (17%8) (R KB E)
Nil(FZi25): 2(4)
S 1(h)
— 3:3(1)
T Model(#F5)Bore Type(#[#2) Standard Stroke(#r/1712)
Bearing Type (5l A& 2E)
M:Silde Bearing 6 6mm 10,20,30,40,50,
(B EhEhA) 10,15,20,25,30,35
L:Ball Bushing Bering 10 10mm 404550607075
(R B HIK) 15 15mm
20 20mm 10,15,20,25,30,35,
40,45,50,60,70,75
25 ) ) ) ) ) y
2 mm 80,90,100
32 32mm
| =] 2o L = ia =h &b
BRABTFHREK HFinfaEE BFohee
w s
e ,
w 2w o[ YCXSLI32
o __ ] \
% - ®o— -0 -G [YCoXS[Ja2 X
'f Extended Rod 20 YCXS&]2O a \
' ALY
LYCXS[]15 \
> X\ .Y
% {Ycxsisiidd bearhg) 015 2 10 t RN
_ “‘——— CXSL(Ball hushing beating) .5 chsﬂm \\\)
E; Y a3 = LN
32 N € o1 < \
£ Y > S 2 \ L
2 W < 1
2 A\ 2
5 \\‘ NS 50 05 // | YCXS[16 \ \
51 5 \“\ ‘\\\ g ’ // A WA ¥
€ il > LY
g .Y Q\ R 0.5
g1 N Nast | 0 20 40 60 80 10Q 04 \C 3
2 N \\\ S XXfjee Stroke(mm) 03 \ \
- o g 0.2
‘1\ ‘k Bt Housing \
0.5 |~ B e 25 .- /Plate \
-..,_‘_h\\::::‘\,___: 20 = ‘ 0.1
Kooy ~ | m 0.05
— ~~<T0=L"_"7]15 — R 50 100 200 300 500
e e A0 ﬁ@q $\# °
0 2 4OCyIinedoer st?ooke(n:r%) ] == Cylinder speed(mm/s)
Please contact us on any small problems & details. 3.97 EFARE L R 6, B EES AN RBRE.




Block Cylinder(FUEL < &1/ 5 4T 2
©YSC I YCXS series

RER (kg)

ModelziS 10 15 20 25 30 35 40 45 50 60 70 75 80 90 100
YCXS-6 0.081 - 0.095 - 0.108 - 0.122 - 0.135 - - - - - -

YCXS-10-M | 0.15 0.16 | 017 | 0.18 | 0.19 | 0.20 | 0.21 022 | 023 | 025 | 0.27 | 0.28 - - -

YCXS-10-L | 0.16 | 0.165| 0.17 | 0.18 | 0.19 | 0.20 | 0.21 022 | 023 | 025 | 0.27 | 0.28 - - -

IYCXS-15-M | 0.25 | 0.265| 0.28 | 0.29 | 0.30 | 0.315| 0.33 | 0.345| 0.36 | 0.39 | 042 | 0435 | 0.45 | 048 | 0.51
IYCXS-15-L | 0.27 | 0.285| 0.30 | 0.31 0.32 | 0.335| 0.35 | 0.365 | 0.38 | 0.41 0.44 | 0.455| 0.47 | 0.50 | 0.53
YCXS-20-M | 0.40 042 | 044 | 046 | 0.48 | 0.495| 0.51 0.53 | 055 | 0.585| 062 | 0.64 | 066 | 0.70 | 0.74
YCXS-20-L | 043 | 0.445| 0.46 | 048 | 050 | 0.515| 0.53 | 055 | 0.57 | 0.605| 0.64 | 0.66 | 0.68 | 0.715| 0.75
IYCXS-25-M | 0.61 | 0.635| 066 | 0.69 | 0.72 | 0.745| 0.77 | 0.80 | 0.83 | 0.89 | 0.95 | 0.97 | 0.995| 1.06 1.10
YCXS-25-L | 0.62 | 0.645| 0.67 | 0.70 | 0.73 | 0.755| 0.78 | 0.81 0.84 | 0.895| 0.955| 0.98 | 1.005 | 1.065 | 1.11
YCXS-32-M | 1.15 119 | 1.28 | 1.275| 1.32 1.36 1.40 1.45 1.49 158 | 1.665| 1.71 | 1.755| 1.84 | 1.93

IYCXS-32-L | 1.16 | 1.205| 1.25 | 1.295 | 1.34 1.38 142 | 1.465| 1.51 | 1.595| 1.68 1.72 | 1.765 | 1.855 | 1.94

Dimensions(mm)(5MEZ R~ B (mm))

_Stroke, 58.5+{T#E
5.5 8 45+1T7E
18 2.75 13 10+1/2075E 2-03 47
2-06 5MAL 33
P 1 (]
ws\ 19
b | Q | —
~ J q> 2-M3%0.5 o TP N— <
5|3 9|l+—-— Qe Ly - ) D2\ A _
@) 1 ©| ™| ! ﬂ; & N
> =
L7 M2.5%0.45*6L M3*0.5%12.5%M30.5
AN 24T (AR (RNAEE)

2-M3*0.5i%4.5

10 13+1T#8 e

i 3 {}q {Z 4

225 11 2-M5*0.8i%4.5
BED, @ @EER

[

13 10+1/217%#8

H
L

Model(2YS) |Stroke(fT#8) 10+1/29T72| 13+1THE | 45+1T#2 |58.5+1T12
YCXS-6-10 10 15 23 55 68.5
YCXS-6-20 20 20 33 65 78.5
YCXS-6-30 30 25 43 75 88.5
YCXS-6-40 40 30 53 85 98.5
YCXS-6-50 50 35 63 95 108.5

Please contact us on any small problems & details. 3.98 EFARE L R 6, SRS AN RBRE. PNUACS




Dimensions(mm)(5MEZ R ~F B (mm))

YCXS-10.15.20.25.30

Stroke Y4
B Y (A R ERET) J SS
D | L z M
1 b——q —t
é b | Y=t
N ]
/
[E— —
N N
< 4—+— 9 Q= 4 - »7*(}77{ — - o y—t
o o
& | = — e —————
=
. )|
LE.| \F\X(hAm#e) N/ 00(x#B4T)BPP (A 22E)
@10, 15
(L) (2) v
- L. . @ v uu T 7
- 1 [ ] ¥
o | é ': Y
-—eo— &1 1o ot ——®- —®
= : g1 - * g
o LR o U <]
S & R w b _lu
(L) (Z) w
o
U@*k*%"‘@*f*% -—-T
Model®#S)| A|B|C|D|E F G|H|I]|J|K|L M N |NN| O |OO| P |[PP| Q |QQ| R |RR| S |SS| T |TT| U uu V W | X|Y|Z|Z2Z
YCX$-10-10 10 | 65 82
M4 M3 M3 |30} —
2-93.4 | 2-M3 4-M3 - [2-M4|
YCX$-10-20 o4 | e > wa 20 | 75 f0s forlx | = [ ]e2
YOXS-10.30 46 | 17| 44 | 15 |7.5| x0.7 | 3520 | 4 | 8 | 9 | 20| 2065 | s 6| 5 |% (sl x |os| 7 |50 7 [a0[6s] - |5 |8 Y e e | GO 102
YCXS-10-40 (&) AR R 145 |07 40 | 95 (EaD) miam) 7 1015 Jaof112
YCXS-10-50 - 50 | 105 122
YCXS-15-10 10|70 89
2-04.3 | 2-M4 M4 AMS |y Mg fooms MB | M4 25—
YCXS-15-20 04 x 20 | 80 x0.8 x | x | |99
2-M5 B | x0.7 07 M4 BLRE |pgror o [0 0.8]0.7
YCXS-1530| 58 | 20| 56| 18| o | X0.8 | 45| 25| 5 10| 9 | 30| 208 | six | o8| 6 || 48| x | 10|10 385\ 10[30] 00| - |5 |8 TS merwer | #0007 100
i MILRE| RE . Ty w PO
YCXS-15-40 i’ TARE RE 145 0.7 40 [100 (}({%}EDF)J sl 8 105 [3s[119
YCXS-15-50 50 [ 110 129
YCX$-20-10 10 | 80 sl
YCX$-20-20 20 | 90 114
2-M4 M6 4-M5
YCX$-20-30 25 x " 30 100 08 : 124
YCXS-20-40 | 64 | 25 | 62 | 23 [11.5] x0.8 | 50 | 28 | 6 | 12 | 12 ot0] 8 |"0| 53| x |7.75/12.5) 45 |7.75] 40 [110]9.5|6.5| 8 BARE ORI | B 7| (40[134
- - R
YCXS-20-50 vE ) : 185 |10 50 | 120 (90 (aymigm) 10 |12 5 | [144
YCXS-20-75 - 75 [145 (e 60l
YCXS-20-100) 100[170 194
YCXS25-10 10 | 82 s0/1%
YCXS-25-20 20| 92 116
a60 | 2.5 M6 s [2-M8 M6 | M6
YCXS-25-30 o6 269 | 2Me x Ve 30 [102 sMs 15| [ [aze
YOX5:2540| 80 | 30 | 78 | 28 | 14 | 10 | 60 | 35| 6 | 12 | 12| 30 | Zoti g;% o12| 10| "0 64 | x |8.5] 15|46 | 15[ 40[112| 13| 9 | o e B o 10|10 |a0[136
7 RALRE| R 1.0 = 5 [&F el
YCXS-25-50 oE Me3E A% 185 50 | 122 rmiEm R 57 14 | 5 |_[146
YCXS-25-75 75 [147 ol
YCX$-25-100 100[ 172 196
YCXS-32-10 10 | 92 %0 122
-32- 132
YCXS-32-20 M8 20 | 102 wrs | aws p-velms e[
VOXS330 - 2g60 | 25 . e 30 112 P B e N I
YCXS-3240| 98 | 38 | 96 | 36 | 18 | x1.0 | 75| 44| 8 | 16| 14| 30 | 2011 | i |o16| 13|"2% 76 | x | o | 19|56 | 1940 [122] 20 [11.5 10| 65 |marwe |25 /129" 250152
(L) AILRE RE 2| [128 50 [132 U2l | 15 1% 16 |8 | [162]
YCXS-32-50 6.3 75 3 (HERRYHEAR) 77 ° |
YCXS-32-75 75 [157 o187
YCXS-32-100) 100] 182 212

| YSC |
Please contact us on any small problems & details. 3.99 EFANE R EE EEESAARBRE PNEUMATICS




HOW TO ORDER(E SR T F %)
YCXSW

50

Block Cylinder(¥ &I <UL/ M FF2Y)

YCXSW series

COMMON SPECIFICATIONS (£ E #11%)

Bore(#I1%)(mm) 6 | 10] 15 [ 20 | 25 | 32
Fluid G7E 1) CleanAirGE %= %)
Action(F1EFR) Double(X £ F)

Proof Press.(iEiX3&E /1)

1.05Mpa(10.7kgf/cm?)

Max. Press.(\R & {EHEH)

0.7Mpa(7.1kgf/cm?)

Min. Press.(R{EERIE7)

0.15Mpa(1 .5kgf/cm2)|0.1 Mpa(1.0kgf/cm?)

Amb . Temp(FMEFIR IR E) 5~60°C
Cushion(£&t) i 15 AR 48
Formation(&5#4) WS EL(2fE 4 5)
*Lubrication(Gi#ig) Non-Lube(F EE)

Stroke Tclerance({TA2 HESE

45 8] {T#20~-5mm

Bearing(3#7%&)

B B HRGR R S 18 0 R

Size(#%& O12)Rc(PT)

M5x0.8 | Re(PT)1/8”

*Use Turbine Oil1st-Grade ISOVG32,When Use(dN EE;3i8, 15 BiET1S:HISOVG32)

XB11

PRO-B1

YSC Model(ft S) Bore Type Stroke K1TiEKS No.of Auto Switch
(EL7Z) (17%8) Tid S-trAEITIE (HEMEFF R E)
XB11-H1752 Nil(Ei25): 2(4)
S:1(4Y)
3:3(4)
P Model(#5) Bore Type(4112)|Standard Stroke(t7/#1778) | 472(mm)-XB11
Bearing Type(3#17& i1 28) —
M:sn%; Bearing 6 6mm 10,20,30,40,50,
(B EhEhIK)
L:Ball Bushing Bering 10 10mm 10,20,30,40,50, | 75,100,125,150
(R B HIK) 15 15mm
20 20mm
o5 25mm 1920.30,40.80. 125,150,175,200
32 32mm
* 06 FLAFFHEH
=l o 2w s go = sk
BRABFRE Himnfi = HiFzhee
w
fu
w & &=
=l CXSWLI92
&' od “ AY
:i/:iq;%—%c&—ﬁ}» CXENIRE \
"~ [Extended Rod 0 cx:—;wﬁ'm]
(EEMHED) _ 10 CXSWILS \\
H I[ ‘\\ :\\ aY
Strokeﬁ[?é(mm) 6~32 ﬁ cxsmlm 3 \\
4 NCXSWM (Slide bearing)’ YCOXSW-MIBBI#%) +0.03mm s’ %\
I (Ball bushing bearing) YCXSW-L(REK S mER) | ~ g 2
35— N T £ CXSW6 \
e —— 3 =}
i S L = g
= 3 - 4 T, 3 i .
2 T R e o I KE%EE é -
Z 25 m— S S b 3 o5 Y
= Housing 04
[ B L Plate 0.3 N
5 2 ———ft-—cT - === ‘ =
g — 020 i I o
E 15 i ?ﬁ@’* = %%
- 0.1
£ 8 il kit e ]915 —— 1 =—
. 0.05
L e e g T3 Stroke#L {2 (mm) 6~32 0 50 100 200300 5001000
) slesudes pbe | YCXSW-M(B &) , i
. = p ~ == = YCXSW_L(;"ﬁiﬁE,.]"E]EEg() +1 Cylinder speed Vp (mm's)( 5 FLH#E )

Cylinder stroke {(mm)

Please contact us on any small problems & details.

3.100

| YSC |
EFARE L R A EEES A AREKE.  PNEUMATICS




®Ovysc]

Block Cylinder(¥UEL < &L/F U #F2)

YCXSW series

FFREH—HBS.(BHR * BBAIRT)

YCXSW-6
Y4
8 SS 8. S
3 ) 2*'75 P 2-03.4 = 22 187 ams0s
T 3*0.5*5 ‘_-T /‘2—06.5%‘3.3 B
o [Joye AARRERE o — A 1 $ pv g
1 i L 7 N
. @ff @ SR o |4
5 : e ———_ 5i8E |
SEI R e —— H
e Yy | 1 M =
o 6 & 2M3%054125 2] 7 2-M2.5%0.45"6
(A7 A2 E) M7~ RERET
10 W 4-M3*0.5 Depth4.5
- A EERE
[ Ta D \’/J’iEL
o T "\oo A ]
225 ! 225
4-M5*0.8 Depth4.5
X EE R
Model Ss|ss|zz|z|w
13 z 13 YCXSW-6-10 | 10 | 66 [103 | 40 | 46
< 1 1 3 YCXSW-6-20 | 20 | 76 |123 | 50 | 56
= YCXSW-6-30 | 30 | 86 [143| 60 | 66
E = —— YCXSW-6-40 | 40 | 96 |163| 70 | 76
o YCXSW-6-50 | 50 |106 183 | 80 | 86
1 1 *H T LEYCXSW-6-10 YCXSW-6-205%
FIRNS BT R T 35, VIR 45 F SR Bl ERL 1 7R
i — 5. (A7 - BERT)
YCXSW-10 77
9, SS 9. .S
4 20 z 20 8 17
12 2-93.4 .
2-M5*0.8*5 — - 15 4-M4*0.7
AAmRAEN | — ] /200553 3 ||
3 IR © JE
© N @»:77 - - F N
o ga@ﬂg%a - g3 3
e ° . F— ®
oLl & gl N— ¢ ©
- 4-M3°0.5)" 1 1 F — 2-M3*0.5*10
@ 2-M4*0.7°14.5 S, “wrmEm)
(RARE)
20 z 20
4-M3*0.5 Dep4.5
AT EAE R
SGTEE ¥ & gr 6 B2 ] Model s [sslzz] z
N LT "* i YCXSW-10-10 10 | 92 136 52
20 30 % | YCXSW-10-20 | 20 |102/156] 62
MSTD.8 Depd. 17| YCXSW-10-30 | 30 [112[176] 72
=1 YCXSW-10-40 | 40 |122]196] 82
4 20 20
4305 DenS S YCXSW-10-50 | 50 [132|216| 92
- L ; ; .= YCXSW-10-75 | 75 |157|266|117
%] | <+ 7| YCXSW-10-100 |100|182|316|142
8 727%| YCXSW-10-125 |125/207|366|167
8 | o 1 N > - - YCXSW-10-150 |150|232|416|192
o T REYCXSW-10-105 Y CXSW-10-20
#e ‘ ‘ 4+ PSRRI FF 5, DI Ak B et

Please contact us on any small problems & details.

3.101

BRI E RS FERS AR RKE

PNEUMATICS




Block Cylinder(¥UEL < &L/F U #F2)
QYSC I YCXSW series

YCXSW-15
4
9, Ss 9.5,
5 25 _Z 25 l10! 20
o i ‘ r & [(PrREs)
¢ e S I
2 ! EQT B @ @ glelgl |
g - — - — - —F e @
rid : : - (e X
© 4-M4*0.7 Dep6 bl— [o] 4-M5%0.8
25 Z 4-M4*0.7 Dep5
HE X E AE )
0| _a a /
o1 YR Y ’*%L Model s [ss|zz] z
38. 38.
o T j= | YCXSW-15-10 | 10 |105/153| 55
R E A ) p:: YCXSW-15-20 20 |115/173| 65
17| YCXSW-15-30 | 30 |125[193| 75
2-M5*0.8 Dep8 E
} YCXSW-15-40 40 |135|213| 85
YCXSW-15-50 50 [145(233| 95
B T , | YCXSW-15-75 75 [170]283|120
> ﬁ-g YCXSW-15-100 |100|195|333|145
r - - T E>I< YCXSW-15-125 |125|220|383|170
~| YCXSW-15-150 |150|245|433|195
*3 T RIEYCXSW-15-10 YCXSW-15-20
XFMSE IR, VIR R skEE#E
FFEER— RS . (BHR * EBRIRT)
YCXSW-20 B
12 Ss 12 S
D 30 __zZ 30 12 25
s ]| P A e
° & ::4 yi 1 ; o (M7 FERET)
; Hw @ & B
© R ———— = ©
o 74 ‘ —— ¢ &
« 4-M4*0.7 Dep6, 2-M6*1°18.5 ! . . -M5*0.
o 0.7 Dep (2@;5)5 127 1.5 \4-M50.8
30 z 30
8-M4*0.7 Dep6
pd 3 E[HE )
i & )74 L Model S |SS|Z2z| z
!J_“; _ T ¢ _ 4“14} PR S,
a1 T & ’~< B YCXSW-20-10 | 10 |120/178| 60
44.5 © 44.5 YCXSW-20-20 20 [130(198| 70
T M5+0.8 Depa 5 # | YCXSW-20-30 | 30 |140|218] 80
ERELE }; YCXSW-20-40 40 |150|238| 90
E YCXSW-20-50 50 (160|258 | 100
4_M4*0_7Dep6*6 2-M6*1 Dep10 = YCXSW-20-75 75 1185|308 | 125
%; a o] YCXSW-20-100 |100{210|358|150
— ®< YCXSW-20-125 |125(235|408|175
g [ ﬁ'u‘_a YCXSW-20-150 |150(260 458|200
3 % #2X| YCXSW-20-175 | 175|285 508|225
«DT, 77777 [ — YCXSW-20-200 |200|310|558|250
®s | | | ®] 5T ZIEYCXSW-20-10ZYCXSW-20-20
‘ ‘ XFMSE R E, VIR RkEER
HFFRER—EB.(BF * BHIRT)

Please contact us on any small problems & details. 3.102 EFARE L R 6, SRS AN RBRE. PNUACS




Ovysc|

Block Cylinder(SUEL <L/ M FF2Y)

YCXSW series

YCXSW-25
4
1 SS 12,8
30 z 30 1
s T B T 3B, N = S
& NS - ’ S
s ( SR e
° ﬁﬁ _— ® &
2 4-M5%0.8 dep7, 2-M6*1*18.5 ‘ ‘ JERE ri]x%;?g
(N FIIRET)
30 z 30
8-M5*0.8 dep6.5
M50.8 dep Model S |ss|zz]| z
" ] YCXSW-25-10 | 10 [122]180] 62
® €{ ©
g #,733%%,%3 $}§% YCXSW-25-20 | 20 |132/200| 72
76 4-Rc1/8 depb.5 T 1‘11_1 YCXSW-25-30 30 [142|220| 82
mmEE 3 | YCXSW-25-40 | 40 [152|240| 92
] 15 | YCXSW-25-50 | 50 | 162260102
R i AR T aEe YCXSW-25-75 | 75 |187|310|127
Jg A : — YCXSW-25-100 |100|212|360| 152
M ®| [g=| YCXSW-25-125 |125|237|410]177
o | H ﬁé YCXSW-25-150 | 150|262 460|202
R = R © H 7 YCXSW-25-175 |175287|510 227
—=-— YCXSW-25-200 |200|312|560]252
A & *HTRIEYCXSW-25-10 YCXSW-25-20
— | | — XERSEARMETE, IRk AR B
HFF KB —EBS.(FHR * BHIRT)
YCXSW-32 2
14 153 J4 .S
_ 30 z 30 |16,] 8
2-M10*1.5*8L 1'2'[ /ﬁjg?f—depm 36 1 4 M6t
$ (AARREE) 1 A | L
|| A4
e ——é—— EE %_@{/____@_35 gg——é——g
T rull . . T Ad ? o
© LHERatent leuers2erze ' ' Ll RoRae)
30 z 30
8-M5*0.8 dep7.5
e (ExIER) Model S |SS|z2z| z
M ¥ e o td YCXSW-32-10 | 10 [143[213] 83
o * K P YCXSW-32-20 | 20 |153|233| 93
56 56 #x YCXSW-32-30 30 |163|253|103
R seRns #E | YCXSW-32-40 | 40 |173]273|113
£M5°0.6 deps w0 , w0 g YCXSW-32-50 | 50 |183]293[123
e YCXSW-32-75 | 75 | 208|343 148
' ' & YCXSW-32-100 | 100|233 393 173
.= YCXSW-32-125 |125|258|443/198
g 4Tm| YCXSW-32-150 |150|283 493|223
2 ¢ ——-—0o—-5f 2% YCXSW-32-175 |175/308|543|248
YCXSW-32-200 |200|333/593 |273
4 *H T LIEYCXSW-32-10 % YCXSW-32-20
4-M5*0.8DP8 f f XS AR TR L, YIRSk Bl E R
I HEFF S8 A —ERSY. (AR * BRI R <)
Please contact us on any small problems & details. 3.103 EFARE L R 6, SRS AN RBRE.




@ Air Cylinder/Small Bore Size(‘M & B Mir ESE(EXANERRK, L) .
YSC YC85,YCD85 (910~025) series

COMMON SPECIFICATIONS (3 [F #1#%)

Bore(%L12)(mm) 10 | 16 | 20 | 25
Fluid G i4) CleanAirGE &= 5)
Action(F1ER ) Double/Single Acting (W& z)
Proof Press.(fRiETi & 77) 1.5Mpa(15kgf/cm?)
Max Press.(&={EHE ) 0.99Mpa(9.9kgf/cm?)
Min Press.(&IR{ERE ) 0.05Mpa(0.5kgf/cm?)
Amb.Temp. GNEFTIREE) -5~+60°C (K % 45)
Piston Speed(i&EZEi#E ) 50~750mm/s
Cushion(4 i) Rubber(STD) A B4 i (KR ) Air(Option) S (Ei)
Stroke Tolerance({T#2 2N ) 14
*Lubrication(@i&) Non-Lube(REE)
Pipe Size({& O2)Rc(PT) | M5x0.8 [ M5x0.8 [ 1/8" | 1/8"
*Use Turbine Oil 1st-grade ISO VG32#,If Required.(dn £ &85 BiETF15H
ISOVG32)
Standard Stroke/Auto Switch({T &/fE 1 FF 2 I1EFF)
(Z%";) STD Stroke (K &1712) Band Mounted (¥R 223 5Y)
(mm) Auto Switch(i »
. o uto Switch(#{£7F3%) |Band Part No.(F X EIEH)
BN E: 1506432 (mm)
10 YCJ2-010
16 25, 50, 75, 100, 125, 150, D-C73K YCJ2-016
HOW TO ORDER(EE R T Fi%) 20 200, 250, 300 VBM2-020
25 YBM2-025
] Note(i£1): Non STD Stroke Available.(% IEAR T2 AT HLIETE)
YC |[D|85 E - |IC73K Note(;¥2): For Auto Switch: Refer to Catalogue Auto Switch Series. (Page 4.156)
I (B METF X G R A M AT S B G M FF X 2 2R 51) (Page 4.156)
YSC Model ; o >
Nil: Standard Type R 47 & ({R020%1025) r\ll\lcii(.gEA%t?z(S/l‘v;MCh (6% E%*)
[D: Auto Switch Type Nil(Zi25) : None(f) S 1(1)
J:60°C((:}?(4Ttgsgzk rgﬂgfﬁ)) 3:3(1)
K:110° 2 H
BEZIS B E 2 X
e G LR T Cushion(& i) Auto Switch (B HEFF £ FHZE)
E:$HH\—1$§'-£ Nil (£i2€) : Rubber (B ZE ) Nil(%i25) : None(EFF%)
Fx O & R(FimE) A: Air Cushion (S i) C73K:Reed Switch(5 1 RBE I FF£)
LB B
TAF 1) 4h B 2
[eh73=%:1]
Dimensions(mm) (M R~ EI(Z X)) BHIN—{KE:YCS85E,YCDS5E
MM H H MM
\ | ’uﬁ N Nk I
i 1 |l \ (1 >—<
{0 i ——— o =S J
v n ) L MH:J, \I/
T
@B L
D J A Q
F G G _|_F P
L+Stroke E
Z+Stroke
N+Stroke
Bore(fI#&)| A B |@C| D |GE| F G H | J L EE KK MM N = Q R Z
®10 12 4 4 6 12 | 12 |[11.5] 5 |16.7| 6 46 | M5x0.8 | M4x0.7 |M12x1.25| 86 | 15 8 10 | 76
®16 16 6 9 16 | 17 (12.5] 6 |19.7| 8 56 | M5x0.8 | M6x1.0 | M16x1.5| 111 (18.3| 12 | 13 | 98
®20 20 8 8 12 | 22 | 20 | 15 8 28 | 11 | 62 1/8” M8x1.25 | M22x1.5 (126 | 24 | 16 | 11 | 115
®25 22 8 10 | 12 | 22 | 22 | 15 8 |33.5| 11 | 65 1/8” M10%x1.25| M22x1.5 137 | 30 | 16 | 11 | 126

Please contact us on any small problems & details. 3.104 B BN REE, HEES AN RBRE, PNUACS




@ Air Cylinder/Small Bore Size(‘M & B Mir ESE(EXANERRK, L) .
YSC YC85,YCD85 (910~025) series

Axial Foot Type (B EEEY)
YC85L,YCD85L

|
N J N__ T[] o . I

4-gD x |y A

B
Bore@®| A [ B | cleb| H| L] X] Y| mens
®10 25 (135(3.2|45|16 | 26 | 11 5 |yc85-L10B
d16 32 | 42 4 |55 20| 33| 14 6 [YC85-L16B
®20 40 | 54 5 16.6| 25| 42| 17 8 [YC85-L20B
»25 40 | 54 5 (6.6 25|42 | 17 8 [YC85-L25B

Front Flange Type (£ =#Y)
YC85G,YCDS85G

EEI) AT

f,@g, ,,,,, NS

Bore((i2)| A | B | C |@D| E | st=®ms
®10 | 30 | 40 | 22 | 4.5|3.2 [vyC85-G10B
®16 | 40 | 52 [ 30 |5.5| 4 [vC85-G16B
®20 | 50|66 |40 [6.6| 5 [YC85-G20B
®25 | 50| 66 |40 |6.6| 5 [YC85-G25B

Front Trunnion Type (#Flll 44 B 2Y)

YC85T,YCD85T
‘ ‘ — )
LT T
Q}Xﬂ} fffff J& =3 = e
C——1 >—< [a)
L) S]
E A
B
Bore(fIff)| A | B | C |@D| E | #hE&ES
®10 26 | 38|20 | 4 6 |YC85-T10B
P16 38 | 68|25]| 6 8 |YC85-T16B
20 46 | 66 | 32 | 6 8 |YC85-T20B
25 46 | 66 | 32 | 6 8 |YC85-T25B

Please contact us on any small problems & details. 3.105 B BN REE, HEES AN RBRE, PNUMACS




Air Cylinder/Small Bore Size(/NEURHERISET, AR ERHIR, TTiliE), |
@YSC I YCG1(020~063) series

COMMON SPECIFICATIONS( [E] #11%&)

Bore(&IZ)(mm) 20 [ 25 [ 32 [ 40 [ 50 | 63
Fluid G f#) CleanAir(E &= %)
Action(F{EF ) Double/Single Acting (X/£ )
Proof Press.(fRiEM & /1) 1.5Mpa(15kgf/cm?)

Max Press.(f=a{EFHE ) 0.99Mpa(9.9kgf/cm?)

Min Press.(&{&ERES) 0.05Mpa(0.5kgf/cm?)
Amb.Temp. GNEFIFNEE) -5~+60°C(K H &)

Piston Speed(iEZiHRE ) 50~750mm/s

Cushion(4& i) Rubber(STD) A5 & (5 ), Air(Option) S i (fF1)
Stroke Tolerance({T#2 2 ) 14
*Lubrication(ji#ig) Non-Lube(FEE

Pipe Size(E&O)R(PT) | 1/8" | 1/8" [ 1/8" | 178" | 1/4" | 114’

*Use Turbine Oil 1st-Grade ISOVG32, When Use (MNEE8iE, EHETF15iHISOVG32)

Standard Stroke/Auto Switch({T12/RE1E FF < IEHF)

B =z MR R
HOW TO ORDER(E! &% R /%) (i) | STDSwokelizfifsfe) | Band Mountod R
(mm) () Auto Switch(i#£7F€) |Band Part No.F £ B2
YC |D|G1 — 150 D C72K 20 YBM1-020
\ 25 YBM1-025
YSC Model(ft5) A (e
[g!I:AStandar_dType Bﬁj‘_)fi e lTy;:geSS(z{erType()g:) 32 25,50,75,100,125,150 D-C72K YBM1-032
* Auto Switch Type (1%2) 20 200,250,300 D-C72KL | vgM1-040
Mounting (M) e (T AH)
T1+= Nil(Fi2E) : None(ZF %) -
B: Basic Type mﬁ]ﬁ;’;ﬂ) S(;;o*lg C73KReed Switch(F i kI 7 3£) 50 YBM1-050
L: Foot Type( )
F- Front lgl‘;ige(ﬁ{mlliié) 63 YBM1-063
([3) Sgibzlgga(f(gu:gw Cushion(ZE ) Note(iF1): Non STD Stroke Available.(% IEFR T2 ATHEER)
T: Front Trunnion(FFRIEE,) - Note(iF2): For Auto Switch: Refer to Catalogue Auto Switch Series.
- Froar Trnmion( o NIl (RIZ8) : Fubber (RALEH) (RENE TP LIS R ASHE 7T 5 SR FF 3 2 R 5) (B4£A4.155)
U Rear Trumion (A=) A: AirGushion (S5#) Note(2): A RHER LS, MABETHESHAKE.
. . A = .
Dimensions(mm) (5ME R ~F Bl(Z %)) Basic Type(&EA&#!):YCG1,YCDG1
2-Rc(PT)P
GA _GB | 8-J

MM

y
3

@D
|
Y

/M
\[J
[

[

2l

[

[
7
\\J

)=

I

|

=

o

<

A K |
H A BN il
L+stroke F KA
LL+stroke 1 0C+0.1
NA
Bore(1#8)| "fam” |[AA| A | C | D |[E | F |GA|GB| K |[KA| L [NA| J P|H| MM |LL|TA|TB] |
820 | ~300 [155/18 |14 | 6 [12| 2 |12[12| 4 | 6 |78 |24 | M4x0.73R7 [1/8| 35 [M8x1.25 | 115 11 | 11 | 26
225 | ~300 [19.5]22[16.5/10 |14 | 2 [12[12[55] 8 | 78] 29 | M5x0.8%8 [1/8 | 40 [M10x1.25120] 11| 11 [ 31
832 | ~300 [19.5/ 22|20 12|18 | 2 |12[12|55|10 | 82|36 | M5x0.8588 |1/8 | 40 [M10x1.25/124| 11 | 10 | 38
940 | ~300 [27|30[26 |16 [25] 2 [13[13| 6 |14 87|44 | Mex13®12 |1/8| 50 [M14x1.5/139] 12 | 10 | 47
250 | ~300 [32[35|32][20[30]| 2 |14 [14] 7 | 18[102] 55 | M8x1.25}%16 | 1/4 | 58 [M18x1.5]162] 13 | 12 | 58
963 | ~300 [32[35|38|20[32| 2 |14[14] 7 |18[105] 69 | M10x1.5R16|1/4 | 58 |[M18x1.5|165| 13 | 12 | 72

Please contact us on any small problems & details. 3.106 FiFARE KGR, HEESAATRE, PNUACS




AIRCHUCK(ZXEFHE S HF i)
©Ysc IYCHA(ﬂ12~Q32) Series

Specification(H R S )
S YCHA
Bore(#112)(mm) 12 | 16 | 20 | 25 | 32
Fluid (7t ) Clean Air With Lube ((F#4$& =S &HE)
Action(Eh1ER ) W AE
Proof Press. ({Riffit FE /1) 1.05MPa{10.5kgf/cm?}
Max. Press.(&=EREN) 0.7MPa{7kgf/cm?}
Amb.Temp.(FHER S &) -5~+60°C(kK FH 45)
&= MR 180X%/4> 4
Lubrication(i#i&) S TEE
11933 E:3
HAMEKELx | 30 | 40 [ 60 | 70 | 85
EMAXAE -10~30°
Mg | FM|[04xP|09xP[1.7xP[34xP[6.1xP
AB(M) ¢ MM [ 05%xP [ 1.2xP|23xP|4.4xP|8.1xP
B EFH(F)x F=M/L X 0.85
Pipe Size(#& O)Rc(PT) |M3x0.5 M5x0.8
Feature (FE) © | E&(g) 53 | 103 [ 193 | 327 | 525

O EEMIAEFTEARRFFNERME # O EE12~32)
oS EME, TEFXRIE

¥ LR AMEKEmMm),MIBig 8% 51 % (kgf/cm),
F: & 338 4+ f1(kgf),P:A& A /E 51 (kgf/cm?).

HOW TO ORDER(®! £ j%4%)

YCHA| - D -

YSC Model(E5) SIZE(L %) T EHE
RIS EH X
RS1: FXK1R
RS2: FFXk2H
= ==
Sketch(7REH)
MEZ#ESKE CAESIESEE L
I AR TIPS
T
|
|
|
6 | %
|
|
|
-
|
|
Please contect us on any small problems & details. 3.107 G E R E S AR R B, P-NUACS




Ovysc]

M AR A 1 & M R

AIR CHUCK(Z = FF A BL S &5 F48)

YCHA(@12~032) Series

@7%% N0 NO. EHEMR R
o e 1 &1k BEe
//;} [© = 2 AR BEE
o | KX - 3 Y2 I G T
o | .2 4 R T8 B
& \0 5 EER R
@/ /\‘/ 6 =53 BEE
@@@\ 7 L ER LR
o | i, —— 8 T ES WER
9 EEBHIR NBR
10 EENEZHIR NBR
1 H 2= I8 NBR
12 EER LW
Dimensions(mm)(4ME R <+ Bl (ZEk))
2-WW
A H 2-XX(B&E O)
B C
¢ @F
of [+ =N
= X
[ & &
J
%I K M8
— =" N A\HB
v @ N
R
# {o _ olv
3 =4
r —-———
P Cj/‘m
L \é‘ 2-UU
M R
S
N 2-VV
ES @/
? ﬁ -+ o
= [
el
2-YY P
Q
S:;ABCDEFGHIJKLMNOPQRSTUUVVWWXXYYZ
212 |15.4| 3 6 7 |26.3] 9 | 20| 7.5 (10.2(23.5| 28 | 20 |32.9/21.5(10.2| 16 | 39 | 10 | 16 | 22 | M3 | M3 | M3 | M3 | M3 | 5
216 |17.5] 3 8 9 |31.1|/ 14|24 | 75|12 |22 | 34 (225 35|25 | 14 | 18 [42.5/ 14 | 22 | 26 | M4 | M4 | M4 | M5 | M3 | 6
220 | 22| 4 | 10|12 40.1| 18 | 30 8 131 25| 45| 25 (39.5/32.5/ 16 | 19 | 50 | 16 | 26 | 35 | M5 | M5 | M5 | M5 | M4 | 7
225 | 26| 5 | 12|14 |47.9| 21| 36 | 8.5 | 18 | 28 | 52 |28.5/45.5/38.5| 20 (21.5/ 58 | 20 | 32 | 40 | M6 | M6 | M6 | M5 | M5 | 9
232 | 30| 6 | 14|18 |55.1| 24 | 42 |10.5| 24 | 34 | 60 |37.5/ 54 | 44 | 26 | 30 | 68 | 26 | 40 | 46 | M6 | M6 | M6 | M5 | M6 | 10
Please contect us on any small problems & details. 3.108 PNUMACS

EAR B RE S E RS A AT BRE.




AIR CHUCK(FEITH A B S F18)
€©YscC IYCHB(Q12~Q32) Series

HOW TO ORDER(E! & i%#%)

| YCHB |-[12|D

YSC Model(E 5)

Size(fI1%)

Sketch (7 = &)
MEZERKE
|
|
o o
¢ 1 e
sl
|
,E, ; ,é,
gL -

Auto Switch
None: No Switch
RS1: Switch 1EA
RS2: Switch 2EA
BT RBE
Zie S L%k
RS1: FXK1H
RS2: %28

Feature (1L

)

OHENEMBHEFTEFRRFNERMETMOREE(D12~32),
O SIEME, EEFXRITIE.

Specification(3Z K5 %)

e YCHB
Action(m1{EfZR) WAE R
Bore (&L Z)(mm) 12 [ 16 | 20 | 25 | 32
Pipe Size(#%%& O1Z)M3%0. 5 M5%0. 8

Fluid (3 14)

Clean Air With Lube (EE =S & HE)

FRAEHEE 1.5~7kgf/cm?
Amb.Temp(FRiE 2 &) -5C~+60C (R H L)
== SE &R 180 /4> $h

S ARE

Lubrication(ji# i&)

KA TE
BEAMEAKEL(MmM)| 30 40 60 70 85
Bt i 08 | 24 | 47 | 75 | 10
= 5 FF
kgf-cm o] 1) 05| 18 | 35 | 6.0 | 85
& JNFF A 1T #8(mm) 6 8 12 14 16
ES-{(s)) 66 | 144 | 255 | 419 | 719

KB 1 & K EL=30mm,{E f £ 71P=5kgf/cm?&T B9 4148 .

T RRE

JREHE B

RCE,RCE1

Please contect us on any small problems & details.

3.109

SRR B RS I E RS AR ARE

PNEUMATICS




Ovysc]

AIR CHUCK(F{TF AR S 3 F48)

YCHB(912~@32) Series

A &R 44 i K R
NO FH AR &
1 NS BE
2 EEEIHE NBR
3 EEF ok 5N
S 4 EE Be
Ml 1‘1 5 TEEBRH NBR
6 Fih IR A
. \ 7 FiRs mE
8 iy o= 2 £ NBR
| § 9 +£IF B
10 F Hh5% 5h 4 7% W
‘ T 11 28 o i W
= “ 12 BEEH o 5% 4
13 TR o 5% 4
14 8 B & 5N
15 KN30 1 4 7 W
16 x4 402 ok 5N
Dimensions(mm) (5 R ~T Bl (ZK))
2-W
@ o
N2
o p ] -
Pany
2*2-N @ N
Lo |
2F E 2-X
= [ 4 B o
gg $ fa
3ls - o| - \k +
o6 4 R
I [ 4 @ -9
L : L
A D
2-p Vv
.,
ol - O ‘ =)
[ [H %%
R 4 s | | -
Lt |
;{ZABCDE F |G11G2lH| I |J|K|L|IM| N |O] P |Q|/R|S|T|U|V W/X
212 |63.5(50.5/ 28 |16 | 20 | M3*0.55%5 | 27 | 21| 4 | 18|17 | 10| 13 | 10 |M3%0.5 16 |M3*0.5%5| 7 | 3 | 6 | 23[10.2/7.5| M3*0.5:%5
216 |73.5|58.5| 34 | 22 [25.5| M4*0.75811] 33 | 25| 5 | 24 | 26 | 14 | 15| 14 |M3%0.5] 21 |[M5*0.85%5] 11| 3 | 8 | 22| 12 |7.5| M4*0.75%7
220 |88.5|69.5| 45|26 | 25 | M5%0.8 %8| 44 | 32| 6 | 30| 35| 16| 19| 16 |M4*0.7] 19 |M5*0.85%5| 12| 4 | 10| 26 | 13| 8 | M50.8%8
925 |102.578.5/ 52|32 | 28 |M6*1.05%10| 51|37 | 8 | 36 | 40| 20 | 24 | 20 |M5%0.8] 22 [M5*0.83%5] 14 | 5 | 12| 29| 18 ]8.5] M6* 13710
232 [120.5(90.5| 60 | 40 | 34 |M6*1.05810| 59 | 43 | 10 | 44 | 46 | 24 | 30 | 26 |M6*1.0| 26 |M5%0.85%5| 20 | 7 | 15| 35| 24 [10.5 M6*15710
3.110 EA ED R A EE S A A TR,

Please contect us on any small problems & details.




Stopper Cylinder(FE 4 S #I)

YSNG600O series

Oysc|

HOW TO ORDER(E! &R T F %)

28]~ (B)-- 530 -~]-~ AW - [0~ I
|

e Cylinder ®Bracket e Stroke e Valve
ERMFSE B:Square 1712 V100:Valve(AC110V)
None:Round V200:Valve(AC200V)
f skl V24:Valve(DC24V)
B: Mf FE i 1)
eCylinder Type THE B eTube Diameter e Shock Absorber V110: 100V F B2 RZ 17
0:Direct Stopper Cylinder Y EARES S:Soft Type V220: 220V fA F R4
2:Roller Stopper Cylinder SD:Standard . L
4:Damper Stopper Cylinder| H:Hard Type V24: DC240V i e 41

5:Lift Cylinder
7:Talble Cylinder

‘—eQOperation

1: Single Acting

BH:®80Hard Type ® Switch
ZZImER

e Option

RAW:Double Switch

M:Micro Switch

o gE AT A g sk 3: Double Acti = RAH:Upper Single Switch L:Lock C
’ﬁiﬁ_‘ﬁ{*ﬁi 5: Both Acting S: BEY RAB:Lower Single Switch K-Lover Locker
0: IR SE TR SD: #RifER TR S:Silencer
2 R AL A <A 1 s H: 38R N F:Strainer
4: FERATF VR 0 PR S 6 PR3 BH: og0mAE AW 2T e2%
5 IS 3: WA ¥ EgS em  RAH LIRETD M: #EhFF 3%
7 FrEFEhEASE 5: B WEhE RAB: Timwm 14 L: sk E
K: 7k P4 %
S:HERR
F: it igss
REED SWITCH (%1% FF < #14&)
Model(Z!5) Voltage(fE FHFEJE) | Max.Current(& X i) Lamp(#§7R47) Contact(fit ) |Lead Wire Length(3| &K )
If poweris ON,
DC24V 50MA indicating Ves
RA AC,DC5~200V AC100V 24mA ) ; im
AC200 12 5mA light will be ON. ()
¢ -~om (OnEt %% —&S)
APPLICATION (EZi4£AE)
= [E] %
EE T Rotate
Moving

Direction s=p

- -

LEFT CYLINDER

Up(F)

I’ tDown 3]

TABLE CYLINDER

FHESE FEFHEABRE
DIRECT ROLLER DAMPER
STOPPER CYLINDER STOPPER CYLINDER STOPPER CYLINDER
R BB ST RRATATE TREATATR
BE 34 ST Z R RE
YSN-6045B-30,50
Lateral Load (% FIt# E H 1K)
— 100
Z /
=
5 /
= [ Tos0
]
H.g 50 //
]
3 A
i / =
0 1 2 5 6 7 9 10
(& j])Alr Pressure(kgf/cm )
Please contact us on any small problems & details. 311 EIFMM E 8 S EE S A AR BRE.




Stopper Cylinder(FE 4 S #I)
@YSC I YSNG600O series

YSN-6045B-32 x 20
Damper Capacity(#2 i e 1 R)

Soft(3&=2) Standard Type(#R4E5Y) Hard Type(3& /12Y)
Soft Standard Hard
o 40 o 40 o 40
; 5 5
=4 £ b= \
% 30 % 30 % 30
2 2 2 \
i iy} il MA
HE 20 I 20 HE 20
2 MAX < /AX 2
W10 W10 W
- I~ \\ MNP T
i ——| —r— MIN_ > —— —
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
(1% B ) Velocity(m/min) (i BE)Velocity(m/min) (I &) Velocity(m/min)
YSN-6045B-50 x 30
Stopper Capacity(5 i BRI gE 1K)
Soft(iRE2) Standard Type(#RE5Y)
y
Soft Standard Hard Type(32 712)
< 100 o 200 o 400
2 2 2
< < <
% % 150 AX % 300
= o = =
it ] i < ] AX
B s0 I~ & 100 S HE 200 J
| — 8 8
I—E{ @ 50 — uéj/ 100 —
MIN—
MIN A T————] T _ A ||
M
0 10 0 10 0 10

20 30 40 20 30 40 20 30 40
(i BE)Velocity(m/min) (% ) Velocity(m/min) (% F)Velocity(m/min)

YSN6045B-32x20(Damper Stopper Cylinder)
(RE AL AT BL 2% i PR 5 <L)

4-@7 HOLES
@11 CB.OP5 Y,

2-PT /8

2x2-M5x0.8 DPE

Please contact us on any small problems & details. 3.12 EIFMM E 8 S EE S A AR BRE. PNUACS




®Ovysc|

Stopper Cylinder(FE 45 1)

YSNG600O series

YSN6045B-50%x30(Damper Stopper Cylinder)
(R AL AT BL 2% i BE 45 <L)

& M5
i / @\
_\\V//J/ 1 ] il
o Lo (DY TG 4 |.
| ] Q| ®
D 7
' / [ ) s
4-09 HOLE 11,16 -
@14 COUNTERBORING %0
DP5 12 2-PT1/8
14 5/~§y 42
5 | ADHL uere S
PALLET FE N L &
b d
: ;
/] :
<
s
&
N b
DAMPER ADJUSTING LOCK BOLT
: o | |
[ (e8I ¢ ’
VALVE
P 1k %)
Option({Ei%)
3
\
64 64
138
DOUBLE
02 02
PLUG
01
D ﬁd) PLUG
&J SINGLE
\ 02 02
- - PLUG
IN
01 EX
PLUG 01
3.13 E A EI R R S A AT,

Please contact us on any small problems & details.




®ysc|

38R T4 5 1 (Magnetic Coupling Rodless Cylinder)
YRD(216~040) series

AE
N - &4 (mm) 16 20 25 32 40
i’_E Ej -
AR ER(R4AH
e {ERE/IMPa 0.7
w&IEEREIMPa 0.15
B ) TERFARE “5~+60°C (K % )
———— . EEEEmm/s 50~400
Zih B BZ &
TRAE 0~250"3%,251~1000"*,1001~*]8
HEMEAREEAIN 137 | 231 363 588 | 922
35 ==
A 2= a8 rE=
BES&RTTh) R&AD M5x0.8 | RC1/8 [RC1/4
00 EE D IBIE A S F1S HISOVG32
YRD |20 — |300 mEEEE N
FREITIZ 752
L — A TRAEITRE BAITIE
16 ] 16mm 16 [50,100,150,200,250,300,350,400 1000
20 | 20mm 20 |100,150,200,250,300,350,400,450, 1200
25 | 25mm 25 |500,600,700,800 1500
3_2 32mm 32 1100,150,200,250,300,350,400,450 3000
40 | 40mm 40_|500,600,700,800,900,1000
IMERSTE
| H
20 R 4-MiJ 2.p
ﬁ NN G G
T e &
NHEH al
v, e
|
N LT 1 o &
NG )
N E D C E
L F A+Stroke F
B+Stroke
4Z
ﬁIE;Icfz‘am)ABCDEFGH|JKL M NN | O P Q| R
16 83 (103 35| 11 | 11| 10|55| 57 | 13| 6 | - | 35 |M4x0.7 [M10x1.0 - |M5x0.8| 19 | 3
20 |106[132| 50| 8 | 18 | 13 | 75| 66 | 20 | 6 | 12 | 36 | M4x0.7 [M20x1.5| 28 | RC1/8 | 25 | 2
25 111 | 137 | 50 | 10 |18.5| 13 | 7.5 | 70 |20.5| 8 | 15 | 46 | M5x0.8 [M26x1.5| 34 | RC1/8 | 30 | 2
32 |124|156| 50| 15 | 20 | 16 | 8 | 80 | 22 | 8 | 18 | 60 | M6x1.0|M26x1.5| 40 | RC1/8 | 40 | 2
40 [150|182| 60 | 16 | 26 | 16 | 11 | 92 | 29 | 10 | 23 | 70 | M6x1.0 |M32x2.0| 50 | RC1/4 | 40 | 3
T2
d
\
— o
} | —
B H
4R
&L 1E(mm) d H B c
Bore
16 |M20x1.5| 4 | 14 [16.2
20 |M26x1.5| 8 | 26 | 30
25,32 [M26x1.5| 8 | 32 | 37
40  |[M32x2.0] 10 | 41 |47.3
3. 114

Please contact us on any small problems & details.

FEFEREN R, BERSAARBRE.




Shock Absorber(i & £& it 28)
@YSC I YRB series

Basic T o Model No.(25) Specification (3 #&) .

Ri?jl% nélpC?a(l p Typ e) (% *ﬂ) Base type ka:lx.v\{eiglMax.ébsofoinge Egnergq Strglfeu bvlaé.lgpam Speed Absorb.Enirhgé/H ?g%%;o(ﬁ? WtE.
(EAE) (ﬁjﬁﬁﬂi; (FATMEE) | (RUITIE) | (REMERE) | (BHTKEE Extension | Compression (RE)

g(Me) () (mm) (mis) NM(El) () (EE) ()

YRB0806| 6.0 2 6 2.0 8,800 1.764 4.263 11

YRB1005 7 3 5 3.0 10,800 - - 14

YRB1008 9 4 8 3.0 15,200 4.7 11 20

YRB1416| 150 20 16 3.0 35,000 5.06 8.67 90

[ YRB2020 700 40 20 3.5 40,000 11.172 28.49 215
YRB2050| 1,200 60 50 35 60,000 27.93 38.54 300

YRB2525| 1,500 80 25 4.0 54,900 15.435 32.41 330

YRB2550| 160 98 50 4.0 90,000 - - 435
YRB3660| 2,400 250 60 4.0 120,000 - - 1030

HOW TO ORDER(E! & R A )

YRB [C] 08| [06]

. . =1 e o B T M8 x 1.0
Dimensions(mm) (5 R ~F Bl (ZX)) 2816 YR8 il Non Cap 7 Stroke
C: Rod End Cap Type

YRB0806~2525

H Thread
[ - M o
1 == - = . I1+H8
—
F S | E
B troke
A
YRB2550 YRB3660
Thread H |
H | Thread N =
N N - ———
[ ] ] 1
= =] L ————— =18
— - \
o L -
A/ &T ——————————— — e g .
B £ Stroke LL" F G
A B Stroke E
A
MODEL | Stroke Thread A B C D E F G H |
YRB0806 6 M8x1.0 50 38 6.6 2.8 6 33 - 11 3
YRB1005 5 M10x1.0 38.7 27.7 8.6 3 6 22.9 - 12.7 3
YRB1008 8 M10x1.0 61 46 8.6 3 6 38 - 12.7 3
YRB1416 16 M14x1.5 125.3 95 12 4 14.3 86 - 19 6
YRB2020 20 M20x1.5 148 110 18 6 18 101 - 26 8
YRB2050 50 M20x1.5 235 167 18 8 18 158 - 26 8
YRB2525 25 M25x1.5 155.5 111 22 8 19.5 101 - 32 10
YRB2550 50 M25x1.5 240 170.5 22 8 19.5 100 - 32 10
YRB3660 60 M36x1.5 248 162 35 10 26 134 17 46 15

Please contact us on any small problems & details. 3.115 EFARAERL R i S AN R B PNUMACS




®Ovsc]

Adjustsble Shock Absorber(Small Type)
(FIAE A HEZ MeE)(EY)

YRB-OEM series

WEEE

) f—, i

Specification(F1#&)

MOdleLNO- Effective Weight bt Ereg  Stroke | MaxlmactSpeed| Avso EnegyH ?gg%;o(rﬁ)e Wt.
#S) (ﬁk%@%) BARMER) |(Wk17i2)| BRMEEE) | (GHBMER) e ConTestin (=)

(Ve) (m) (mm) (ms) NA(E) (M) (EE) (9)

YRB-OEM 0.25M 1.2~56 10 12 15000 3.2 6.7 72.5
YRB-OEM 0.5M 4.3~280] 35 16 34500 6.9 17.2 179
YRB-OEM 1.0MF 13~1273 78 25 62100 11.4 26 3455
YRB-OEM 1.0M 13~1273| 78 25 0.3~35 74500 11.4 26 362.5
YRB-OEM 1.25Mx1 20~1800] 128 25 93200 25.5 46.1 837
YRB-OEM 1.25Mx2  |42~2700| 256 50 113700 | 22.7 50.3 1010

% Ambient Temperature(¥/1&;8 F£):Standard:-20°C~80°C/Special:-30°C~100C.

HOW TO ORDER(E! &R F %)

'YRB-OEM]| [1.25/ [M|[B| S| F|x2

Adjusting Type Mounting Nut

NGk (Built—in Nut) Nil: Non Flange ik =
RIIZE F: With Flange #5i£
M36 x 1.5 Nil: Non Cap  Nil: Non Stop Collor
(M14 x 1.5~M115 x 2.0) TR B MRS
Screw & Stroke 42 B: With Cap  S: With Stop Collor
(refer to Specification) gt HE LA EE

Dimensions(mm) (M R T El(ZK))

YRM-OEM 0.25M/0.5M/1.0MF/1.0M/1.25Mx1/1.25Mx2 Series

Thread J

Thread
LN () () A _
\ o l - T
;! = SR = e o et e
SR =S — — 1 —TFH+ 3 = I~ s
= 1 4
E B Stroke| C E B-B | | Stroke
L A B
A
1 - e 1]
% ; . — Al
\_ Stroke [ 7777777 J,
A-A Stroke.
A-A
YRM-OEM (Z3E M) Rectangular Flange
Lock Nut Stop collar (YRB-OEM1.25M){&E B 1_1_%
EIE
— e
[ O R 1 1 ool
- ° i > T
S
L 4
51
Lock Nut |Stop Collar| Ur¢ihiane
MODEL Stroke | Thread A |A-A| B |B-B| C D E F G H
| J K L M N
YRB-OEM 0.25M 12 M14x1.5 | 96 |84.5(55,5| - |11.5|122]| 17 4 12 |125| 19 6 18 | 27 - -
YRB-OEM 0.5M 16 M20x1.5 |116.5| 101 | 66 - |15.5| 18 19 6 18 |18.5] 25 8 24 | 36 - -
YRB-OEM 1.0MF 25 M25x1.5 |142.5| 127 | 82 - [155| 283 | 20 8 22 | 23 | 32 10 |31.5| 42 - -
YRB-OEM 1.0M 25 M27x1.5 [142.5| 127 | 82 15.5| 23 | 20 8 22 | 25 | 32 10 | 31.5] 42 - -
YRB-OEM 1.25Mx1| 25 M36x1.5 |158.5/ 143 | 97 | 4 |155| 30 | 21 | 10 | 28 | 34 | 46 | 10 | 45 | 62 | 32 | 21
YRB-OEM 1.25Mx2| 50 M36x1.5 | 165 | 202 | 131 | 4 |155| 30 | 21 | 10 | 28 | 34 | 46 | 10 | 45 | 62 | 32 | 21
3.116 | YSC |

Please contact us on any small problems & details.

R E RS LI E S A A RBE.

PNEUMATICS




®Ovsc]

Adjustsble Shock Absorber(Large Type)
(FIAE A HEZ MR )(KE)

YRB-OEM series

Specification(¥11%)
Model No.  |MaxAbsorbing Energy| Stroke | Max.Impact Speed Max.Absorb.Energy/Hour  Impact Weight Max.Impact Forde Spring Force(3#% 47)(N)| Wt.
BES) (EARKREE) (RAGE GEAEEE) | (BREARKES) (BENERE) (RAMEAN) RE
Jkgf - m) (mm) (ms) Jihr(kgf - m/r) (kg) (N) Extension(f# H )| Compression(EE) (kg)
YRB-OEM1.5Mx1 | 245{25.0} | 25 129,000{13,160} 25~3400 50 84 1.3
YRB-OEM1.5Mx2 | 490{50.0} | 50 0.3~3.6  |157,500{16,070} 45~6500 12,200 33 76 1.5
YRB-OEM1.5Mx3 | 735{75.0} | 75 192,000{19,590} 54~9700 31 99 1.7
YRB-OEM2.0Mx2 |1250{127.55} 50 245,000{25,000} 75~12700 78 165 3.2
YRB-OEM2.0Mx4 |2500{255.10} 100 0.3~3.6  |330,000{33,670}| 118~18100 31,200 75 210 4.1
YRB-OEM2.0Mx6 |3750{382.65} 150 370,000{37,750}| 130~23600 95 360 5.2
YRB-OEM3.0Mx2 |2200{224.48} 50 372,000{37,960}| 195~31700 115 315 6.1
YRB-OEM3.0Mx3.53900{397.95] 90 0.3-3.6 656,000{66,940}| 215~36000 55 000 115 450 9.8
YRB-OEM3.0Mx5 |5500{561.22} 125 930,000{94,890}| 220~51000 ’ 80 260 9.3
YRB-OEM3.0Mx6.57000{714.28) 165 1,170,000{119,380}) 300~56700 135 560 11.5
YRB-OEM4.0Mx2 |3600{367.35} 50 1,500,000{153,061}|  370~44000 90,000 95 360 15.2
YRB-OEM4.0Mx4 |7200{734.69} 100 1,750,000{178,571}f 370~57000 90,000 115 315 19.0
YRB-OEM4.0Mx6 (10800{1102.04}| 150 0.3~3.6 2,020,000{206,122}| 370~89000 90,000 115 450 23.0
YRB-OEM4.0Mx8 [14500{1479.59}| 200 2,310,000{235,714}| 390~11800 90,000 80 260 33.0
'YRB-OEM4.0Mx10 [18000{1836.73}| 250 2,610,000{266,326}| 440~14500 90,000 135 560 38.0
Dimensions(mm) (5 R~ Bl (ZK)) \ e P
[T1 g
YRB-OEM1.5M~3.0M T T - 1 T
f,f ._ ] |
- 1 c Ju, o v‘ X
w m w 5 - . OMEE
Model No.(BIS)  [Stoke(fTE)] A P Ci T Al L M N N1 w
YRB-OEM1.5Mx1 25 143 95 27 28
YRB-OEM1.5Mx2 50 193 120 40 40 17 14 54 36 40 M42x1.5
YRB-OEM1.5Mx3 75 243 145 53 52
YRB-OEM2.0Mx2 50 224 140 50 50
YRB-OEM2.0Mx4 100 | 324 190 75 75 17 20 74 52 60 M64x2
YRB-OEM2.0Mx6 150 | 456 | 240 100 100
YRB-OEM3.0Mx2 50 244 140 42 48
YRB-OEM3.0Mx3.5 | 90 324 180 60 70
20 25 94 72 80 M85x2
YRB-OEM3.0Mx5 125 | 400 | 216 82 84
YRB-OEM3.0Mx6.5| 165 | 494 | 256 106 100
YRB-OEM4.0Mx2 150 | 316 | 200 75 75
YRB-OEM4.0Mx4 100 | 416 | 250 100 100
YRB-OEM4.0Mx6 150 | 516 | 300 125 125 22 35 124 88 102 M115x2
YRB-OEM4.0Mx8 200 | 616 | 350 150 150
YRB-OEM4.0Mx10 | 250 | 746 | 400 180 170
|
‘ Cap Size(Hi‘z&)‘ ‘ Lock Nut(ZE fir #2 &) ‘ "
Part No.(Rgz&2) A | N1 £, Part No.(R##Z8#E) B | E | H MM
YRB-OEMB1.5M | 17 | 40 *%/% YRB-OEMJ1.5M| 56 | 5 | 10 [M42x1.5
YRB-OEMB2.0M | 17 | 57 gﬁ YRB-OEMJ2.0M| 75 | 5 | 13 | M64x2
YRB-OEMB3.0M | 20 | 80 e YRB-OEMJ3.0M| 98 | 6 | 16 | M85x2 memsn
YRB-OEMB4.0M | 22 {102 &%) YRB-OEMJ4.0M|128| 8 |22 [M115x2
Stop Collar(2 {2 ) | Flange(i% ) .
Part No.(Z 2 &S A|B|C|E E1 L[| MM | S PartNo.GX=Z!S) | FC | FH | SA | SB |Bol(Z£REH) Wt (FE)(g)
YRB-OEMS1.5M 25|56 | 44| 8 |M5x0.8| 40 [M42x1.5 20 YRB-OEMF1.5M 9 | 13| 60 | 41 M8 140
'YRB-OEMS2.0Mx2) 40| 75|66 | 8 |M6x1.0| 70 | M64x2 | 35 YRB-OEMF2.0Mx2 | 11 | 16 [90.0| 70 M10 570
'YRB-OEMS3.0Mx§ 45198 |66 | 10 |M6x1.0| 75 | M85x2 | 40 YRB-OEMF3.0Mx6 | 13 |19.0| 104 | 76 M12 680
'YRB-OEMS4.0M 45 [128(118| 10 |M8x1.0| 80 [M115x2| 40 YRB-OEMF4.0M 17 | 25 | 140 | 11 M16 820
Please contact us on any small problems & details. 3.117 E i EL R S E 5 A A B PNUMACS




Accessories for Shock Absorber
Oysc I (3P 4B h 22 P 1)

7E i L R 1R 7 £ 4% 1L 4208 52 FA 25
YRBif JE £ M 28 &E

i f= 1L 8208 R~ M cerm o #
M8 x 1 .0ZIM36x 1.5 iz o ﬁﬁmw

MA&, HAEEEFR

/—z%
A, BAEREY @GR © -

257 Sk R LA
iz f% 1k 42 1R 4&%.&1%5

A, THARGHE g \
T 4 M B AT R o

it

Mounting Nut(Z&2 3£ 12 )
g A& g g A& g
MBX1.0 M20X1.5
. 7 L YRB-2020
scos 5 T=3 | YRB-0806 SC 20 S BT YRB-2050
_J nt - 14 -l I—-as Mg YRB-OEMO0.5
M10X1.0 M25X1.5
—1 (—— | YRB-1005 % M YRB-2525
SC10 ; T SC 25 & oi—-
YRB-1008 5. & YRB-OEM1.0
l._15_. I——S?j_‘-il-—-ts—-l
M25X1.5
———s _r‘!_
sSC 12 1 YRB-1210 SC 40 %3 _ :! YRB-2540
|- 20 l—-azj_L Pl s —
M14X1.5 M36 X1.5
! YRB-1416 < L YRB-3660
SC 14 2=l SC 50 g at—-
. YRB-OEMO0.25 . -
I ) Y= I T—s%—| YRB-OEM1.25
Flange(ElE % =)
M1 F36 F42 F64

A%

YRB-3660
;r] g YRB—OEM1.5 YRB—OEM2.0
% YRB-OEM1.25

Please contact us on any small problems & details. 3.118 EFARAERL R i S AN R B PNUMACS




w AEk
©ysc IMetric Size - R/ Rc Thread Fitting

R B
Stralght 7% / MODEL D R A B H NS
PC04-M5 4 M5 4 19.3 10 2.0
PC04-01 4 R1/8 75 19.8 10 3.0
PC04-02 4 R1/4 9.5 17.9 14 3.0
PC06-M5 6 M5 4 20.7 12 2.0
PC06-01 6 R1/8 75 21 12 4.0
PC06-02 6 R1/4 9.5 227 14 4.0
PC06-03 6 R3/8 10.5 20.7 17 4.0
PC06-04 6 R1/2 135 24.7 21 4.0
¥ o _H % PC08-01 8 R1/8 75 25.9 14 5.0
I =] PC08-02 8 R1/4 9.5 24.9 14 5.0
g PC08-03 8 R3/8 10.5 21.9 17 6.0
! I] PC08-04 8 R1/2 135 25.9 21 6.0
— 9 PC10-01 10 R1/8 75 295 17 5.0
< i PC10-02 10 R1/4 9.5 30.8 17 6.0
i 4 PC10-03 10 R3/8 10.5 28.8 17 8.0
\ s PC10-04 10 R1/2 135 26.6 21 8.0
PC12-01 12 R1/8 75 316 21 5.0
PC12-02 12 R1/4 9.5 33.6 21 6.0
PC12-03 12 R3/8 10.5 30.6 21 8.0
PC12-04 12 R1/2 135 33.6 21 8.0
PC16-03 16 R3/8 10.5 39 24 8.0
PC16-04 16 R1/2 135 42 24 10.0
LA i
Male Elbow
7% / MODEL 2D R B E H
PL04-M5 4 M5 4 17 17.5 10
PL04-01 4 R1/8 75 24 17.5 10
PL04-02 4 R1/4 9.5 27 175 14
PLO06-M5 6 M5 4 17.5 19 12
e BB PL06-01 6 R1/8 75 25.7 19 12
| | PL06-02 6 R1/4 9.5 28.2 19 14
-l i PL06-03 6 R3/8 10.5 29.7 19 17
T ‘ LT PL06-04 6 R1/2 135 33.2 19 21
= PL08-01 8 R1/8 75 29.5 228 14
- ‘ PL08-02 8 R1/4 9.5 315 22.8 14
Y ; PL08-03 8 R3/8 10.5 33 228 17
5 % : PL08-04 8 R1/2 135 365 228 21
! PL10-01 10 R1/8 75 34.3 27.6 17
PL10-02 10 R1/4 9.5 36.3 27.6 17
PL10-03 10 R3/8 10.5 373 276 17
PL10-04 10 R1/2 13.5 40.8 27.6 21
PL12-02 12 R1/4 9.5 38.5 296 21
PL12-03 12 R3/8 10.5 39.5 29.6 21
PL12-04 12 R1/2 135 425 29.6 21
PL16-03 16 R3/8 10.5 435 325 24
PL16-04 16 R1/2 15 475 325 24
IS ftESL
Univresal Eblow
7% / MODEL @D R A B H E
PHO4-M5 4 M5 3.8 17 8 20
PH04-01 4 R1/8 45 235 10 22.3
PH06-M5 6 M5 3.8 17 8 21.9
& - PH06-01 6 R1/8 45 235 10 23.1
> STIT PH06-02 6 R1/4 9.5 26.3 14 25.1
PH06-03 6 R3/8 10.5 31.9 19 26.8
T PH08-01 8 R1/8 75 235 10 25.6
B = PH08-02 8 R1/4 9.5 26.3 14 28.6
| PH08-03 8 R3/8 10.5 31.9 19 296
@. & PH08-04 8 R1/2 13.5 38.6 24 32.6
PH10-02 10 R1/4 95 26.3 14 32.3
PH10-03 10 R3/8 10.5 31.9 14 32.9
PH10-04 10 R1/2 135 38.6 19 35.9
PH12-03 12 R3/8 10.5 31.9 14 35.6
PH12-04 12 R1/2 135 38.6 19 36.6
Please contact us on any small problems & details. 4.01 EFA ELL K6 S E S AN R B,




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

LB NK IR0 — 18

Male Long Elbow

%S /MODEL 2D R A B E H
PLL04-M5 4 M5 4 33.5 17.5 10
PLL04-01 4 R1/8 7.5 36 17.5 10
PLL04-02 4 R1/4 9.5 39 17.5 14
PLL06-M5 6 M5 4 36.7 19 12
PLL06-01 6 R1/8 7.5 39.7 19 12
—E - PLL06-02 6 R1/4 9.5 42.2 19 14
——qr o PLL06-03 6 R3/8 10.5 43.7 19 17
T 0 g‘ PLL06-04 6 R1/2 13.5 47.2 19 21
. I PLL08-01 8 R1/8 75 44.8 22.8 14
bﬁ PLL08-02 8 R1/4 9.5 46.8 22.8 14
1 PLL08-03 8 R3/8 10.5 48.4 22.8 17
@ 1 thfo PLL08-04 8 R1/2 13.5 51.8 22.8 21
[ ‘ A PLL10-01 10 R1/8 7.5 54.3 28 17
< i PLL10-02 10 R1/4 9.5 56.3 28 17
' R PLL10-03 10 R3/8 10.5 57.3 28 17
PLL10-04 10 R1/2 13.5 60.8 28 21
PLL12-01 12 R1/8 7.5 61 30 21
PLL12-02 12 R1/4 9.5 61.5 29.6 21
PLL12-03 12 R3/8 10.5 62.5 29.6 21
PLL12-04 12 R1/2 13.5 65.5 29.6 21
PLL16-03 16 R3/8 10.5 74 33 24
PLL16-04 16 R1/2 15 785 33 24
HECS=BG]
Hex.Holed Straight
#5 /MODEL L A B @D R oP [okay:
POC04-M5 | 19.5 14.6 4 4 M5 10 2.0
POC04-01 20 14.6 7.5 4 R1/8 10 3.0
POC04-02 18.1 14.6 9.5 4 R1/4 14 3.0
POC06-M5 | 20.7 15.2 4 6 M5 12 2.0
) POC06-01 20.9 15.2 7.5 6 R1/8 12 4.0
f POC06-02 22.7 15.2 9.5 6 R1/4 14 4.0
= POC06-03 20.7 152 | 105 6 R3/8 17 4.0
POC06-04 24.7 152 | 135 6 R1/2 21 4.0
POC08-01 25.1 16.2 7.5 8 R1/8 14 5.0
POC08-02 24.1 16.2 9.5 8 R1/4 14 5.0
POC08-03 21.1 16.2 | 10.5 8 R3/8 17 6.0
J POC08-04 24.1 16.2 | 135 8 R1/2 21 6.0
POC10-01 28 18.7 7.5 10 R1/8 17 5.0
1 1 POC10-02 29.3 18.7 9.5 10 R1/4 17 6.0
POC10-03 26.8 18.7 | 105 10 R3/8 17 8.0
POC10-04 25.1 18.7 | 135 10 R1/2 21 8.0
POC12-03 206 | 217 | 105 12 R3/8 21 8.0
POC12-04 326 | 217 | 135 12 R1/2 21 8.0
POC16-03 285 | 245 | 105 16 R3/8 24 8.0
POC16-04 315 | 245 | 135 16 R1/2 24 10.0
L=
PCE N2 H & -
Female Straight
2 /MODEL 2D Rc A B
PCF04-01 4 Rc1/8 8 23.3
PCF04-02 4 Rc1/4 11 26.3
PCF06-01 6 Rc1/8 8 24.4
[ St g PCF06-02 6 Rc1/4 1 27.4
i : PCF06-03 6 Rc3/8 12 28.4
. PCF06-04 6 Rc1/2 14 30.4
‘. PCF08-01 8 Rc1/8 8 25.9
) L PCF08-02 8 Rc1/4 11 28.9
) PCF08-03 8 Rc3/8 12 29.9
| 4 I q PCF08-04 8 Rc1/2 14 31.9
I S Bt PCF10-01 70 | Rci/8 | 8 29
Ao | R PCF10-02 10 Rc1/4 11 32
PCF10-03 10 Rc3/8 12 33
PCF10-04 10 Rc1/2 14 35
PCF12-02 12 Rc1/4 1 33.9
PCF12-03 12 Rc3/8 12 34.9
PCF12-04 12 Rc1/2 14 36.9
4.02
PNEUMATICS

Please contact us on any small problems & details.

SRR B R B S E i S AR R




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

N2 fRRE @
PMF -
Bulkhed Female Straight
%2 /MODEL L A B L1 H1 | H2 | Rc M | oP
PMF04-01 26.2 9 16 11 14 14 [Rc1/8 [ M12 | 4
PMF04-02 262 | 12 16 14 17 14 [Rc1/a [ M12 | 4
PMF04-03 302 | 13 16 15 | 21 14 [Rc3/g8 [ M12 | 4
PMF06-01 27.1 9 17 9 17 17 [Rc1/8 [ M14 | 6
PMF06-02 31.7 | 12 17 [ 135 | 17 17 [Rc1/4 [ M14 | 6
PMF06-03 332 | 13 17 15 19 17 |[Rc3/8 [ M14 | 6
PMF08-01 31.5 9 18.5 | 10 19 19 [Rc1/8 | M16 | 8
! PMF08-02 355 | 12 185 | 14 19 19 [Rc1/4 | M16 | 8
4 PMF08-03 365 | 13 185 | 15 19 19 [Rc3/8 | M16 | 8
PMF08-04 405 | 16 185 | 19 | 24 19 [Rc1/2 | M16 | 8
PMF10-01 31 9 21 11 22 | 24 [Rc1/8 | M20 | 10
PMF10-02 34 12 21 14 | 24 | 24 [Rc1/4 [ M20 [ 10
PMF10-03 35 13 21 15 | 24 | 24 |[Rc3/8 | M20 | 10
PMF10-04 39 16 21 19 | 24 | 24 [Rc1/2|M20 [ 10
PMF12-01 32.5 9 225 | 10 | 24 | 26 |Rct/8|M22 | 12
PMF12-02 355 | 12 225 | 13 | 24 | 26 |Rc1/a | M22 | 12
PMF12-03 375 | 13 225 | 15 | 24 | 26 |Rc3/s|M22 [ 12
PMF12-04 415 | 16 225 | 19 | 24 | 26 |Rc1/2| M22 | 12
oW R B E Sk
Reducer
RS /MODEL | #D1 | 2D2 | od B F
PW06-4 6 4 3.2 36.8 14.5
PW08-6 8 6 3.2 39.9 17.7
PW10-8 10 8 4.2 49.2 20.3
PW12-10 12 10 4.2 52.9 21.3
PW16-12 16 12 5.1 62 245
FE /MODEL | oD zd E
PZA04 4 3.2 17.5
PZA06 6 3.2 19.3
PZA08 8 3.2 | 2275
PZA10 10 4.2 28.3
PZA12 12 4.3 29.6
WERIB
PKG Different Diam Union Triple
2 /MODEL | gD1 2D2 E F B
PKG06-4 6 4 19 36 57.6
PKG08-4 8 4 20 42 62.6
’——--E sl PKG08-6 8 6 20.3 42 62.6
= s PKG10-6 10 6 23.8 48 77.3
i i PKG10-8 10 8 24.3 48 77.3
T T s
I =i
8 3
Please contact us on any small problems & details. 4.03 EFA ELL K6 S E S AN R B,




= AEL
©ysc I Metric Size - R/ Rc Thread Fitting

TR XIBY =8

PST
Branch Tee
2 /MODEL @D R B E H
PST04-M5 4 M5 4 23 18.5 10
PST04-01 4 R1/8 75 25 18.5 10
PST04-02 4 R1/4 95 28 18.5 14
PST06-M5 6 M5 4 24 19.3 12
== PST06-01 6 R1/8 75 26 19.3 12
| PST06-02 6 R1/4 95 28.5 19.3 14
4 LG 3 PST06-03 6 R3/8 10.5 30 19.3 17
L ' R PST06-04 6 R1/2 13.5 335 19.3 21
- ! PST08-01 8 R1/8 75 29.45 22.75 14
O PST08-02 8 R1/4 95 31.45 22.75 14
| PST08-03 8 R3/8 10.5 32.95 22.75 17
1 PST08-04 8 R1/2 13.5 36.45 22.75 21
T e PST10-01 10 R1/8 75 35 28.3 17
"j L PST10-02 10 R1/4 95 37 28.3 17
= PST10-03 10 R3/8 10.5 38 28.3 17
PST10-04 10 R1/2 13.5 415 28.3 21
PST12-02 12 R1/4 95 38.5 29.6 21
PST12-03 12 R3/8 10.5 39.5 296 21
PST12-04 12 R1/2 13.5 425 29.6 21
PST16-03 16 R3/8 10.5 435 325 24
PST16-04 16 R1/2 13.5 46.5 325 24
YEIZ 41 = &
PW
Branch'Y 2 / MODEL 2D R B E H
PWT04-M5 4 M5 4 35.5 14 10
PWT04-01 4 R1/8 75 42 14 10
PWT04-02 4 R1/4 95 45 14 14
PWT06-M5 6 M5 4 37 14.8 12
PWT06-01 6 R1/8 75 438 14.8 12
-jo-2eoD PWT06-02 6 R1/4 9.5 46.3 14.8 14
S | PWT06-03 6 R3/8 10.5 47.8 14.8 17
w | ; PWT06-04 6 R1/2 13.5 51.3 14.8 21
Lol PWT08-01 8 R1/8 75 477 18.2 14
C PWT08-02 8 R1/4 9.5 491 18.2 14
. a PWT08-03 8 R3/8 10.5 50.6 18.2 17
| PWT08-04 8 R1/2 13.5 54.1 18.2 21
i PWT10-01 10 R1/8 75 56.4 20.8 17
PWT10-02 10 R1/4 95 58.4 20.8 17
PWT10-03 10 R3/8 10.5 59.4 20.8 17
PWT10-04 10 R1/2 13.5 62.9 20.8 21
PWT12-01 12 R1/8 75 57.7 21 21
PWT12-02 12 R1/4 95 60.7 21 21
PWT12-03 12 R3/8 10.5 61.7 21 21
PWT12-04 12 R1/2 13.5 65.7 21 24
PWT16-03 16 R3/8 10.5 715 245 24
PWT16-04 16 R1/2 13.5 755 245 24
43 o
-
Female Universal Elbow
&S /MODEL | @D R Re A1 A2 H B E
PHF04-M5 4 M5 M5 3.8 55 10 195 | 20
PHF04-01 4 R1/8 | R1/8 | 75 8 14 | 295 | 223
PHF04-02 4 R1/4 | R1/4 | 95 1 17 34.3 | 241
PHF06-M5 6 M5 M5 38 55 10 195 | 21.9
PHF06-01 6 R1/8 | R1/8 | 75 8 14 | 295 | 2341
PHF05-02 6 R1/4 | R1/4 | 95 11 17 34.3 | 251
PHF06-03 6 R3/8 | R3/8 | 10.5 12 21 404 | 26.8
PHF06-04 6 R1/2 | R1/2 | 135 14 24 | 475 | 29.8
PHF08-01 8 R1/8 | R1/8 | 75 8 14 | 295 | 256
PHF08-02 8 R1/4 | R1/4 | 95 11 17 31.3 | 28.6
PHF08-03 8 R3/8 | R3/8 | 10.5 12 21 404 | 296
PHF08-04 8 R1/2 | R1/2 | 135 14 24 | 475 | 32.6
PHF10-01 10 | R1/8 | R1/8 | 7.5 8 14 | 295 | 3041
PHF10-02 10 | R1/4 | R1/4 | 95 11 17 343 | 323
PHF10-03 10 | R3/8 | R3/8 | 105 12 21 404 | 32.9
PHF10-04 10 | R1/2 | R12 | 135 14 24 | 475 | 359
PHF12-02 12 | R1/4 | R1/4 | 95 1 17 34.3 | 335
PHF12-03 12 | R3/8 | R3/8 | 105 12 21 404 | 356
PHF12-04 12 | R1/2 | R1/2 | 135 14 24 | 475 | 36.6

Please contact us on any small problems & details. 4.04 EFA ELL K6 S E S AN R B, PNUACS




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

TRBEBY =8

PT
Male Tee
2 /MODEL @D R B E H
PT04-M5 4 M5 4 22.5 18.5 10
PT04-01 4 R1/8 7.5 25 18.5 10
PT04-02 4 R1/4 9.5 28 185 14
PT06-M5 6 M5 4 23.5 19.3 12
PT06-01 6 R1/8 75 26 193 12
g, PT06-02 6 R1/4 9.5 28.5 19.3 14
Plas i PT06-03 6 R3/8 105 30 193 17
= _i‘ 1 1 PT06-04 6 R1/2 135 33.5 19.3 21
- AN o PT08-01 8 R1/8 75 20.45 | 22.75 14
@ & PT08-02 8 R1/4 9.5 31.45 | 22.75 14
= PT08-03 8 R3/8 105 32.95 | 22.75 17
¢]’ 5 PT08-04 8 R1/2 135 36.45 | 22.75 21
= “-R PT10-01 10 R1/8 7.5 35 28.3 17
PT10-02 10 R1/4 9.5 37 28.3 17
PT10-03 10 R3/8 105 38 28.3 17
PT10-04 10 R1/2 135 415 28.3 21
PT12-02 12 R1/4 95 38.5 29.6 21
PT12-03 12 R3/8 105 39.5 29.6 21
PT12-04 12 R1/2 13.5 425 29.6 21
PT16-03 16 R3/8 105 435 32.5 24
PT16-04 16 R1/2 15 473 32.5 24
5 R L
Bulkhead Union P
| @' E2 /MODEL | oD M E B H
S PMMO04 4 M2 | 9.7 30.1 14
'—_F‘ l PMMO06 6 M4 | 7.5 31.8 17
ik P PMMO8 8 M16 | 6.8 35.3 19
1] :I% PMM10 10 M20 | 115 | 416 24
U PMM12 12 M22 | 12.8 | 453 28
M2 PMM16 16 M24 14 50 30
LB IR — 18
PL
Female Elbow
2 /MODEL @D Rc A B E H
PLF04-M5 4 M5 | 55 | 185]| 175 10
PLF04-01 4 |Rc1/8| 8 23 | 175 | 14
PLF04-02 4 |Rct/4| 11 26 | 17.5| 17
PLF06-M5 6 M5 5 | 19.7] 19 | 12
PLF06-01 6 |Rc1/8| 8 | 391| 19 | 14
PLF06-02 6 | Rc1/4| 11 | 27.4| 19 | 17
PLF06-03 6 | Rca/8| 12 | 28.7| 19 | 21
| PLF06-04 6 | Rc1/2| 14 | 309 | 19 | 24
= PLF08-01 8 | Rc1/8| 8 | 27.3| 228 14
L= PLF08-02 8 | Rc1/4| 11 | 303 | 228 17
i f PLF08-03 8 | Rca/8| 12 32 | 228 21
e - —Fe PLF08-04 8 | Rc1/2| 14 | 34.3| 228 24
T "' H PLF10-01 10 | Rc1/8| 8 | 28.3| 20.9| 17
PLF10-02 10 | Re1/4| 11 | 34.3| 20.9| 17
! PLF10-03 10 | Rca/l8 | 12 | 36.3 | 29.9| 21
PLF10-04 10 | Re1/2| 14 | 38.8 | 29.9| 24
PLF12-02 12 | Re1/a| 11 37 | 296 | 21
PLF12-03 12 | Re3/8 | 123 | 38 | 29.6 | 21
PLF12-04 12 | Re1/2| 14 | 40.5| 29.6 | 24
PLF16-03 16 | Rc3/8 | 11 | 405 | 33 | 24
PLF16-04 16 | Rc1/2| 13 | 42.5| 33 | 24

Please contact us on any small problems & details. 4.05 EFA ELL K6 S E S AN R B, PNUACS




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

WITEf

Socket Elbow

#S /MODEL L A B P @d @D
PLJO4 33 17.7 15.1 1 3.2 4
PLJ06 36.2 19.3 16 13 3.2 6
PLJO8 42.5 22.8 18.1 14.8 3.2 8
PLJ10 50.8 27.6 20.4 18.4 4.2 10
PLJ12 54.5 29.6 23.2 21 4.2 12
\ PLJ16 59.8 33.5 24.8 24 5.1 16
By YE G =18
Socket UnionY
#5 /MODEL L A B P od 2D
PYJ04 51.2 14.2 15.1 1 3.2 4
PYJ06 54.6 15.1 16 13 3.2 6
PYJ08 60.1 18.2 18.1 14.8 3.2 8
PYJ10 72.9 20.8 20.4 18.4 4.2 10
PYJ12 78.1 21.6 23.2 21 4.2 12
A —
YEIFMH FR=®
Differ.Diam.Socket UnionY
#15 /MODEL L A B 2D1 D2 od oP
PWJ04 53.7 10 15.1 4 6 3.2 13
PWJ06 60.4 10.5 16 6 8 3.2 14.8
PWJ08 72.3 13.4 18.1 8 10 3.2 18.4
PWJ10 77 15.5 20.4 10 12 4.2 21
=+ 4 > N
G 12 B 4R Sk
Reducer
# S /MODEL D1 zD2 B ©
PGJ06-04 6 4 41 17
B PGJ08-04 8 4 44.5 18
PGJ08-06 8 6 45 18
; IS ’-f_—. PGJ10-06 10 6 47 20
1 e 2] N
@L c | PGJ10-08 10 8 47 20
PGJ12-06 12 6 53.5 23.5
PGJ12-08 12 8 54 23.5
PGJ12-10 12 10 54.5 23.5
Hi
PUC ) :
Union Straight
#2 /MODEL | @D B
PUC04 4 33
PUCO06 6 35.2
PUCO08 8 37.7
PUC10 10 47.8
PUC12 12 48.4
PUC16 16 51

Please contact us on any small problems & details. 4.06 EFA ELL K6 S E S AN R B, PNUACS




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

HEEE
Diff.Diam Union Straight

e T #E/MODEL | oD1 | oD2 B
o Rt PG06-04 6 4 349
L | - PG08-06 8 6 38.6
i l I II j PG10-08 10 8 47.3
5 PG12-10 12 10 48.9
=}

LB — &

PU :
Union Elbow
- _2E
| j gl #E /MODEL | oD zd E
PUL04 4 — 17.5
PUL06 6 3.2 19
PULO8 8 3.2 228
! PUL10 10 4.2 27.6
PUL12 12 43 29.6
PUL16 16 5.1 33
Vava A s
b1 EZzEB
Tube Spicer
%2 /MODEL L c1 2D
P1J04 35 16 4
P1J06 37 17 6
P1J08 40 18.5 8
PIJ10 46 21 10
PIJ12 50 22.5 12
PIJ16 54 24.8 16
. /) .
bIG WIZHEB
Reducer Tube Spicer
e # 5 /MODEL L B c2 2D1 2D2
) T PIG06-04 36 17 16 6 4
;?JI P1G08-04 39.5 | 185 18 8 4
i P1G08-06 385 | 185 17 8 6
I PIG10-06 44 22 19 10 6
3 PIG10-08 42.5 21 18.5 10 8
24 PIG12-08 47 24 20 12 8
L_leDt PIG12-10 46.5 22 21 12 10
PIG16-12 54 248 | 225 16 12
P = E
Plug
E2 /MODEL | oD B 2P1 oP2 ©
e W PP04 4 28 5 3 15
1 b e PP06 6 33 7 3 17
i
o Y Pp08 8 37 9 4 18
4 =t
1 ”_i PP10 10 42 11 5 20.5
[PRRSIERES . e PP12 12 44 13 6 23

Please contact us on any small problems & details. 4.07 EFA ELL K6 S E S AN R B, PNUACS




o FHESL
Oysc I Metric Size - R/ Rc Thread Fitting

R_Stary Joint How to Order(Z! S i%#%):
(E‘ ﬁ—iﬁﬁﬁ%%’f%‘;) Series Tube Outer Dia. Thread Size Code
(BRF) |~ |(EREEIME)(eD) ||  (EEEMEFR)
N Series Ex.( ): NHRC04-01,NHRF01-02
Series | Thread Size(GE#:4Z) Tube Outer Dia.(i& i % & 41 &2)@d(mm)
(% %) | Size(R+)(T) | Code(FEFR) o4 26 8 210 212
M5x0.8 M5 )
M6x1.0 M6 0
NHRC 1/8" 01 ¢ @) )
. /9 (2D-T) 1/4" 02 O O
( S 3/8" 03 © ©
\% : 12" 04 o o
M5x0.8 M5 @)
NHRC NHRL MBx1.0 | M6 o
NHRL 1/8" 01 &) o e)
(& W a (2D-T) 1/4" 02 8 8
\ 1:3,, ( § 3/8" 03 o ©
@ h "‘"m( ﬂ 12" 04 o o
~d NHRS NHRS01-01 [NHRS02-01|NHRS03-03| NHRS04-03
NHRS NHRE (T1-T2) NHRS01-02 NHRS02-02{NHRS03-04| NHRS04-04
NHRF NHRF01-01 [NHRF02-01|NHRF03-03|NHRF04-03
(ol (T1-T2) NHRF01-02 [NHRF02-02|NHRF03-04| NHRF04-04
“h M5x0.8 M5 )
M6x1.0 M6 @) ¢)
NRC NRC 1/8" 01 ¢) e)
(eD-T) 1/4" 02 e) 6]
3/8" 03 @)
1/2" 04 @) o) e
M5x0.8 M5 e) o) ¢
M6x1.0 M6 @) @)
NRL 1/8" 01 @) ) @)
NAL (eD-T) 1/4" 02 ) @)
3/8" 03 @) ¢) 8)
1/2" 04 O O
RPM(EE£8) NHR S('arie5| 1500 1200 1200 1000 1000
NR Series | 500 500 400 300 250

#%Note: T=Thread Size(5MEL1Z).

Please contact us on any small problems & details. 4.08 EFA ELL K6 S E S AN R B, PNUACS




75 7 7

Speed Controllers

EiEE
NSF 5
Union
#S /MODEL 2D od A B E
NSF04 4 3.2 14 25.7 39.5
NSF06 6 4.3 20 41.9 47.6
NSF08 8 4.3 22 15.6 52.6
NSF10 10 4.3 26 42.3 63.1
NSF12 12 4.3 32 55 74.2
NSE BEERZELE
Elbow
#5 /MODEL @D R A B E
PR &) Contro Out | RAZEY/ Contro IN
NSE04-M5 [ NSE04-M5B 4 M5 3.8 28.2 20
NSE04-01 NSE04-01B 4 R1/8 7.5 38.9 22.3
NSE04-02 NSE04-02B 4 R1/4 11.2 46.8 241
NSE06-M5 | NSE06-M5B 6 M5 3.8 28.2 21.9
NSE06-01 NSE06-01B 6 R1/8 7.5 38.9 23.1
i NSE06-02 NSE06-02B 6 R1/4 11.2 46.8 251
0 NSE06-03 NSE06-03B 6 R3/8 12.3 51.3 26.8
H NSE06-04 NSE06-04B 6 R1/2 14 56.8 29.8
ol ‘ e — NSE08-01 NSE08-01B 8 R1/8 7.5 38.9 25.6
1 —‘ == 1 %" NSE08-02 NSE08-02B 8 R1/4 11.2 46.8 28.6
|7 NSE08-03 | NSE08-03B 8 R3/8 12.3 52.3 29.6
'<: ; A | NSE08-04 NSE08-04B 8 R1/2 14 56.8 32.6
& < ] NSE10-01 | NSE10-01B 10 R1/8 7.5 38.9 30.1
NSE10-02 NSE10-02B 10 R1/4 11.2 46.8 32.3
NSE10-03 NSE10-03B 10 R3/8 12.3 52.3 32.9
NSE10-04 NSE10-04B 10 R1/2 14 56.8 35.9
NSE12-02 NSE12-02B 12 R1/4 11.2 46.8 33.5
NSE12-03 NSE12-03B 12 R3/8 12.3 52.3 35.6
NSE12-04 NSE12-04B 12 R1/2 14 56.8 36.6
VAS YSC EER/SRRS
’ In-Line Type/Metal Body
YAS500 YAS600
Model No. Screw Size Free Flow(B AR E) Control Flow(¥= 7t &) Weight
& %) (A %) Flow (37 ) (V/min) ™ Ef ecioel rea HTER) )| Flow (75 8 (Vmin) ® [ Ef Seiond reaBi®nn)|~ (BRE)(9)
YAS500-06 3/4” 10100 154 8100 123 0.68
YAS600-10 1" 15100 230 16900 258 1.34
Dimensions(mm)(5MEZ R ~H Bl (Z X))
Model No. Pipe Size L3
= 7 L1 L2 D
ne & =) (A &) Max (84 Min.(8/y)
RC(PT) »
YAS500 Rc(PT)3/4 74 42 115 | 115 | 50
ira YAS600 Re(PT)1” | 90 | 56 | 148 | 148 | 62
) YSC-20A Rc(PT)3/4” | 74 42 115 | 115 50
I
o YSC-25A Rec(PT)1” 90 56 148 | 148 62
D

’ Please contact us on any small problems & details. 4.09

| YSC |
EIFERYEL K6 IEEES A AREKE. PNEUMATICS




Speed Controller(In-Line Type/Metal Body)(Rifi 28 (B ERY/ € B &) ..
@YSC I YAS series *

COMMON SPECIFICATIONS (3t 5 $11%)

Model(Z!S) YAS2000 ~ 4000

Proof Press. (it E) 1.5MPa{15.3kgf/cm®}

Max. Press. (& & i E /1) 1.0MPa{10.2kgf/cm®}

Min. Press. (& {& £ A £ 5) 0.05MPa{0.51kgf/cm?}

Amb. Temp.(FRERFREIRE) 5~60C

No.of Meedle Rotations (&% 4 (&) 8

Model No. Screw Size Free Flow(H Hit£) Control Flow(#Z #lit =) Wt.(RE)
& S) (A &) Flow (37t &) (I/min)™" |Eft Sectonal Area( AR (mm) | Flow (372 &) (1/min)™” | Eff. Sectonel Area(E3EF &) mm) (9)

YAS2000-01 1/8" 340 5.2 250 3.8 90
YAS2000-02 1/4" 340 5.2 250 3.8 115
YAS4000-02 1/4" 1670 25.5 1670 25.5 205
YAS4000-03 3/8" 1670 25.5 1670 255 205
YAS4000-04 1/2" 1670 25.5 1670 25.5 205

Note(i£1): Supply Pressure at(fthzE 1) 0.5MPa & Temp.(ifi &g &)20C

Dimensions(mm)(5MEZ R ~F Bl (Z))

YAS2000 YAS4000
295
(PT)1/4~1/2 m
© !
©
m o
£
i i =B N A
| o | o \J
== o o \2:Port ; —
D 67.5 29
A 33

Model No. | Pipe Size Wi. &
@ =) |@Eom | A | B C|P|C |#e Jee @
YAS2000-01 1/8" 40 51 15 16 30 90 T
YAS2000-02 1/4" 40 53 17 20 30 | 115 % % 4
50 2-M4*0.7
Please contact us on any small problems & details. 4.10 EIFMAM E RE S EES A AR BRE.




RAEEE (PU) NERE
@YSC Iﬁé EEIE ( ) % B

4514 & 7 B

- EHMER T HE
BalE - TEE. FEE. HAEME. W, BHL SRR,
PU AEIRM R, IR IR IR R TS ;

C RHTSENE., T HITES;
- BRIGREBHEFESIEERES;

SGT\L&

= R~ LY RS BEE s/ NEHER EE | o
s Size | OID D [Thickness|, BBEN %\inRadius | Weight |FBERa20°C) . | me
MODEL (mm) (mm) (mm) (mm) Brust Pressure| (mm) (g/m) kg/cm Clour
U0425 4x2.5 4 25 0.75 23 10 9 5 200 B
U0604 6x4 6 4 1.00 23 15 19 5 200 q
U0805 8x5 8 5 1.50 23 23 37 5 100 7
U1065 | 10x6.5 | 10 6.5 1.75 23 30 55 5 100 &
U1208 128 12 8 2.00 23 35 76 5 100 =
U1612 T6x12 | 16 12 2.00 23 60 106 5 100 &
{3
%ﬁﬁﬂﬂgﬁﬁﬁ 4% & 7 F7
PU cEBER, 5THE, BENWESNE, MEATRRME;

- MR REE
- MR TUHHEA. SHIE, EHEBRESIE;

e R~ A B c D £ THER W E 7
M%ISTEL (nfg_?n) (mm) (mm) (mm) (mm) (mm) CooTntinml)Dress MA%(mPnf]e)ss. gfﬁo%r

UC06045-50 6x4-5 400 70 260 70 25.3 8.2 9.9
UC08050-50 8x5-5 1,000 500 400 100 34 8.2 9.9
UC08050-100 | 8x5-10 | 1,400 500 800 100 34 8.2 9.9 =
UC10065-50 |10x6.5-5| 1,000 500 400 100 42 8.2 9.9
UC10065-100 [10%6.5-10 1,400 500 800 100 42 8.2 9.9 &
UC12080-50 12%x8-5 990 500 390 100 60 8.2 9.9
UC12080-100 | 12x8-10 | 1,380 500 780 100 60 8.2 9.9

| YSC |
Please contact us on any small problems & details. 4.1 EFA ELL K6 S E S AN R B, PNEUACS




Construction(X ZB#31E)

B

‘

BC Sintered Matal

BC ke&hik
M3.M5-70 mm
R(PT)%—100mm

BEE
Phosphor Bronze

Screw Size
BEOR

Synthetic Resins Body Type(E8 Z & {4 BY)

BERES

1Lb

COMMON SPECIFICATIONS (£ [E#i1&)

Max. Press.(& & LIEE /) 0.99MPa{9.9kgf/cm?}
Amn. Temp.(FME R FKiE &) 5~150C
Model No. Screw Size | Eff. Sectional Area |  Noise Reduction | Weight.(i=)
(B ) |EEORRPT)| (EHEER)mm) | (HELE) )R (9)
YAN120-M3 M3x0.5 1 13 1
YAN120-M5 M5x0.8 5 18 3.3
YAN101-01 1/8" 20 16 9.5
YAN201-02 1/4" 50 26 35
YAN301-03 3/8" 70 38 45
YAN401-04 1/2" 100 55 60
YAN501-06 3/4" 150 80 80
YAN601-10 1" 200 110 100

COMMON SPECIFICATIONS (£ [E#14%)

Max. Press.(& & LIEEH) 0.99{kgf/cm?}
Noise Reduction([HERE(SR)) 30 or More(IA k)
Amb. Temp.(FER R EEE) 5~60TC
Model No. Screw Size Eff. Orifice | Wt.(5)| Dimensions(mm)(#MFRTB(ZX)
(& 5) |@EEOZRPT) | (GEHHEER(M)| ko) [ A | B | C
YAN200-02 1/4" 35 17 63 22 19
YAN300-03 3/8" 60 25 84 25 22
YAN400-04 1/2" 90 35 92 30 27
YAN500-06 3/4" 160 165 | 107 | 46 36
YANG600-10 1" 270 225 | 132 | 50 41
YAN700-12 11/4" 440 490 | 200 | 74 55
YAN800-14 11/2" 590 580 | 233 | 74 60
YAN900-20 2" 960 820 | 263 | 86 70
Construction(A &B#331E)
YAN200 ~ 400 YANS500 ~ 900
¢B
¢B . %% End Cover I L | iz (SPCC) End Cover
— (BRZ ) Resin .
= | #47 (S20C) Bolt
“&’é‘lﬁﬁl So.und Absorbing Meterta E##l  Sound Absorbing Material
(PE #245{K) Sintered Body (PE 12415) Sintered Body
. =6k Body < E(SPCC) Body
(R ZE) Resin
AN EEEE Hex. Dia 1k (ADC) Housing
b AR Hex. Dia
#& O Screw Size i D A
L R(PT) #&O%& Screw Size
R(PT)
Please contact us on any small problems & details. 4.12 EIFMAM E RE S EES A AR BRE.




Specifications (#11%)
RS YMVF90-20 YMVF90-40
BA *r‘( kPa) 80 80
£z S & F1(bar) 4~55 4~55
;r_—wﬁ%%%(umin) 75~94 300~376
BAE = & (L/min) 142 795
IR TN (KW) 0.5 1
EHM R NBR(#7/4)/ Viton(i£1%)
BEE(Kg) 1.1 [ 1.4
FERRAE AL
YMVF?%EUE"".—&Z%E%% EEEEHZSRINTm, ALESELAERLEETLERUER ., BIE
FEBTSRREGAENEE, NMEAEMENRET, SHELZHFEFEESHUEFBRERS
FEENETE, Iﬁtﬁf?q/éﬁiﬂﬁiﬁiﬁﬁzettﬁﬁﬁ@o BERXK=MmEGLTE. TiRksh. BH.

BR. HTRE. TEAAAKERS, HEEZTELBRRIFHMNA,

AREZEE T8I E(L/min)
o Bz [E(Vacuum Level) -kPa
== 0 10 20 30 40 50 60 70 80 90
YMVF90-20| 398 | 230 | 149| 73 52 40 27 16 7 0
YMVF9Q0-40| 795 | 459 | 298| 146 | 103 | 81 54 31 13 0
900
800
__ 700
<
£ 600
=
Im’SOO
=
= 400
= YMVF90-40
300
—&— YMVF90-20
200 \\
100 \\
0 10 20 30 40 50 60 70 80 90
HZEE (-kPa)
B 75 5) 34 R (8)(Sec/1000L) ‘
HE 7 [E(Vacuum Level) -kPa
BS
0 10 20 30 40 50 60 70 80 90
YMVF90-20| 0 14 36 79 | 176 | 307 | 493 | 786 | 1336|3063
YMVF90-40| 0 7 18 39 88 | 154 | 246 | 393 | 668 | 1531
3500
)
S 3000 \
o
g 2500 / YMVF90-40
%2000 »— YMVF90-20
& 1500 /
& 1000 /
5000 //-/
0 10 20 30 40 50 60 70 80 90
HEZEE (-kPa)
Please contact us on any small problems & details. 4.13 AR KRR E RS AN RBE.




Vacuun Ejecyor(E®
Oysc I YMVF serie

YMVF90-20 Dimension

=a

b o))

5.5

24

}

S
}
*|

+ +
. - = >
"Heebl o [0 o §
z® Y £
5 % Ay | @
g6 N9 S
) =) >
- 3 @3
gl @3 © @\ > 1 213
- @ ! > -
< e}
3 2
g g
< » i @
g 128
[ 2o %
Ve
9_ II:+ + L +O< | o 4+
- 85 e o
| 43
| ]
1. Vaccum PF1/8" f_l__ T
2. Vaccum PF3/8" ] 2 |
3. Vaccum PF3/4" 8l || ; | z °
4. Compressed Air PF1/4" [ POR |
5. Exhaust & Silencer(Built-in) | | ol d |
ol ol
YMVF90-40 Dimension
24 80
55 | . |
———
> [f_ . + L @\\ + : S+
L?JD] o =l \é_} 3
z® Y £
< [0
g N
2 9 3
5 9 g
s 2 @‘c
c (6] I [9]
8 @2' @) @\ S ; g 3
5 2
3 a
g Y
O | #8
I oY
= ST 3
wc-’_ n:+ + [ +O< & YL
104
62
1. Vaccum PF1/8" 3 g
2. Vaceum PF3/8" | 5 8
3. Vaccum PF3/4" olo]| &
4. Compressed Air PF1/4"
5. Exhaust & Silencer(Built-in)
4.14 A EL R S AL R,

Please contact us on any small problems & details.




Vacuun Ejecyor(E %= & 4 28)

Oysc|

HOW TO ORDER(EE %R 73%)

YSV series

COMMON SPECIFICATIONS (3£ #118)

Fluid (57 %) Clean Air GE&ZER)
Amb.Temp(GRE IR E) 0~60°C
YSV| - | 10HS | - |[CK — = : =
Lubrication(i@i&) Not Require (REE)
Press. Range (T1E[E ISE B 0.1~0.97MPa(1~9.9kgf/cm?)
Model(.2) Vacuum Switch(EZF£) Vacuum Press.(EZ k) -690mmHg
Nozzle Dia (D‘ﬁﬂ%ﬂ) Nil: Basic(E42)
A C: Fixed Type(BIEE)
CK: Adjustable Type(RT2:2)
@ Basic Type(E7AE)
Model(E S)| A B C D E F G H | J K L M N (@)
YSV-10HS | 45 34 16 10 8 13.5| 20 5 4.3 PT1/8” 10 PT1/8” 36 16 14
YSV-15HS | 63 | 35 | 20 11 10 | 20 | 25 5 4.3 PT1/4” 15 PT1/4” 36 16 17
YSV-20HS | 85 40 30 15 13 28 32 7 6.5 PT3/8” 20 PT1/4” 48 28 24
_E_ JE=DO)
- -
I Il
e =|=g
ik
| _ _ | _ z T -
- R a
T
P! G 2-9I o) L#=A)
K A M c
@ C Type (With Fixed Vacuum Switch) (f B EBEFFX)
Model(E S)| A B C D E F G H | J K L M N (0]
YSV-10HS-C| 45 34 16 10 8 13.5| 20 5 4.3 PT1/8” 10 PT1/8” 36 16 14
YSV-15HS-C| 63 | 35 | 20 11 10 | 20 | 25 5 4.3 PT1/4” 15 PT1/4” 36 16 17
YSV-20HS-C| 85 | 40 | 30 15 13 | 28 | 32 7 6.5 PT3/8” 20 PT1/4” 48 | 28 | 24
43.5
E JE=AQ) 12
=
!
JR— N
GEEE NN & @
] - _ z ( A
— IJ!{} 6% a
F G \% o |INL#t=m)
K A A M c
@ CK Type (With Fixed Vacuum Switch) (# Al TR H = FFX)
Model® ) A | B | C | D | E | F | G | H | J K L M| N| O
YSV-10HS-CK| 45 34 16 10 8 13.5| 20 5 4.3 PT1/8” 10 PT1/8” 36 16 14
YSV-15HS-CK| 63 35 20 11 10 20 25 5 4.3 PT1/4” 15 PT1/4” 36 16 17
YSV-20HS-CK| 85 40 30 15 13 28 32 7 6.5 PT3/8” 20 PT1/4” 48 28 24
43.5 Max 33.5
E JEZ=R)
4—7 14
m U
L‘:‘ §® |
JE— N
R & ©
|k i 16
49 &) o
F G 2-9| o L(tSA)
K A — M C
Please contact us on any small problems & details. 4.15

SR B RS LI E R S A A RRRE.




©vsc|

Vacuun Filter(&E %= 11 j

-~

YCF serie

C-,WT

%)

HOW TO ORDER(ﬂ'Eiﬂ_‘jﬁf) Model [Pipe Size |Filteration| Fluid Dimmensions(R )
YCF-03| PT1/8 58| 32|40 | 45|16 | 8 |PT1/8 18 | 4.5
YCF - 103 YCF-05| PT 1/4 64|40 40| 45|25 15 PT14{ 20| 6
YCF-06| PT3/8 | 40um |Aif(=%)| 69 | 46 | 40 | 45 | 30 | 18 |PT3/8{ 23 | 6
YCF-600| PT3/4 205(212| 48 |30 | - |60 |PT34| - | 7
Model(ft %) YCF-800| PT1 205(212| 48 |30 | - |60 | Pt | - | 7
Pipe Size(#& 01%)
YCF-02,05,06
G
V] $ '\©
& !
3/ \\j } fa)
o= s -
® AN
e c
E PORT
2 A EED)
YCF-600,800
D 2-1 2-G E
L
m| <
Please contact us on any small problems & details. 4.16

SRR B R B B R S AN BB,




Pressure Switch(J£ /1 FF %)
@YSC I YSNS series

YSNS

-C103
-C106
-C110
-C120
-C130

General Description

- For use with fluorinated refrigerants as with
air and water(Allowable Fluid Temp:-10 to

120C)

+ Type YSNS for Universal application.

1

::5)
=z

R, REHEE, REIKKE.
- ERE RE, SE.

(fEARMARE-10~120C)

+ Micro—switch ensures reliable switching.
+ Mounting Bracket supplied as standard.
+ With SPDT contact mechanism.

ELECTRICAL FUNCTION(EESHIThRE

© REERIASRAE B Y

Rated Voltage(V)
) Power Factor 125/250V
Rated Amps. (3% FE JE) (COS o) AC
Non-Inductive Current 1 12
Inductive Current| Full Load 0.75 12
(BMHER)  |Locked Roter 0.45 72

mContact Function(i S =)

mPressure Connections(#z & #33&)

o—®

O

T Pressurerise
TRREHNEFH

1/4” SAE Flare
7/16”-20 Thread

Yy ?

Flare Nut

@2.4x1000
Capillary Tube

(Ve 77777—//

EMounting Bracket

(FRERIER)
40

20 27 |t
1 | Common Terminal(3 ) S ’
. AT
2 | Closein, Pressure Decrease(EjJJ:ﬂzf,m) Standard Available upon request
3 | Close on,Pressure Increase(fE:/) FHE &) (FR ) (fE3%)
Dimensions(mm)(5ME R ~F Bl(Z X))
i s i
80
= 2 2
J : |
ok
| ®
42 | 25+0.2 [\ 4-M4x0.7
@6(1/4)
OA c FLARENUT
Appearance Drawing
COMMON SPECIFICATIONS (£ B #11&)
_. | Range(i%sER)(MPa) | Differential A 1)(MPa) | Factory Setting(iZ € f)(MPa) |  Max Bellows Presst Wt
Model No.(B/2) ,g; Xal : E( )Ll Y Sethy ) nﬁ%&ﬁﬁﬁﬁﬁ _ A B c
Min.(&&{%)Max.(& )| Min.(&{K) |Max.(& )| OFF(ON) | ON(OFF) |&A-L1FE g (RE)
C103 |-50cmHg 0.3 0.035 0.2 0.05 0.15 1.0(11.0) 38.5 38.9 22.4
C106 |-50cmHg 0.6 0.06 0.4 0.2 0.3 1.65(16.5) 34.4 36 22.4
YSNS- | C110 | 0.1 1.0 0.1 0.3 0.4 0.6 165(165) | 0.42kg | 344 | 36 | 024
C120 0.5 2.0 0.3 0.5 1.5 1.2 4.0(40.0) 20 307 185
C130 0.5 3.0 0.3 1.0 2.0 15 4.0(40.0)

Please contect us on any small problems & details.

4.17

| YSC |
R B R BLIS B S A AL PNEUMATICS






